


www.torque-rod.com


Warranty

FAX: 866-920-2005 customerservice@atrobushing.com 1

mailto:customerservice@atrobushing.com


This interac
with Adobe
- OEM Style Torque Rods   246 

6

ATRO Engineered Systems, Inc. is not liable for any errors herein. All manufacturers’ names and part numbers used are 
trademarked by the respective manufacturer. These names and part numbers are being used without permission.  

No endorsement, affiliation, or recommendation is implied. They are included for reference purposes only. 
Some products shown here are covered by Canadian Patent 1,327,979 and Australian Patent 630,358. 

©2017 ATRO Engineered Systems, Inc.  

  274 - 2-Piece Torque Rod Chart
- Custom LengthTorque Rods  275

tive PDF is best viewed 
 Acrobat Reader

https://get.adobe.com/reader/


Advance Mixer
Under Hood

PL1033 Water Tank/Radiator/Cab Mount

OEM Part# ID Large OD Small OD Length

7317 11/16" 2" 1 5/16" 1 1/4"

Atlas Copco
Suspension

AS10000 Axle Stop

OEM Part# Height Misc. Dimensions

5572681300 4.33" Diameter: 7.52"

AS11000 Axle Stop

OEM Part# Height Misc. Dimensions

5590000987 3.54" Diameter: 7.52"

Other
AC10000 Rest Pad

OEM Part# Length Height Width Misc. Dimensions

5575016200 19 11/16" 5 1/8" 6 7/8" Bolt Hole: 1"

Autocar
Torque Rod

TR13-41022 Torque Rod
Bushing

OEM Part# Length A B

35801-0033 22" c-c TS38000 TT38000

358010-560 22" c-c TS38000 TT38000

TR13-41635 Torque Rod

Note: Clock TS59-24000 @ 90 degrees, TS59-22400 is High Articulation Bushing 
Bushing

OEM Part# Length A B Qty per Vehicle

A3580010-635 25" c-c TS59-22400 TT38000 typically 2

S3580001-635 25" c-c TS59-22400 TT38000 typically 2

S3580003-635 25" c-c TS59-22400 TT38000 typically 2

www.atrobushing.com 800-325-6114 2

http://www.atrobushing.com/


Autocar
Torque Rod

TR59-41150 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

S3580001-635 25" c-c TS38000 TT38000 typically 2

TR62-417M1 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

48411-006 14.41" c-c TS00-22500 TS00-22500

Under Hood
CM13-61026 Cab Isolator

OEM Part# ID OD Length

A6621026-001 5/8" 2 15/16" 2 5/8"

CM13-61199 Cab Pivot Bushing

OEM Part# ID OD Length Misc. Dimensions Qty per Vehicle

A6600010-001 1 1/8" 2 1/8" 2 29/32" Outer Sleeve: 2 1/4" 2

MM96-62002 Motor Mount, Front (Snubber)

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

12005-0002 5/8" 2 3/4" Thickness: 1" 2

12005-3208 5/8" 2 3/4" Thickness: 1" 2

3081659 5/8" 2 3/4" Thickness: 1" 2

MM96-62207 Engine Insulator, Main Front

Note: AVAILABLE SUMMER 2017

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

3081658 10" 1 7/8" 3 5/16" Bolt Hole Mount: 3/4", Bolt Hole Bracket:
1/2"; Mount Hole Spacing: 4" c-c,
Bracket Hole Spacing: 8 1/2" c-c

1

A1200076-001 10" 1 7/8" 3 5/16" Bolt Hole Mount: 3/4", Bolt Hole Bracket:
1/2"; Mount Hole Spacing: 4" c-c,
Bracket Hole Spacing: 8 1/2" c-c

1

FAX: 866-920-2005 customerservice@atrobushing.com 3

mailto:customerservice@atrobushing.com


Autocar
Under Hood

MM96-62657 Motor Mount

OEM Part# Application ID OD Length Qty per Vehicle

8077380 ISL Engines 1 1/2" 3" 3" 2

PL1176 Cab Stop

OEM Part# Length Height Width Misc. Dimensions

A5080048-001 8" 3/4" 1 1/2" Bolt Holes: 1 3/4" c-c

TM99-63506 Transmission Mount

OEM Part# Length Height Width Misc. Dimensions

PA014-052013 4 3/4" 1 7/8" 2 7/8"  Bolt Hole: 15/32" Bolt Holes: 3 3/4" c-c
Stud: M10x1.5

Other
CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

210661-1X 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt:
8 5/8" c-c Bolt Size: 1/2"

Benson Trailer
Other

BP99-65182 Bumper
Notes:  Replaces BP99-36641 
OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

B52641 6 1/4" 3 1/2" 2 1/2" Bolt Hole: 1/2" Bolt Holes:
3 3/4" c-c

2

Binkley
Torque Rod

PL1118 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance;  Outer rims added to retain bushing in rod; For 1-piece 
design see UB30000 
OEM Part# Application ID Large OD Small OD Length

09729-01 Duralite 9000 Series Trailer Four
Spring

7/8" 2 5/16" 1 3/4" 3 1/8"

www.atrobushing.com 800-325-6114 4

http://www.atrobushing.com/


Binkley
Torque Rod

UB30000 Torque Rod Bushing

Note: 1-piece design, For 2-piece design see PL1118 
OEM Part# Application ID OD Length

09729-01 Duralite 9000 Series Trailer Four Spring 7/8" 1 3/4" 3"

Bluebird
Suspension

SK00-10500 Spring Eye Bushing Kit
Contains: (1) Spring Eye Bushing. (1) Bolt, (2) Screw Caps, (2) Hex Locknuts, (1) Locknut, (2) Collars 
Notes: Rear torque leaf  
OEM Part# Application ID OD Length Qty per Vehicle

1353440 TC2000FE Series Variable Rate 1" 1 1/2" 3" 2

SK14-10000 Spring Eye Shackle Kit
Contains: (2) SP14-11774 Bushings. (2) Sidebars, (4) Bolts, (4) Washers, (4) Locknuts  
Notes: Rear of front  
OEM Part# Application OD Length Install Tool Qty per Vehicle

1661966 All-American 1 1/2" 4" PT00-53000 2

1662774 All-American 1 1/2" 4" PT00-53000 2

SK14-10100 Spring Eye Bushing Kit
Contains: (1) SP14-11774 Bushing. (2) Bolts, (2) Washers, (2) Locknuts  
Notes: Front of front  
OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

1662774 All-American 1 1/2" 4" Pin Length: 5 1/16" c-c PT00-53000 6

SP14-11774 Spring Eye Bushing

Notes: Font of front; Rear of front  
OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

1662774 pin All American 1 1/2" 4" Pin: 5 1/16" c-c PT00-53000 6

Cambria
Suspension

PL1050 Spring Eye Bushing (set of 2)

OEM Part# Application ID OD Length

R1011-AC TSA Spring Suspension 7/8" 1 1/2" 2 3/4"

FAX: 866-920-2005 customerservice@atrobushing.com 5

mailto:customerservice@atrobushing.com


Carrier Corporation
Other

MS99-39159 Vibration Mount

OEM Part# ID OD Misc. Dimensions

20-91-4159 5/8" 2 1/4" Short Length: 1";  Long Length:
1 1/2"

MS99-39709 Vibration Mount

OEM Part# OD Length Misc. Dimensions

20-91-7709 2 1/2" 2.1" Bolt ID: 5/8"

www.atrobushing.com 800-325-6114 6

http://www.atrobushing.com/


Chalmers

FAX: 866-920-2005 customerservice@atrobushing.com 7

mailto:customerservice@atrobushing.com


Chalmers
Suspension

HW19-29200 Bolt Kit Type "0" Joint
Contains: (1) Bolt, (1) Flanged Locknut, (1) Flat Washer 
OEM Part# OD Length Qty per Vehicle

K880230 5/8" Bolt 3 1/2" Bolt 16

HW19-29201 Bolt Kit Type "1" Joint
Contains: (1) Flanged Bolt, (1) Flanged Locknut 
OEM Part# OD Length Qty per Vehicle

HDW379 locknut 5/8" Bolt 5" Bolt 16

HDW381 bolt 5/8" Bolt 5" Bolt 16

K880640 5/8" Bolt 5" Bolt 16

HW19-29202 Bolt Kit Type "2" Joint
Contains: (1) Flanged Bolt, (1) Flanged Locknut 
OEM Part# OD Length Qty per Vehicle

HDW379 locknut 5/8" Bolt 5 1/2" Bolt 16

HDW382 bolt 5/8" Bolt 5 1/2" Bolt 16

K880231 5/8" Bolt 5 1/2" Bolt 16

LP19-24002 Load Spring

OEM Part# Application ID OD Height Qty per Vehicle

15002 500/600/800/1100 Truck 20K Axle
Capacity

2" 9 1/2" 8" 2

LP19-24015 Load Spring

OEM Part# Application ID OD Height Qty per Vehicle

15015 1030 Series Truck, 500 Series Trailer 2" 8 1/2" 8" 2

LP19-24026 Load Spring

OEM Part# Application ID OD Height Qty per Vehicle

15026 800 Series 100,000 lbs. 2" 10 3/4" 8" 2

MS19-29002 Spigot Cap, Type 0

OEM Part# Application ID OD Qty per Vehicle

260002 600-800 Series 5/8" Bolt 3 3/4" 16

www.atrobushing.com 800-325-6114 8

http://www.atrobushing.com


Chalmers
Suspension

MS19-29028 Restrictor Can, Standard

OEM Part# Application OD Height Qty per Vehicle

373020 600-800 Series 12 5/8" 4 7/16" 2

373028 600-800 Series 12 5/8" 4 7/16" 2

MS19-29029 Restrictor Can, High Stability

OEM Part# Application OD Height Qty per Vehicle

373021 600-800 Series 11 5/8" 5 3/16" 2

373029 600-800 Series 11 5/8" 5 3/16" 2

MS19-29055 Spigot Cap, Type 2

OEM Part# Application ID OD Qty per Vehicle

800055 600-800 Series 5/8" Bolt 4 1/2" 16

MS19-29201 Spigot Cap, Type 1

OEM Part# Application ID OD Qty per Vehicle

800201 600-800 Series 5/8" Bolt 4" 16

Torque Rod
PL1046 Torque Rod Bushing

Note: 2-Piece bushing design to ease install. For 1-Piece see TH19-22010 
OEM Part# Application ID Large OD Small OD Length Qty per

Vehicle

800010 700 Trailer Suspension;
800/1000 Truck Suspension

(Standard OD)

2 9/16" 4 5/16" 3 9/16" 2 1/8" 32

PL1047 Torque Rod Bushing

Note: 2-piece bushing design to ease install. For 1-Piece see TH19-22128 
OEM Part# Application ID Large OD Small OD Length

22128 600/800/1000 Series Truck
Suspension (Standard OD)

2 7/16" 3 5/8" 3 1/4" 1 15/16"

FAX: 866-920-2005 customerservice@atrobushing.com 9

mailto:customerservice@atrobushing.com


Chalmers
Torque Rod

PL1049 Torque Rod Bushing

Note: Not identical to OE bushing in appearance, 2-Piece bushing design to ease install. 
OEM Part# Application ID Large OD Small OD Length

800009 800/1000 Truck Suspension
(Oversized OD)

2 1/2" 4 9/16" 3 5/8" 2 1/8"

TH19-22010 Torque Rod Bushing

Note: 1-Piece Design, For 2-Piece design see PL1046 
OEM Part# Application ID Large OD Small OD Length

800010 800 Truck Series; 700 Trailer Series;
1023/1030 Single Axle

2 9/16" 4 1/4" 3 9/16" 4 1/8"

TH19-22128 Torque Rod Bushing

Note: 1-Piece Design, For 2-Piece design see PL1047 
OEM Part# Application ID Large OD Small OD Length

22128 300/500/700 Trailer:
600/800/1000 Truck

2 3/8" 3 11/16" 3 1/8" 3 3/4"

TH19-22129 Torque Rod Bushing-Oversized

Note: 1-Piece Design, OVERSIZED, For 2-Piece Design see PL1047 
OEM Part# Application ID Large OD Small OD Length

22129 300/500/700 Trailer:
600/800/1000 Truck

2 3/8" 3 11/16" 3 3/16" 3 3/4"

Columbia
Suspension

PL1100 Air Ride Bushing

OEM Part# ID OD Length

COLLB1 4" 5 1/4" 10 3/4"

Con-Tech
Suspension

EB38700 Cylinder Pivot Bushing

OEM Part# Application ID Large OD Small OD Length

750051 BridgeKing 1 5/8" 3 1/2" 2 3/4" 4 3/8"

www.atrobushing.com 800-325-6114 10

http://www.atrobushing.com/


Cozad Trailer
Suspension

PL1178 Trunnion Bushing

OEM Part# ID OD Length

- 4" 5" 14"

TN99-31490 Trunnion Bushing

OEM Part# ID OD Length Qty per Vehicle

30490 3 1/2" 4 1/2" 5.7" 40

Crown Coach
Suspension

PL1001 Suspension Bushing

OEM Part# Application ID Large OD Small OD Length

3522-18 Motor Coach Models 1 1/4" 2 13/16" 2 1/4" 2 9/16"

Cummins Engine
Under Hood

FP99-69426 Fuel Pump Coupler

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

162426 .75" 2" Thickness: .45" 1

3046200 .75" 2" Thickness: .45" 1

Curotto Can
Other

MS99-69779 Bumper Pad
Notes: NO WARRANTY 
OEM Part# Application Length Width Misc. Dimensions

1238779 Waste Hauler Arm 3 1/4" 2" Thickness: 13/16"

AC02-036 Waste Hauler Arm 3 1/4" 2" Thickness: 13/16"

MS99-69780 Bumper Pad
Notes: NO WARRANTY 
OEM Part# Application Length Width Misc. Dimensions

1238780 Waste Hauler Arm 10" 4" Thickness: 11/16"

AC02-034 Waste Hauler Arm 10" 4" Thickness: 11/16"

FAX: 866-920-2005 customerservice@atrobushing.com 11

mailto:customerservice@atrobushing.com


Cush
Suspension

PB50-36364 Pivot Bushing, Narrow

OEM Part# Application ID OD Width Install Tool Qty per Vehicle

C3511-70 AAT23K, -25K, -30K, AANT23K,
AAEDT30K, AAL23K, -25K,

-30K, AANLS20K

1 1/4" 5 1/2" 3 5/8" PT50-59736 2/axle

Dana
Suspension

PL1095 Spring End Pad

OEM Part# Application Length Height Width

L1337 26/36 Series Suspensions 5 1/2" 3/4" 1 3/4"

Torque Rod
PL1115 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length Misc. Dimensions

L1132 26/36/55 Series
Suspensions

1 1/16" 2 5/16" 1 13/16" 2 11/16" For 1" bolt

PL1118 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance;  Outer rims added to retain bushing in rod; For 1-piece 
design see UB30000 
OEM Part# Application ID Large OD Small OD Length

L1032 62/68 Series 7/8" 2 5/16" 1 3/4" 3 1/8"

TH83-22302 Torque Rod Bushing Kit

Contains: (1) PL1118, (1) Bolt, (1) Nut 
OEM Part#

L1032 bushing

UB30000 Torque Rod Bushing

Note: 1-piece design, For 2-piece design see PL1118 
OEM Part# Application ID OD Length

L1032 62/68 Series 7/8" 1 3/4" 3"

www.atrobushing.com 800-325-6114 12

http://www.atrobushing.com/


Dart
Suspension

CB90000 Center Bushing Kit
Contains: (1) Bushing. (2) TW85000 Thrust Washers, (1) EP85000 Welded End Plug  
Notes: Offset inner sleeve  

Large OD Small OD Length Qty per Vehicle

8 7/16" 6 15/16" 27 1/8" 2

Dodge
Suspension

SP99-11001 Spring Eye Bushing

OEM Part# ID OD Length

2907869 5/8" 1 1/4" 2 3/4"

Fabco
Suspension

FA96452 Torque Arm Bushing

OEM Part# ID OD Length

234255 7/8" 2 1/2" 2 1/2"

DD75-383 7/8" 2 1/2" 2 1/2"

Flxible
Suspension

TH03-82725 Hollow Mount Bushing

Note: Features "no press" precision sleeve
OEM Part# ID OD Length

6-441-1 2 1/2" 3 5/8" 2 1/2"

97-9999-2033 2 1/2" 3 5/8" 2 1/2"

TH03-82751 Hollow Mount Bushing

OEM Part# ID OD Length Install Tool

97-2627-151 1" 2 3/4" 3" PT10000

FAX: 866-920-2005 customerservice@atrobushing.com 13

mailto:customerservice@atrobushing.com


Flxible
Suspension

TN03-82701 Trunnion Bushing

OEM Part# Application OD

97-2263-1 A-Frame Suspension 3 1/6" (oversized)

97-2263-151 3 1/6" (oversized)

97-2263-153 3 1/6" (oversized)

97-2263-1U 3 1/6" (oversized)

Under Hood
MM03-82712 Motor Mount

OEM Part# ID Large OD Small OD Height

97-6171-2 3/4" 3 3/4" 2" 2 7/16"

Other
MS99-65000 Spring Rail Bushing

OEM Part# Application ID OD Length

- UPS Delivery Truck Bumper Mount
Bushing

1/2" 1" 2.88"

Fontaine
Other

BP99-34408 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

50407007 12" 2" 2" Bolt Hole: 1/2" Bolt Holes: 4 1/2" c-c (3) 2

BP99-36040 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

B552641 7" 1 3/4" 1 15/16" Bolt Hole: 3/8" Bolt Holes: 4 1/2" c-c 2 or 4

FW99-32109 5th Wheel Bushing (set of 2)

OEM Part# Application ID Length Qty per Vehicle

BSH-109-L ATB; MTB; LWS Series Fifth Wheel 1 1/4" 2 3/4" 1

BSH-LWS-L ATB; MTB; LWS Series Fifth Wheel 1 1/4" 2 3/4" 1

www.atrobushing.com 800-325-6114 14

http://www.atrobushing.com


Fontaine
Other

FW99-32172 5th Wheel Bushing (set of 2)

OEM Part# Application ID Length Qty per Vehicle

BSH-172-U ATB; MTB; LWS Series Fifth Wheel 1 1/4" 2 3/8" 1

FW99-32175 5th Wheel Bushing Kit
Contains: (2) FW99-32109 Lower Bushings, (2) FW99-32172 Upper Bushings 

Bushing

OEM Part# Application A B

BSH-109-L ATB, MTB, LWS Series Fifth Wheel FW99-32109 FW99-32172

BSH-172-U FW99-32109 FW99-32172

BSH-LWS-L FW99-32109 FW99-32172

FW99-32191 Foot Pin Repair Kit
Contains: (2) Pl1002. (2) T-Pins, (2) Cotter Keys, (2) Locking Tabs  

Bushing

OEM Part# Application A B Qty per Vehicle

KITPIN191 6000/7000/7000CC/H50
92/X5092/3000 Fifth

Wheels

PL1002 PL1002 1

FW99-32300 5th Wheel Bushing Kit

Contains: (2) FW99-32301, (2) T-Pins, (2) Pins, (2) Cotter Pins  
Note: Includes corrosion resistant hardware

OEM Part# Application Bushing A Qty per Vehicle

BSH-3000 bushing only 3000 Series FW99-32301 1

KIT-PIN-3000 3000 Series FW99-32301 1

FW99-32301 5th Wheel Bushing

OEM Part# Application ID OD Length Qty per Vehicle

BSH-3000 3000 Series 1 9/32" 2 1/8" x 2 3/8" Oval 3 5/8" 2

FW99-32LLB Foot Pin Repair Kit
Contains: (1) FW99-32109, (1) FW99-32172, (2) Bracket Liners, (2) T-Bolts, (2) Key Lock Bolts, (2) Key Locks

Bushing

OEM Part# Application A B Qty per Vehicle

KITPINLLB TPL6000, TPL7000<
TPL7000C Series

FW99-32109 FW99-32172 1

PL1002 5th Wheel Bushing (set of 2)

OEM Part# ID OD Length

BSH-150 1 1/4" 3 15/16" 2 1/4"

FAX: 866-920-2005 customerservice@atrobushing.com 15

mailto:customerservice@atrobushing.com


Ford
Suspension

CB27500 Center Bushing

OEM Part# Application ID OD Length Qty per Vehicle

E4HZ5872A Hendrickson E4
Series

1" 2 3/4" 4 5/8" 2

CB34011 Center Bushing Kit
Contains: (1) Bushing. (2) TW34000 thrust washers, (1) EP34000 loose end plug 
Notes: Weld plugs using electric welder only  
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

C9HS5872A Hendrickson 340
Series

3 5/8" 2 3/4" 12" PT60000 2

CB34012 Center Bushing Kit
Contains: (1) Bushing. (2) TW34000 thrust washers, (1) EP34000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

TWAA5872A Hendrickson 340
Series

3 5/8" 2 3/4" 12" PT60000 2

CB38011 Center Bushing Kit

Contains: (1) Bushing. (2) TW38000 thrust washers, (1) EP38000 loose end plug 
Notes: Weld plugs using electric welder only  
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

C9HS5872A Hendrickson
380-440 Series

4 3/4" 3 1/2" 12" PT30000 2

CB38012 Center Bushing Kit
Contains: (1) Bushing. (2) TW38000 thrust washers, (1) EP38000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

TALAA5872A Hendrickson
380-440 Series

4 3/4" 3 1/2" 12" PT30000 2

CT10000 Cross Tube

OEM Part# Application OD Length

C8HS5884A Hendrickson 380-520 Series 2 7/16" 44 7/8"

EB27500 End Bushing

OEM Part# Application ID OD Length

E4HZ5873A Hendrickson E4 Series 7/8" 2 3/8" 3 1/8"

www.atrobushing.com 800-325-6114 16

http://www.atrobushing.com/


Ford
Suspension

EB34000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool

TWAA5873A Hendrickson 340
Series

2 1/2" 4 3/8" 5 1/4" PT40000

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

B8QH5873A Hendrickson
380-440 Series

2 1/2" 4 3/8" 5 3/4" PT40000 4

HV38000 Vertical Bushing

OEM Part# Application ID OD Length

C3TZ54599A Hendrickson RS Series 2" 4 1/8" 4"

SF10000 Shear Spring

OEM Part# Application ID OD Height

C6TZ5899A SR Series 3" 6 15/16" 3 1/4"

SK00-10500 Spring Eye Bushing Kit
Contains: (1) Spring Eye Bushing. (1) Bolt, (2) Screw Caps, (2) Hex Locknuts, (1) Locknut, (2) Collars  
Notes: Rear torque leaf  
OEM Part# Application ID OD Length Qty per Vehicle

C2TZ5781A B; F; LN; L; CL; CF Series Variable
Rate

1" 1 1/2" 3" 2

D0HZ5780B B; F; LN; L; CL; CF Series Variable
Rate

1" 1 1/2" 3" 2

SP43-11100 Spring Eye Bushing

OEM Part# Application ID OD Length Qty per Vehicle

C7TZ5348B B600/700 (1980-95) School Bus
Chassis; F600/700 (1980-97)
Chassis with 2 1/2* springs

3/4" 1 11/16" 2 3/4" 6

FAX: 866-920-2005 customerservice@atrobushing.com 17

mailto:customerservice@atrobushing.com


Ford
Suspension

SP43-11198 Spring Eye Bushing

Note: Front of rear 
OEM Part# Application ID OD Length

F2UA-5781-CD E250/E350/E450 23/32" 1 1/2" 3 1/2"

F2UZ-5781-CD E250/E350/E450 23/32" 1 1/2" 3 1/2"

SP43-111AA Spring Eye Bushing

Note: High Confinement 1989-96 Ford F53 Suspension Rear Spring
OEM Part# Application ID OD Length

E9TD5781A F53 Suspension; Rear Spring 3/4" 1.7" 4"

E9TD5781AB F53 Suspension; Rear Spring 3/4" 1.7" 4"

E9TZ5781A F53 Suspension; Rear Spring 3/4" 1.7" 4"

F4TD5781AA F53 Suspension; Rear Spring 3/4" 1.7" 4"

SP43-111BA Spring Eye Bushing

Note: High Confinement 1989-96 Ford F53 Suspension Rear Spring
OEM Part# Application ID OD Length

E9TD5781B F53 Suspension; Rear Spring 5/8" 1.7" 4"

E9TD5781BC F53 Suspension; Rear Spring 5/8" 1.7" 4"

E9TZ3781B F53 Suspension; Rear Spring 5/8" 1.7" 4"

F4TD5781BA F53 Suspension; Rear Spring 5/8" 1.7" 4"

SP55-52600 Spring Eye Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

4C4Z5348BA F650/F750 3/4" 1 13/16" 4 1/4" PT96000 6

SP99-11001 Spring Eye Bushing

OEM Part# ID OD Length

C4T25348A 5/8" 1 1/4" 2 3/4"

C4TZ25348A 5/8" 1 1/4" 2 3/4"

TW38000 Thrust Washer

OEM Part# Application ID OD Misc. Dimensions

C6TS5A552A Hendrickson 380-440 Series 3 1/2" 5 3/4" Thickness: 1/8"

www.atrobushing.com 800-325-6114 18

http://www.atrobushing.com/


Ford
Suspension

UB75000 Leaf Spring Bushing
Notes: Front of front; Rear of front  
OEM Part# Application ID OD Length Qty per Vehicle

E0HZ5781A B; CF; CL; F; L; LN; Rear Single
Axle

1" 1 13/16" 3" 6

Under Hood
MM55-623C3 Motor Mount, Lower (Front)

OEM Part# ID Length Width

4C40-6038-AA 5/8" 4" 4 1/16"

4C4Z6038A 5/8" 4" 4 1/16"

PL1048 Motor Mount

OEM Part# ID Large OD Small OD Length

DOHZ6068B 1 1/2" 3 7/16" 3" 3 1/8"

Other
CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

D4TZ4800J 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 19

mailto:customerservice@atrobushing.com


Freightliner FAS-II

www.atrobushing.com 800-325-6114 20

http://www.atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Freightliner TufTrac

FAX: 866-920-2005 customerservice@atrobushing.com 21

mailto:customerservice@atrobushing.com


Freightliner
Suspension

LP19-24026 Load Spring

OEM Part# ID OD Height Qty per Vehicle

CSI15026 2" 10 3/4" 8" 2

LP46-19773 Spring Pad

OEM Part# Application Length Height Width Qty per Vehicle

A1615303000 M2 Medium Duty 7 9/16" 3 1/8" 5 1/4" 2

A1615773000 M2 Medium Duty 7 9/16" 3 1/8" 5 1/4" 2

LP46-24807 Spring Insulator Pad, Lower

Note: AVAILABLE SUMMER 2017

OEM Part# Application Length Height Width Qty per Vehicle

11-20807-00 TufTrac® 40K, 46K 3 7/8" 2 1/4" 3 7/8" 4

LP46-24808 Spring Insulator Pad, Upper

Note: AVAILABLE SUMMER 2017

OEM Part# Application Height Misc. Dimensions Qty per Vehicle

11-20808-000 TufTrac® 40K 3 3/16" Bolt Hole: 9/16"; Bolt Hole Pattern:
4 3/16" x 2 3/8"

4

MS50-29791 Auxiliary Shim

OEM Part# Length Width Misc. Dimensions

HDR 60791 000 9 1/2" 4 3/4" Thickness: 1/4"

PB00-26422 Pivot Bushing Kit
Contains: (2) PB00-36314. (1) Inner Sleeve, (1) Bolt  3/4" x 5, (1) Locknut, (2) Washers 
OEM Part# Qty per Vehicle

HDRR005422 2

www.atrobushing.com 800-325-6114 22

http://www.atrobushing.com


Freightliner
Suspension

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings. (8) Inner Sleeves, (8) Bolts 3/4" x 5" 
OEM Part#

HDR R008839 

PB46-26268 Pivot Bushing (Anti-Walk)

Notes: Anti-Walk High Confinement 
OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

16-13962-000 not a direct cross FAS II Airliner 2 1/2" Bolt Hole: 3/4"; Bolt
Holes: 5 21/32" c-c

PT50000 2

681-325-02-50 not a direct cross FAS II Airliner 2 1/2" Bolt Hole: 3/4"; Bolt
Holes: 5 21/32" c-c

PT50000 2

16-18035-000 2 1/2" Bolt Hole: 3/4"; Bolt
Holes: 5 21/32" c-c

PT50000 2

16-16412-000 2 1/2" Bolt Hole: 3/4"; Bolt
Holes: 5 21/32" c-c

PT50000 2

681-325-01-50 not a direct cross FAS II Airliner 2 1/2" Bolt Hole: 3/4"; Bolt
Holes: 5 21/32" c-c

PT50000 2

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  
OEM Part# ID OD Length

NEW 90008139 1 1/8" 3 1/2" 5 1/4"

WCM 10050 1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  
OEM Part# ID OD Length

HLD90008149 1 1/8" 2 13/16" 5"

WCM11223 1 1/8" 2 13/16" 5"

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings. (2) Bolts 9 1/2" 
OEM Part#

48100202 

PB85-36029 Mono-Pivot Bushing Kit
Contains: (2) PB85-360B0 Pivot Bushings, (2) Eccentric Bolts, (2) Anti-turn Washers, (2) Securelok® Nuts, (4) 
Bearing Washers, (4) Clamp Bolts, (4) Flat Washers, (4) Locknuts 
OEM Part# Bushing A Qty per Vehicle

RDW 6040029 PB85-360B0 2/axle

FAX: 866-920-2005 customerservice@atrobushing.com 23

mailto:customerservice@atrobushing.com


Freightliner
Suspension

PB85-360B0 Pivot Bushing

OEM Part# ID OD Length

RDW 1117680B060 1 1/2" 5 1/2" 6 3/4"

RDW 1117680B070 1 1/2" 5 1/2" 6 3/4"

PL1054 Equalizer Bushing

OEM Part# Application ID Large OD Small OD Length

16-13568-000 FH36-40 (3" Spring); FH34 2 5/16" 3 3/4" 2 3/4" 2 1/2"

A16-10549 FH36-40 (3" Spring); FH34 2 5/16" 3 3/4" 2 3/4" 2 1/2"

SK46-10000 Spring Eye Shackle Kit
Contains: (2) SP46-11373 Bushings. (2) Sidebars, (4) Bolts, (4) Locknuts  
Notes:  Cannot be used on vehicles requiring 1 5/8" hanger bushing 
OEM Part# Application OD Length Install Tool Qty per Vehicle

16-11890-001 120 Series Conventional/COE; FLD112
Conventional; FLC112 Conventional

1 1/2" 4" PT00-53000 2

16-12302-000 120 Series Conventional/COE; FLD112
Conventional; FLC112 Conventional

1 1/2" 4" PT00-53000 2

16-12373-000 120 Series Conventional/COE; FLD112
Conventional; FLC112 Conventional

1 1/2" 4" PT00-53000 2

16-12399-000 120 Series Conventional/COE; FLD112
Conventional; FLC112 Conventional

1 1/2" 4" PT00-53000 2

16-13470-000 120 Series Conventional/COE; FLD112
Conventional; FLC112 Conventional

1 1/2" 4" PT00-53000 2

A16-12301-000 120 Series Conventional/COE; FLD112
Conventional; FLC112 Conventional

1 1/2" 4" PT00-53000 2

SK46-10800 Spring Eye Shackle Kit
Contains: (2) SP46-52800 Bushings. (2) Sidebars, (2) Bolts, (2) Washers, (2) Locknuts  
Notes: Rear of front (hanger not included)  
OEM Part# Application ID OD Length Install Tool Qty per

Vehicle

680-322-00-20 MB; FL 60/70/80; 106 Business
Class; Century Class 4" Spring

13/16" 2 1/4" 4" PT99000 2

680-322-01-05 MB; FL 60/70/80; 106 Business
Class; Century Class 4" Spring

13/16" 2 1/4" 4" PT99000 2

680-322-03-01 MB; FL 60/70/80; 106 Business
Class; Century Class 4" Spring

13/16" 2 1/4" 4" PT99000 2

SK46-10900 Spring Eye Bushing Kit
Contains: (1) SP46-52800 Bushing. (1) Bolt, (1) Washer, (1) Locknut 
Notes: Front of front  
OEM Part# Application ID OD Length Install Tool Qty per

Vehicle

680-322-01-05 MB; FL 60/70/80; 106 Business
Class; Century Class 4" Spring

13/16" 2 1/4" 4" PT99000 2

www.atrobushing.com 800-325-6114 24

http://www.atrobushing.com


Freightliner
Suspension

SK46-11200 Spring Eye Shackle Kit
Contains: (1) SP46-11002 Bushing. (1) SP46-11373 Bushing, (2) Sidebars, (4) Bolts, (4) Locknuts 
Notes: Rear of front For vehicles requiring 1 5/8" hanger bushing; see SK46-10000 

Bushing

OEM Part# Application Length Misc. Dimensions Install Tool A B Qty per
Vehicle

16-12373-000 120 Series
Conventional/COE;

FLD112 Conventional

4"  Small Bushing OD: 1
1/2" Large Bushing

OD: 1 5/8"

PT00-53000 SP46-11002 SP46-11373 2

16-12399-000 120 Series
Conventional/COE;

FLD112 Conventional

4"  Small Bushing OD: 1
1/2" Large Bushing

OD: 1 5/8"

PT00-53000 SP46-11002 SP46-11373 2

16-13470-000 120 Series
Conventional/COE;

FLD112 Conventional

4"  Small Bushing OD: 1
1/2" Large Bushing

OD: 1 5/8"

PT00-53000 SP46-11002 SP46-11373 2

A16-01005-002 120 Series
Conventional/COE;

FLD112 Conventional

4"  Small Bushing OD: 1
1/2" Large Bushing

OD: 1 5/8"

PT00-53000 SP46-11002 SP46-11373 2

SP11473-03 Polyurethane Shim

ID OD Misc. Dimensions

1 1/4" 2 5/8" Thickness: 3/16"

SP46-11002 Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Washers  
Notes: For vehicles requiring a 1 5/8" hanger bushing  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

16-12373-000 pin 120 Series Conventional/COE; FLD
112 Conventional

1 5/8" 4" Pin: 5 3/8"
c-c

PT00-53000 6

16-13470-000 pin 120 Series Conventional/COE; FLD
112 Conventional

1 5/8" 4" Pin: 5 3/8"
c-c

PT00-53000 6

A16-01005-002 bushing 120 Series Conventional/COE; FLD
112 Conventional

1 5/8" 4" Pin: 5 3/8"
c-c

PT00-53000 6

SP46-11023 Spring Eye Bushing

OEM Part# Application OD Length Misc.
Dimensions

Qty per
Vehicle

16-14603-000 Heavy Duty Front 4" Wide Springs;
FL; Airtek; M2 Business Cl

2 1/4" 4 1/8" Outer
Sleeve

Pin: 5 3/8" c-c; Pin
OD: 1 1/4"

6

16-17194-000 Heavy Duty Front 4" Wide Springs;
FL; Airtek; M2 Business Cl

2 1/4" 4 1/8" Outer
Sleeve

Pin: 5 3/8" c-c; Pin
OD: 1 1/4"

6

16-17770-000 Heavy Duty Front 4" Wide Springs;
FL; Airtek; M2 Business Cl

2 1/4" 4 1/8" Outer
Sleeve

Pin: 5 3/8" c-c; Pin
OD: 1 1/4"

6

16-18023-000 Heavy Duty Front 4" Wide Springs;
FL; Airtek; M2 Business Cl

2 1/4" 4 1/8" Outer
Sleeve

Pin: 5 3/8" c-c; Pin
OD: 1 1/4"

6

SP46-11373 Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Washers  
Notes: Front of front; Rear of front  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

16-12373-000 pin 120 Series Conventional/COE;
FLD 112 Conventional

1 1/2" 4" Pin: 5 3/8" c-c PT00-53000 6

16-12399-000 bushing 120 Series Conventional/COE;
FLD 112 Conventional

1 1/2" 4" Pin: 5 3/8" c-c PT00-53000 6

16-13470-000 pin 120 Series Conventional/COE;
FLD 112 Conventional

1 1/2" 4" Pin: 5 3/8" c-c PT00-53000 6

FAX: 866-920-2005 customerservice@atrobushing.com 25

mailto:customerservice@atrobushing.com


Freightliner
Suspension

SP46-11473 Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Polyurethane Washers 
OEM Part# Application ID OD Length Install Tool

16-16473-000 M2 Business Class (3"eye/slipper
springs)

3/4" 1 3/4" 3 9/16" PT43-53200

SP46-52050 Spring Eye Bushing

OEM Part# Application ID OD Length Qty per Vehicle

A6803220050 FC70; FL50; FL60; FL70; M2 106 13/16" 2 1/4" 4 1/4" 6

MBT A6803220050 FC70; FL50; FL60; FL70; M2 106 13/16" 2 1/4" 4 1/4" 6

SP46-52800 Spring Eye Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

680-322-01-05 MLB/FL 60/70/80/106; Business
Class; Century Class

20mm 2 1/4" 4" PT99000 6

680-322-01-50 MLB/FL 60/70/80/106; Business
Class; Century Class

20mm 2 1/4" 4" PT99000 6

UB20500-OS Spring Pivot Bushing-Oversized

Notes: High Confinement; Anti-Walk; for Oversized Spring Eyes ONLY; Dayton RB-157-OS is only direct 
replacement 
OEM Part# OD Length Misc. Dimensions Install Tool Qty per Vehicle

681-325-01-50 2.56" 5.65" c-c Bolt Hole: 3/4" PT50000 4

WP50-29004 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Retaining Brackets, (2) Bolts 
OEM Part# Length Height Width Bushing A

HDR 56557-004 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29005 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Spring Pins 
OEM Part# Length Height Width Bushing A

HDR 56557-005 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29557 Wear Pad Kit
Contains: (1) Slipper Pad. (2) Retaining Plates, (4) Bolts 
OEM Part# Length Height Width Misc. Dimensions

HDR 56557 002 6 7/8" 3" 3" Bolt: 3/8"

www.atrobushing.com 800-325-6114 26

http://www.atrobushing.com


Freightliner
Suspension

WP50-29929 Wear Pad

OEM Part# Length Height Width

HDR 56929000 3 3/4" 1 1/2" 3 3/16"

Torque Rod
PL1053 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

16-11351-000 Four Spring Suspension; Late 4" Spring 1 3/8" 2 1/8" 2" 1 1/8"

PL1146 Torque Rod Bushing

Note: Does NOT Rotate, See TS50-22691 for preferred bushing 
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

A16-119448 FH36-40 (3" Spring); Four
Spring Suspension; FAS II

Airliner

1.91" 4 3/8"  Bolt Holes:
11/16" Bolt: 5/8"

PT00-52000 2/rod

TH83-22089 Torque Rod Bushing Kit
Contains: (2) PL1115, (1) Bolt, (2) Washers, (1) Locknut 
OEM Part# Qty per Vehicle

REY TK19089 2

TR00-41270 Torque Rod
Bushing

OEM Part# Length A B

681-326-11-16 25 1/2" c-c TS38000 TS38000

TR00-41816 Torque Rod
Bushing

OEM Part# Length A B

681-326-28-16 26 1/2" c-c TS38000 TS38000

FAX: 866-920-2005 customerservice@atrobushing.com 27

mailto:customerservice@atrobushing.com


Freightliner
Torque Rod

TR00-42325 Torque Rod
Bushing

OEM Part# Length A B

681-326-34-16 32 1/2" c-c TS38000 TS38000

TR00-42350 Torque Rod
Bushing

OEM Part# Length A B

681-326-42-16 35" c-c TS38000 TS38000

TR46-41000 Torque Rod

Note: Heavy Duty 
Bushing

OEM Part# Application Length A B Qty per Vehicle

16-15632-000 Airliner Suspension 24 3/16" c-c TS38000 TS38000 typically 2

16-18972-000 Airliner Suspension 24 3/16" c-c TS38000 TS38000 typically 2

TR46-41002 Torque Rod, Small Eye

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-16749-002 FAS II 24 5/16" c-c TS00-22500 TS00-22500 typically 2

16-18972-000 FAS II 24 5/16" c-c TS00-22500 TS00-22500 typically 2

681-326-72-16 FAS II 24 5/16" c-c TS00-22500 TS00-22500 typically 2

TR46-41003 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

16-16749-003 20 1/4" c-c TS00-22500 TS00-22500

TR46-41016 Torque Rod
Bushing

OEM Part# Length A B

680-326-00-16 24 7/16" c-c TS38000 TT38000

TR46-41053 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

16-03053-000 tubular rod FH34A-44A Four Spring 16 5/8" c-c TS00-22500 TS00-22500

16-13053-000 cast rod FH34A-44A Four Spring 16 5/8" c-c TS00-22500 TS00-22500

16-19568-000 16 5/8" c-c TS00-22500 TS00-22500

www.atrobushing.com 800-325-6114 28

http://www.atrobushing.com


Freightliner
Torque Rod

TR46-41175 Torque Rod
Bushing

OEM Part# Length A B

681-326-27-16 23 1/2" c-c TS38000 TS38000

TR46-41316 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

16-16749-000 FAS II 22 7/8" c-c TS00-22500 TS00-22500

681-326-6316 FAS II 22 7/8" c-c TS00-22500 TS00-22500

TR46-41716 Torque Rod, Small Eye

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-16749-001 FAS II 23 15/16" c-c TS00-22500 TS00-22500 typically 2

681-326-6716 FAS II 23 15/16" c-c TS00-22500 TS00-22500 typically 2

TR46-43016 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

681-626-6016 16 5/8" c-c TS00-22500 TS00-22500

TR46-46002 Torque Rod, Twist

Note: Twist Angle TT38000 End: 7.5° 
Bushing

OEM Part# Application Length A B

1614149002 FAS Airliner II 24 7/16" c-c TS38000 TT38000

TR46-46003 Torque Rod, Twist

Note: Twist Angle TT38000 End: 352.5° 
Bushing

OEM Part# Application Length A B

1614149003 FAS II 24 7/16" c-c TS38000 TT38000

TR46-46016 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

681-326-00-16 FH36-40 3" Spring 17" c-c TS00-22500 TH00-22500

FAX: 866-920-2005 customerservice@atrobushing.com 29

mailto:customerservice@atrobushing.com


Freightliner
Torque Rod

TR46-49002 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 
Bushing

OEM Part# Application Length A B Qty per Vehicle

16-15002-000 TufTrac® 54" axle spacing 40K,
front of rear, rear of rear

23 1/4" c-c TS46-22300 TS46-22300 2

16-15002-001 TufTrac® 54" axle spacing 40K,
front of rear, rear of rear

23 1/4" c-c TS46-22300 TS46-22300 2

TR46-49004 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 
Bushing

OEM Part# Application Length A B Qty per Vehicle

16-15004-000 TufTrac® 60" axle spacing 46-52K,
front of rear, rear of rear

26 3/8" c-c TS46-22300 TS46-22300 2

16-15004-001 TufTrac® 60" axle spacing 46-52K,
front of rear, rear of rear

26 3/8" c-c TS46-22300 TS46-22300 2

TR46-49998 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 
Bushing

OEM Part# Application Length A B Qty per Vehicle

16-14998-000 TufTrac® 56" axle spacing 46-52K,
front of rear, rear of rear

24 7/16" c-c TS46-22300 TS46-22300 2

16-14998-001 TufTrac® 56" axle spacing 46-52K,
front of rear, rear of rear

24 7/16" c-c TS46-22300 TS46-22300 2

TR55-41117 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

16-10420-000 FH34A-44A Four Spring 18 1/8" c-c TS00-22500 TS00-22500

IPC-927180 FH34A-44A Four Spring 18 1/8" c-c TS00-22500 TS00-22500

TR55-42C91 Torque Rod
Bushing

OEM Part# Length A B

681-326-15-16 28 1/2" c-c TS38000 TS38000

TR59-41150 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

681-326-70-16 25" c-c TS38000 TT38000 typically 2

www.atrobushing.com 800-325-6114 30

http://www.atrobushing.com


Freightliner
Torque Rod

TR59-41375 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

6813262065 24" c-c TS38000 TS38000 typically 2

TR62-41260 Torque Rod
Bushing

OEM Part# Length A B

681-326-1216 26" c-c TS38000 TS38000

TR99-41428 Torque Rod
Bushing

OEM Part# Length A B

HDR 62001 540 21 1/4" c-c TS38000 TS38000

TS34000 Torque Rod Bushing

Note: Use in place of discontinued TS34095,  NEW CRIMPED DESIGN 
OEM Part# Application OD Length Misc. Dimensions Install Tool

151087-148 FH34-38 (4" Spring) 2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

TS46-22300 Torque Rod Bushing

Note: Rebushes ATRO Torque Rods ONLY, Does NOT fit in OEM or other aftermarket rods 
Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

TufTrac® 2 3/4" 4 3/8" c-c Bolt Hole: 5/8"; Pin
Width: .945"

PT59-59100 8

TS50-22649 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

HDR 64400-003L 2 3/4" 5 1/4" c-c Bolt Hole: .91" 4

FAX: 866-920-2005 customerservice@atrobushing.com 31

mailto:customerservice@atrobushing.com


Freightliner
Under Hood

CM46-61001 Cab Mount Kit
Contains: (2) CM46-61890. (2) CM46-61891, (2) 3/4" x 5" Grade 8 Hex Head Bolts, (2) 3/4" Flat Washers, (2) 
3/4" Locknuts 
OEM Part# Qty per Vehicle

681-890-00-01 upper bushing 1

681-891-00-01 lower bushing 1

CM46-61384 Cab Mount Assembly
Contains: CM46-61769 Bushing
OEM Part# Application ID Length Bushing A Qty per Vehicle

18-45384-000 Century 112 & 120; Columbia 120 5/8" 3 1/8" CM46-61769 2

A1840099000 Century 112 & 120; Columbia 120 5/8" 3 1/8" CM46-61769 2

CM46-61769 Cab Mount Bushing

OEM Part# Application ID OD Length Install Tool Qty per
Vehicle

18-34678-000 Century 112 & 120; Columbia 120 5/8" 3 5/8" 3 1/8" PT46-59002 2

18-41005-000 Century 112 & 120; Columbia 120 5/8" 3 5/8" 3 1/8" PT46-59002 2

18-42727-000 Century 112 & 120; Columbia 120 5/8" 3 5/8" 3 1/8" PT46-59002 2

CM46-61890 Cab Mount (Upper)

Notes:  For Complete Kit see CM46-61001 
OEM Part# OD Length Misc. Dimensions Qty per Vehicle

681-890-00-01 3.8" 2.6" Bolt Hole: 3/4" 2

CM46-61891 Cab Mount, Lower

Notes:  For Complete Kit see CM46-61001 
OEM Part# ID OD Length Qty per Vehicle

681-891-00-01 1.25" 3.8" 1.35" 2

CM46-61959 Cab Pivot Bushing
Notes:  Low Friction Liner (Rotating Bushing) 
OEM Part# Application ID OD Length Qty per Vehicle

18-45959-000 Argosy Cab Over 5/8" 3 3/4" 3 9/16" 2

18-64205-000 Argosy Cab Over 5/8" 3 3/4" 3 9/16" 2

CM94-61875 Cab Mount (Front)

OEM Part# ID Large OD Small OD Length Qty per Vehicle

LOR CB2204 146 5/8" 3 1/2" 2 1/4" 2 7/8" 2

www.atrobushing.com 800-325-6114 32

http://www.atrobushing.com


Freightliner
Under Hood

MM00-62000 Motor Mount Kit, Front
Contains: (2) Motor Mounts, (1) Spacer Sleeve 
OEM Part# ID OD Misc. Dimensions Qty per Vehicle

LOR SSB33 1000 2 3/4" Bolt 3" Thickness: 13/16" 2

MM00-62970 Motor/Cab Mount

OEM Part# ID OD Misc. Dimensions

J3049-70 1/2" 2 5/8" Thickness: 13/16"

MM46-62000 Motor Mount Kit (Rear)
Contains: (2) MM46-62001 (2-Upper & 2-Lower). (2) Bolts, (4) Washers, (2) Locknuts 
OEM Part# Application

BCD 27330 1 upper mount Century Class

BCD 27330 2 Century Class

BCD 28805 1 lower mount Century Class

MM46-62001 Motor Mount Kit (Rear)
Contains: (1) MM46-62301 Upper Mount. (1) MM46-62051 Lower Mount  
Notes: For Complete Kit see MM46-62000  

Bushing

OEM Part# Application ID A B Qty per Vehicle

BCD 27330-1 Century Class 3/4" MM46-62301 MM46-62051 1

BCD 27330-2 Century Class 3/4" MM46-62301 MM46-62051 1

BCD 288051 Century Class 3/4" MM46-62301 MM46-62051 1

MM46-62002 Motor Mount Kit (Front)
Contains: (1) MM46-62651 Upper Mount. (1) MM46-62451 Lower Mount 

Bushing

OEM Part# Application ID Misc. Dimensions A B Qty per Vehicle

BCD 26704-1 lower mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 27651 1 upper mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 27651 2 upper mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 27651 3 upper mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 28945-1 lower mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

MM46-62003 Motor Mount Kit (Front)

Contains: (1) Upper Mount. (1) Lower Mount, (1) Spacer Sleeve 
OEM Part# Application

01-15047-000 spacer sleeve FLD120; FLD112 SD; FLB; FL80; M2 w/Mercedes engine

LOR SSB33 1001 7 upper mount FLD120; FLD112 SD; FLB; FL80; M2 w/Mercedes engine

LOR SSB33 1001 8 lower mount FLD120; FLD112 SD; FLB; FL80; M2 w/Mercedes engine

SSB3310017 upper mount FLD120; FLD112 SD; FLB; FL80; M2 w/Mercedes engine

SSB3310018 lower mount FLD120; FLD112 SD; FLB; FL80; M2 w/Mercedes engine

FAX: 866-920-2005 customerservice@atrobushing.com 33

mailto:customerservice@atrobushing.com


Freightliner
Under Hood

MM46-62004 Motor Mount Kit (Front)
Contains: (1) MM46-62660 Mount. (1) MM46-62721 Mount, (2) 3/4" Bolts, (2) 3/4" Locknuts, (4) 3/4" Flat 
Washers 

Bushing

OEM Part# Application A B Qty per Vehicle

J21246-60 Cascadia & Cornado MM46-62660 MM46-62721 1

J21247-21 Cascadia & Cornado MM46-62660 MM46-62721 1

MM46-62005 Motor Mount Kit w/Hardware (Front)
Contains: (1) MM46-62451 Motor Mount, Lower, (1) MM46-62651 Motor Mount, Upper, (2) 3/4" Bolts, (2) 3/4" 
Locknuts, (4) 3/4" Flat Washers 

Bushing

OEM Part# Application A B Qty per Vehicle

BCD 26704-1 lower mount Century Class MM46-62451 MM46-62651 1

BCD 27651 1 upper mount Century Class MM46-62451 MM46-62651 1

BCD 27651 2 upper mount Century Class MM46-62451 MM46-62651 1

BCD 27651 3 upper mount Century Class MM46-62451 MM46-62651 1

BCD 28945-1 lower mount Century Class MM46-62451 MM46-62651 1

MM46-62006 Motor Mount Kit w/Hdwr (Front)
Contains: (2) MM46-62003 Motor Mount Kits, (2) Bolts, (2) Locknuts, (4) Flat Washers 
OEM Part# Application Misc. Dimensions Bushing A Qty per Vehicle

01-15047-000 spacer sleeve FLD120; FLD112 SD; FLB; FL80;
M2 w/Mercedes engine

Bolt ID: 3/4"; Bolt
OD: 3"

MM46-62003 1

LOR SSB33 1001 7 upper mount FLD120; FLD112 SD; FLB; FL80;
M2 w/Mercedes engine

Bolt ID: 3/4"; Bolt
OD: 3"

MM46-62003 1

LOR SSB33 1001 8 lower mount FLD120; FLD112 SD; FLB; FL80;
M2 w/Mercedes engine

Bolt ID: 3/4"; Bolt
OD: 3"

MM46-62003 1

SSB3310017 upper mount FLD120; FLD112 SD; FLB; FL80;
M2 w/Mercedes engine

Bolt ID: 3/4"; Bolt
OD: 3"

MM46-62003 1

SSB3310018 lower mount FLD120; FLD112 SD; FLB; FL80;
M2 w/Mercedes engine

Bolt ID: 3/4"; Bolt
OD: 3"

MM46-62003 1

MM46-62051 Motor Mount, Lower (Rear)
Notes: For complete kit see MM46-62000 or MM46-62001 
OEM Part# Application ID

BCD28805 1 Century Class 3/4"

MM46-62301 Motor Mount, Upper (Rear)
Notes: For complete kit see MM46-62000 or MM46-62001 
OEM Part# Application ID

BCD27330 1 Columbia & Century Class 1200 lb Max 3/4"

BCD27330 2 Columbia & Century Class 1400 lb Max Rating 3/4"

www.atrobushing.com 800-325-6114 34

http://www.atrobushing.com


Freightliner
Under Hood

MM46-62416 Motor Mount (Rear)

OEM Part# Application Misc. Dimensions

J209413 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic SL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

J2094136 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic SL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

J209414 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic SL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

J209415 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic SL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

J2094167 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic SL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

LOR J20941 3 6 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic SL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

LOR J20941 7 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic XL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

LORJ2094416 120 Conventional XL; FLD112; FLD120
SD; FLD132 Classic SL; M2 100

Bolt: 5/8"; Bolt Holes: 3" c-c

MM46-62417 Motor Mount Kit (Rear) w/Hardware
Contains: (1) MM46-62416, (2) 5/8" Bolts, (2) 5/8" Locknuts, (2) Washers 
OEM Part# Application Bushing A Qty per Vehicle

LOR J20941 7 120 Conventional XL; FLD112 SD, Conventional;
FLD120 SD, Conventional; FLD132 Classic XL

MM46-62416 2

LOR J20941-3-6 120 Conventional XL; FLD112 SD, Conventional;
FLD120 SD, Conventional; FLD132 Classic XL

MM46-62416 2

MM46-62418 Motor Mount Kit (Rear) w/Hardware
Contains: (2) MM46-62417 
OEM Part# Application Bushing A Qty per Vehicle

LOR J20941 7 120 Conventional XL; FLD112 SD, Conventional;
FLD120 SD, Conventional; FLD132 Classic XL

MM46-62417 1

LOR J20941-3-6 120 Conventional XL; FLD112 SD, Conventional;
FLD120 SD, Conventional; FLD132 Classic XL

MM46-62417 1

MM46-62451 Motor Mount, Lower (Front)
Notes: For complete kit see MM46-62002 
OEM Part# Application ID Length Width Misc. Dimensions

BCD 26704-1 Century Class 3/4" 6 1/2" 2 1/2" Thickness: 9/16";
Bolt Holes: 4" c-c

BCD 28945-1 Century Class 3/4" 6 1/2" 2 1/2" Thickness: 9/16";
Bolt Holes: 4" c-c

MM46-62651 Motor Mount, Upper (Front)
Notes: For complete kit see MM46-62002 
OEM Part# Application ID Length Width Misc. Dimensions

BCD 27651 1 Century Class 3/4" 7 1/8" 3 1/8" Thickness: 3/4"; Bolt
Holes: 4" c-c

BCD 27651 2 Century Class 3/4" 7 1/8" 3 1/8" Thickness: 3/4"; Bolt
Holes: 4" c-c

BCD 27651 3 Century Class 3/4" 7 1/8" 3 1/8" Thickness: 3/4"; Bolt
Holes: 4" c-c

FAX: 866-920-2005 customerservice@atrobushing.com 35

mailto:customerservice@atrobushing.com


Freightliner
Under Hood

MM46-62660 Motor Mount, Upper (Front)

OEM Part# Application Length Height Width Misc.
Dimensions

Qty per Vehicle

LOR J21246 60 Cascadia &
Coronado

7 5/16" 1 3/8" 3 5/16" Bolt Hole: 3/4"
Bolt Holes: 4" c-c

1

MM46-62721 Motor Mount, Lower (Front)

OEM Part# Application Length Height Width Misc.
Dimensions

Qty per Vehicle

LOR J21247 21 Cascadia &
Coronado

7 1/8" 11/16" 3 1/8" Bolt Hole: 3/4"
Bolt Holes: 4" c-c

1

MM96-62401 Motor Mount

OEM Part# ID Large OD Small OD Height

HUN 12004 3401 5/8" 3" 1 27/32" 1 3/16"

MM96-62401-HT Motor Mount (High Temp)

OEM Part# ID Large OD Small OD Height

HUN 12004 3401 5/8" 3" 1 27/32" 1 3/16"

MS46-19215 Bump Stop, Front Axle

OEM Part# Application OD Length Qty per Vehicle

16-15215-000 Front 3"&4" wide eye & slipper; M2 &
Sterling Acterra

1 9/16" 3 1/16" 2

MS46-29002 Clutch Rod Assembly Bushing
Notes: FRONT BUSHING ONLY  
OEM Part# ID OD Length

Fits in Rod #A02-13110-002 .51"  (1/2" bolt) 1.09" 1"

MS46-66791 Mount

OEM Part# ID OD Misc. Dimensions

LOR J19791 1 1.35" 3.94" Thickness: .88"

PL1003 Motor Mount

OEM Part# ID Large OD Small OD Length

CBA/24-650-17 5/8" 2 3/8" 1 1/2" 2 1/8"

www.atrobushing.com 800-325-6114 36

http://www.atrobushing.com


Freightliner
Under Hood

PL1013 Motor Mount

OEM Part# ID Large OD Small OD Length

J6198-2 13/16" 3 3/4" 2 1/16" 2 5/8"

PL1015 Radiator/Motor Mount

OEM Part# Application ID Large OD Small OD Length

J7165-1 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

PL1015-HT Radiator/Motor Mount (High Temp)

Note: High Temperature 
OEM Part# Application ID Large OD Small OD Length

J7165-1 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

PL1051 Hood Mount

OEM Part# ID Large OD Small OD Length

A17-10464-001 9/16" 4" 1 1/8" 2 15/16"

PL1052 Motor Mount

OEM Part# ID Length Height Width

A01-11166-000 3/4" 2 13/16" 1 3/8" 1 13/16"

PL1105 Motor Mount

OEM Part# ID Large OD Small OD Length

CBA28-1050 13/16" 2 13/16" 1 5/8" 2 1/8"

PL1105-HT Motor Mount (High Temp)
Notes: High Temperature  
OEM Part# ID Large OD Small OD Length

CBA28-1050 13/16" 2 13/16" 1 5/8" 2 1/8"

PL1107 Exhaust Mount/Insulator Bushing

OEM Part# ID Large OD Small OD Length

CB1121-10 9/16" 1 3/4" 1 1/4" 1 1/4"

FAX: 866-920-2005 customerservice@atrobushing.com 37

mailto:customerservice@atrobushing.com


Freightliner
Under Hood

PL1110 Motor Mount

OEM Part# ID Large OD Small OD Length

J6210-41 11/16" 3" 2" 2 1/4"

J6210-49 11/16" 3" 2" 2 1/4"

PL1133 Hood Roller (set of 2)

OEM Part# ID OD Length

J17700-5 1/2" 1 5/16" 2 1/16"

PL1168 Cab Mount

OEM Part# ID Large OD Small OD Length

CB1122-4 1/2" 2" 1 3/8" 1 5/8"

PL1170 Cab Mount

OEM Part# ID Large OD Small OD Length

J6210-46 11/16" 3" 2" 1 13/16"

RM46-63359 Radiator Isolator

OEM Part# Application Length Width Misc. Dimensions

6805040382 Medium Duty, FC70; FC80;
FLB; M2 106

3 3/4" 1 5/8" Thickness: 1 5/8";
Bolts: 3/8"

A6805040182 Medium Duty, FC70; FC80;
FLB; M2 106

3 3/4" 1 5/8" Thickness: 1 5/8";
Bolts: 3/8"

LOR SM1035 9 Medium Duty, FC70; FC80;
FLB; M2 106

3 3/4" 1 5/8" Thickness: 1 5/8";
Bolts: 3/8"

MBT A6805040382 Medium Duty, FC70; FC80;
FLB; M2 106

3 3/4" 1 5/8" Thickness: 1 5/8";
Bolts: 3/8"

RM46-63471 Radiator Isolator

OEM Part# Application Length Width Misc. Dimensions

BCD 28721-1 FL70, FL80 Series Trucks 3 3/4" 3 5/8" Thickness: 1 3/16";
Bolts: 1/2"

BCD 28847-1 FL70, FL80 Series Trucks 3 3/4" 3 5/8" Thickness: 1 3/16";
Bolts: 1/2"

Other
BP99-65000 Trailer Door Bumper

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

FTG 022 01085 1 7/8" 1 5/8" Bolt: 1/2" 2

www.atrobushing.com 800-325-6114 38

http://www.atrobushing.com


Freightliner
Other

CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

SP2106611X 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

FW51-32011 5th Wheel Bushing

OEM Part# ID OD Length

HLD XB 0011 1 1/8" 2" 4 1/4"

FW51-32731 5th Wheel Kit

Contains: (2) PL1006 Bushings, (2) Foot Pins, (2) Bolts, (2) Flanged Locknuts 
Note: Available Summer 2017
OEM Part# Qty per Vehicle

HLD RK 06973 1 1

FW99-32109 5th Wheel Bushing (set of 2)

OEM Part# ID Length Qty per Vehicle

FON BSH 109 L 1 1/4" 2 3/4" 1

FW99-32175 5th Wheel Bushing Kit
Contains: (2) FW99-32109 Lower Bushings, (2) FW99-32172 Upper Bushings 

Bushing

OEM Part# A B

FON BSH 109 L FW99-32109 FW99-32172

FW99-32605 5th Wheel Bushing

OEM Part# ID Large OD Small OD Length

HLD-XB10605 1 3/16" 3 7/8" 2 7/16" 2 1/16"

HL00-64001 Hood Latch

OEM Part# Length

680-880-01-60 8 3/4"

FAX: 866-920-2005 customerservice@atrobushing.com 39

mailto:customerservice@atrobushing.com


Freightliner
Other

HL00-64002 Hood Latch Catch

Note: Included in kits HL46-64530, HL46-64531 and HL96-64018
OEM Part# Application Length

17-14781-000 M2 Business Class 3 1/2"

HL46-64434 Hood Latch Catch

Note: Included in kits HL46-64480, HL46-64650 and HL46-64651
OEM Part# Application Length

17-12434-000 FLD/FLD Classic 5"

HL46-64435 Hood Latch

Note: Included in kits HL46-64480, HL46-64530 and HL46-64531
OEM Part# Application Length

17-12435-000 kit FLD 120, Offset Axle 11 1/4"

HL46-64480 Hood Latch Kit

Contains: (1) HL46-64434, (1) HL46-64435
OEM Part# Application Length

17-12348-000 FLD 120, Classic 11 1/4"

17-12434-000 catch FLD 120, Classic 11 1/4"

17-12438-00 without catch FLD 120, Classic 11 1/4"

HL46-64530 Hood Latch Kit, Left
Contains: (1) HL00-64002, (1) HL46-64435
OEM Part# Application Length

A17-15553-000 Columbia (1995-2008) 11 1/4"

HL46-64531 Hood Latch Kit, Right
Contains: (1) HL00-64002, (1) HL46-64435
OEM Part# Application Length

A17-15553-001 Columbia (1995-2008) 11 1/4"

www.atrobushing.com 800-325-6114 40

http://www.atrobushing.com


Freightliner
Other

HL46-64650 Hood Latch Kit, Left
Contains: (1) HL46-64434, (1) HL46-64435
OEM Part# Application Length

17-12434-000 catch FLD 120, Offset Axle 11 1/4"

17-12435-000 FLD 120, Offset Axle 11 1/4"

HL46-64651 Hood Latch Kit, Right
Contains: (1) HL46-64434, (1) HL46-64435
OEM Part# Application Length

17-12434-001 FLD 120, Offset Axle 11 1/4"

17-12435-001 FLD 120, Offset Axle 11 1/4"

MS99-62620 APU Mount
Contains: (1) Upper Mount, (1) Lower Mount
OEM Part# Application Large OD Small OD Length Misc. Dimensions

LOR CB2202-12 Tri-Pac APU 1 7/8" 1 9/32" 1 5/16" Bolt Size: 1/2"

MS99-63399 Shifter Isolator Bushing Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut
OEM Part# ID OD Length Install Tool

FUL K-3399 .84" 1 1/2" 2.3" PT99-63399

Fruehauf
Suspension

EQ47-35900 Equalizer Bushing Kit
Contains: (2) PL1085, (1) Equalizer Bolt, (2) Washers, (1) Locknut 

OEM Part# Application Length Misc. Dimensions

UXA-000004-900 F Series and J2 Series Trailer
Suspension

8.79" Bolt OD: 2"

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  
OEM Part# ID OD Length

MNW900081395 1 1/8" 3 1/2" 5 1/4"

FAX: 866-920-2005 customerservice@atrobushing.com 41

mailto:customerservice@atrobushing.com


Fruehauf
Suspension

PL1004 Trunnion Bushing

OEM Part# Application ID OD Length

UXA-000160 M-2 Trailer Single Point; D-2 3 15/16" 4 15/16" 8 3/8"

UXA-000160SP1 M-2 Trailer Single Point; D-2 3 15/16" 4 15/16" 8 3/8"

UXA-0160 M-2 Trailer Single Point; D-2 3 15/16" 4 15/16" 8 3/8"

PL1005 Spring Pad

OEM Part# Application Length Height Width Qty per Vehicle

UCD-005635001 M-2 Trailer Single Point; D-2 7 9/16" 1" 4 5/8" 4

UCD-5635-001 M-2 Trailer Single Point; D-2 7 9/16" 1" 4 5/8" 4

PL1043 Spring End Pad

OEM Part# Application Length Height Width Misc. Dimensions

365123 TRA3612 / TRA3613 RR55 Tandem 5 1/2" 2 11/16" 4 1/16" Short Length: 1 9/16"

PL1085 Equalizer Bushing

OEM Part# Application ID Large OD Small OD Length

UXA-000004 T-1 Cargo Care; F / J Series 2" 3 1/2" 2 11/16" 4 3/8"

Torque Rod
PL1084 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

UXA-000011 NT-2 / NT-2W; Pro Trac; F-2 Trailer
Four Spring; NF-2 Pro-Trac Trailer

Spring; J / W Series

1 1/4" 2 1/4" 1 13/16" 2 5/16"

TH47-37900 Torque Rod Bushing Kit

Contains: (2) PL1084, (1) Bolt, (2) Washers, (1) Locknut 
OEM Part# Application Length Misc. Dimensions

UXA-000011900 F Series; J2 Series; NF2 Series; NT-2/NT-2W
Pro-Trac Trailer Suspensions

4 1/2" Bolt: 1.24"

www.atrobushing.com 800-325-6114 42

http://www.atrobushing.com


Fruehauf
Torque Rod

TR47-41026 Torque Rod

Note: Heavy Duty, These bushings will NOT fit OE rod 
Bushing

OEM Part# Application Length A B

FCF-008248004 NT Trailer Suspension 32 1/2" c-c TH47-33026 TH47-33026

TR47-41028 Torque Rod

Note: Heavy Duty, These bushings will NOT fit OE rod 
Bushing

OEM Part# Application Length A B Qty per Vehicle

FCF-008248006 NT; NT-2/NT-2W Pro Trac Air Ride
Trailer Suspension

35 1/2" c-c TH47-33026 TH47-33026 typically 2

Fuller Transmission
Other

MS99-63399 Shifter Isolator Bushing Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut 
OEM Part# Application ID OD Length Install Tool

21244 .84" 1 1/2" 2.3" PT99-63399

23311 .84" 1 1/2" 2.3" PT99-63399

K3399 Transmission Add-On .84" 1 1/2" 2.3" PT99-63399

K-3399 .84" 1 1/2" 2.3" PT99-63399

MS99-63794 Transmission Isolator Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut, (1) Upper Adapter, (1) 
Lower Adapter 
OEM Part# Application Install Tool

S1794 Transmission Add-On Removal: PT99-63399

General Trailer
Suspension

PL1042 Spring End Pad

OEM Part# Length Height Width

- 4 1/4" 4" 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 43

mailto:customerservice@atrobushing.com


General Trailer
Suspension

PL1056 Trunnion Bushing

OEM Part# Application ID OD Length

70-0103 Single Point Suspension 3 1/2" 4 1/2" 4"

PL1057 Spring End Pad

OEM Part# Length Height Width

- 6 5/8" 1/2" 4"

PL1058 Spring End Pad

OEM Part# Length Height Width

- 4" 1/2" 3 1/2"

PL1059 Trunnion Bushing

OEM Part# Application ID OD Length

70-0703 Single Point Suspension 4" 4 7/8" 7 7/8"

Gillig
Suspension

SU03-83202 Bar Assembly Bushing

OEM Part# ID OD Length

82-15270 used in this bar assembly 1" 1 7/8" 1 7/8"

SW03-83201 Sway Bar Isolator

Note: This bushing is non-greaseable, For greaseable bushing see SW03-83204
OEM Part# ID Length Height

55-27964-001 1 1/2" 4" 2 7/8"

www.atrobushing.com 800-325-6114 44

http://www.atrobushing.com


Gillig
Suspension

SW03-83204 Sway Bar Isolator

Note: This bushing is greaseable, For non-greaseable bushing see SW03-83201
OEM Part# ID Length Height

55-29477-004 1 1/2" 4" 2 7/8"

SW99-29700 Sway Bar Bushing

OEM Part# ID OD Length

- .64" 1.875" 1.77"

TN03-83205 Trunnion Bushing

Note: Rotating inner sleeve allows for easy alignment
OEM Part# Application ID OD Length

57-10730-000 A-Frame 3 15/16" 6 1/2" 5 7/16"

Torque Rod
TR03-83200 Torque Rod

Bushing

OEM Part# Length A B

8239803000 17 1/2" c-c TS38000 TH03-82751

GMC
Suspension

CB34012 Center Bushing Kit
Contains: (1) Bushing. (2) TW34000 thrust washers, (1) EP34000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

2325972 Hendrickson 340
Series

3 5/8" 2 3/4" 12" PT60000 2

CB38012 Center Bushing Kit
Contains: (1) Bushing. (2) TW38000 thrust washers, (1) EP38000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Misc. Tool Qty per

Vehicle

2359280 Hendrickson
380-440 Series

4 3/4" 3 1/2" 12" PT30000 Removal:
PT30000

2

CT10000 Cross Tube

OEM Part# Application OD Length

2390348 Hendrickson 380-520 Series 2 7/16" 44 7/8"

FAX: 866-920-2005 customerservice@atrobushing.com 45

mailto:customerservice@atrobushing.com


GMC
Suspension

EB34000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool

2325973 Hendrickson 340 Series 2 1/2" 4 3/8" 5 1/4" PT40000

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per
Vehicle

2359281 Hendrickson 380-440 Series 2 1/2" 4 3/8" 5 3/4" PT40000 4

HV38000 Vertical Bushing

OEM Part# Application ID OD Length

2425394 Hendrickson RS Series 2" 4 1/8" 4"

SF10000 Shear Spring

OEM Part# Application ID OD Height

2454867 SR Series 3" 6 15/16" 3 1/4"

SP48-11118 Spring Eye Bushing

OEM Part# ID OD Length Qty per Vehicle

3888968 9/16" 1 1/2" 3" 6

468481 9/16" 1 1/2" 3" 6

SP48-11751 Spring Eye Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

3887851 Front spring eye bushing
for 3" wide spring eye with

1 1/2"

1/2" 1 1/2" 3" (outer sleeve); 3
11/16" (inner sleeve)

PT00-53000 6

SP48-26753 Spring Eye Bushing

OEM Part# ID OD Length Misc. Dimensions

- .63" 1.563" 3" Bolt: 5/8"

TW38000 Thrust Washer

OEM Part# Application ID OD Misc. Dimensions

2436411 Hendrickson 380-440
Series

3 1/2" 5 3/4" Thickness: 1/8"

www.atrobushing.com 800-325-6114 46

http://www.atrobushing.com


GMC
Under Hood

PL1086 Motor Mount

OEM Part# ID Large OD Small OD Length

702727 11/16" 3 1/4" 2 1/4" 2 5/8"

PL1087 Cab Mount

OEM Part# ID Large OD Small OD Length

2005774 17/32" 3 1/4" 1 5/8" 2 1/2"

PL1088 Motor Mount

OEM Part# ID Large OD Small OD Length

15506936 5/8" Bolt 2 3/8" 1 1/2" 3 3/16"

TM99-63506 Transmission Mount

OEM Part# Application Length Height Width Misc. Dimensions

17990857 Workhorse P42,
W42 Chassis

4 3/4" 1 7/8" 2 7/8"  Bolt Hole: 15/32" Bolt Holes: 3 3/4"
c-c Stud: M10x1.5

Other
CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

15512196 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8"
c-c Bolt Size: 1/2"

GMC/Chevrolet
Suspension

SK00-10500 Spring Eye Bushing Kit
Contains: (1) Spring Eye Bushing. (1) Bolt, (2) Screw Caps, (2) Hex Locknuts, (1) Locknut, (2) Collars 
Notes: Rear torque leaf  
OEM Part# Application ID OD Length Qty per Vehicle

3765438 70; 80; 90; Astro; Titan; Brigadier; Bruin
Series

1" 1 1/2" 3" 2

3769289 70; 80; 90; Astro; Titan; Brigadier; Bruin
Series

1" 1 1/2" 3" 2

SK22-10000 Spring Eye Bushing Kit
Contains: (1) UB75000 Bushing. (1) Bolt, (1) Washer, (1) Locknut  
Notes: Rear torque leaf  
OEM Part# Application ID OD Length Install Tool Qty per Vehicle

3822129 Rear Single Axle Suspension (GM;
IHC Bus Chassis Stamped

Hangers)

1" 1 13/16" 3" PT96000 2

FAX: 866-920-2005 customerservice@atrobushing.com 47

mailto:customerservice@atrobushing.com


GMC/Chevrolet
Suspension

SK22-10100 Spring Eye Bushing Kit
Contains: (1) SP00-52400 Bushings. (1) Bolt, (2) Washers, (1) Locknut  
Notes: Front of Front & Rear of Front  
OEM Part# Application ID OD Length Install Tool Qty per Vehicle

11501035 Top Kick; Kodiak; B; P Series 13/16" 1 13/16" 3 1/2" PT91000 6

11514454 Top Kick; Kodiak; B; P Series 13/16" 1 13/16" 3 1/2" PT91000 6

15588650 Top Kick; Kodiak; B; P Series 13/16" 1 13/16" 3 1/2" PT91000 6

SK22-10200 Spring Eye Bushing Kit
Contains: (2)  SP00-52400 Bushings. (2) Bolts, (4) Washers, (2) Locknuts 
Notes: Rear of front  
OEM Part# Application ID OD Length Install Tool Qty per Vehicle

15588650 Top Kick; Kodiak; B; P Series 13/16" 1 13/16" 3 1/2" PT91000 2

SP00-52400 Spring Eye Bushing
Notes: Rear of front; Front of front  
OEM Part# Application ID OD Misc. Dimensions Install Tool Qty per

Vehicle

15588650 Top Kick; Kodiak; B; P
Series

13/16" 1 13/16" Sleeve Length: 3 1/2" PT91000 6

UB75000 Leaf Spring Bushing
Notes: Front of front; Rear of front  
OEM Part# Application ID OD Length Qty per Vehicle

3822129 Rear Single Axle 1" 1 13/16" 3" 6

GMC/RTS/Nova
Suspension

AT33501 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

G1017326 3 1/2" 5 1/4" c-c Bolt Holes: 15/16" PT48-52000

TH03-82725 Hollow Mount Bushing

Note: Features "no press" precision sleeve
OEM Part# ID OD Length

2383283 2 1/2" 3 5/8" 2 1/2"

2426422 2 1/2" 3 5/8" 2 1/2"

2449224 2 1/2" 3 5/8" 2 1/2"

723330 2 1/2" 3 5/8" 2 1/2"

723330A 2 1/2" 3 5/8" 2 1/2"

N22174 2 1/2" 3 5/8" 2 1/2"

www.atrobushing.com 800-325-6114 48

http://www.atrobushing.com


GMC/RTS/Nova
Suspension

TH03-85000 Transit Rod Bushing

OEM Part# ID OD Length

2314759 2 1/2" 3 5/8" 3 1/8"

700701 2 1/2" 3 5/8" 3 1/8"

700701U 2 1/2" 3 5/8" 3 1/8"

Torque Rod
TS38000 Torque Rod Bushing

Note: Use in place of discontinued TS38095 
OEM Part# OD Length Misc. Dimensions Install Tool Misc. Tool

N8800599 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100 PT00-52100

N8884777 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100 PT00-52100

N8888164 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100 PT00-52100

Under Hood
MM03-83023 Mount Assembly

OEM Part# ID Large OD Small OD Height

15503823 3/4" 3 11/16" 2" 2 3/16"

15503823A 3/4" 3 11/16" 2" 2 3/16"

15503823CG 3/4" 3 11/16" 2" 2 3/16"

15503823U 3/4" 3 11/16" 2" 2 3/16"

2096958 3/4" 3 11/16" 2" 2 3/16"

MM03-83092 Motor Mount (Rear)

OEM Part# ID Large OD Small OD Height

6776397 3/4" 3 1/2" 2" 1 15/16"

682692 3/4" 3 1/2" 2" 1 15/16"

682692CG 3/4" 3 1/2" 2" 1 15/16"

682692U 3/4" 3 1/2" 2" 1 15/16"

Other
SB03-83008 Shock Bushing

OEM Part# ID OD Length

2350908 1" 1 7/8" 7/8"

2350908U 1" 1 7/8" 7/8"

Granning
Suspension

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

1003 T100A/AT; T200A/300A; T200AX
Lift Axle Suspension

2 1/2" 4 3/8" 5 3/4" PT40000 4

FAX: 866-920-2005 customerservice@atrobushing.com 49

mailto:customerservice@atrobushing.com


Great Dane
Suspension

EQ53-35250 Equalizer Beam w/Bushing
Contains: (1) Equalizer Beam, (1) EQ53-35234 Bushing Kit, (2) 5/8" Bolts, (2) Locknuts, (2) Spacer Sleeves  Note: 
Includes ATRO polyurethane version of OE# 7010-00 bushing
OEM Part# Application Length Misc. Dimensions Bushing A Qty per Vehicle

750-03 Model H; Four Spring (49" axle
spacing)

16 1/2" Bolt Hole 3/4"; Bolt
Holes: 1 3/8" c-c

EQ53-35234 2

EQ83-35000 Equalizer Beam w/Bushing
Contains: (1) Equalizer Beam w/EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut, (2) 5/8" Bolt, (2) 5/8" 
Locknuts, (2) Spacer Sleeves
OEM Part# Application Length Misc. Dimensions Bushing A

0650-00 no hardware Model R Four Spring 16 1/2" Bolt Hole: 1" EQ83-35902

EQ83-35902 Equalizer Bushing

OEM Part# Application ID OD Length

0649-02 Model R Four Spring 1" 3 5/16" 4"

EQ83-35904 Equalizer Bushing Kit
Contains: (1) EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut
OEM Part# Application ID OD Length Bushing A

K0649-04 Model R Four Spring 1" 3 5/16" 4" EQ83-35902

Torque Rod
PL1084 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

GDH7620-00 Model H; Four
Spring Suspension

1 1/4" 2 1/4" 1 13/16" 2 5/16"

TH53-37637 Torque Rod Bushing Kit
Contains: (2) PL1084, (1) Bolt, (2) Washers, (1) Nut
OEM Part# Length Misc. Dimensions

GDH7620-00 bushing 6 1/6" (shaft) Bolt: 1 1/4"

Other
BP99-34303 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

SL3000W 5 9/16" 3 3/8" 2 3/4" Bolt Hole: 1/2";  Bolt
Holes: 2 1/2" c-c

2

www.atrobushing.com 800-325-6114 50

http://www.atrobushing.com


Great Dane
Other

BP99-34863 Trailer Door Bumper
Notes: Accepts 3/8" socket head cap screw 
OEM Part# ID OD Length Qty per Vehicle

42500863 .38" 1.7" 1.12" 2

BP99-65182 Bumper
Notes:  Replaces BP99-36641 
OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

035-25182 6 1/4" 3 1/2" 2 1/2" Bolt Hole: 1/2" Bolt Holes: 3 3/4" c-c 2

BP99-65304 Bumper
Notes:  Replaces BP99-34301 
OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

41700301 5 5/8" 3 1/2" 2 3/4" Bolt Hole: 1/2" Bolt Holes: 2 3/4" c-c 2

41700304 5 5/8" 3 1/2" 2 3/4" Bolt Hole: 1/2" Bolt Holes: 2 3/4" c-c 2

MS99-34008 Trailer/Dock Bumper Pad

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

30036 8" 3 5/8" 5 1/2" Bolt Holes: .775" Bolt Hole Pattern:
3.4" c-c x 5.5" c-c

2

41700322 8" 3 5/8" 5 1/2" Bolt Holes: .775" Bolt Hole Pattern:
3.4" c-c x 5.5" c-c

2

Heil
Other

BP99-65535 Bumper/Arm Stop

OEM Part# Application Length Height Width Misc. Dimensions Qty per
Vehicle

01411535 Half Pack® 9 7/8" 2 13/16" 4 1/2" Bolt Hole: 5/8";  Bolt Holes 5" c-c 2

MS99-69717 Grabber Assembly Roller
Contains: (1) Roller Bushing, (2) Washers
OEM Part# Application ID OD Length

0620717 MultiPack SL 1/2" 2 1/2" 1 7/16"

MS99-69804 Roller Gripper

OEM Part# OD Length Misc. Dimensions

0620804 2 1/2" 2" ID Bolt Size: 5/8"

FAX: 866-920-2005 customerservice@atrobushing.com 51

mailto:customerservice@atrobushing.com


Hendrickson Haulmaax

www.atrobushing.com 800-325-6114 52

http://www.atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Hendrickson HN

FAX: 866-920-2005 customerservice@atrobushing.com 53

mailto:customerservice@atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Hendrickson Intraax Vantraax

www.atrobushing.com 800-325-6114 54

http://www.atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Hendrickson Primaax

FAX: 866-920-2005 customerservice@atrobushing.com 55

mailto:customerservice@atrobushing.com


Hendrickson RS

www.atrobushing.com 800-325-6114 56

http://www.atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Hendrickson RT

FAX: 866-920-2005 customerservice@atrobushing.com 57

mailto:customerservice@atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Hendrickson
Suspension

AK34100 Beam End Adapter Kit
Contains: (2) Sleeves. (2) End Caps, (1) Bolt, (1) Locknut, (2) Washers 
OEM Part# Application Misc. Dimensions Qty per Vehicle

45000005 RS Bolt: 1" 4

45000013 RS Bolt: 1" 4

4500013L RS Bolt: 1" 4

AK38200 Beam End Adapter Kit
Contains: (1) Spacer. (2) End Caps, (1) Bolt, (1) Locknut, (2) Washers 
OEM Part# Application Misc. Dimensions Qty per Vehicle

21140-34 340-440 Series; 343 Model Bolt: 1" 4

AK45100 Beam End Adapter Kit
Contains: (2) Sleeves. (2) End Caps, (1) Bolt, (1) Locknut, (2) Washers 
OEM Part# Application Misc. Dimensions Qty per Vehicle

21140-33 480-520 Series; Models 503;
523

Bolt: 1" 4

AK50100 Beam End Adapter Kit
Contains: (1) Shaft. (2) End Caps, (2) Nuts, (2) Cotter Pins 
OEM Part# Application Misc. Dimensions Qty per Vehicle

211407 650 Series Shaft: 2" 4

AK50-45000 Beam End Adapter Kit
Contains: (1) Sleeve. (2) End Caps, (1) Bolt, (1) Locknut, (2) Washers 
Notes: Use kit with TH85000 Bushing  
OEM Part# Misc. Dimensions Qty per Vehicle

45000 011L Bolt: 1" Varies

AK65100 Beam End Adapter Kit
Contains: (1) Shaft. (2) Sleeves, (2) Nuts, (1) Washer, (2) Cotter Pins 
OEM Part# Application Misc. Dimensions Qty per Vehicle

- 850 Series Shaft: 2" 4

AT33501 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

48304 RT650 3 1/2" 5 1/4" c-c Bolt Holes: 15/16" PT48-52000

www.atrobushing.com 800-325-6114 58

http://www.atrobushing.com


Hendrickson
Suspension

CB27500 Center Bushing

OEM Part# Application ID OD Length Qty per Vehicle

47420 E4 Series; HFS360/40LH 1" 2 3/4" 4 5/8" 2

48402 E4 Series; HFS360/40LH 1" 2 3/4" 4 5/8" 2

48932 E4 Series; HFS360/40LH 1" 2 3/4" 4 5/8" 2

CB34010 Center Bushing Kit
Contains: (1) Bushing. (2) TW34000 thrust washers 
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

22279 340 Series; Model 343 3 5/8" 2 3/4" 12" PT60000 2

CB34011 Center Bushing Kit
Contains: (1) Bushing. (2) TW34000 thrust washers, (1) EP34000 loose end plug 
Notes: Weld plugs using electric welder only  
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

22279 340 Series; Model 343 3 5/8" 2 3/4" 12" PT60000 2

22279-000L 340 Series; Model 343 3 5/8" 2 3/4" 12" PT60000 2

CB34012 Center Bushing Kit
Contains: (1) Bushing. (2) TW34000 thrust washers, (1) EP34000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

06664-000L 340 Series; Model 343 3 5/8" 2 3/4" 12" PT60000 2

29481-5 340 Series; Model 343 3 5/8" 2 3/4" 12" PT60000 2

6664 340 Series; Model 343 3 5/8" 2 3/4" 12" PT60000 2

CB38010 Center Bushing Kit
Contains: (1) Bushing. (2) TW38000 thrust washers 
OEM Part# Application Large OD Small OD Length Install Tool Qty per

Vehicle

22282 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

49600 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

CB38011 Center Bushing Kit

Contains: (1) Bushing. (2) TW38000 thrust washers, (1) EP38000 loose end plug 
Notes: Weld plugs using electric welder only  
OEM Part# Application Large OD Small OD Length Install Tool Qty per

Vehicle

22282 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

22282-000L 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

49600-000L 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

CB38012 Center Bushing Kit
Contains: (1) Bushing. (2) TW38000 thrust washers, (1) EP38000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Qty per

Vehicle

05919-000L 380-440 Series: Model 403 4 3/4" 3 1/2" 12" PT30000 2

29483-5 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

49400 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

49400-000L 380-440 Series; Model 403 4 3/4" 3 1/2" 12" PT30000 2

FAX: 866-920-2005 customerservice@atrobushing.com 59

mailto:customerservice@atrobushing.com


Hendrickson
Suspension

CB38065 Center Bushing Kit (Severe Duty)
Contains: (1) Bushing. (2) TW38000 Thrust Washers, (1) EP38000 Loose End Plug  
Notes: Weld plugs using electric welder only, Severe Duty 
OEM Part# Application Large OD Small OD Length Install Tool Qty per

Vehicle

30240-2 Bronze/steel center bushing
applications

4 3/4" 3 1/2" 12" PT30000 2

CB50000 Center Bushing Kit
Contains: (1) Bushing. (2) TW50650 Thrust Washers, (1) EP50000 Welded End Plug 
OEM Part# Application Large OD Small OD Length Qty per Vehicle

10366 650 Series 5 1/2" 4" 14 5/8" 2

CB50011 Center Bushing Kit
Contains: (1) Bushing. (2) TW50650 Thrust Washers, (1) EP50000 Loose End Plug 
Notes: Weld plugs using electric welder only  
OEM Part# Application Large OD Small OD Length Qty per Vehicle

10366 650 Series 5 1/2" 4" 14 5/8" 2

CB65002 Center Bushing Kit
Contains: (1) Bushing. (2) TW50650 Thrust Washers, (1) EP50000 Welded End Plug 
OEM Part# Application Large OD Small OD Length Qty per Vehicle

15464 850 Series 5 7/8" 4" 18" 2

CB65011 Center Bushing Kit
Contains: (1) Bushing. (2) TW50650 Thrust Washers, (1) EP50000 Loose End Plug  
Notes: Weld plugs using electric welder only  
OEM Part# Application Large OD Small OD Length Qty per Vehicle

15464 850 Series 5 7/8" 4" 18" 2

CB85000 Center Bushing Kit
Contains: (1) Bushing. (2) TW85000 Thrust Washers, (1) EP85000 Welded End Plug 
OEM Part# Application Large OD Small OD Length Qty per Vehicle

14110 1000 Series 8 7/16" 6 15/16" 18 1/2" 2

CB85011 Center Bushing Kit
Contains: (1) Bushing. (2) TW85000 Thrust Washers, (1) EP85000 Loose End Plug 
Notes: Weld plugs using electric welder only  
OEM Part# Application Large OD Small OD Length Qty per Vehicle

14110 1000 Series 8 7/16" 6 15/16" 18 1/2" 2

CB90000 Center Bushing Kit
Contains: (1) Bushing. (2) TW85000 Thrust Washers, (1) EP85000 Welded End Plug  
Notes: Offset inner sleeve  
OEM Part# Large OD Small OD Length Qty per Vehicle

8 7/16" 6 15/16" 27 1/8" 2

www.atrobushing.com 800-325-6114 60

http://www.atrobushing.com


Hendrickson
Suspension

CT10000 Cross Tube

OEM Part# Application OD Length

44643-9 380-520 Series; Model 403; 463; 503; 523 2 7/16" 44 7/8"

EA38000 End Bushing & Adapter Kit
Contains: (1) EB38000. (1) AK38200 

Bushing

OEM Part# Application A B

34013050 340-440 Series; Model 343; 403 EB38000 AK38200

34013-49 340-440 Series; Model 343; 403 EB38000 AK38200

EA50000 End Bushing & Adapter Kit
Contains: (1) EB50000. (1) AK50100 

Bushing

OEM Part# Application A B

10363 end bushing 650 Series EB50000 AK50100

211407 adapter kit 650 Series EB50000 AK50100

EB27500 End Bushing

OEM Part# Application ID OD Length

47421 E4 Series 7/8" 2 3/8" 3 1/8"

48401 E4 Series 7/8" 2 3/8" 3 1/8"

48929 E4 Series 7/8" 2 3/8" 3 1/8"

EB34000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool

06969-000L 340 Series; Model 343 2 1/2" 4 3/8" 5 1/4" PT40000

6969 340 Series; Model 343 2 1/2" 4 3/8" 5 1/4" PT40000

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

29878-1 380-440 Series; Model 403 2 1/2" 4 3/8" 5 3/4" PT40000 4

45900 380-440 Series; Model 403 2 1/2" 4 3/8" 5 3/4" PT40000 4

45900-000L 380-440 Series; Model 403 2 1/2" 4 3/8" 5 3/4" PT40000 4

EB45000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool

45407 480-520 Series; Models 503; 523 2 1/2" 4 3/8" 6" PT40000

FAX: 866-920-2005 customerservice@atrobushing.com 61

mailto:customerservice@atrobushing.com


Hendrickson
Suspension

EB50000 Beam End Bushing

OEM Part# Application ID OD Length

10363 650 Series 3" 5 31/32" 6"

EB50-21013 Bar Pin Bushing Kit

Contains: (1) Bar Pin Bushing. (2) Bolts, (2) Nuts, (4) Shims, (4) Washers 
OEM Part# Application Large

OD
Length Misc. Dimensions Install Tool Qty per

Vehicle

34013-087L AR;R;RT;RTE;RT2;RU;RUE;RS;
HN;Haulmaax® Series

Suspensions

4 3/8" 8 1/2" c-c Bolt Holes: 1 1/16" PT50-21013 4

34013-088L AR;R;RT;RTE;RE2;RU;RUE;RS;
HN;Haulmaax® Series

Suspensions

4 3/8" 8 1/2" c-c Bolt Holes: 1 1/16" PT50-21013 4

34013-87 AR;R;RT;RTE;RT2;RTE2;RU;RU
E;RS; HN;Haulmaax® Series

Suspensions

4 3/8" 8 1/2" c-c Bolt Holes: 1 1/16" PT50-21013 4

3401388 AR;R;RT;RTE;RT2;RTE2;RU;RU
E;RS; HN;Haulmaax® Series

Suspensions

4 3/8" 8 1/2" c-c Bolt Holes: 1 1/16" PT50-21013 4

50150000 AR;R;RT;RTE;RT2;RTE2;RU;RU
E;RS; HN;Haulmaax® Series

Suspensions

4 3/8" 8 1/2" c-c Bolt Holes: 1 1/16" PT50-21013 4

50160000 AR;R;RT;RTE;RT2;RTE2;RU;RU
E;RS; HN;Haulmaax® Series

Suspensions

4 3/8" 8 1/2" c-c Bolt Holes: 1 1/16" PT50-21013 4

EB65000 Beam End Bushing

OEM Part# Application ID OD Length

10364 850 Series 3" 5 31/32" 7"

EB85000 Beam End Bushing

OEM Part# Application ID OD Length

15424 1000 Series 3 1/2" 8 7/16" 7 3/4"

EP34000 End Plug

OEM Part# Application OD

22278 340 Series; Model 343 2"

EP38000 End Plug

OEM Part# Application OD

22281 380-440 Series; Model 403 2 1/2"

www.atrobushing.com 800-325-6114 62

http://www.atrobushing.com


Hendrickson
Suspension

EP50000 End Plug

OEM Part# OD

3"

EP85000 End Plug

OEM Part# OD

5"

HC10000 Center Load Cushion

OEM Part# Application Large OD Qty per Vehicle

24209 RS 340-520 Series; Model 343;
403; 463; 503; 523

7" 2

HC20000 Load Cushion

OEM Part# Application Length Width

26953 RS 340-520 Series 12" 6 3/4"

48972 RS 340-520 Series; Model 343;
403; 463; 503; 523

12" 6 3/4"

48973 RS 340-520 Series 12" 6 3/4"

HS11000 Jounce Stop

OEM Part# Application Length Height Width

49395 HN Series 460 4 3/4" 2 1/8" 2 1/16"

49395000 HN Series 460 4 3/4" 2 1/8" 2 1/16"

49395-000 HN Series 460 4 3/4" 2 1/8" 2 1/16"

HS12000 Rebound Spring

OEM Part# Application Large OD Height

48570 HN Series 460 2 13/16" 3 5/16"

48570000 HN Series 460 2 13/16" 3 5/16"

48570-000 HN Series 460 2 13/16" 3 5/16"

HV38000 Vertical Bushing

OEM Part# Application ID OD Length

19279 RS 340-520; Model 343; 403; 463; 503;
523/AR 340-380 Series

2" 4 1/8" 4"

HW50-21013 Hardware Kit
Contains: (1) Bolts. (1) Locknuts, (2) Shims, (2) Washers  
Notes: Bolt Kit for EB50-21013  

FAX: 866-920-2005 customerservice@atrobushing.com 63

mailto:customerservice@atrobushing.com


Hendrickson
Suspension

HW50-26679 Hardware Kit, Shear Bolt (Long)
Contains: (1) 7/8"-9x10" GR8 Shear Bolt, (2) Washers, hardened, (1) Locknut, GRC  
Note: For tri-functional bushing
OEM Part# Qty per Vehicle

S24679 bolt assy only 2/axle

HW50-26705 Hardware Kit, Shear Bolt (Short)
Contains: (1) 7/8"-9x7" GR8 Shear Bolt, (2) Washers, hardened, (1) Locknut, GRC  
Note: For narrow tri-functional bushing
OEM Part# Qty per Vehicle

S24705 bolt assy only 2/axle

HW50-26961 Collar/Hardware Kit

Contains: (1) MS50-26632 Eccentric Collar, (1) MS50-26633 Concentric Collar, (1) Hex Head Bolt 1-14UNF x 7 
1/2" 

Bushing

OEM Part# Application A B Qty per Vehicle

60632-006 Primaax® MS50-26632 MS50-26633 2/per axle

60632-019 Primaax® MS50-26632 MS50-26633 2/per axle

KT50-25002 Suspension Kit
Contains: (4) LP50-24179. (1) LP50-24902 
Notes: REPLACES KT50-25000  

Bushing

OEM Part# Application A B C

64179-002 bolster Haulmaax® LP50-24179 LP50-24902 MS50-29791

64179-037 bolster Haulmaax® LP50-24179 LP50-24902 MS50-29791

65743-000 bolster Haulmaax® LP50-24179 LP50-24902 MS50-29791

65902-004 spring & shims Haulmaax® LP50-24179 LP50-24902 MS50-29791

KT50-25003 Suspension Kit
Contains: (4) LP50-24179. (2) LP50-24902, (1) MS50-29891 

Bushing

OEM Part# Application A B C

64179-002 bolster Haulmaax® LP50-24179 LP50-24902 MS50-29891

64179-037 bolster Haulmaax® LP50-24179 LP50-24902 MS50-29891

64890-000 wear plate Haulmaax® LP50-24179 LP50-24902 MS50-29891

65743-000 bolster Haulmaax® LP50-24179 LP50-24902 MS50-29891

65902-004 spring & shim Haulmaax® LP50-24179 LP50-24902 MS50-29891

LP50-24000 Bolster Spring (set of 2)

Contains: (2) Bolster Springs 
OEM Part# Application Qty per Vehicle

49377 HN Series 402/460/462 2

49377000 HN Series 402/460/462 2

60879000L HN Series 402/460/462 2

www.atrobushing.com 800-325-6114 64

http://www.atrobushing.com


Hendrickson
Suspension

LP50-24179 Bolster Spring Kit

Contains: (2) Bolster Springs. (1) Spacer, (1) Flange Bolt, (9) Flange Nuts 
OEM Part# Application Qty per Vehicle

64179-002 non-tie bolt design Haulmaxx® (all models) 4

64179-037 Haulmaxx® (all models) 4

65743-000 Haulmaax® 4

LP50-24745 Progressive Load Spring Kit

Contains: (1) LP50-24778. (3) Bolts, (3) Locknuts 
OEM Part# Application Bushing A

60961-745 Haulmaax® LP50-24778

LP50-24746 Progressive/Auxiliary Load Spring Kit
Contains: (1) Auxiliary Load Spring, (1) Progressive Load Spring, (2) MS50-29791, (10) Bolts, (10) Locknuts 
Note: For Weight Bias Vehicles 

Bushing

OEM Part# Application A B C

60961-746 Haulmaax® LP50-24778 LP50-24974 MS50-29791

LP50-24747 Progressive Load Spring Kit
Contains: (2) LP50-24778. (6) Bolts, (6) Locknuts 
OEM Part# Application Bushing A

60961-747 Haulmaax® LP50-24747

LP50-24778 Progressive Load Spring

OEM Part# Application Length Height Width Qty per Vehicle

67778/C Haulmaax® 5" 4 1/4" 5" 2

67778-000 Haulmaax® 5" 4 1/4" 5" 2

LP50-24902 Progressive Load Spring Kit
Contains: (2) LP50-24778. (2) MS50-29791, (6) Bolts, (6) Locknuts 

Bushing

OEM Part# Application A B

65902-004 Haulmaax® LP50-24778 MS50-29791

FAX: 866-920-2005 customerservice@atrobushing.com 65

mailto:customerservice@atrobushing.com


Hendrickson
Suspension

LP50-24974 Auxiliary Load Spring Kit
Contains: (1) Auxiliary Spring Pad. (3) 1/2 x 2 1/4" Bolts, (3) 1/2" Locknuts  
Notes: Bolts and nuts only required for Haulmaax® application 4/96-8/98 and 9/98-11/00 models only if 
previously retro-fitted with new style pad with shims 
OEM Part# Application Length Height Width Qty per Vehicle

60314000 Haulmaax HN402/462/522
11/00-current; 4/96-8/98 and

9/98-11/00

4 13/16" 3 5/16" 5" 4

64179004 Haulmaax HN402/462/522
11/00-current; 4/96-8/98 and

9/98-11/00

4 13/16" 3 5/16" 5" 4

641794 Haulmaax HN402/462/522
11/00-current; 4/96-8/98 and

9/98-11/00

4 13/16" 3 5/16" 5" 4

MS50-26632 Eccentric Collar
Note: Zinc Plated, Adjustment Drive Size: 1/2" SQ
OEM Part# Application Large OD Small OD Length Misc.

Dimensions
Qty per Vehicle

64096-000 Primaax® 3 3/4" 1 1/4" 1 3/4" Flange
Thinkness: 1/2"

2/per axle

64632-000 Primaax® 3 3/4" 1 1/4" 1 3/4" Flange
Thinkness: 1/2"

2/per axle

MS50-26633 Concentric Collar
Note: Zinc Plated, Adjustment Drive Size 1/2" SQ
OEM Part# Application Large OD Small OD Length Misc.

Dimensions
Qty per Vehicle

64097-000 Primaax® 3 3/4" 1 1/4" 1 3/4" Flange
Thickness: 1/2"

2/per axle

64633-000 Primaax® 3 3/4" 1 1/4" 1 3/4" Flange
Thickness: 1/2"

2/per axle

MS50-29791 Auxiliary Shim

OEM Part# Application Length Width Misc. Dimensions

60791000 Haulmaax® 9 1/2" 4 3/4" Thickness: 1/4"

MS50-29890 Wear Plate

OEM Part# Application

64890-000 Haulmaax®

MS50-29891 Wear Plate (set of 4)
Contains: (4) MS50-29890 Wear Plates 
OEM Part# Application Bushing A

64890-000 (single) Haulmaax® MS50-29890

www.atrobushing.com 800-325-6114 66

http://www.atrobushing.com


Hendrickson
Suspension

PB00-26422 Pivot Bushing Kit
Contains: (2) PB00-36314. (1) Inner Sleeve, (1) Bolt  3/4" x 5, (1) Locknut, (2) Washers 
OEM Part# Application Qty per Vehicle

R005422 Composilite Lift Axle 2

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings, (8) Inner Sleeves, (8) Bolts 3/4" x 5" 
OEM Part# Application

R008839 Composilite Lift Axle

PB00-36314 Flange Bushing

OEM Part# Application ID Large OD Small OD Misc. Dimensions

004931 Trailer suspensions & lift
axles

1 1/2" 3" 2 1/4" Barrel Length: 1 1/4";
Flange Thickness: 3/16"

PB46-26268 Pivot Bushing (Anti-Walk)

Notes: Anti-Walk High Confinement 
OEM Part# OD Misc. Dimensions Install Tool Qty per Vehicle

52296 2 1/2" Bolt Hole: 3/4"; Bolt Holes: 5 21/32" c-c PT50000 2

PB50-26632 Pivot Bushing Kit

Contains: (2) PB50-26648 Pivot Bushings, (2) HW50-26961 Collar/Hardware Kit 
Bushing

OEM Part# Application A B Qty per Vehicle

60632-020 axle set Primaax® PB50-26648 HW50-26961 1/per axle

60632-8 Primaax® PB50-26648 HW50-26961 1/per axle

PB50-26648 Pivot Bushing
Notes: Use ONLY in Hendrickson Primaax® & Firemaax® appls. Do not use in Hendrickson MaxAir® or Mack 
Twisted Sister® applications 
OEM Part# Application ID OD Length Qty per Vehicle

58648000 Primaax®/Firemaax® 1 1/4" 2 15/16" 3 5/8" 4

70425001 1 1/4" 2 15/16" 3 5/8" 4

FAX: 866-920-2005 customerservice@atrobushing.com 67

mailto:customerservice@atrobushing.com


Hendrickson
Suspension

PB50-26961 Pivot Bushing Kit

Contains: (1) PB50-26648 Pivot Bushing, (1) HW50-26961 Collar/Hardware Kit 
Bushing

OEM Part# Application A B Qty per Vehicle

58648-000 bushing Primaax® PB50-26648 HW50-26961 2 per axle

60632-005 bolt kit only Primaax® PB50-26648 HW50-26961 2 per axle

60961-720 Primaax® PB50-26648 HW50-26961 2 per axle

PB50-36914 Pivot Bushing Kit

Contains: (1) Pivot Bushing, (3) Alignment Collars, (1) Bolt Sleeve, (1) Bolt, (1) Nut
OEM Part# Application ID OD Length Misc.

Dimensions
Install Tool

A-6914 HLM; HT; T; TDC; TMB Series 1 1/8" 5 7/8" 6 3/4" Bolt: 1 1/8" PT50-59307

PB50-36914-EI Pivot Bushing Kit
Contains: (1) Pivot Bushing, (3) Alignment Collars, (1) Bolt Sleeve, (1) Bolt, (1) Nut   
Note: Easy Install
OEM Part# Application ID OD Length Misc.

Dimensions
Install Tool

A-6914 HLM; HT; T; TDC; TMB Series 1 1/8" 5 1/2" 6 3/4" Bolt: 1 1/8" PT50-59307

SF10000 Shear Spring

OEM Part# Application ID OD Height

15137 SR Series 3" 6 15/16" 3 1/4"

15137000 SR Series 3" 6 15/16" 3 1/4"

SK80268 Suspension Rebuild Kit
Contains: (4) EB50-21013. (2) LP50-24000 (4 bolsters)  

SK80340 Suspension Rebuild Kit
Contains: (2) CB34011. (4) EB34000, (4) AK34100 
Notes: Weld plugs using electric welder only  

SK80380 Suspension Rebuild Kit
Contains: (2) CB38011. (4) EB38000, (4) AK38200 
Notes: Weld plugs using electric welder only  

www.atrobushing.com 800-325-6114 68

http://www.atrobushing.com


Hendrickson
Suspension

SK80381 Suspension Rebuild Kit
Contains: (2) CB38011. (4) EB50-21013  
Notes: Weld plugs using electric welder only  

SK80382 Suspension Rebuild Kit
Contains: (2) CB38012. (4) EB50-21013 

SK80383 Suspension Rebuild Kit
Contains: (1) CB38011. (1) CB38012, (4) EB50-21013  
Notes: Weld plugs using electric welder only  

SK80400 Suspension Rebuild Kit
Contains: (2) CB38011. (4) EB38000, (4) AK38200, (4) HC20000, (4) HV38000  
Notes: Weld plugs using electric welder only  

SK80401 Suspension Rebuild Kit
Contains: (2) CB38011. (4) EB50-21013, (4) HC20000, (4) HV38000  
Notes: Weld plugs using electric welder only  

SK80402 Suspension Rebuild Kit
Contains: (2) HC10000 

SK80460 Suspension Rebuild Kit
Contains: (4) EB50-21013. (2) LP50-24000 (4 bolsters), (2) HS11000, (4) HS12000 

FAX: 866-920-2005 customerservice@atrobushing.com 69

mailto:customerservice@atrobushing.com


Hendrickson
Suspension

SU50-29383 D-Pin Bushing
Notes: Non-Rotating Design  
OEM Part# Application OD Misc. Dimensions Install Tool Qty per

Vehicle

60383000 Primaax®/Firemaax® 2 1/2" Pin Bolt Holes: 5 9/16" c-c;
Bolt Hole: 7/8"

PT85-51000 4

60383-000 d-pin bushing Primaax®/Firemaax® 2 1/2" Pin Bolt Holes: 5 9/16" c-c;
Bolt Hole: 7/8"

PT85-51000 4

TW34000 Thrust Washer

OEM Part# Application ID OD Misc.
Dimensions

32364 340 Series; Model 343 2 3/4" 4 5/8" Thickness: 1/8"

TW38000 Thrust Washer

OEM Part# Application ID OD Misc.
Dimensions

32365 380-440 Series; Model 403 3 1/2" 5 3/4" Thickness: 1/8"

TW50-29495 Wear Washer

OEM Part# Application ID OD Misc.
Dimensions

Qty per Vehicle

B-14495 Para-LiftAxleAirRide,HLN/HLP/HLU
/HLUS(AuxLiftAxle)

2 1/4" 4 1/4" Thickness: 3/16" 16

TW50650 Thrust Washer

OEM Part# Application ID OD Misc.
Dimensions

45261 650-850 Series 4" 6 1/2" Thickness: 1/8"

TW85000 Thrust Washer

OEM Part# ID OD Misc. Dimensions

7" 9" Thickness: 1/8"

WP50-29004 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Retaining Brackets, (2) Bolts 
OEM Part# Application Length Height Width Bushing A

56557-004 HAS 400/402/460/40LH 3 3/4" 1 1/2" 3 3/16" WP50-29929

www.atrobushing.com 800-325-6114 70

http://www.atrobushing.com


Hendrickson
Suspension

WP50-29005 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Spring Pins 
OEM Part# Application Length Height Width Bushing A

56557-005 HAS 400/402/460/40LH 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29557 Wear Pad Kit
Contains: (1) Slipper Pad. (2) Retaining Plates, (4) Bolts 
OEM Part# Application Length Height Width Misc.

Dimensions

50612-000 pad only HA 180/200/230/360/400/460; HAS
360:HFS 360/400/40LH Series; E4 Series

6 7/8" 3" 3" Bolt: 3/8"

56557-002 pad only HA 180/200/230/360/400/460; HAS
360:HFS 360/400/40LH Series; E4 Series

6 7/8" 3" 3" Bolt: 3/8"

WP50-29929 Wear Pad

OEM Part# Application Length Height Width

56929 HAS 360 Series 3 3/4" 1 1/2" 3 3/16"

56929-000 HAS 360 Series 3 3/4" 1 1/2" 3 3/16"

Torque Rod
IN35180 Torque Rod Bushing

OEM Part# Application OD Length Misc.
Dimensions

476991 International Paystar; Cargostar; S
Series 9600-9700

3" 5 11/16" Bolt Hole: 13/16"

73073-1 International Paystar; Cargostar; S
Series 9600-9700

3" 5 11/16" Bolt Hole: 13/16"

IN35190 Torque Rod Bushing

OEM Part# Application ID OD Length

45477 International Paystar; Cargostar; S
Series 9600-9700

1 1/8" 3" 3 1/4"

PL1146 Torque Rod Bushing

Note: Does NOT Rotate, See TS50-22691 for preferred bushing 
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

47691 E4 340-400; HFS 360-460; HAS
360-460; HA 180-460 Series

1.91" 4 3/8"  Bolt Holes:
11/16" Bolt: 5/8"

PT00-52000 2/rod

47691000 E4 340-400; HFS 360-460; HAS
360-460; HA 180-460 Series

1.91" 4 3/8"  Bolt Holes:
11/16" Bolt: 5/8"

PT00-52000 2/rod

FAX: 866-920-2005 customerservice@atrobushing.com 71

mailto:customerservice@atrobushing.com


Hendrickson
Torque Rod

SK27174 Torque Rod Kit
Contains: (1) TR71000, (1) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27175 Torque Rod Kit
Contains: (2) TR71000, (2) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27176 Torque Rod Kit
Contains: (1) TR71000, (1) TR76000  Note: Finished length up to 27" 

Bushing

Misc. Dimensions A B

Bolt Hole: 5/8" TS38000 TT38000

SK70380 Torque Rod Bushing Kit
Contains: (4) TS38000 

Misc. Dimensions

Bolt Hole: 5/8"

SK70381 Torque Rod Bushing Kit
Contains: (6) TS38000, (2) TT38000 

Misc. Dimensions

Bolt Hole: 5/8"

TH50000 Torque Rod Bushing

OEM Part# ID OD Length Install Tool

46736 1 1/8" 2 3/4" 3 1/4" PT10000

64400-010L 1 1/8" 2 3/4" 3 1/4" PT10000

TH50-22692 Torque Rod Bushing
Note: Bushing does NOT rotate, Flanged design to prevent bushing walk out, Fits Hendrickson ULTRA ROD® 
OEM Part# Application ID OD Length Install Tool Qty per Vehicle

47692-000 Primaax®/Firemaax® 7/8" 1 15/16" 3" PT00-52500 8; 4/axle

www.atrobushing.com 800-325-6114 72

http://www.atrobushing.com


Hendrickson
Torque Rod

TH85000 Hollow Mount Bushing

OEM Part# Application ID OD Length

6966 R280 Series (end beam bushing); R1000 Series
(torque rod bushing)

2 1/2" 4 3/8" 4 1/2"

TM38000 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

46735 380-520 Series; Model 403; 463; 503;
523

2 3/4" 7" Stud: 1 1/4"-12 PT59-59100

64400-007L 380-520 Series; Model 403; 463; 503;
523

2 3/4" 7" Stud: 1 1/4"-12 PT59-59100

TR59-41150 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

62350-635 25" c-c TS38000 TT38000 typically 2

TR59-41375 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

62000-610 24" c-c TS38000 TS38000 typically 2

TR62-41220 Torque Rod
Bushing

OEM Part# Application Length A B

57857006 Primaax® 230/460/690;
Firemaax® 240/480

22" c-c TS38000 TS38000

TR62-41243 Torque Rod
Bushing

OEM Part# Length A B

62000-615 24 1/4" c-c TS38000 TS38000

TR62-41260 Torque Rod
Bushing

OEM Part# Length A B

58757-660 cast rod 26" c-c TS38000 TS38000

FAX: 866-920-2005 customerservice@atrobushing.com 73

mailto:customerservice@atrobushing.com


Hendrickson
Torque Rod

TR62-412M3 Torque Rod
Bushing

OEM Part# Length A B

62000-530 20 7/8" c-c TS38000 TS38000

62001-530 20 7/8" c-c TS38000 TS38000

TR62-413M3 Torque Rod

Bushing

OEM Part# Length A B

3226713 20" c-c TS38000 TS38000

TR62-417M1 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

48411006 14.41" c-c TS00-22500 TS00-22500

TR75-41108 Torque Rod

Bushing

OEM Part# Length A B Qty per Vehicle

62000-650 25 9/16" c-c TS38000 TS38000 typically 2

TR99-41428 Torque Rod
Bushing

OEM Part# Length A B

62000-540 21 1/4" c-c TS38000 TS38000

62001-540 21 1/4" c-c TS38000 TS38000

TS34000 Torque Rod Bushing

Note: Use in place of discontinued TS34095,  NEW CRIMPED DESIGN 
OEM Part# Application OD Length Misc. Dimensions Install Tool

44694 340 Series; Model 343 2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

44694-000L 340 Series; Model 343 2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

www.atrobushing.com 800-325-6114 74

http://www.atrobushing.com


Hendrickson
Torque Rod

TS38000 Torque Rod Bushing

Note: Use in place of discontinued TS38095 
OEM Part# Application OD Length Misc. Dimensions Install Tool

44695 340-520 Series; Model 343; 403;
463; 503; 523

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

44695-000L 340-520 Series; Model 343; 403;
503; 523

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

64400-002L 340-520 Series; Model 343; 403;
463; 503; 523

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

66649-002 340-520 Series; Model 343; 403;
463; 503; 523

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

TS38750 Torque Rod Bushing

Note: Use in place of discontinued TS38795 
OEM Part# Application OD Length Misc. Dimensions Install Tool

49210 340-520 Series; Model 343; 403;
463; 503; 523

2 3/4" 4 3/8" Bolt Hole: 3/4" PT59-59100

64400-005L 340-520 Series; Model 343; 403;
463; 503; 523

2 3/4" 4 3/8" Bolt Hole: 3/4" PT59-59100

66649-005 340-520 Series; Model 343; 403;
463; 503; 523

2 3/4" 4 3/8" Bolt Hole: 3/4" PT59-59100

TS45000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions

49305-1110 4 5/32"  Bushing: 2 1/2" Pin: 6"  Bolt Hole: 18mm Bolt Holes: 4 21/64" c-c

TS49000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

46734 2 3/4" 5 11/16" c-c Bolt Hole: 3/4" PT10000

64400-009L 2 3/4" 5 11/16" c-c Bolt Hole: 3/4" PT10000

TS50-22210 Torque Rod Bushing

Note: Bushing does not rotate, Fits Hendrickson ULTRA ROD® ONLY 
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

69210-000 400-460 Suspension; Primaax
Suspension

1.91" 4.38" c-c Bolt Hole: 3/4";
OAL: 5.7"

PT00-52500 8; 4/axle

69210-000H 400-460 Suspension; Primaax
Suspension

1.91" 4.38" c-c Bolt Hole: 3/4";
OAL: 5.7"

PT00-52500 8; 4/axle

TS50-22256 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Qty per Vehicle

57256-000 HA 460 Series 50376/ HAS 460 2.468" 4 3/8" c-c Bolt Hole: .66" 8; 4/axle

FAX: 866-920-2005 customerservice@atrobushing.com 75

mailto:customerservice@atrobushing.com


Hendrickson
Torque Rod

TS50-22649 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Qty per Vehicle

64400-003L RT650 2 3/4" 5 1/4" c-c Bolt Hole: .91" 4

66649-003 RT650 2 3/4" 5 1/4" c-c Bolt Hole: .91" 4

TS50-22664 Torque Rod Bushing

OEM Part# Application OD Length Misc.
Dimensions

Qty per Vehicle

64664-000L Int’l HTB 400LT Rear Air, HTB 210 for
Spartan Motorhome Chassis, HTB 210
Mid Engine, Rear Engine, Drive Tag,

Aux. Drive Tag

2 3/4" Bolt Holes:
5 1/4" c-c

Bolt Hole: 5/8" 8

TS50-22691 Torque Rod Bushing

Note: Bushing does NOT rotate, Fits Hendrickson ULTRA ROD® ONLY, Flanged design to help prevent walk out 
OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

47691 ULTRA Rod® 1 31/32" 4 3/8" Bolt Hole: 5/8" PT00-52500 2/rod

47691-000L ULTRA Rod® 1 31/32" 4 3/8" Bolt Hole: 5/8" PT00-52500 2/rod

TT34000 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

44809 340 Series; Model 343 2 17/32" 6 5/8" Stud: 1 1/8-12" PT20000

TT34038 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

46737 340 Series; Model 343 2 3/4" 6 5/8" Stud: 1 1/8-12" PT59-59100

64400-008L 340 Series; Model 343 2 3/4" 6 5/8" Stud: 1 1/8-12" PT59-59100

TT38000 Torque Rod Bushing

OEM Part# Application OD Length Misc.
Dimensions

Install Tool Qty per
Vehicle

44697 380-440 Series; Model 403 2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 2

44697-000L 380-440 Series; Model 403 2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 2

64400-004L 380-440 Series; Model 403 2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 2

66649-004 380-440 Series; Model 403 2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 2

TT50-22697 Torque Rod Bushing

Note: Bushing does NOT rotate; Flanged design to prevent bushing walk out, Fits Hendrickson ULTRA ROD® 
OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

64697 Haulmaax® 1 15/16" 8" Taper Length: 3"; 
Stud: 1 1/4"-12

PT00-52500 varies

64697-000 Haulmaax® 1 15/16" 8" Taper Length: 3"; 
Stud: 1 1/4"-12

PT00-52500 varies

www.atrobushing.com 800-325-6114 76

http://www.atrobushing.com


Hendrickson
Torque Rod

TT50-22809 Torque Rod Bushing

Note: Bushing does NOT rotate; Flanged design to prevent bushing walk out, Fits Hendrickson ULTRA ROD® 
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per Vehicle

64809 Primaax®/Firemaax® 1 15/16" 6 5/8" Taper Length: 2";
Stud: 1 1/8"-12

PT00-52500 varies

Other
BM50-66208 Rebound Control Kit (set of 2)

Contains: (2) Bumpers, (2) Nut Weldments
OEM Part# Application ID OD Width Misc. Dimensions Qty per Vehicle

31005001 RS 2 7/16" 4 5/16" 1/2" Nut Weldment: 1 1/2"-12 1

Hendrickson Auxiliary Axle
Suspension

MS50-26924 Concentric Collar

Note: Zinc plated for corrosion protection; Use with Hendrickson Quick-Align suspensions with tri-functional 
bushings, Use with MS50-26925; DO NOT WELD 
OEM Part# ID OD Qty per Vehicle

C-20924 7/8" 4" 2/axle

S-20924 7/8" 4" 2/axle

MS50-26925 Eccentric Collar

Note: Zinc plated for corrosion protection; Use with Hendrickson Quick-Align suspensions with tri-functional 
bushings, Use with MS50-26924; DO NOT WELD 
OEM Part# ID OD Qty per Vehicle

S-20925 7/8" 4" 2/axle

PB00-26422 Pivot Bushing Kit
Contains: (2) PB00-36314. (1) Inner Sleeve, (1) Bolt  3/4" x 5, (1) Locknut, (2) Washers 
OEM Part# Application Qty per Vehicle

R005422 Trailer suspensions & lift axles 2

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings. (8) Inner Sleeves, (8) Bolts 3/4" x 5" 
OEM Part# Application

R008839 Trailer suspensions & lift axles

FAX: 866-920-2005 customerservice@atrobushing.com 77

mailto:customerservice@atrobushing.com


Hendrickson Auxiliary Axle
Suspension

PB00-36314 Flange Bushing

OEM Part# Application ID Large OD Small OD Misc. Dimensions

004931 Trailer suspensions &
lift axles

1 1/2" 3" 2 1/4" Barrel Length: 1 1/4"; Flange
Thickness: 3/16"

PB50-26237 Lift Axle Bushing Kit
Contains: (1) PB50-26821 Bushing. (1) Bolt, (1) Nut, (2) Wear Washers, (2) Flat Washers 
OEM Part# Application Bushing A Qty per Vehicle

002237 Para-Lift Axle Air Ride,
HLN/HLP/HLU/HLUS(Aux Lift Axle)

PB50-26821 8

PB50-26821 Pivot Bushing
Notes: For complete kit see PB50-26237 
OEM Part# Application ID OD Length

002582-1 Para-Lift Axle Air Ride,
HLN/HLP/HLU/HLUS(Aux Lift Axle)

1" 3 5/16" 5 1/4"

PB50-36000 Pivot Bushing Kit

Contains: (1) Pivot Bushing, (2) Wear Washers, (2) Flat Washers, (1) Bolt, (1) Nut
OEM Part# Application ID Large

OD
Length Misc.

Dimensions
Install Tool Qty per

Vehicle

S-24691 Quick Align; Intraax;
Vantraax; HT Series; HLM

Series

1 1/8" 5 7/8" 6 3/4" Bolt: 7/8" PT50-59307 4

PB50-36000-EI Pivot Bushing Kit
Contains: (1) Pivot Bushing, (2) Wear Washers, (2) Flat Washers, (1) Bolt, (1) Nut   Note: Easy Install
OEM Part# Application ID Large OD Length Misc.

Dimensions
Install Tool

S-24691 Quick Align; Intraax; Vantraax;
HT Series; HLM Series

1 1/8" 5 1/2" 6 3/4" Bolt: 7/8" PT50-59307

PB50-36001 Pivot Bushing Kit w/Hdwr
Contains: (1) Pivot Bushing, (1) HW50-26679 Hardware Kit, (2) Shims   
Note: Includes Shear Bolt 
OEM Part# Application ID Large OD Length Misc.

Dimensions
Bushing A Qty per

Vehicle

S-24691 Quick Align; Intraax; Vantraax;
HT Series; HLM Series

1 1/8" 5 7/8" 6 3/4" Bolt: 7/8" HW50-26679 2/axle

PB50-36001-EI Pivot Bushing Kit w/Hdwr
Contains: (1) Pivot Bushing, (1) HW50-26679 Hardware Kit, (2) Shims   
Note: Includes Shear Bolt, Easy Install; Use Hendrickson shear bolt socket & air impact gun capable of 
800 ft/lbs torque minimum 
OEM Part# Application ID Large OD Length Misc.

Dimensions
Bushing A Qty per

Vehicle

S-24691 Quick Align; Intraax; Vantraax;
HT Series; HLM Series

1 1/8" 5 1/2" 6 3/4" Bolt: 7/8" HW50-26679 2/axle

www.atrobushing.com 800-325-6114 78

http://www.atrobushing.com


Hendrickson Auxiliary Axle
Suspension

PB50-36100 Pivot Bushing Kit
Contains: (1) Pivot Bushing, (2) Wear Washers
OEM Part# Application ID OD Length Install Tool

S-24691 Intraax; Vantraax;
HT; HLM

1 1/8" 5 7/8" 6 3/4" PT50-59307

PB50-36100-EI Pivot Bushing Kit
Contains: (1) Pivot Bushing, (2) Wear Washers  Note: Easy Install
OEM Part# Application ID Large OD Length Install Tool

S-24691 Intraax; Vantraax; HT; HLM 1 1/8" 5 1/2" 6 3/4" PT50-59307

PB50-36321 Pivot Bushing Kit (set of 2)
Contains: (2) Pivot Bushings, (4) Wear Washers, (2) Bolts, (2) Locknuts, (4) Flat Washers
OEM Part# Application Misc. Dimensions Install Tool Qty per Vehicle

S-26321 Intraax AANT 23K; Vantraax
HKA 180

Bushing ID: 1 1/4"; Bushing OD:
5 1/2";Bushing Length: 3 5/8"

PT50-59736 2

PB50-36322 Pivot Bushing Kit w/Hdwr, Narrow
Contains: (2) Pivot Bushings, (2) HW50-26705 Hardware Kit, (4) Shims   
Note: Includes 2 Shear Bolts, Use Hendrickson shear bolt socket & air impact gun capable of 800 ft/lbs 
torque minimum 
OEM Part# Application Misc. Dimensions Install Tool Bushing A Qty per Vehicle

S-26321 Intraax AAT23K, 25K,
30K, AANT23K,

AAEDT30K

Bushing ID: 1 1/4"; Bushing
OD: 5 1/2";Bushing Length:

3 5/8"

PT50-59736 HW50-26705 1/axle

PB50-36914 Pivot Bushing Kit

Contains: (1) Pivot Bushing, (3) Alignment Collars, (1) Bolt Sleeve, (1) Bolt, (1) Nut
OEM Part# Application ID OD Length Misc.

Dimensions
Install Tool

A-6914 HLM; HT; T; TDC; TMB Series 1 1/8" 5 7/8" 6 3/4" Bolt: 1 1/8" PT50-59307

PB50-36914-EI Pivot Bushing Kit
Contains: (1) Pivot Bushing, (3) Alignment Collars, (1) Bolt Sleeve, (1) Bolt, (1) Nut   
Note: Easy Install
OEM Part# Application ID OD Length Misc.

Dimensions
Install Tool

A-6914 HLM; HT; T; TDC; TMB Series 1 1/8" 5 1/2" 6 3/4" Bolt: 1 1/8" PT50-59307

Torque Rod
PL1118 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance, Outer rims added to retain bushing in rod, For 1-piece design 
see UB30000 
OEM Part# Application ID Large OD Small OD Length

A1712 Q-TR; QS; QT; QU; Turner HLQ-AH/SR;
Q-TRU Leaf Spring Lift Axle

7/8" 2 5/16" 1 3/4" 3 1/8"

FAX: 866-920-2005 customerservice@atrobushing.com 79

mailto:customerservice@atrobushing.com


Hendrickson Auxiliary Axle
Torque Rod

TH83-22302 Torque Rod Bushing Kit
Contains: (1) PL1118, (1) Bolt, (1) Nut
OEM Part#

A1712 bushing

UB30000 Torque Rod Bushing

Note: 1-piece design, For 2-piece design see PL1118 
OEM Part# Application ID OD Length

A1712 Q-TR; QS; QT; QU; Turner HLQ-AH/SR; Q-TRU
Leaf Spring Lift Axle

7/8" 1 3/4" 3"

Other
MS50-39613 Wear Washer

OEM Part# Application ID OD Misc. Dimensions Qty per Vehicle

B11613 Intraax®/Vantraax® 2.27" 7" Thickness: .35" 4/axle

B-11613 Intraax®/Vantraax® 2.27" 7" Thickness: .35" 4/axle

S11613 Intraax®/Vantraax® 2.27" 7" Thickness: .35" 4/axle

S-11613 Intraax®/Vantraax® 2.27" 7" Thickness: .35" 4/axle

Hino
Suspension

PB50-26648 Pivot Bushing
Notes: Use ONLY in Hendrickson Primaax® & Firemaax® appls. Do not use in Hendrickson MaxAir® or Mack 
Twisted Sister® applications 
OEM Part# ID OD Length Qty per Vehicle

58648-000 1 1/4" 2 15/16" 3 5/8" 4

Under Hood
CM55-614C4 Cab Mount/Insulator (Front)

OEM Part# ID OD Length Misc. Dimensions Qty per Vehicle

3512064C4 5/8" 3 3/8" 3 1/4" Bolt Holes: 5" c-c 2

www.atrobushing.com 800-325-6114 80

http://www.atrobushing.com


Holland
Suspension

AS57-27267 Bar Pin Bushing

Note: Available Summer 2017
OEM Part# Application OD Length Width Misc.

Dimensions
Qty per
Vehicle

90008267 ADZ-123, ADZ-126, CB
Series

3 1/8"; Pin OD:
2"

6 1/4" c-c Flat Width: 1 1/2" Bolt Hole: 1";
OAL 8"

2 per axle

AS57-27644 Axle Seat Rebush Kit

Contains: (1) AS57-27267 Bushing, (4) Spacer Washers, (8) Flat Washers 1", (4) Locknuts 1"-8UNC GR C  
Note: Available Summer 2017
OEM Part# Application Qty per Vehicle

48100510 ADZ-123, ADZ-126 1 per axle

SRK644 ADZ-123, ADZ-126 1 per axle

SRK-644 ADZ-123, ADZ-126 1 per axle

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  
OEM Part# ID OD Length

90008139 1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  
OEM Part# ID OD Length

90008149 1 1/8" 2 13/16" 5"

PB57-26279 Pivot Bushing, Front

Note: Available Summer 2017
OEM Part# Application ID OD Length Qty per Vehicle

90008266 ADZ-123, ADZ-126 1 1/8" 3 3/16" 3 7/8" 2 per axle

PB57-26643 Pivot Bushing Kit, Front

Contains: (2) PB57-26279 Bushings, (4) Washer Spacers, (2) Aluminum Puck, (1) Bolt 1 1/8"-7x7" LG GR 8, (1) 
Bolt 1 1/8"-7x7.5" GR8, (3) Flat Washers, (2) Locknuts 
Note: Available Summer 2017
OEM Part# Application Qty per Vehicle

48100509 ADZ-123, ADZ-126 1 per axle

SRK643 ADZ-123, ADZ-126 1 per axle

SRK-643 ADZ-123, ADZ-126 1 per axle

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings, (2) Bolts 9 1/2" 
OEM Part# Application

48100202 AR; ARU; ART; RL; RLU Series

SRK145 AR; ARU; ART; RL; RLU Series

FAX: 866-920-2005 customerservice@atrobushing.com 81

mailto:customerservice@atrobushing.com


Holland
Suspension

PB57-36300 Axle Connection Kit
Contains: (4) PB57-21149 Bushings, (8) Wear Washers, (8) Service Wear Washers, (4) Bolts, (4) Locknuts 
OEM Part# Application

48100206 AR90/92/93; ARU92/93; RL196/228

SRK-149 AR90/92/93; ARU92/93; RL196/228

Torque Rod
TR57-44645 V-Rod Rebush Kit

Contains: (2) TS59-22400 Bushings, (1) TH57-22264 Bushing, (2) Spacer Shims, (1) 1-8UNC x 6" Bolt & Locknut, 
(4) 5/8-11UNC x 3 3/4" Bolt & Locknut, (2) 1" Washers, (8) 5/8" Washers

Bushing

OEM Part# Application A B Qty per Vehicle

SRK-645 ADZ Series TS59-22400 TH57-22264 1/axle

TR57-44992 V-Rod Assembly
Contains: (1) V-Rod, (2) TS59-22400 Straddle Bushings, (1) TH57-22264 Hollow Bushing 
Note: H/S=Hollow/Straddle, S/S=Straddle/Straddle 

Bushing

OEM Part# Application Length A B C Qty per Vehicle

90045702 ADZ-123;
ADZ-126

20 1/2" c-c (H/S); 
20 1/4" c-c (S/S)

TS59-22400 TS59-22400 TH57-22264 1

90548900 ADZ-123;
ADZ-126

20 1/2" c-c (H/S); 
20 1/4" c-c (S/S)

TS59-22400 TS59-22400 TH57-22264 1

90549992 ADZ-123;
ADZ-126

20 1/2" c-c (H/S); 
20 1/4" c-c (S/S)

TS59-22400 TS59-22400 TH57-22264 1

Other
AW51-34010 Axle Wrap

OEM Part# Application Length Height Width Qty per Vehicle

91028010 RTS-536, RTS-544, RTS-754-HD,
RTS-940

8 3/4" 3/4" 4" 2 per axle

AW51-34036 Axle/Trunnion Kit
Contains: (2) PL1094, (4) PL1095, (2) AW51-34010, (16) Bolts, 3/4-10UNCx2.5", Gr8, (16) Locknuts, (32) 
Washers 

Bushing

OEM Part# Application A B C Qty per Vehicle

48100033 RTS Series PL1094 PL1095 AW51-34010 1 per axle

SRK36 RTS Series PL1094 PL1095 AW51-34010 1 per axle

SRK-36 RTS Series PL1094 PL1095 AW51-34010 1 per axle

FW51-32011 5th Wheel Bushing

OEM Part# ID OD Length

XB-0011 1 1/8" 2" 4 1/4"

www.atrobushing.com 800-325-6114 82

http://www.atrobushing.com


Holland
Other

FW51-32413 Foot Pin Repair Kit
Contains: (2) PL1006, (2) Pivot Pins, (2) Roll Pins 
OEM Part# Application Misc. Dimensions Bushing A Qty per Vehicle

RK004413 FW2500, FW35, FW8,
FW3500, FW33, FW2535

Series

Pivot Pin: Length 7",
Diameter 1 1/8" Roll Pin: 3/8"

x 2 3/4"

PL1006 1 per 5th Wheel

FW51-32606 Rebuild Kit

Contains: (4) FW99-32605 Bushings, (2) Foot Pins, (2) Bolts, (2) Flanged Locknuts 
Note: Available Summer 2017
OEM Part# Application Qty per Vehicle

RK-10605 FW35 Series 1

FW51-32736 5th Wheel Rebuild Kit
Contains: (4) FW99-32604, (2) Bracket Pins, (2) Spring Pins 
OEM Part# Application Bushing A Qty per Vehicle

RK-11736 FW35 Series FW99-32604 1

FW99-32605 5th Wheel Bushing

OEM Part# Application ID Large OD Small OD Length

XB10605 1 3/16" 3 7/8" 2 7/16" 2 1/16"

XB-10605 FW17 Series 1 3/16" 3 7/8" 2 7/16" 2 1/16"

PL1006 5th Wheel Bushing

OEM Part# ID OD Length Qty per Vehicle

XB-0011-2 1 1/8" 2 1/4" 4 1/4" 2

PL1032 5th Wheel Bushing

OEM Part# ID OD Length

XB-0012-3 1 1/2" 2 5/8" 4 5/16"

PL1036 5th Wheel Bushing

OEM Part# ID OD Length

XA-1604-9 1 1/2" 2 1/2" 4 1/4"

FAX: 866-920-2005 customerservice@atrobushing.com 83

mailto:customerservice@atrobushing.com


Holland
Other

PL1037 5th Wheel Bushing

OEM Part# ID OD Length

XB-1604-5 1 1/8" 2 3/4" 4 1/4"

PL1060 5th Wheel Bushing

OEM Part# ID Length Height

XB-0012-2 1 7/16" 4 1/4" 2 1/4"

www.atrobushing.com 800-325-6114 84

http://www.atrobushing.com


FAX: 866-920-2005 customerservice@atrobushing.com 85

Hutchens

mailto:customerservice@atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Hutchens
Suspension

EQ53-35001 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Beam w/EQ53-35146 Bushing, (1) 1 1/8" Bolt, (1) 1 1/8" Locknut, (2) Flat Washers, (2) 5/8" 
Bolts, (2) 5/8" Locknuts, (2) Spacer Sleeves 
OEM Part# Application Length Misc. Dimensions Bushing A

16290-01 H9700; H9600 Trailer Four
Spring (42 1/2"-49" axle spacing)

16 1/2" Bolt Hole: 1 1/8" EQ53-35146

17784-01 no hardware H9700; H9600 Trailer Four
Spring (42 1/2"-49" axle spacing)

16 1/2" Bolt Hole: 1 1/8" EQ53-35146

EQ53-35118 Equalizer Bushing Kit
Contains: (1) Bushing, (1) 1 1/8" Bolt, (1) Locknut, (2) Flat Washers 
OEM Part# Application ID OD Length

16146-01 H/CH 9600-49; 9600/9700 Widespread 61 1 1/8" (bushing) 3 5/16" (bushing) 3 7/8" (bushing)

EQ53-35158 Equalizer Beam w/Bushing

Contains: (1) Equalizer Beam with Bushing, (1) 1 1/8" Bolt & Locknut, (2) Flat Washers, (2) 5/8" Bolts & 
Locknuts, (2) Spacer Sleeves   
Note: For beam without hardware see EQ53-35158-NH 
OEM Part# Application Length Misc.

Dimensions
Bushing A Qty per Vehicle

16158-01 H9700; H9600 Trailer Four Spring
(42 1/2"-49" axle spacing)

16 1/2" Bolt Hole: 1 1/8" EQ53-35146 2

EQ53-35158-NH Equalizer Beam
Contains: (1) Equalizer Beam w/EQ53-35146 Bushing  
Note: For Beam w/hardware see EQ53-35158 
OEM Part# Application Length Misc. Dimensions Bushing A

16158-01 H9700; H9600 Trailer Four Spring
(42 1/2"-49"axle spacing)

16 1/2" Bolt Hole: 1 1/8" EQ53-35146

EQ53-35234 Equalizer Bushing Kit
Contains: (1) Equalizer Bushing, (2) 3/4" Shoulder Bolts, (2) Locknuts, (1) Locktab 
OEM Part# Application OD Length

7010-00 H/CH 7600/7650 49" to 54.5" Axle Spacing;
H/CH 770

3 5/16" (bushing) 3 7/8" (bushing)

EQ53-35250 Equalizer Beam w/Bushing
Contains: (1) Equalizer Beam, (1) EQ53-35234 Bushing Kit, (2) 5/8" Bolts, (2) Locknuts, (2) Spacer Sleeves  
Note: Includes ATRO polyurethane version of OE# 7010-00 bushing 
OEM Part# Application Length Misc. Dimensions Bushing A Qty per Vehicle

750-03 H7600; H7650; H7700 Trailer
Four Spring (49" axle spacing)

16 1/2" Bolt Hole 3/4"; Bolt
Holes: 1 3/8" c-c

EQ53-35234 2

EQ53-35701 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Beam w/Bushing, (1) EQ53-35701, (2) 5/8" Bolts, (2) Locknuts, (2) Spacer Sleeves 
OEM Part# Application Length Misc. Dimensions

19137-01 H7600; H7650; H7700 Trailer Four
Spring (49" axle spacing)

16 1/2" Bolt Hole: 3/4"; Bolt Holes:
1 3/8" c-c

704-01 no hardware H7600; H7650; H7700 Trailer Four
Spring (49" axle spacing)

16 1/2" Bolt Hole: 3/4"; Bolt Holes:
1 3/8" c-c

www.atrobushing.com 800-325-6114 86

http://www.atrobushing.com


Hutchens
Suspension

HU10000 Trunnion Bushing

OEM Part# Application ID OD Length Qty per Vehicle

11357-00 H900 Trailer Single Point Over/Under Slung 4" 5" 9 1/8" 2

890-00 H900 Trailer Single Point Over/Under Slung 4" 5" 9 1/8" 2

T5711 H900 Trailer Single Point Over/Under Slung 4" 5" 9 1/8" 2

HU10065 Trunnion Bushing (Severe Duty)
Note: Heavy duty polyurethane 
OEM Part# Application ID OD Length

11357-00 H900 Trailer Single Point Over/Under Slung 4" 5" 9 1/8"

890-00 H900 Trailer Single Point Over/Under Slung 4" 5" 9 1/8"

T5711 H900 Trailer Single Point Over/Under Slung 4" 5" 9 1/8"

HW53-37149 Bolt Kit
Contains: (1) BT10350 Bolt, (1) NT10200 Nut  
Note: Bolt Kit for TH53-37149 
OEM Part# Application Misc. Dimensions

NL1448 bushing & hardware 7700/9700 Trailer Four Spring; 7700 Widespread Bolt: 1"-14x5"; Nut: 1"-14

HW53-39100 Bolt Assembly, Rebound
Contains: (1) BT10410 Bolt, (1) NT10150 Nut, (1) EQ35146-02 Sleeve 
OEM Part# Application Misc. Dimensions

074100 H/CH 7700/9700 Bolt: 5/8"-18x4 1/2"; Nut: 5/8"x18

PL1007 Spring Pad

OEM Part# Application Length Height Width

814-00 H800A; H900 Trailer Single Point 5" 13/16" 2 7/8"

PL1030 Trunnion Bushing

OEM Part# Application ID OD Length Qty per Vehicle

11442-00 H-11455-00 Trailer Tri-Axle Suspension 3 7/16" 4 9/16" 5 3/4" 4

Torque Rod
PL1084 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

7620-00 7600 / 7650 / 9600 Trailer Four Spring
Suspension; 7600 / 9600 Widespread

1 1/4" 2 1/4" 1 13/16" 2 5/16"

FAX: 866-920-2005 customerservice@atrobushing.com 87

mailto:customerservice@atrobushing.com


Hutchens
Torque Rod

PL1119 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance;  Outer rims added to retain bushing in rod 
OEM Part# Application ID Large OD Small OD Length

722-00 7700 / 9700 Trailer Four Spring
Suspension; 7700 Widespread

1" 2" 1 3/4" 3 1/8"

TH53-37149 Torque Rod Bushing Kit
Contains: (1) PL1119 Bushing, (1) Bolt, (1) Nut 
OEM Part# Application Bushing A

722-00 bushing 7700/9700 Trailer Four Spring; 7700 Widespread PL1119

NL1448 7700/9700 Trailer Four spring; 7700 Widespread PL1119

TH53-37637 Torque Rod Bushing Kit
Contains: (2) PL1084, (1) Bolt, (2) Washers, (1) Nut 
OEM Part# Length Misc. Dimensions

7620-00 bushing 6 1/6" (shaft) Bolt: 1 1/4"

TR53-41500 Torque Rod; Fixed Length

Note: Bushings NOT sold separately
Bushing

OEM Part# Application Length Misc.
Dimensions

A B Qty per
Vehicle

715-00 H/CH 7700/9700 Four Spring
Trailer

19 1/4" c-c Bolt Size: 1" TH53-33100 TH53-33100 typically 2

TR53-45305 Torque Rod, Adjustable

Note: Bushings NOT sold separately
Bushing

OEM Part# Application Length Misc.
Dimensions

A B Qty per
Vehicle

16398-04 H/CH 7700/9700 Four
Spring Trailer

19 1/4" c-c  (Adjustable
18 1/2"-21"c-c)

Bolt Size: 1" TH53-33100 TH53-33100 typically 2

713-05 H/CH 7700/9700 Four
Spring Trailer

19 1/4" c-c  (Adjustable
18 1/2"-21"c-c)

Bolt Size: 1" TH53-33100 TH53-33100 typically 2

Hyster
Suspension

PL1061 Suspension Bushing

OEM Part# Application ID Large OD Small OD Length

400329 Heavy Duty Trailer Suspension 3" 5 5/8" 4 3/8" 2 13/16"

www.atrobushing.com 800-325-6114 88

http://www.atrobushing.com


International IROS

FAX: 866-920-2005 customerservice@atrobushing.com 89

mailto:customerservice@atrobushing.com


International Z-beam

www.atrobushing.com 800-325-6114 90

http://www.atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


International
Suspension

CB34012 Center Bushing Kit
Contains: (1) Bushing. (2) TW34000 thrust washers, (1) EP34000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

965080R1 Hendrickson 340 Series 3 5/8" 2 3/4" 12" PT60000 2

CB38012 Center Bushing Kit
Contains: (1) Bushing. (2) TW38000 thrust washers, (1) EP38000 welded end plug 
OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

124901R91 Hendrickson 380-440
Series

4 3/4" 3 1/2" 12" PT30000 2

CT10000 Cross Tube

OEM Part# Application OD Length

124896R2 Hendrickson 380-520 Series 2 7/16" 44 7/8"

EB34000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool

124865R1 Hendrickson 340 Series 2 1/2" 4 3/8" 5 1/4" PT40000

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per
Vehicle

124892R1 Hendrickson 380-440
Series

2 1/2" 4 3/8" 5 3/4" PT40000 4

HV38000 Vertical Bushing

OEM Part# Application ID OD Length

868789R91 Hendrickson RS Series 2" 4 1/8" 4"

MS50-29791 Auxiliary Shim

OEM Part# Length Width Misc. Dimensions

H60791000 9 1/2" 4 3/4" Thickness: 1/4"

HD60791000 9 1/2" 4 3/4" Thickness: 1/4"

HUD60791000 9 1/2" 4 3/4" Thickness: 1/4"

ZAK60791 9 1/2" 4 3/4" Thickness: 1/4"

ZJF60791 9 1/2" 4 3/4" Thickness: 1/4"

NA47000 Equalizer Bushing

OEM Part# Application ID OD Length

497501C2 Four Spring Corporate 1" 2 1/2" 4 3/4"

FAX: 866-920-2005 customerservice@atrobushing.com 91

mailto:customerservice@atrobushing.com


International
Suspension

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings. (8) Inner Sleeves, (8) Bolts 3/4" x 5" 
OEM Part#

R008839 

PB46-26268 Pivot Bushing (Anti-Walk)

Notes: Anti-Walk High Confinement 
OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

358115C1 Corporate Air, Air Beam 2 1/2" Bolt Hole: 3/4"; Bolt Holes:
5 21/32" c-c

PT50000 2

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  
OEM Part# ID OD Length

2507714C1 1 1/8" 3 1/2" 5 1/4"

WC10050 1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  
OEM Part# ID OD Length

2507718C1 1 1/8" 2 13/16" 5"

90008149 1 1/8" 2 13/16" 5"

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings. (2) Bolts 9 1/2" 
OEM Part#

SAF48100202 

SF10000 Shear Spring

OEM Part# Application ID OD Height

276348C1 SR Series 3" 6 15/16" 3 1/4"

SK00-10500 Spring Eye Bushing Kit
Contains: (1) Spring Eye Bushing. (1) Bolt, (2) Screw Caps, (2) Hex Locknuts, (1) Locknut, (2) Collars  
Notes: Rear torque leaf  
OEM Part# Application ID OD Length Qty per Vehicle

1671766C1 Medium S Series; 3000 / 4000 / 7000 /
8000 / 9000 Conventional

1" 1 1/2" 3" 2

471226C1 Medium S Series; 3000 / 4000 / 7000 /
8000 / 9000 Conventional

1" 1 1/2" 3" 2

www.atrobushing.com 800-325-6114 92

http://www.atrobushing.com


International
Suspension

SK55-10000 Spring Eye Shackle Kit
Contains: (2) SP00-11561 Bushings. (2) Sidebars, (4) Bolts, (4) Locknuts  
Notes: Rear of front  
OEM Part# Application OD Length Install Tool Qty per Vehicle

10651-H Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

1661976C3 Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

1664223C1 Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

1664976C3 Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

1680034C1 Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

3511254C1 Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

444097C1 Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

44409-C1 Heavy S Series; 3000 / 4000 / 7000
Series (Cast Hangers)

1 1/2" 4" PT00-53000 2

SK55-10100 Spring Eye Bushing Kit
Contains: (1) SP00-11561 Bushing. (2) Bolts, (2) Washers, (2) Locknuts  
Notes: Front of front  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

1661976C3 Heavy S Series; 3000 / 4000 /
7000 Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 2

3511254C1 Heavy S Series; 3000 / 4000 /
7000 Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 2

444097C1 Heavy S Series; 3000 / 4000 /
7000 Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 2

44409-C1 Heavy S Series; 3000 / 4000 /
7000 Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 2

SK55-10200 Spring Eye Bushing Kit
Contains: (2) UB75000 Bushings. (1) Shackle, (2) Bolts, (2) Locknuts 
Notes: Rear of front  
OEM Part# Application ID OD Length Install Tool Qty per

Vehicle

460719C1 bushing S Series; S1600/2100 Series; 3600 -
4900 Series; 7100 Series Med
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 2

470033C1 bushing S Series; S1600/2100 Series; 3600 -
4900 Series; 7100 Series Med
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 2

470248C91 S Series; S1600/2100 Series; 3600 -
4900 Series; 7100 Series Med
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 2

SK55-10300 Spring Eye Bushing Kit
Contains: (1) UB75000 Bushing. (1) Bolt, (1) Locknut 
Notes: Front of front  
OEM Part# Application ID OD Length Install Tool Qty per

Vehicle

460719C1 S Series; S1600/2100 Series; 3600 -
4900 Series; 7100 Series Med
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 6

470033C1 S Series; S1600/2100 Series; 3600 -
4900 Series; 7100 Series Med

Conv.

1" 1 13/16" 3" PT96000 6

FAX: 866-920-2005 customerservice@atrobushing.com 93

mailto:customerservice@atrobushing.com


International
Suspension

SK55-10600 Spring Eye Shackle Kit
Contains: (2) SP55-113C1 Bushings. (2) Sidebars, (4) Bolts, (4) Washers, (4) Locknuts 
Notes: Rear of front  
OEM Part# Application OD Length Install Tool Qty per Vehicle

1664223C1 S Series; S1600/2100 Series; 3600 -
4900 Series; 7100 Series Med Conv.

(stamped steel hangers)

1 1/2" 3" PT00-53000 2

1680033C1 3000 / 4000 / 8000 Series; Amtran
Chassis (cast hangers)

1 1/2" 3" PT00-53000 2

471226C1 3000 / 4000 / 8000 Series; Amtran
Chassis (cast hangers)

1 1/2" 3" PT00-53000 2

SK55-10700 Spring Eye Bushing Kit
Contains: (1) SP55-113C1 Bushing. (2) Bolts, (2) Washers, (2) Locknuts  
Notes: Front of front  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

1680033C1 3000 / 4000 / 8000 Series 1 1/2" 3" Pin: 4 1/16" c-c PT00-53000 2

471226C1 3000 / 4000 / 8000 Series 1 1/2" 3" Pin: 4 1/16" c-c PT00-53000 2

SK55-11000 Spring Hanger/Bushing Kit
Contains: (3) UB75000 Bushings. (1) Shackle, (3) Bolts, (3) Locknuts 
Notes: Rear of front  
OEM Part# Application ID OD Length Install Tool Bushing A Qty per

Vehicle

470033C1 bushing S Series; S1600/2100 Series;
3600-4900 Series; 7100 Med.
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 UB75000 2

470248C91 S Series; S1600/2100 Series;
3600-4900 Series; 7100 Med.
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 UB75000 2

SK55-12000 Spring Hanger/Bushing Kit
Contains: (6) UB75000 Bushings. (2) Shackle, (6) Bolts, (6) Locknuts 
Notes: Rear of front  
OEM Part# Application ID OD Length Install Tool Bushing A Qty per

Vehicle

470033C1 S Series; S1600/2100 Series;
3600-4900 Series; 7100 Med.
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 UB75000 1

470248C91 S Series; S1600/2100 Series;
3600-4900 Series; 7100 Med.
Conv. (stamped steel hangers)

1" 1 13/16" 3" PT96000 UB75000 1

SP00-11561 Spring Eye Bushing
Notes: Front of front; Rear of front  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

10651H bushing Heavy S Series; 3000/4000/7000
Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 6

1661976C3 pin Heavy S Series; 3000/4000/7000
Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 6

1680034C1 bushing Heavy S Series; 3000/4000/7000
Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 6

44409C1 bushing Heavy S Series; 3000/4000/7000
Series

1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 6

www.atrobushing.com 800-325-6114 94

http://www.atrobushing.com


International
Suspension

SP46-52050 Spring Eye Bushing

OEM Part# ID OD Length Qty per Vehicle

TSRB212 13/16" 2 1/4" 4 1/4" 6

SP55-113C1 Spring Eye Bushing
Notes: Front of front; Rear of front  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per

Vehicle

1680033C1 pin 3000; 4000; 8000 Series 1 1/2" 3" Pin: 4 1/16" c-c PT00-53000 6

471226C1 bushing 3000; 4000; 8000 Series 1 1/2" 3" Pin: 4 1/16" c-c PT00-53000 6

53099V bushing 3000; 4000; 8000 Series 1 1/2" 3" Pin: 4 1/16" c-c PT00-53000 6

SP55-52600 Spring Eye Bushing

OEM Part# Application ID OD Length Install Tool Qty per
Vehicle

3525665C1 3000; 4000; 7000; 8000; 9000
Series with 4" wide spring

3/4" 1 13/16" 4 1/4" PT96000 6

SP99-11001 Spring Eye Bushing

OEM Part# ID OD Length

TSRB81 5/8" 1 1/4" 2 3/4"

TW38000 Thrust Washer

OEM Part# Application ID OD Misc. Dimensions

892192R1 Hendrickson 380-440 Series 3 1/2" 5 3/4" Thickness: 1/8"

UB16100 Leaf Spring Bushing

OEM Part# Application Large OD Small OD Length Misc.
Dimensions

503611C1 9000 Conventional / COE Tractor 1 3/4" 1" 7" Pin: 5 3/4" c-c

503611C2 9000 Conventional / COE Tractor 1 3/4" 1" 7" Pin: 5 3/4" c-c

UB75000 Leaf Spring Bushing
Notes: Front of front; Rear of front  
OEM Part# Application ID OD Length Qty per Vehicle

470033C1 Medium S Series 1600 / 2100 / 3000 /
4000 / 7000

1" 1 13/16" 3" 6

572355C92 Medium S Series 1600 / 2100 / 3000 /
4000 / 7000

1" 1 13/16" 3" 6

FAX: 866-920-2005 customerservice@atrobushing.com 95

mailto:customerservice@atrobushing.com


International
Suspension

WP50-29004 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Retaining Brackets, (2) Bolts 
OEM Part# Length Height Width Bushing A

H56557004 3 3/4" 1 1/2" 3 3/16" WP50-29929

HD56557004 3 3/4" 1 1/2" 3 3/16" WP50-29929

HUD56557004 3 3/4" 1 1/2" 3 3/16" WP50-29929

ZAK565574 3 3/4" 1 1/2" 3 3/16" WP50-29929

ZJF565574 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29005 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Spring Pins 
OEM Part# Length Height Width Bushing A

H56557005 3 3/4" 1 1/2" 3 3/16" WP50-29929

HD56557005 3 3/4" 1 1/2" 3 3/16" WP50-29929

HUD56557005 3 3/4" 1 1/2" 3 3/16" WP50-29929

ZAK565575 3 3/4" 1 1/2" 3 3/16" WP50-29929

ZJF565575 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29557 Wear Pad Kit
Contains: (1) Slipper Pad. (2) Retaining Plates, (4) Bolts 
OEM Part# Length Height Width Misc. Dimensions

H56557002 6 7/8" 3" 3" Bolt: 3/8"

HD56557002 6 7/8" 3" 3" Bolt: 3/8"

HUD56557002 6 7/8" 3" 3" Bolt: 3/8"

ZAK565572 6 7/8" 3" 3" Bolt: 3/8"

ZJF565572 6 7/8" 3" 3" Bolt: 3/8"

WP50-29929 Wear Pad

OEM Part# Length Height Width

H56929000 3 3/4" 1 1/2" 3 3/16"

HD56929000 3 3/4" 1 1/2" 3 3/16"

HUD56929000 3 3/4" 1 1/2" 3 3/16"

ZAK569 3 3/4" 1 1/2" 3 3/16"

ZIF56929 3 3/4" 1 1/2" 3 3/16"

WP55-290C1 Wear Pad

OEM Part# Application Length Height Width Misc.
Dimensions

571960C1 Four Spring/Corporate Air 5 3/8" 1 13/16" 3 1/2" Bolt: 3/8"

Torque Rod
IN35180 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions

438506C1 Paystar; Cargostar; S Series 9600-9700 3" 5 11/16" Bolt Hole: 13/16"

438506C91 Paystar; Cargostar; S Series 9600-9700 3" 5 11/16" Bolt Hole: 13/16"

www.atrobushing.com 800-325-6114 96

http://www.atrobushing.com


International
Torque Rod

IN35190 Torque Rod Bushing

OEM Part# Application ID OD Length

322069C91 Paystar; Cargostar; S Series 9600-9700 1 1/8" 3" 3 1/4"

PL1118 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance, Outer rims added to retain bushing in rod, For 1-piece design 
see UB30000 
OEM Part# Application ID Large OD Small OD Length

34734C1 Tri-Lite Trailer Four Spring 7/8" 2 5/16" 1 3/4" 3 1/8"

PL1146 Torque Rod Bushing

Note: Does NOT Rotate, See TS50-22691 for preferred bushing 
OD Length Misc. Dimensions Install Tool Qty per Vehicle

1.91" 4 3/8"  Bolt Holes: 11/16" Bolt: 5/8" PT00-52000 2/rod

SK27174 Torque Rod Kit
Contains: (1) TR71000, (1) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27175 Torque Rod Kit
Contains: (2) TR71000, (2) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27176 Torque Rod Kit
Contains: (1) TR71000, (1) TR76000  Note: Finished length up to 27" 

Bushing

Misc. Dimensions A B

Bolt Hole: 5/8" TS38000 TT38000

SK70380 Torque Rod Bushing Kit
Contains: (4) TS38000 

Misc. Dimensions

Bolt Hole: 5/8"

FAX: 866-920-2005 customerservice@atrobushing.com 97

mailto:customerservice@atrobushing.com


International
Torque Rod

SK70381 Torque Rod Bushing Kit
Contains: (6) TS38000, (2) TT38000 

Misc. Dimensions

Bolt Hole: 5/8"

TH19-22010 Torque Rod Bushing

Note: 1-Piece Design, For 2-Piece design see PL1046 
OEM Part# ID Large OD Small OD Length

1515966C1 2 9/16" 4 1/4" 3 9/16" 4 1/8"

TH50000 Torque Rod Bushing

OEM Part# ID OD Length Install Tool

1693069C1 1 1/8" 2 3/4" 3 1/4" PT10000

TH83-37640 Torque Rod Bushing Kit
Contains: (2) TH83-37238, (2) Washers, (1) Bolt, (1) Nut 
OEM Part#

TSR234 

TM38000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

1693064C1 2 3/4" 7" Stud: 1 1/4"-12 PT59-59100

TR00-41270 Torque Rod
Bushing

OEM Part# Length A B

583922C91 25 1/2" c-c TS38000 TS38000

TR00-41816 Torque Rod
Bushing

OEM Part# Length A B

1615913C91 26 1/2" c-c TS38000 TS38000

1661926C91 26 1/2" c-c TS38000 TS38000

www.atrobushing.com 800-325-6114 98

http://www.atrobushing.com


International
Torque Rod

TR00-41935 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

1661935C1 29" c-c TS38000 TS38000 1

1661935C92 29" c-c TS38000 TS38000 1

TR00-42325 Torque Rod
Bushing

OEM Part# Length A B

1661980C91 32 1/2" c-c TS38000 TS38000

TR00-45104 Torque Rod
Bushing

OEM Part# Application Length A B

1652104C93 Hendrickson RS650 26 1/4" c-c TS50-22649 TS50-22649

TR00-45106 Torque Rod
Bushing

OEM Part# Application Length A B

1652106C93 Hendrickson RS650 28" c-c TS50-22649 TS50-22649

TR00-45107 Torque Rod
Bushing

OEM Part# Application Length A B

1652107C93 Hendrickson RS650 29 1/2" c-c TS50-22649 TS50-22649

TR00-45170 Torque Rod
Bushing

OEM Part# Application Length A B

546170C93 Hendrickson RS650 24 1/2" c-c TS50-22649 TS50-22649

TR00-45171 Torque Rod
Bushing

OEM Part# Application Length A B

546171C93 Hendrickson RS650 28 1/4" c-c TS50-22649 TS50-22649

FAX: 866-920-2005 customerservice@atrobushing.com 99

mailto:customerservice@atrobushing.com


International
Torque Rod

TR00-45222 Torque Rod
Bushing

OEM Part# Application Length A B

1610222C93 Hendrickson RS650 26" c-c TS50-22649 TS50-22649

TR00-45265 Torque Rod
Bushing

OEM Part# Application Length A B

1615265C93 Hendrickson RS650 25 1/2" c-c TS50-22649 TS50-22649

TR00-45375 Torque Rod
Bushing

OEM Part# Application Length A B

1617375C92 Hendrickson RS650 21 3/4" c-c TS50-22649 TS50-22649

TR00-45415 Torque Rod
Bushing

OEM Part# Application Length A B

3531415C91 Hendrickson RS650 32 3/4" c-c TS50-22649 TS50-22649

TR00-45485 Torque Rod
Bushing

OEM Part# Application Length A B

1613485C93 Hendrickson RS650 29 1/4" c-c TS50-22649 TS50-22649

TR00-45901 Torque Rod
Bushing

OEM Part# Application Length A B

1613901C93 Hendrickson RS650 22 3/4" c-c TS50-22649 TS50-22649

TR00-45902 Torque Rod
Bushing

OEM Part# Application Length A B

1613902C93 Hendrickson RS650 28 3/4" c-c TS50-22649 TS50-22649

www.atrobushing.com 800-325-6114 100

http://www.atrobushing.com


International
Torque Rod

TR00-45949 Torque Rod
Bushing

OEM Part# Application Length A B

1651949C93 Hendrickson RS650 23 3/4" c-c TS50-22649 TS50-22649

TR00-45950 Torque Rod
Bushing

OEM Part# Application Length A B

1651950C93 Hendrickson RS650 24" c-c TS50-22649 TS50-22649

TR00-45951 Torque Rod
Bushing

OEM Part# Application Length A B

1651951C93 Hendrickson RS650 25 1/4" c-c TS50-22649 TS50-22649

TR00-45978 Torque Rod
Bushing

OEM Part# Application Length A B

318978C91 Hendrickson RS650 32 1/4" c-c TS50-22649 TS50-22649

TR55-41117 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

3581271C1 Corporate Four Spring 18 1/8" c-c TS00-22500 TS00-22500

3581272C2 18 1/8" c-c TS00-22500 TS00-22500

493920C1 18 1/8" c-c TS00-22500 TS00-22500

493920C2 18 1/8" c-c TS00-22500 TS00-22500

588117C91 Corporate Four Spring 18 1/8" c-c TS00-22500 TS00-22500

TR55-41118 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

2504006C91 Corporate Four Spring
(rear axle)

21 31/32" c-c TS00-22500 TS00-22500

493921C1 Corporate Four Spring
(rear Axle)

21 31/32" c-c TS00-22500 TS00-22500

493921C2 Corporate Four Spring
(rear axle)

21 31/32" c-c TS00-22500 TS00-22500

588118C91 Corporate Four Spring
(rear axle)

21 31/32" c-c TS00-22500 TS00-22500

FAX: 866-920-2005 customerservice@atrobushing.com 101

mailto:customerservice@atrobushing.com


International
Torque Rod

TR55-418C1 Torque Rod

Bushing

OEM Part# Application Length A B Qty per Vehicle

3548381C1 Corporate Air 25 3/8" c-c TS38000 TS38000 typically 2

3580088C1 25 3/8" c-c TS38000 TS38000 typically 2

4C4Z4612AA Corporate Air 25 3/8" c-c TS38000 TS38000 typically 2

5015565C2 25 3/8" c-c TS38000 TS38000 typically 2

501565C2 Corporate Air 25 3/8" c-c TS38000 TS38000 typically 2

TR55-41C91 Torque Rod
Bushing

OEM Part# Length A B

1661937C91 29 1/2" c-c TS38000 TS38000

TR55-428C1 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

3548381C1 Corporate Air 25 3/8" c-c TS00-22500 TS00-22500

3580088C1 Corporate Air 25 3/8" c-c TS00-22500 TS00-22500

3580088C2 25 3/8" c-c TS00-22500 TS00-22500

4C4Z4612AA Corporate Air 25 3/8" c-c TS00-22500 TS00-22500

501565C2 Corporate Air 25 3/8" c-c TS00-22500 TS00-22500

TR55-42C91 Torque Rod
Bushing

OEM Part# Length A B

1661933C91 28 1/2" c-c TS38000 TS38000

1691034C91 28 1/2" c-c TS38000 TS38000

TR59-41375 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

1661925C91 24" c-c TS38000 TS38000 typically 2

TR59-41376 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

3581270C1 24" c-c TS38000 TT38000 typically 2

www.atrobushing.com 800-325-6114 102

http://www.atrobushing.com
www.torque-rod.com


International
Torque Rod

TR62-41238 Torque Rod
Bushing

OEM Part# Length A B

1516350C91 23 3/4" c-c TS38000 TS38000

1516350C92 23 3/4" c-c TS38000 TS38000

TR94-41900 Torque Rod
Bushing

OEM Part# Length A B

583922C91 23 1/8" c-c TS38000 TS38000

TR99-41428 Torque Rod
Bushing

OEM Part# Length A B

HD62001540 21 1/4" c-c TS38000 TS38000

HUD62001540 21 1/4" c-c TS38000 TS38000

ZAK62001540 21 1/4" c-c TS38000 TS38000

ZJF62001540 21 1/4" c-c TS38000 TS38000

TS34000 Torque Rod Bushing

Note: Use in place of discontinued TS34095,  NEW CRIMPED DESIGN 
OEM Part# Application OD Length Misc. Dimensions Install Tool

1693060C1 Corporate Four Spring; 8100 / 9200
Single Axle

2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

TS38000 Torque Rod Bushing

Note: Use in place of discontinued TS38095 
OEM Part# Application OD Length Misc. Dimensions Install Tool

1693061C1 Corporate Four Spring; 8100 / 9200
Single Axle; Corporate Air

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

TS38750 Torque Rod Bushing

Note: Use in place of discontinued TS38795 
OEM Part# OD Length Misc. Dimensions Install Tool

1693063C1 2 3/4" 4 3/8" Bolt Hole: 3/4" PT59-59100

TS46000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions

3212882R2 3" 4 3/8" c-c (pin) Bolt Hole: 5/8"; OAL: 5 13/16"

FAX: 866-920-2005 customerservice@atrobushing.com 103

mailto:customerservice@atrobushing.com


International
Torque Rod

TS49000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

1693070C1 2 3/4" 5 11/16" c-c Bolt Hole: 3/4" PT10000

TS50-22664 Torque Rod Bushing

OEM Part# Application OD Length Misc.
Dimensions

Qty per
Vehicle

64664-000L Int’l HTB 400LT Rear Air, HTB 210 for
Spartan Motorhome Chassis, HTB 210

Mid Engine, Rear Engine, Drive Tag, Aux.
Drive Tag

2 3/4" Bolt Holes:
5 1/4" c-c

Bolt Hole: 5/8" 8

TT34000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

1693065C1 2 17/32" 6 5/8" Stud: 1 1/8-12" PT20000

TT34038 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

1693067C1 2 3/4" 6 5/8" Stud: 1 1/8-12" PT59-59100

TT38000 Torque Rod Bushing

OEM Part# Application OD Length Misc.
Dimensions

Install Tool Qty per
Vehicle

1693066C1 Corporate Air Suspension;
Single/Tandem Axle

2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 2

TT50-22697 Torque Rod Bushing

Note: Bushing does NOT rotate, Flanged design to prevent bushing walk out, Fits Hendrickson ULTRA ROD® 
OEM Part# OD Length Misc. Dimensions Install Tool Qty per Vehicle

TSHS73 1 15/16" 8" Taper Length: 3"; 
Stud: 1 1/4"-12

PT00-52500 varies

UB30000 Torque Rod Bushing

Note: 1-piece design, For 2-piece design see PL1118 
OEM Part# Application ID OD Length

34734C1 Tri-Lite Trailer Four Spring 7/8" 1 3/4" 3"

www.atrobushing.com 800-325-6114 104

http://www.atrobushing.com


International
Under Hood

CM55-61454 Cab Mount Bushing Kit  (set of 2)
Contains: (2) Bushings, (2) Bolts, (2) Locknuts  
Note: ATRO bushings fit both left and right side. Customer must reuse brackets. 
OEM Part# Application ID OD Length Install Tool Qty per Vehicle

3444147C91 bracket assembly 3200 Bus; 4100; 4200; 4300; 4400;
7300 (1/1/01-current); 7400
(7/1/01-current); 7500; 8500

.5" 2.88" 3.28" PT55-56454 1

3574670C91 bracket assembly 3200 Bus; 4100; 4200; 4300; 4400;
7300 (1/1/01-current); 7400
(7/1/01-current); 7500; 8500

.5" 2.88" 3.28" PT55-56454 1

3574671C91 bracket assembly 3200 Bus; 4100; 4200; 4300; 4400;
7300 (1/1/01-current); 7400
(7/1/01-current); 7500; 8500

.5" 2.88" 3.28" PT55-56454 1

3574678C1 bushing 3200 Bus; 4100; 4200; 4300; 4400;
7300 (1/1/01-current); 7400
(7/1/01-current); 7500; 8500

.5" 2.88" 3.28" PT55-56454 1

3574680C1 bushing 3200 Bus; 4100; 4200; 4300; 4400;
7300 (1/1/01-current); 7400
(7/1/01-current); 7500; 8500

.5" 2.88" 3.28" PT55-56454 1

3589599C91 bracket assembly 3200 Bus; 4100; 4200; 4300; 4400;
7300 (1/1/01-current); 7400
(7/1/01-current); 7500; 8500

.5" 2.88" 3.28" PT55-56454 1

3844147C91 bracket assembly 3200 Bus; 4100; 4200; 4300; 4400;
7300 (1/1/01-current); 7400
(7/1/01-current); 7500; 8500

.5" 2.88" 3.28" PT55-56454 1

CM55-614C4 Cab Mount/Insulator (Front)

OEM Part# ID OD Length Misc. Dimensions Qty per Vehicle

3512064C4 5/8" 3 3/8" 3 1/4" Bolt Holes: 5" c-c 2

CM55-615C2 Cab Mount/Insulator (Front)

OEM Part# ID OD Length Misc. Dimensions Qty per Vehicle

3515345C1 3/4" 3 3/8" 3" Bolt Holes: 5" c-c 2

3515345C2 3/4" 3 3/8" 3" Bolt Holes: 5" c-c 2

CM55-616C5-HT Cab Mount  (High Temp)

Note: High Temperature 
OEM Part# Application OD Length Misc. Dimensions Qty per Vehicle

3595976C4 Day Cab 2 7/8" 3 1/4" Bolt: 5/8" 2

3595976C5 Day Cab 2 7/8" 3 1/4" Bolt: 5/8" 2

FAX: 866-920-2005 customerservice@atrobushing.com 105

mailto:customerservice@atrobushing.com


International
Under Hood

MM55-62002 Motor Mount Kit (Front)
Contains: (1) MM55-624C3 Mount. (1) MM55-626C2 Mount, (1) Bolt M16-2.0x90mm, (1) Flat Washer, M16, (1) 
Flanged Locknut, M16-2.0 

Bushing

OEM Part# Application A B Qty per Vehicle

1664724C1 Model 3900 MM55-624C3 MM55-626C2 2

1664724C2 Model 3900 MM55-624C3 MM55-626C2 2

1664724C3 Model 3900 MM55-624C3 MM55-626C2 2

1664726C2 upper (snubber) MM55-624C3 MM55-626C2 2

MM55-62003 Motor Mount Kit, Front
Contains: (1) MM55-623C3 Mount, (1) MM55-626C2 Mount, (1) Bolt, (1) Flat Washer, (1) Flanged Locknut 

Bushing

OEM Part# Application ID OD Length Width Misc.
Dimensions

A B

1664723C1 lower 1000; 1600; 2500; 2600;
3200; 3400; 3600; 3800;
4000; 4200-4900; 7100;

8200; 8300

5/8" 3"
(upper)

4"
(lower)

4 1/16"
(lower)

Thickness:
9/16" (upper)

MM55-623C3 MM55-626C2

1664723C2 lower 1000; 1600; 2500; 2600;
3200; 3400; 3600; 3800;
4000; 4200-4900; 7100;

8200; 8300

5/8" 3"
(upper)

4"
(lower)

4 1/16"
(lower)

Thickness:
9/16" (upper)

MM55-623C3 MM55-626C2

1664723C3 lower 1000; 1600; 2500; 2600;
3200; 3400; 3600; 3800;
4000; 4200-4900; 7100;

8200; 8300

5/8" 3"
(upper)

4"
(lower)

4 1/16"
(lower)

Thickness:
9/16" (upper)

MM55-623C3 MM55-626C2

1664726C2
upper/snubber

5/8" 3"
(upper)

4"
(lower)

4 1/16"
(lower)

Thickness:
9/16" (upper)

MM55-623C3 MM55-626C2

MM55-62004 Motor Mount Kit (Rear)
Contains: (1) MM55-620C7 Mount. (1) MM55-629C7 Mount, (1) Bolt Assembly 

Bushing

OEM Part# Application A B

1664729C1 upper mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

1664729C2 upper mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

1664729C3 upper mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

1664729C4 upper mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

1664729C5 upper mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

1664729C7 upper mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

1664730C5 lower mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

1664730C7 lower mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

2014777C2 lower mount Paystar 530, 5000 Series N14 Engines MM55-620C7 MM55-629C7

www.atrobushing.com 800-325-6114 106

http://www.atrobushing.com


International
Under Hood

MM55-62005 Motor Mount Kit (Rear)

Contains: (2) MM55-620C7 Mount. (2) MM55-629C7 Mount, (2) Bolt Assemblies 
Bushing

OEM Part# Application A B Qty per Vehicle

1664729C1 upper mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

1664729C2 upper mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

1664729C3 upper mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

1664729C4 upper mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

1664729C5 upper mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

1664729C7 upper mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

1664730C5 lower mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

1664730C7 lower mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

20147772C2 lower mount Paystar 530, 5000 Series
N14 Engines

MM55-620C7 MM55-629C7 1

MM55-620C7 Motor Mount, Lower (Rear)
Notes: Use with MM55-629C7. For Complete Kit see MM55-62004 or MM55-62005 
OEM Part# Application ID OD Misc. Dimensions

1664730C5 Paystar 530, 5000 Series N14 Engines 3/4" 3 5/8" Thickness: 9/16"

1664730C7 Paystar 530, 5000 Series N14 Engines 3/4" 3 5/8" Thickness: 9/16"

2014777C2 Paystar 530, 5000 Series N14 Engines 3/4" 3 5/8" Thickness: 9/16"

MM55-623C3 Motor Mount, Lower (Front)

OEM Part# Application ID Length Width

1664723C1 1000; 1600; 2500; 2600; 3200; 3400; 3600;
3800; 4000; 4200-4900; 7100; 8200; 8300

5/8" 4" 4 1/16"

1664723C2 1000; 1600; 2500; 2600; 3200; 3400; 3600;
3800; 4000; 4200-4900; 7100; 8200; 8300

5/8" 4" 4 1/16"

1664723C3 1000; 1600; 2500; 2600; 3200; 3400; 3600;
3800; 4000; 4200-4900; 7100; 8200; 8300

5/8" 4" 4 1/16"

1664730C7 5/8" 4" 4 1/16"

20147772C2 5/8" 4" 4 1/16"

MM55-624C3 Motor Mount, Lower (Front)

OEM Part# Application ID Length Width

1664724C1 Model 3900 5/8" 4" 4 1/16"

1664724C2 Model 3900 5/8" 4" 4 1/16"

1664724C3 Model 3900 5/8" 4" 4 1/16"

MM55-626C2 Motor Mount, Upper (Front)

OEM Part# ID OD Misc. Dimensions

1664726C2 5/8" 3" Thickness: 9/16"

FAX: 866-920-2005 customerservice@atrobushing.com 107

mailto:customerservice@atrobushing.com


International
Under Hood

MM55-629C7 Motor Mount, Upper (Rear)
Notes: Use with MM55-620C7. For Complete Kit see MM55-62004 or MM55-62005 
OEM Part# Application ID Length Width

1664729C1 Paystar 530, 5000 Series N14 Engines 13/16" 7 1/16" 3 1/2"

1664729C2 Paystar 530, 5000 Series N14 Engines 13/16" 7 1/16" 3 1/2"

1664729C3 Paystar 530, 5000 Series N14 Engines 13/16" 7 1/16" 3 1/2"

1664729C4 Paystar 530, 5000 Series N14 Engines 13/16" 7 1/16" 3 1/2"

1664729C5 Paystar 530, 5000 Series N14 Engines 13/16" 7 1/16" 3 1/2"

1664729C7 Paystar 530, 5000 Series N14 Engines 13/16" 7 1/16" 3 1/2"

PL1048 Motor Mount

OEM Part# ID Large OD Small OD Length

503579C1 1 1/2" 3 7/16" 3" 3 1/8"

503837C1 1 1/2" 3 7/16" 3" 3 1/8"

507569C91 1 1/2" 3 7/16" 3" 3 1/8"

PL1055 Motor Mount

OEM Part# ID Large OD Small OD Length

1811 11/16" 2 3/8" 1 1/2" 2 3/8"

470031C2 11/16" 2 3/8" 1 1/2" 2 3/8"

EE14003053 11/16" 2 3/8" 1 1/2" 2 3/8"

PL1104 Motor Mount

OEM Part# ID Large OD Small OD Length

14003052 11/16" 2 7/8" 1 5/8" 2 5/8"

4170 11/16" 2 7/8" 1 5/8" 2 5/8"

479237C1 11/16" 2 7/8" 1 5/8" 2 5/8"

583955C1 11/16" 2 7/8" 1 5/8" 2 5/8"

PL1110 Motor Mount

OEM Part# ID Large OD Small OD Length

753997C91 11/16" 3" 2" 2 1/4"

753997C92 11/16" 3" 2" 2 1/4"

753997C93 11/16" 3" 2" 2 1/4"

PL1113 Hood Bumper

OEM Part# Large OD Length Misc. Dimensions

472697C1 2 5/16" 1 3/8" Thread Size: 5/16" 18 UNC

www.atrobushing.com 800-325-6114 108

http://www.atrobushing.com


International
Under Hood

PL1114 Insulator (set of 8)

OEM Part# ID Large OD Small OD Length

270203C1 1/2" 1 9/16" 7/8" 3/4"

PL1128 Radiator Mount

OEM Part# ID Large OD Small OD Length

598699C1 9/16" 1 13/16" 1 3/16" 1 3/8"

PL1136 Radiator Mount

OEM Part# ID Large OD Small OD Length

476869C1 11/16" 2 15/16" 1 15/16" 2 1/4"

PL1183 Motor Mount

OEM Part# ID Large OD Small OD Length

462300C2 5/8" 2 3/8" 1 1/2" 2 1/8"

RM55-637C1 Radiator Mount, Lower
Notes: use with RM55-638C2  
OEM Part# ID OD Height

471477C1 3/4" 1 5/8" 5/8"

RM55-638C2 Radiator Mount, Upper
Notes: use with RM55-637C1  
OEM Part# Length Width Misc. Dimensions

471478C1 7 7/8" 2" Thickness: 9/16"

471478C2 7 7/8" 2" Thickness: 9/16"

Other
CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

283071C93 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

CB2106611XSA 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 109

mailto:customerservice@atrobushing.com


International
Other

FW51-32011 5th Wheel Bushing

OEM Part# ID OD Length

SAFXB0011 1 1/8" 2" 4 1/4"

XB0011 1 1/8" 2" 4 1/4"

FW51-32731 5th Wheel Kit

Contains: (2) PL1006 Bushings, (2) Foot Pins, (2) Bolts, (2) Flanged Locknuts 
Note: Available Summer 2017
OEM Part# Qty per Vehicle

SAFRK069731 1

FW99-32401 5th Wheel Bushing Kit
Contains: (2) FW99-32594 Bushings, (2) Bracket Pins, (2) Collars, (2) Tab Washers, (4) Bolts 
OEM Part# Bushing A

JOSSK7501401 FW99-32594

FW99-32605 5th Wheel Bushing

OEM Part# ID Large OD Small OD Length

SAFXB10605 1 3/16" 3 7/8" 2 7/16" 2 1/16"

HL55-64C91 Hood Latch Kit

OEM Part# Application Length

16899930C91 12" Old Style 6 7/8"

MS50-39613 Wear Washer

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

258892C91 2.27" 7" Thickness: .35" 4/axle

MS99-63399 Shifter Isolator Bushing Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut
OEM Part# ID OD Length Install Tool

FULK3399 .84" 1 1/2" 2.3" PT99-63399

www.atrobushing.com 800-325-6114 110

http://www.atrobushing.com


International
Other

PL1025 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

140149 3/4" 1 9/16" 1 7/16" 7/8" 8

PL1025-HT Shock Bushing (High Temp)
Note: High Temperature
OEM Part# ID Large OD Small OD Length

140149 3/4" 1 9/16" 1 7/16" 7/8"

PL1026 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

401754 1 1/16" 1 7/8" 1 1/2" 1" 8

PL1026-HT Shock Bushing (High Temp)

Note: High Temperature Bushing
OEM Part# ID Large OD Small OD Length Qty per Vehicle

401754 1 1/16" 1 7/8" 1 1/2" 1" Varies

Isuzu
Torque Rod

TS45000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions

1515190412 4 5/32"  Bushing: 2 1/2" Pin: 6"  Bolt Hole: 18mm Bolt Holes: 4 21/64" c-c

James King
Other

BP99-34303 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

3044 5 9/16" 3 3/8" 2 3/4" Bolt Hole: 1/2";  Bolt Holes: 2 1/2" c-c 2

FAX: 866-920-2005 customerservice@atrobushing.com 111

mailto:customerservice@atrobushing.com


James King
Other

BP99-36038 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

3043 6.1" 3.2" 4" Bolt Hole: 1/2"; Bolt Holes: 2.4" c-c 2

BP99-36040 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

3042 7" 1 3/4" 1 15/16" Bolt Hole: 3/8" Bolt Holes: 4 1/2" c-c 2 or 4

BP99-65020 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

3035 4 5/8" 3 1/2" 2 5/8" Bolt Hole: 7/16"; Bolt Holes: 2 3/8" c-c 2

BP99-65040 Trailer/Dock Bumper
Notes: Replaces BP99-65010 & BP99-65781 
OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

3630 5 3/4" 3 3/4" 3" Bolt Holes: 3 1/2" c-c Bolt Size: 1/2" 2

3781 5 3/4" 3 3/4" 3" Bolt Holes: 3 1/2" c-c Bolt Size: 1/2" 2

BP99-650B1 Bumper

OEM Part# ID OD Height Qty per Vehicle

3050 .45" 2 1/2" 1" 2

Jost
Other

FW99-32594 5th Wheel Bushing

Note: Available Summer 2017
OEM Part# Application ID OD Length Qty per Vehicle

SK2905-94 bushing JSK37U, JSK37UA, JSK37US, JSK37UW 2" 2 3/4" 4" 2

SK2905-95 JSK37U, JSK37UA, JSK37US, JSK37UW 2" 2 3/4" 4" 2

www.atrobushing.com 800-325-6114 112

http://www.atrobushing.com


Jost International
Other

FW99-32401 5th Wheel Bushing Kit
Contains: (2) FW99-32594 Bushings, (2) Bracket Pins, (2) Collars, (2) Tab Washers, (4) Bolts 
OEM Part# Application Bushing A

JSK3105-95 collar only JSK37U, JSK37UA, JSK37US, JSK37UW FW99-32594

JSK70202-15 bolts only JSK37U, JSK37UA, JSK37US, JSK37UW FW99-32594

JSK73104-47 tab washer only JSK37U, JSK37UA, JSK37US, JSK37UW FW99-32594

JSK790111-03 bracket pin only JSK37U, JSK37UA, JSK37US, JSK37UW FW99-32594

SK2905-94 bushing only JSK37U, JSK37UA, JSK37US, JSK37UW FW99-32594

SK2905-95 bushing only JSK37U, JSK37UA, JSK37US, JSK37UW FW99-32594

SK75014-01 JSK37U, JSK37UA, JSK37US, JSK37UW FW99-32594

Kalmar/Cargotec
Under Hood

CM13-61026 Cab Isolator

OEM Part# ID OD Length

920734.0001 5/8" 2 15/16" 2 5/8"

CM99-61800 Cab Mount/Isolator
Contains: (2) Mounts. (1) Spacer Sleeve  
Notes: Dimensions are for individual mount 
OEM Part# ID OD Height

90021800 5/8" 2 1/4" 13/16"

Kentucky Trailer
Other

BP99-65040 Trailer/Dock Bumper
Notes: Replaces BP99-65010 & BP99-65781 
OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

T-9000 5 3/4" 3 3/4" 3" Bolt Holes: 3 1/2" c-c Bolt Size: 1/2" 2

FAX: 866-920-2005 customerservice@atrobushing.com 113

mailto:customerservice@atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Kenworth AG 100

www.atrobushing.com 800-325-6114 114

http://www.atrobushing.com


Kenworth AG 200-400

FAX: 866-920-2005 customerservice@atrobushing.com 115

mailto:customerservice@atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Kenworth AG 380

www.atrobushing.com 800-325-6114 116

http://www.atrobushing.com


Kenworth
Suspension

AG10000 Airglide 100 Rebuild Bushing Kit
Contains: (4) PL1008. (10) TS38000, (2) TT38000 
OEM Part# Application

Air Glide 100

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

45900 4 Bag Air Glide Suspension 2 1/2" 4 3/8" 5 3/4" PT40000 4

HW59-29000 Sway Bar Hardware Kit
Contains: (4) M16x290mm Bolts. (8) M16x120mm Bolts, (24) M16 Flat Washers, (12) M16 Locknuts 
OEM Part# Application Qty per Vehicle

K041-712-130P Airglide 200/400 1

K041-712-290P Airglide 200/400 1

PL1008 Air Ride Bushing

Notes: Same as PL1184 with side tabs 
OEM Part# Application ID OD Length

CA293 Air Glide 100 1 7/8" 3" 4"

K066-058 Air Glide 100 1 7/8" 3" 4"

K066-293 Air Glide 100 1 7/8" 3" 4"

K066-449 Air Glide 100 1 7/8" 3" 4"

PL1038 Trunnion Bushing

OEM Part# Application ID OD Length

K066-232 Big 6 4" 5" 4 11/16"

KW6-50 Big 6 4" 5" 4 11/16"

PL1039 Air Ride Bushing

OEM Part# ID Large OD Small OD Length

K066-162 2" 3 3/4" 2 3/4" 2 3/8"

PL1147 Sway Bar Bushing

OEM Part# Application ID OD Length

K066-450 Air Glide 200 (40K
Suspension)

2 1/8" 3" 2 7/8"

FAX: 866-920-2005 customerservice@atrobushing.com 117

mailto:customerservice@atrobushing.com


Kenworth
Suspension

PL1150 Sway Bar Bushing

OEM Part# Application ID OD Length

K066-478 Air Glide 200 (40K
Suspension) Oversized

2 1/8" 3 1/8" 2 7/8"

PL1184 Stabilizer Bar Bushing
Notes: Same as PL1008 without side tabs  
OEM Part# Application ID OD Length

CA293 Air Glide 100 1 7/8" 3" 4"

K066-058 Air Glide 100 1 7/8" 3" 4"

K066-293 Air Glide 100 1 7/8" 3" 4"

K066-449 Air Glide 100 1 7/8" 3" 4"

SK59-10000 Spring Eye Shackle Kit
Contains: (2) SP59-11010 Bushings. (2) Sidebars, (4) Bolts, (4) Washers, (4) Locknuts  
Notes: Rear of front  
OEM Part# Application OD Length Bushing A Install Tool Qty per Vehicle

5295 bushing T400/500/800 Conventional 4 1 3/4" 4" SP59-11010 PT00-53000 2

5296 pin T400/500/800 Conventional 4 1 3/4" 4" SP59-11010 PT00-53000 2

K209-75 sidebar T400/500/800 Conventional 4 1 3/4" 4" SP59-11010 PT00-53000 2

SK59-12000 Spring Eye Shackle Kit
Contains: (2) SP59-11010 Bushings. (2) Sidebars, (4) Bolts, (4) Washers, (4) Locknuts  
Notes: Rear of front  
OEM Part# Application OD Length Install Tool Qty per Vehicle

5295 bushing T400/500/800 Conventional 4" Wide
Spring with offset sidebar

1 3/4" 4" PT00-53000 2

5296 pin T400/500/800 Conventional 4" Wide
Spring with offset sidebar

1 3/4" 4" PT00-53000 2

K209-55 sidebar T400/500/800 Conventional 4" Wide
Spring with offset sidebar

1 3/4" 4" PT00-53000 2

SK59-12100 Spring Eye Shackle Kit
Contains: (2) SP59-11006 Bushings. (2) Sidebars, (4) Bolts, (4) Washers, (4) Locknuts  
Notes: Rear of front  
OEM Part# Application Bushing A Misc. Dimensions Install Tool Qty per Vehicle

B65-1006 bushing C500B/550B, K100/300,
T300/400/450/600/800/2000

SP59-11006 Bushing OD 1 3/4";
Bushing Width 4 1/16";

Sidebar c-c 4"

PT00-53000 2

B65-1017-001 C500B/550B, K100/300,
T300/400/450/600/800/2000

SP59-11006 Bushing OD 1 3/4";
Bushing Width 4 1/16";

Sidebar c-c 4"

PT00-53000 2

K209-75 sidebar T800 SP59-11006 Bushing OD 1 3/4";
Bushing Width 4 1/16";

Sidebar c-c 4"

PT00-53000 2

SP00-11005 Spring Eye Bushing

Contains: (1) Spring Eye Bushing. (2) Washers  
OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

B65-6005 4" wide spring 1 3/4" Outer Sleeve Length: 4 1/16";  Pin
Groove: 5 7/16" c-c

PT00-53000 2

www.atrobushing.com 800-325-6114 118

http://www.atrobushing.com


Kenworth
Suspension

SP00-11013 Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Washers 
OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

B65-1013 Late model 2 1/16" Outer Sleeve Length: 4 1/16"; Pin
Groove: 5 7/16" c-c

PT59-53000 6

B65-6006 Late model 2 1/16" Outer Sleeve Length: 4 1/16"; Pin
Groove: 5 7/16" c-c

PT59-53000 6

SP11006-03 Polyurethane Shim

OEM Part# ID OD Misc. Dimensions

1 1/16" 2 1/4" Thickness: 7/16"

SP11378-04 Polyurethane Shim

OEM Part# ID OD Misc. Dimensions

1 1/8" 2 5/8" Thickness: 3/16"

SP59-11006 Spring Eye Bushing

Contains: (1)  Spring Eye Bushing, (2) SP1154M Polyurethane Shims, (2) SP11006-03 Polyurethane Shims 
Bushing

OEM Part# Application OD Length A B Qty per
Vehicle

B65-1006 C500B/550B,K100/300,
T300/400/450/600/800/2000

1 3/4" 4 1/16" (outer sleeve); 6
5/16" c-c (pin groove)

SP1154M-04 SP11006-03 6

B65-1017-001 C500B/550B,K100/300,
T300/400/450/600/800/2000

1 3/4" 4 1/16" (outer sleeve); 6
5/16" c-c (pin groove)

SP1154M-04 SP11006-03 6

SP59-11007 Spring Eye Bushing

OEM Part# Application OD Length Install Tool Qty per Vehicle

B65-1007 C500B/550B, K100/300,
T300/400/600/800/2000 Trucks

2 1/16" 4 1/16" (outer sleeve);
6 5/16" c-c (pin groove)

PT59-53000 6

B65-1012 C500B/550B, K100/300,
T300/400/450/600/800/2000

2 1/16" 4 1/16" (outer sleeve);
6 5/16" c-c (pin groove)

PT59-53000 6

SP59-11010 Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Polyurethane Shims 
OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

B65-1001 W900; T2000 4" Wide
Spring

1 3/4" Outer Sleeve Length: 4 1/16";
Inner Pin Groove: 5 3/4" c-c

PT00-53000 6

FAX: 866-920-2005 customerservice@atrobushing.com 119

mailto:customerservice@atrobushing.com


Kenworth
Suspension

SP59-11378 Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Washers  
Notes: Front of Front  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per Vehicle

5295 bushing T400/500/800 Conventional 4"
Wide Spring

1 3/4" 4" Pin: 5 3/4" c-c PT00-53000 6

K179-378 pin T400/500/800 Conventional 4"
Wide Spring

1 3/4" 4" Pin: 5 3/4" c-c PT00-53000 6

SU00-29001 Spring Link Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

C13-6001 Airglide 380 2 3/8" 4 3/8" c-c Bolt Hole: 5/8" PT00-52200

SU00-29002 Spring Link Bushing

OEM Part# Application ID OD Length Install Tool

C13-6002 Airglide 380 7/8" 2 3/8" 3" PT00-52200

SW59-29000 Sway Bar Assembly
Contains: (1) Sway Bar. (2) Sway Bar End Bushings, (2) Sway Bar Wrap Bushings  
Notes: Both sway bars must be replaced to be covered under warranty  

Bushing

OEM Part# Application Large OD Length A B Misc. Dimensions Qty per Vehicle

C65-1000 Airglide
200/400/460/690

58mm
(bar)

19 1/2"
(arm)

TS38000 SW59-29465 Axle Spacing: 52" 2 or 3

C65-1013 Airglide
200/400/460/690

58mm
(bar)

19 1/2"
(arm)

TS38000 SW59-29465 Axle Spacing: 52" 2 or 3

SW59-29000-KIT Sway Bar Complete Conversion Kit
Contains: (2) Sway Bar. (4) Sway Bar End Bushings, (4) Sway Bar Wrap Bushings, (4) Sway Bar Thrust Bushings, 
(4) Sway Bar Shaft Collars, (1) HW59-29000 Hardware Kit
Notes: Both sway bars must be replaced to be covered under warranty

Bushing

OEM Part# Application Large OD Length A B C Misc.
Dimensions

Qty per
Vehicle

C65-1000 bar AG400 58mm (bar) 19 1/2" (arm) TS38000 SW59-29465 HW59-29000 Axle Spacing:
52"

1

C65-1013 bar AG400 58mm (bar) 19 1/2" (arm) TS38000 SW59-29465 HW59-29000 Axle Spacing:
52"

1

SW59-29001 Sway Bar Assembly
Contains: (1) Sway Bar. (2) Sway Bar End Bushings, (2) Sway Bar Wrap Bushings  
Notes: Both sway bars must be replaced to be covered under warranty  

Bushing

OEM Part# Application Large
OD

Length A B Misc.
Dimensions

Qty per
Vehicle

C65-1001 Airglide 200/400/460/690
w/54" axle spacing

58mm
(bar)

20 1/2"
(arm)

TS38000 SW59-29465 Axle Spacing: 54" 2

www.atrobushing.com 800-325-6114 120

http://www.atrobushing.com


Kenworth
Suspension

SW59-29001-KIT Sway Bar Complete Conversion Kit
Contains: (2) Sway Bars. (4) Sway Bar End Bushings, (4) Sway Bar Wrap Bushings, (4) Sway Bar Thrust Bushings, 
(4) Sway Bar Shaft Collars, (1) HW59-29000 Hardware Kit
Notes: Both sway  bars must be replaced to be covered under warranty

Bushing

OEM Part# Application Large
OD

Length A B C Misc.
Dimensions

Qty per
Vehicle

C65-1001 bar AG400 58mm
(bar)

20 1/2"
(arm)

TS38000 SW59-29465 HW59-29000 Axle Spacing:
54"

1

SW59-29058 Sway Bar Rebuild Bushing Kit
Contains: (2) TS38000 Bushings, (2) SW59-29465  Wrap Bushings, (2) SW59-29461 Thrust Bushings 
Note: Replaces various 58mm Sway Bar Bushings 

Bushing

OEM Part# A B C

TS38000 SW59-29465 SW59-29461

SW59-29454 Thrust Bushing
Notes: Cable tie included 
OEM Part# Application ID OD Misc. Dimensions

K066-454 Airglide 200/400 54mm 3 9/16" Thickness: 1/2"

K066-502-1 Airglide 200/400 54mm 3 9/16" Thickness: 1/2"

SW59-29461 Thrust Bushing
Notes: Cable tie included 
OEM Part# Application ID OD Misc. Dimensions

K066-461 Airglide 200/400 58mm 3 9/16" Thickness: 1/2"

K066-502-2 Airglide 200/400 58mm 3 9/16" Thickness: 1/2"

SW59-29465 Sway Bar Wrap Bushing (set of 2)
Notes: Fits 58mm sway bar 
OEM Part# Application ID OD Length

K066-460 Airglide 200 (58mm
diameter swaybar)

58mm 3 1/16" 2 13/16"

SW59-29599 Sway Bar Shaft Collar
Notes: Sway bar shaft collar for old design sway bar (NOT parabolic design)  
OEM Part# Qty per Vehicle

4 Optional

FAX: 866-920-2005 customerservice@atrobushing.com 121

mailto:customerservice@atrobushing.com


Kenworth
Torque Rod

RW51000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

A-2297-K-1051 4 1/8" 5 1/4" Bolt Hole: 15/16" PT85-51000

RW53000 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

A-2297-K-1052 KW6-50 "Big 6" 4 1/8" 4 3/8" Bolt Hole: 11/16" PT85-51000

A-2297-V-4806 KW6-50 "Big 6" 4 1/8" 4 3/8" Bolt Hole: 11/16" PT85-51000

RW54000 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions

A-2297-H-1048 KW6-50 "Big 6" 3 5/8" 4 3/8" Bolt Hole: 11/16"

SK27174 Torque Rod Kit
Contains: (1) TR71000, (1) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27175 Torque Rod Kit
Contains: (2) TR71000, (2) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27176 Torque Rod Kit
Contains: (1) TR71000, (1) TR76000  Note: Finished length up to 27" 

Bushing

Misc. Dimensions A B

Bolt Hole: 5/8" TS38000 TT38000

SK70380 Torque Rod Bushing Kit
Contains: (4) TS38000 

Misc. Dimensions

Bolt Hole: 5/8"

www.atrobushing.com 800-325-6114 122

http://www.atrobushing.com


Kenworth
Torque Rod

SK70381 Torque Rod Bushing Kit
Contains: (6) TS38000, (2) TT38000 

Misc. Dimensions

Bolt Hole: 5/8"

TH59-69019 Torque Rod Bushing

OEM Part# ID OD Length Misc. Dimensions

2993-2019 bushing Inner Sleeve:
1/2"

Inner Sleeve:
5/8"

Bushing: 1" Inner
Sleeve: 2 1/16"

Bushing Barrel OD: 1 1/8"; Bushing
Flange Thickness: 5/32";

TR00-41001 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

C65-6000-001 Airglide 380 23 3/4" c-c TS00-22500 TH00-22500

C65-6011-001 Airglide 380 23 3/4" c-c TS00-22500 TH00-22500

TR00-41009 Torque Rod, Small Eye

Bushing

OEM Part# Application Length A B Qty per Vehicle

C65-6002 Airglide 380 25 9/16" c-c TS00-22500 TS00-22500 typically 2

C65-6009 Airglide 380 25 9/16" c-c TS00-22500 TS00-22500 typically 2

TR00-41420 Torque Rod
Bushing

OEM Part# Length A B

925420 27 3/4" c-c TS38000 TS38000

TR00-41600 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

C65-6000-002 Airglide 380 24 11/16" c-c TS00-22500 TH00-22500

C65-6011-002 Airglide 380 24 11/16" c-c TS00-22500 TH00-22500

TR59-41008 Torque Rod

Note: Heavy Duty, High articulation bushings, Bushings do NOT rotate 
Bushing

OEM Part# Application Length A B

C65-1008 cast rod Airglide 230 20 1/4" c-c TS59-22400 TS59-22400

C65-1009 Airglide 230 20 1/4" c-c TS59-22400 TS59-22400

FAX: 866-920-2005 customerservice@atrobushing.com 123

mailto:customerservice@atrobushing.com


Kenworth
Torque Rod

TR59-41280 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

945280 29 1/4" c-c TS38000 TS38000 1

TR59-41375 Torque Rod
Bushing

OEM Part# Application Length A B Qty per Vehicle

944270 Airglide 100 24" c-c TS38000 TS38000 typically 2

K195-375 Airglide 100 24" c-c TS38000 TS38000 typically 2

TR59-41376 Torque Rod
Bushing

OEM Part# Application Length A B Qty per Vehicle

925031 Airglide 100 24" c-c TS38000 TT38000 typically 2

K195-375 Airglide 100 24" c-c TS38000 TT38000 typically 2

K195-376 Airglide 100 24" c-c TS38000 TT38000 typically 2

TR59-41474 Torque Rod

Note: Heavy Duty, High articulation bushings, Bushings do NOT rotate 
Bushing

OEM Part# Application Length A B Qty per Vehicle

K195-472 no bushings Airglide 200/400/460/690 19 3/4" c-c TS59-22400 TS59-22400 typically 2

K195-474 Airglide 200/400/460/690 19 3/4" c-c TS59-22400 TS59-22400 typically 2

TS38000 Torque Rod Bushing

Note: Use in place of discontinued TS38095 
OEM Part# Application OD Length Misc. Dimensions Install Tool

227720 Airglide 100; Glide Ride; 4 Bag
Airglide "Big 6"

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

836940 Airglide 100; Glide Ride; 4 Bag
Airglide "Big 6"

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

839310 Airglide 100; Glide Ride; 4 Bag
Airglide "Big 6"

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

TS59-22400 Straddle Bushing (High Articulation)

Note: Bushing does NOT rotate; High Articulation, ONLY use in Kenworth Airglide 200/400/460/690 torque rods 
(K195-474 and K195-472) 
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per Vehicle

227720 Airglide 200/400/460/690 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59110 4

836940 Airglide 200/400/460/690 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59110 4

839310 Airglide 200/400/460/690 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59110 4

www.atrobushing.com 800-325-6114 124

http://www.atrobushing.com


Kenworth
Torque Rod

TT38000 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

229610 Airglide 100 2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 2

Under Hood
EM75-61001 Air Cooler Mount Kit

Contains: (2) Polyurethane Mount Bushings. (4) Polyurethane Washers, (4) Bolts, (4) Locknuts, (2) Flat Washers 
OEM Part# Application

N4751001 T800 (2008-2010)

EM75-61001-HT Air Cooler Mount Kit (High Temp)
Contains: (4) Polyurethane Mount Bushings, (4) Polyurethane Washers, (4) Bolts, (4) Locknuts, (4) Flat Washers  
Note: High Temperature 
OEM Part# Application

N4751001 T800 (2008-2010)

EM75-69000-HT Exhaust Mount Bushing Kit (High Temp)

Contains: (2) EM75-69001-HT Mount, (1) Shaft, (2) Washers, (2) E-Clips  Note: High Temperature 
OEM Part# ID Large OD Small OD Bushing A

M13-6001 7/16" 1 3/4" 1 1/8" EM75-69001-HT

EM75-69001-HT Exhaust Mount Bushing (High Temp)

Note: High Temperature 
OEM Part# ID Small OD Large OD

M13-6001 7/16" 1 1/8" 1 3/4"

HM59-64010 Hood Mount

OEM Part# Application Small OD Large OD Length Misc. Dimensions

VBM4010 Kenworth T300; T400; T600;
T800

1" 1 1/2" 3" Stud Size: 5/16"-24 x 1 3/4"

KT59-62001 Motor Mount Kit, Rear (set of 2)

Contains: (2) MM59-62421, (2) MM59-62377  Note: Both rear mounts must be ATRO polyurethane engine 
mounts, Do not mix with rubber or non-compatible polyurethane engine mounts 
OEM Part# Application

K066-377 T-600 Motor Mount

K066-421 T-600 Motor Mount

FAX: 866-920-2005 customerservice@atrobushing.com 125

mailto:customerservice@atrobushing.com


Kenworth
Under Hood

KT59-62001-HT Motor Mount Kit, Rear (set of 2) (High Temp)
Contains: (2) MM59-62421-HT, (2) MM59-62377-HT Note: Both rear mounts must be ATRO hi-temp polyurethane 
engine mounts, Do not mix with rubber or non-compatible polyurethane engine mounts, High Temperature 
OEM Part# Application

K066-377 T-600 Motor Mount

K066-421 T-600 Motor Mount

KT59-62001-HW Motor Mount Kit w/Hardware, Rear

Contains: (2) MM59-62421. (2) MM59-62377, (2) Wear Plates, (2) Wear Sleeves, (2) Bolts 20mm x 120mm, (4) 
Flat Washers, (2) Locknuts 
OEM Part# Application

K066-377 no hardware T-600 Motor Mount

K066-421 no hardware T-600 Motor Mount

KT59-62002 Motor Mount Kit, Front (set of 2)

Contains: (2) Upper Mounts, (2) Lower Mounts 
Note: Same dimensions as MM59-62407 but different material; see application guide below. 
OEM Part# Application ID Large OD Small OD Height

K066-404 lower T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

K066-406 upper T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

KT59-62002-HT Motor Mount Kit, Front (set of 2) (High Temp)
Contains: (2) Upper Mounts, (2) Lower Mounts 
Note: High Temperature, Same dimensions as MM59-62407 but different material; see application guide below. 
OEM Part# Application ID Large OD Small OD Height

K066-404 (lower position) T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

K066-406 (upper position) T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

KT59-62002-HW Motor Mount Kt, Front w/Hardware (set of 2)
Contains: (2) Upper Mounts, (2) Lower Mounts, (2) Bolts 20mm, (2) Nuts, (4) Washers 
Note: Same dimensions as MM59-62407-HW but different material; see application guide below. 
OEM Part# Application ID Large OD Small OD Height

K066-404 lower T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

K066-406 upper T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

KT59-62003-HT Motor Mount Kit, Front w/Hdwr (set of 2) (High Temp)
Contains: (2) Upper Mounts, (2) Lower Mounts, (2) Bolts, (2) Nuts, (4) Washers 
Note: High Temperature, Same dimensions as MM59-62407-HW but different material; see application guide 
below. 
OEM Part# Application ID Large OD Small OD Height

K066-404 (lower position) T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

K066-406 (upper position) T-600/W-900 Front Motor
Mount

13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

www.atrobushing.com 800-325-6114 126

http://www.atrobushing.com


Kenworth
Under Hood

KT59-62004-HT Motor Mount Kit w/ Hardware, Rear (High Temp)
Contains: (2) MM59-62421-HT, (2) MM59-62377-HT, (2) Wear Plates, (2) Wear Sleeves, (2) Bolts 20mm x 120mm, 
(4) Flat Washers, (2) Locknuts
Note: Both mounts must be ATRO hi-temp mounts, Do not mix w/rubber or non-compatible poly mounts; High Temperature
OEM Part# Application

K066-377 no hardware T-600 Motor Mount

K066-421 no hardware T-600 Motor Mount

MM59-62001 Motor Mount Kit w/Hardware
Contains: (1) MM59-62421. (1) MM59-62377, (1) Wear Plate, (1) Wear Sleeve, (1) Bolt 20mm x 120mm, 
(1) Locknut, (2) Flat Washers
Notes: Both rear mounts must be ATRO polyurethane engine mounts Do not mix with rubber or non-compatible
polyurethane engine mounts
OEM Part#

K066-377 no hardware

K066-421 no hardware

MM59-62002 Motor Mount Kit
Contains: (2) PL1012 Bushings. (4) Bolts, (4) Nuts, (8) Washers 
Notes: These mounts fits applications with Caterpillar Engines.  
OEM Part# Bushing A

K066-247 (1 mount only) PL1012

K066-282 (1 mount only) PL1012

K066-320 (1 mount only) PL1012

K506-70NR (1 mount only) PL1012

MM59-62005 Motor Mount Kit, Front
Contains: (1) Upper Mount, (1) Lower Mount 
OEM Part# Application ID Large OD Small OD Height

K066-404 lower T-600/W-900 Front Motor Mount 13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

K066-406 upper T-600/W-900 Front Motor Mount 13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

MM59-62006 Motor Mount Kit, Front
Contains: (2) Upper Mounts, (2) Lower Mounts 
OEM Part# Application ID Large OD Small OD Height Qty per

Vehicle

K066-404 lower T800 w/Cat C13 engine 13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

1

K066-407 upper T800 w/Cat C13 engine 13/16" 3 1/4" 2" 1 3/16" (upper);
1/2" (lower)

1

MM59-62407 Motor Mount Kit (Front)
Contains: (2) Upper Mounts, (2) Lower Mounts 
Note: Same dimensions as KT59-62002 but different material; see application guide below. 
OEM Part# Application ID Large OD Small OD Height

K066-405 Model 335 13/16" 3 1/4" 2" 1 3/16" (upper); 1/2" (lower)

K066-407 Model 335 13/16" 3 1/4" 2" 1 3/16" (upper); 1/2" (lower)

K066-423 Model 335 13/16" 3 1/4" 2" 1 3/16" (upper); 1/2" (lower)

FAX: 866-920-2005 customerservice@atrobushing.com 127

mailto:customerservice@atrobushing.com


Kenworth
Under Hood

MM59-62407-HW Motor Mount Kit (Front) w/ Hardware
Contains: (2) Upper Mounts, (2) Lower Mounts, (2) Bolts, (2) Locknuts, (4) Flat Washers 
Note:  For "High Temperature" version see KT59-62003-HT, Same dimensions as KT59-62002-HW but different 
material; see application guide below. 
OEM Part# Application

K066-405 no hardware Model 335

K066-407 no hardware Model 335

K066-423 no hardware Model 335

PL1009 Cab/Motor Mount

OEM Part# Application ID Large OD Small OD Length

K066-176 Rear Cab Mount 5/8" 3" 1 13/16" 2 7/16"

M600 Rear Cab Mount 5/8" 3" 1 13/16" 2 7/16"

PL1010 Hood Hinge Bushing

OEM Part# ID Large OD Small OD Length

K066-218 1/2" 1 13/16" 1 3/16" 1 3/8"

PL1011 Hood Pin

OEM Part# Large OD Small OD Length Misc. Dimensions

K179-528 3 1/4" 1 1/2" 4 1/8" Thread Size: 1/2" - 13

K179D450 3 1/4" 1 1/2" 4 1/8" Thread Size: 1/2" - 13

PL1011-HT Hood Pin (High Temp)
Notes: High Temperature Mount
OEM Part# Large OD Small OD Length Misc. Dimensions

K179-528 3 1/4" 1 1/2" 4 1/8" Thread Size: 1/2" - 13

K179D450 3 1/4" 1 1/2" 4 1/8" Thread Size: 1/2" - 13

PL1012 Motor Mount

OEM Part# ID OD Length Height Width

K066-247 11/16" 1 1/2" 5 1/2"; 3" c-c 2 3/8" 2"

K066-282 11/16" 1 1/2" 5 1/2"; 3" c-c 2 3/8" 2"

K066-320 11/16" 1 1/2" 5 1/2"; 3" c-c 2 3/8" 2"

M506-70NR 11/16" 1 1/2" 5 1/2"; 3" c-c 2 3/8" 2"

www.atrobushing.com 800-325-6114 128

http://www.atrobushing.com


Kenworth
Under Hood

PL1013 Motor Mount

OEM Part# ID Large OD Small OD Length

K066-229 13/16" 3 3/4" 2 1/16" 2 5/8"

M700 13/16" 3 3/4" 2 1/16" 2 5/8"

PL1013-HT Motor Mount (High Temp)

Note: High Temperature 
OEM Part# ID Large OD Small OD Length

K066-229 13/16" 3 3/4" 2 1/16" 2 5/8"

M700 13/16" 3 3/4" 2 1/16" 2 5/8"

PL1014 Motor Mount

OEM Part# ID Length Width

K174-555 3 1/2" 4 1/2" 2"

PL1015 Radiator/Motor Mount

OEM Part# Application ID Large OD Small OD Length

K066-228 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

M601 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

M601-70NR Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

PL1015-HT Radiator/Motor Mount (High Temp)

Note: High Temperature 
OEM Part# Application ID Large OD Small OD Length

K066-228 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

M601 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

M601-70NR Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

PL1016 Cab Mount (Rear)

OEM Part# ID Large OD Small OD Length

K066-336 5/8" 3" 1 13/16" 1 15/16"

M602-70NR 5/8" 3" 1 13/16" 1 15/16"

FAX: 866-920-2005 customerservice@atrobushing.com 129

mailto:customerservice@atrobushing.com


Kenworth
Under Hood

PL1034 Battery Box Bushing

OEM Part# ID Large OD Small OD Length

4023-KW 3/8" 1 1/2" 7/8" 13/16"

PL1044 Battery Box Washer

OEM Part# ID OD Misc. Dimensions

K363-409 3/8" 1 1/2" Thickness: 3/16"

K366-474 3/8" 1 1/2" Thickness: 3/16"

PL1062 Hood Roller

OEM Part# ID OD Length

K066-360 11/16" 1 1/8" 1 1/2"

PL1063 Radiator Mount

OEM Part# ID Large OD Small OD Length

M500-70NR 5/8" 2 1/2" 1 1/2" 2 3/16"

PL1063-HT Radiator Mount (High Temp)
Note: High Temperature 
OEM Part# ID Large OD Small OD Length

M500-70NR 5/8" 2 1/2" 1 1/2" 2 3/16"

PL1064 Transmission Mount
Notes: Used with PL1066; also known as "Brownie Mount"  
OEM Part# ID Large OD Small OD Length

K066-269 15/16" 2 1/4" 1 9/16" 1"

PL1065 Radiator Mount

OEM Part# ID Large OD Small OD Length

K264-84 5/8" 1 5/8" 3/4" 15/16"

www.atrobushing.com 800-325-6114 130

http://www.atrobushing.com


Kenworth
Under Hood

PL1066 Transmission Washer
Notes: Used with PL1064; also known as "Brownie Mount"  
OEM Part# ID OD Misc. Dimensions

K363-275 1 1/8" 2 1/4" Thickness: 3/8"

PL1067 Door Jam

OEM Part# ID Length Height Width

K036-277 5/16" 1 9/16" 7/8" 1 3/4"

PL1068 Cab Mount

OEM Part# ID OD Length

66D608 1 5/16" 2 1/8" 2 1/4"

K066-178 1 5/16" 2 1/8" 2 1/4"

PL1070 Motor Mount

OEM Part# ID Large OD Small OD Length

M501 5/8" 2 1/2" 1 1/2" 2"

PL1070-HT Motor Mount (High Temp)

Note: High Temperature 
OEM Part# ID Large OD Small OD Length

M501 5/8" 2 1/2" 1 1/2" 2"

PL1077 Radiator Mount

OEM Part# ID Large OD Small OD Length

M200 3/8" 1 1/8" 7/8" 1"

M200-70EP 3/8" 1 1/8" 7/8" 1"

FAX: 866-920-2005 customerservice@atrobushing.com 131

mailto:customerservice@atrobushing.com


Kenworth
Other

CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

210661-1X 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8"
c-c Bolt Size: 1/2"

CB2106611XSA 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8"
c-c Bolt Size: 1/2"

HL59-64107 Hood Latch

OEM Part# Application Length

K147-107 T800 (1985-1987) 5 1/2"

K147C106 W900B, T600A (1987-2005) 5 1/2"

MS99-63399 Shifter Isolator Bushing Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut 
OEM Part# ID OD Length Install Tool

FULK3399 .84" 1 1/2" 2.3" PT99-63399

PL1025 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

5316702 3/4" 1 9/16" 1 7/16" 7/8" 8

PL1025-HT Shock Bushing (High Temp)
Note: High Temperature
OEM Part# ID Large OD Small OD Length

5316702 3/4" 1 9/16" 1 7/16" 7/8"

PL1026 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

73D2002 1 1/16" 1 7/8" 1 1/2" 1" 8

www.atrobushing.com 800-325-6114 132

http://www.atrobushing.com


Kenworth
Other

PL1026-HT Shock Bushing (High Temp)

Note: High Temperature Bushing
OEM Part# ID Large OD Small OD Length Qty per Vehicle

73D2002 1 1/16" 1 7/8" 1 1/2" 1" Varies

PL1028 Shock Bushing

OEM Part# ID Large OD Small OD Length

COM266 11/16" 1 13/16" 1" 1 1/16"

COM368-6 11/16" 1 13/16" 1" 1 1/16"

K066-266 11/16" 1 13/16" 1" 1 1/16"

Lord
Under Hood

CM55-615C2 Cab Mount/Insulator (Front)

OEM Part# ID OD Length Misc. Dimensions Qty per Vehicle

27980-1/E 3/4" 3 3/8" 3" Bolt Holes: 5" c-c 2

CM94-61875 Cab Mount (Front)

OEM Part# ID Large OD Small OD Length Qty per Vehicle

CB2204-146 5/8" 3 1/2" 2 1/4" 2 7/8" 2

MM00-62000 Motor Mount Kit, Front
Contains: (2) Motor Mounts, (1) Spacer Sleeve 
OEM Part# ID OD Misc. Dimensions Qty per Vehicle

SSB33-1000-2 3/4" Bolt 3" Thickness: 13/16" 2

MM00-62970 Motor/Cab Mount

OEM Part# ID OD Misc. Dimensions

J3049-70 1/2" 2 5/8" Thickness: 13/16"

FAX: 866-920-2005 customerservice@atrobushing.com 133

mailto:customerservice@atrobushing.com


Lord
Under Hood

MM62-62002 Motor Mount Kit (Front)
Contains: (1) MM62-62322 Mount, (1) MM62-62329 Mount 

Bushing

OEM Part# A B

J185961 upper mount MM62-62322 MM62-62329

J185972 lower mount MM62-62322 MM62-62329

MM62-62322 Motor Mount, Upper (Front)
Note: Use with MM62-62329 
OEM Part# Application Length Height Width Misc. Dimensions

J185961 CH Models 7 1/4" 2 7/16" 2 1/2" Bolt Hole: 5/8"; Bolt Holes: 3 3/4" c-c

MM62-62329 Motor Mount, Lower (Front)
Note: Use with MM62-62322 
OEM Part# Length Height Width Misc. Dimensions

J185972 6 5/8" 1/2" 3" Bolt Hole: 5/8"; Bolt Holes: 3 3/4" c-c

MM62-62334 Motor Mount

OEM Part# Large OD Small OD Length Misc. Dimensions

CB-2203-105A 2 1/2" 1 5/16" 1 7/8" Bolt Hole: 5/8" or 16mm

MM75-62597 Motor Mount Kit (Front)
Contains: (2) MM00-62970 Mount Bushings, (1) Spacer Sleeve 

Bushing

OEM Part# ID OD Length A B Misc. Dimensions

SSB26-1000-5 1/2" 2 5/8" Spacer: 1 13/16" MM00-62970 MM00-62970 Thickness: 13/16"

PL1013 Motor Mount

OEM Part# ID Large OD Small OD Length

J6198 2 13/16" 3 3/4" 2 1/16" 2 5/8"

PL1102 Motor Mount

OEM Part# Application Large OD Small OD Length Misc. Dimensions

CBA33-1600 E-One Fire Truck 3 1/4" 1 5/8" 2 3/8" Bolt ID: 3/4"

www.atrobushing.com 800-325-6114 134

http://www.atrobushing.com


Lord
Under Hood

PL1102-HT Motor Mount (High Temp)
Notes: High Temperature  
OEM Part# Application Large OD Small OD Length Misc. Dimensions

CBA33-1600 E-One Fire Truck 3 1/4" 1 5/8" 2 3/8" Bolt ID: 3/4"

RM46-63359 Radiator Isolator

OEM Part# Length Width Misc. Dimensions

SM1035 9 3 3/4" 1 5/8" Thickness: 1 5/8"; Bolts: 3/8"

SM10356 3 3/4" 1 5/8" Thickness: 1 5/8"; Bolts: 3/8"

TM99-63516 Motor/Transmission Mount

OEM Part# Large OD Small OD Misc. Dimensions

CB-2204-4 3.4" each part 2.24" each part Poly Part OAL: 1.94"; Sleeve ID: 15/16"; Inner
Sleeve OAL: 2

Other
MS99-62620 APU Mount

Contains: (1) Upper Mount, (1) Lower Mount
OEM Part# Application Large OD Small OD Length Misc. Dimensions

CB2202-12 Tri-Pac APU 1 7/8" 1 9/32" 1 5/16" Bolt Size: 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 135

mailto:customerservice@atrobushing.com


Mack Camelback

www.atrobushing.com 800-325-6114 136

http://www.atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Mack
Suspension

AT80000 Leaf Spring Bushing

OEM Part# Application ID OD Length

10QK260 ST34 Taper Leaf Spring 1" 2 1/2" 4 1/4"

AT82000 Leaf Spring Bushing

OEM Part# Application ID OD Length

10QK146 SWD/SWDL 75; 751; ST34; SC Series 1 1/4" 2 1/2" 4"

HW62-50340 Hardware Kit
Contains: (4) 7/8"-9UNC 4" Bolts. (12) 7/8"-14UNF 5" Bolts, (12) Locknuts, (16) Flat Washers  
Notes: Hardware Kit for SK50340  

HW62-50380 Hardware Kit
Contains: (4) 7/8"-9UNC 4" Bolts. (12) 7/8"-14UNF 6" Bolts, (12) Locknuts, (16) Flat Washers  
Notes: Hardware Kit for SK50380  

MA10000 Trunnion Bushing

OEM Part# Application ID OD Length Qty per Vehicle

10QK219P2 SS 34-44; 8 3/4" Trunnion; ST34 Taper Leaf 3 1/2" 4 11/16" 6 5/16" 2

10QK276 SS 34-44; 8 3/4" Trunnion; ST34 Taper Leaf 3 1/2" 4 11/16" 6 5/16" 2

25161976  SS 34-44; 8 3/4" Trunnion; ST34 Taper Leaf 3 1/2" 4 11/16" 6 5/16" 2

MA10085 Trunnion Bushing Severe Duty

Note: Severe Duty 
OEM Part# Application ID OD Length

10QK219P2 SS 34-44; 8 3/4"Trunnion; ST34 Taper Leaf 3 1/2" 4 11/16" 6 5/16"

10QK276 SS 34-44; 8 3/4"Trunnion; ST34 Taper Leaf 3 1/2" 4 11/16" 6 5/16"

MA20000 Trunnion Bushing

OEM Part# Application ID OD Length

10QK130P1 SS 34-44; 8 5/8" Trunnion; ST34 Taper Leaf 3 1/2" 4 3/8" 8 3/8"

FAX: 866-920-2005 customerservice@atrobushing.com 137

mailto:customerservice@atrobushing.com


Mack
Suspension

MA32000 Load Pad (Upper)

OEM Part# Application Length Height Width Misc.
Dimensions

Qty per
Vehicle

10QK32BP1 SS 55-65 Series; SW/SWW
Walking Beam

6 7/8" 3 3/4" 5 3/8" Pin OD: 1 1/2" 4

25115289 lower pad SS 55-65 Series; SW/SWW
Walking Beam

6 7/8" 3 3/4" 5 3/8" Pin OD: 1 1/2" 4

MA36000 Load Pad (Lower)

OEM Part# Application OD Length Height Width Qty per
Vehicle

10QK36B SS 34-44 Series; SW / ST34 Series 1 3/4" (button) 6" 3 3/4" 6" 4

10QK388 SS 34-44 Series; SW / ST34 Series 1 3/4" (button) 6" 3 3/4" 6" 4

21036254 SS 34-44 Series; SW / ST34 Series 1 3/4" (button) 6" 3 3/4" 6" 4

25125064 mack urethane SS 34-44 Series; SW / ST34 Series 1 3/4" (button) 6" 3 3/4" 6" 4

MA36000-OFF Load Pad, Offset (Lower)
Notes: Pin is offset 
OEM Part# Application Length Height Width Misc.

Dimensions

10QK48 SS 34/38/44; SWS573; SWS57 6" 3 3/4" 6" Pin OD: 1 3/4"

MA36500 Load Pad (Upper)

OEM Part# Application Length Height Width Misc.
Dimensions

Qty per
Vehicle

10QK365A SS 34/44/50; SW / ST34 Series 6" 2 1/2" 4 1/2" Pin OD: 1 3/4" 4

25121508 SS 34/44/50; SW / ST34 Series 6" 2 1/2" 4 1/2" Pin OD: 1 3/4" 4

MA37000 Load Pad (Upper)

OEM Part# Application Length Height Width Misc.
Dimensions

Qty per
Vehicle

10QK370 SS 34/44/50; SW Series; SWS573 6" 3" 4 1/2" Pin OD: 1 3/4" 4

25115012 SS 34/44/50; SW Series; SWS573 6" 3" 4 1/2" Pin OD: 1 3/4" 4

MA37200 Load Pad (Lower)

OEM Part# Application Length Height Width Misc.
Dimensions

Qty per
Vehicle

10QK372 SS 55/65; SW Series 7" 4 1/4" 7" Pin OD: 2" 4

10QK389 SS 55/65; SW Series 7" 4 1/4" 7" Pin OD: 2" 4

25124724 SS 55/65; SW Series 7" 4 1/4" 7" Pin OD: 2" 4

MS50-29791 Auxiliary Shim

OEM Part# Length Width Misc. Dimensions

4000-60791000 9 1/2" 4 3/4" Thickness: 1/4"

www.atrobushing.com 800-325-6114 138

http://www.atrobushing.com


Mack
Suspension

MS62-29246 Insulator Spacer Block
Notes: This is a METAL part 
OEM Part# Application Length Height Width

13QK246 Camelback; ST34; SW/SWW 4 3/4" 1 7/16" 3"

25157862 Camelback; ST34; SW/SWW 4 3/4" 1 7/16" 3"

PB00-26422 Pivot Bushing Kit
Contains: (2) PB00-36314. (1) Inner Sleeve, (1) Bolt  3/4" x 5, (1) Locknut, (2) Washers 
OEM Part# Qty per Vehicle

8446-R005422 2

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings, (8) Inner Sleeves, (8) Bolts 3/4" x 5" 
OEM Part#

8446-R00839 

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  
OEM Part# ID OD Length

5462-10050 1 1/8" 3 1/2" 5 1/4"

WCM10050 1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  
OEM Part# ID OD Length

5462-11223 1 1/8" 2 13/16" 5"

PB85-36029 Mono-Pivot Bushing Kit
Contains: (2) PB85-360B0 Pivot Bushings, (2) Eccentric Bolts, (2) Anti-turn Washers, (2) Securelok® Nuts, (4) 
Bearing Washers, (4) Clamp Bolts, (4) Flat Washers, (4) Locknuts 
OEM Part# Bushing A Qty per Vehicle

2974-6040029 PB85-360B0 2/axle

PB85-360B0 Pivot Bushing

OEM Part# ID OD Length

2974-1117680B060 1 1/2" 5 1/2" 6 3/4"

2974-1117680B070 1 1/2" 5 1/2" 6 3/4"

2974-1117680B075 1 1/2" 5 1/2" 6 3/4"

FAX: 866-920-2005 customerservice@atrobushing.com 139

mailto:customerservice@atrobushing.com


Mack
Suspension

PL1090 Trunnion Bushing

OEM Part# Application ID OD Length

10QK219P1 SS 34/38; ST34; 8 3/16" Trunnion 3 7/16" 4 11/16" 5 9/16"

SK50340 Insulator Kit
Contains: (4) MA36000. (4) MA36500 

SK50340-HW Insulator Kit w/Hardware
Contains: (4) MA36000. (4) MA36500, (4) 7/8"-9UNC 4" Bolts, (12) 7/8"-14UNF 5" Bolts, (12) Locknuts, (16) Flat 
Washers 

SK50341 Trunnion Bushing Kit
Contains: (2) MA10000  
Notes: For 8 3/4" Trunnion  

SK50342 Trunnion Bushing Kit
Contains: (2) MA10000  
Notes: For 8 3/4" Trunnion  
OEM Part# Application

10QK130P1 SS 34-44; 8 5/8" Trunnion; ST34 Taper Leaf

SK50380 Insulator Kit
Contains: (4) MA36000. (4) MA37000 

SK50380-HW Insulator Kit w/Hardware
Contains: (4) MA36000. (4) MA37000, (4) 7/8"-9UNC 4" Bolts, (12) 7/8"-14UNF 6" Bolts, (12) Locknuts, (16) Flat 
Washers 

SK50650 Insulator Kit
Contains: (4) MA32000. (4) MA37200 

www.atrobushing.com 800-325-6114 140

http://www.atrobushing.com


Mack
Suspension

SK62-10600 Spring Eye Shackle Kit
Contains: (2) SP62-1154M Bushings. (2) Sidebars, (4) Bolts, (4) Washers, (4) Locknuts 
Notes: Rear of front  
OEM Part# Application OD Length Install Tool Qty per Vehicle

10QK254M CH; CL; RW; MH Series 3 1/2" Wide
Spring

1 7/8" 3 1/2" PT00-53000 2

22QK39301 CH; CL; RW; MH Series 3 1/2" Wide
Spring

1 7/8" 3 1/2" PT00-53000 2

SK62-10700 Spring Eye Bushing Kit
Contains: (1) Spring Eye Bushing. (1) Bolt, (1) Locknut  
Notes: Front of front  
OEM Part# Application ID OD Length Install Tool Qty per

Vehicle

10QK253M CH; CL; RW; MH Series 3 1/2" Wide
Spring

15/16" 1 7/8" 3 1/2" PT91000 2

171AM8 CH; CL; RW; MH Series 3 1/2" Wide
Spring

15/16" 1 7/8" 3 1/2" PT91000 2

43RU297M CH; CL; RW; MH Series 3 1/2" Wide
Spring

15/16" 1 7/8" 3 1/2" PT91000 2

SP1154M-04 Polyurethane Shim

OEM Part# ID OD Misc. Dimensions

1 1/8" 2 5/8" Thickness: 5/16"

SP62-1154M Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Polyurethane Shims  
Notes: Front of Front  
OEM Part# Application OD Length Misc.

Dimensions
Install Tool Qty per Vehicle

10QK254M2 CH; CL; RW; MH Series 3 1/2"
Wide Spring

48 mm 88 mm Pin: 139 mm c-c PT00-53000 6

WP50-29004 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Retaining Brackets, (2) Bolts 
OEM Part# Length Height Width Bushing A

4000-56557004 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29005 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Spring Pins 
OEM Part# Length Height Width Bushing A

4000-56557005 3 3/4" 1 1/2" 3 3/16" WP50-29929

FAX: 866-920-2005 customerservice@atrobushing.com 141



Mack
Suspension

WP50-29557 Wear Pad Kit
Contains: (1) Slipper Pad. (2) Retaining Plates, (4) Bolts 
OEM Part# Length Height Width Misc. Dimensions

4000-56557002 6 7/8" 3" 3" Bolt: 3/8"

WP50-29929 Wear Pad

OEM Part# Length Height Width

4000-56929000 3 3/4" 1 1/2" 3 3/16"

Torque Rod
PB85-36023 Torque Rod Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

2974-1120023 1 5/16" 2 1/2" 2 1/32" 1 13/16" 2/rod end

PL1146 Torque Rod Bushing

Note: Does NOT Rotate, See TS50-22691 for preferred bushing 
OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

47691 Hendrickson AL-40 1.91" 4 3/8"  Bolt Holes: 11/16"
Bolt: 5/8"

PT00-52000 2/rod

SK27379 Torque Rod Kit
Contains: (1) TR73000, (1) TR79000  Note: Finished length up to 27" 

Bushing

Misc. Dimensions A B

Bolt Hole: 7/8" TS38875 TM38000

SK27771 Torque Rod Kit
Contains: (1) TR71000, (1) TR77000  Note: Finished length up to 27" 

Bushing

Misc. Dimensions A B

Bolt Hole: 5/8" TS38000 TM38000

www.atrobushing.com 800-325-6114 142

http://www.atrobushing.com


Mack
Torque Rod

SK53838 Torque Rod Bushing Kit
Contains: (1) TM38000, (1) TS38000 

Misc. Dimensions

Bolt Hole: 5/8"

SK53875 Torque Rod Bushing Kit
Contains: (1) TM38000, (1) TS38875 

Misc. Dimensions

Bolt Hole: 7/8"

TH83-22089 Torque Rod Bushing Kit
Contains: (2) PL1115, (1) Bolt, (2) Washers, (1) Locknut 
OEM Part# Qty per Vehicle

7014-TK19089 2

TM38000 Torque Rod Bushing

OEM Part# Application OD Length Misc.
Dimensions

Install Tool Misc. Tool

1688-229240 SS 34/38/44; SWS57; SWS573 2 3/4" 7" Stud: 1 1/4"-12 PT59-59100 PT00-52100

46735 SS 34/38/44; SWS57; SWS573 2 3/4" 7" Stud: 1 1/4"-12 PT59-59100 PT00-52100

TR00-41160 Torque Rod
Bushing

OEM Part# Length A B

5435-925160 25 1/8" c-c TS38000 TS38000

TR00-41270 Torque Rod
Bushing

OEM Part# Length A B

17QF460P255 25 1/2" c-c TS38000 TS38000

5435-925190 25 1/2" c-c TS38000 TS38000

5435-925580 25 1/2" c-c TS38000 TS38000

5435-945270 25 1/2" c-c TS38000 TS38000

TR00-41420 Torque Rod
Bushing

OEM Part# Length A B

5435-925420 27 3/4" c-c TS38000 TS38000

FAX: 866-920-2005 customerservice@atrobushing.com 143

mailto:customerservice@atrobushing.com


Mack
Torque Rod

TR00-41816 Torque Rod
Bushing

OEM Part# Length A B

5435-942161 26 1/2" c-c TS38000 TS38000

TR00-41910 Torque Rod
Bushing

OEM Part# Length A B

5435-924910 23 3/16" c-c TS38000 TS38000

TR00-41935 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

5435-644600 29" c-c TS38000 TS38000 1

TR00-42325 Torque Rod
Bushing

OEM Part# Length A B

17QF364P2 32 1/2" c-c TS38000 TS38000

TR46-41175 Torque Rod
Bushing

OEM Part# Length A B

17QF460P235 23 1/2" c-c TS38000 TS38000

25164944 23 1/2" c-c TS38000 TS38000

5435-942175 23 1/2" c-c TS38000 TS38000

TR46-46016 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

5435-942430 17" c-c TS00-22500 TH00-22500

TR59-41375 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

17QF460P240 24" c-c TS38000 TS38000 typically 2

1RY39307P13 24" c-c TS38000 TS38000 typically 2

25164946 24" c-c TS38000 TS38000 typically 2

5435-947794 24" c-c TS38000 TS38000 typically 2

www.atrobushing.com 800-325-6114 144

http://www.atrobushing.com


Mack
Torque Rod

TR59-41376 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

17QF455P240 24" c-c TS38000 TT38000 typically 2

25164994 24" c-c TS38000 TT38000 typically 2

TR62-41178 Torque Rod
Bushing

OEM Part# Length A B

17QF463P178 17 3/4" c-c TS38000 TM38000

TR62-41180 Torque Rod
Bushing

OEM Part# Application Length A B

17QF251P11 CT713; CV713; GU803; CXU
w/SS38/SS44/HN462

18" c-c TS38000 TM38000

17QF463P180 CT713; CV713; GU803; CXU
w/SS38/SS44/HN462

18" c-c TS38000 TM38000

17QF464P180 CT713; CV713; GU803; CXU
w/SS38/SS44/HN462

18" c-c TS38000 TM38000

1RY48P23 CT713; CV713; GU803; CXU
w/SS38/SS44/HN462

18" c-c TS38000 TM38000

25162529 CT713; CV713; GU803; CXU
w/SS38/SS44/HN462

18" c-c TS38000 TM38000

TR62-41183 Torque Rod
Bushing

OEM Part# Length A B

17QF463P183 18 1/4" c-c TS38000 TM38000

17QF464P183 18 1/4" c-c TS38000 TM38000

25160893 18 1/4" c-c TS38000 TM38000

25168854 18 1/4" c-c TS38000 TM38000

TR62-41198 Torque Rod
Bushing

OEM Part# Length A B

17QF251P22 19 3/4" c-c TS38000 TM38000

17QF463P198 19 3/4" c-c TS38000 TM38000

17QF464P198 19 3/4" c-c TS38000 TM38000

1RY340AP22 19 3/4" c-c TS38000 TM38000

1RY351P22 19 3/4" c-c TS38000 TM38000

TR62-41203 Torque Rod
Bushing

OEM Part# Length A B

17QF442P203 20 1/4" c-c TS38000 TM38000

17QF464P203 20 1/4" c-c TS38000 TM38000

FAX: 866-920-2005 customerservice@atrobushing.com 145

mailto:customerservice@atrobushing.com


Mack
Torque Rod

TR62-41205 Torque Rod
Bushing

OEM Part# Length A B

17QF443P205 21 1/2" c-c TM38000 TM38000

TR62-41215 Torque Rod
Bushing

OEM Part# Length A B

17QF460P215 21 1/2" c-c TS38000 TS38000

25174658 21 1/2" c-c TS38000 TS38000

TR62-41220 Torque Rod
Bushing

OEM Part# Application Length A B

17QF460P220 AL401LH; MAX Air 40 22" c-c TS38000 TS38000

25174706 22" c-c TS38000 TS38000

TR62-41238 Torque Rod
Bushing

OEM Part# Length A B

17QF457P238 23 3/4" c-c TS38000 TS38000

17QF460P238 23 3/4" c-c TS38000 TS38000

25160749 23 3/4" c-c TS38000 TS38000

25164945 23 3/4" c-c TS38000 TS38000

TR62-4123A Torque Rod
Bushing

OEM Part# Length A B

17QF418 20 3/16" c-c TS38875 TM38000

17QF423 20 3/16" c-c TS38875 TM38000

17QF423A 20 3/16" c-c TS38875 TM38000

17QF423P1 20 3/16" c-c TS38875 TM38000

TR62-41243 Torque Rod
Bushing

OEM Part# Application Length A B

17QF261P23 Mack Air 24 1/4" c-c TS38000 TS38000

17QF352M2 Mack Air 24 1/4" c-c TS38000 TS38000

17QF460P243 Mack Air 24 1/4" c-c TS38000 TS38000

17QF473M4 Mack Air 24 1/4" c-c TS38000 TS38000

25170833 Mack Air 24 1/4" c-c TS38000 TS38000

www.atrobushing.com 800-325-6114 146

http://www.atrobushing.com
www.torque-rod.com


Mack
Torque Rod

TR62-41245 Torque Rod
Bushing

OEM Part# Length A B

17QF463P245 24 1/2" c-c TS38000 TM38000

17QF464P245 24 1/2" c-c TS38000 TM38000

1RY351P2 24 1/2" c-c TS38000 TM38000

TR62-41248 Torque Rod
Bushing

OEM Part# Length A B

17QF460P248 24 3/4" c-c TS38000 TS38000

25164948 24 3/4" c-c TS38000 TS38000

TR62-41250 Torque Rod
Bushing

OEM Part# Length A B

17QF442P250 25" c-c TS38000 TM38000

25158543 25" c-c TS38000 TM38000

TR62-41253 Torque Rod
Bushing

OEM Part# Length A B

17QF442P253 25 1/4" c-c TS38000 TM38000

25023772 25 1/4" c-c TS38000 TM38000

TR62-41255 Torque Rod
Bushing

OEM Part# Length A B

17QF251P31 25 1/2" c-c TS38000 TM38000

17QF464P255 25 1/2" c-c TS38000 TM38000

TR62-41260 Torque Rod
Bushing

OEM Part# Length A B

17QF460P260 26" c-c TS38000 TS38000

25100535 26" c-c TS38000 TS38000

25164959 26" c-c TS38000 TS38000

TR62-41283 Torque Rod
Bushing

OEM Part# Length A B

17QF460P283 28 1/4" c-c TS38000 TS38000

25165006 28 1/4" c-c TS38000 TS38000

FAX: 866-920-2005 customerservice@atrobushing.com 147

mailto:customerservice@atrobushing.com


Mack
Torque Rod

TR62-41295 Torque Rod
Bushing

OEM Part# Length A B

17QF464P295 29 1/2" c-c TS38000 TM38000

TR62-412M3 Torque Rod
Bushing

OEM Part# Length A B

17QF250P7 20 7/8" c-c TS38000 TS38000

17QF352M3 20 7/8" c-c TS38000 TS38000

17QF460P208 20 7/8" c-c TS38000 TS38000

1RY39307P10 20 7/8" c-c TS38000 TS38000

1RY39307P2 20 7/8" c-c TS38000 TS38000

1RY39307P5 20 7/8" c-c TS38000 TS38000

TR62-413M2 Torque Rod

Bushing

OEM Part# Application Length A B

17QF460P210 Mack Air 21" c-c TS38000 TS38000

17QF473M2 Mack Air 21" c-c TS38000 TS38000

17QF474P209 21" c-c TS38000 TS38000

25170832 Mack Air 21" c-c TS38000 TS38000

TR62-413M3 Torque Rod

Bushing

OEM Part# Application Length A B

17QF358 Mack Air 20" c-c TS38000 TS38000

17QF359 Mack Air 20" c-c TS38000 TS38000

17QF460P200 Mack Air 20" c-c TS38000 TS38000

17QF473M Mack Air 20" c-c TS38000 TS38000

25014582 Mack Air 20" c-c TS38000 TS38000

251660077 Mack Air 20" c-c TS38000 TS38000

25170831 Mack Air 20" c-c TS38000 TS38000

TR62-413M4 Torque Rod
Bushing

OEM Part# Application Length A B

17QF460P225 AL Air Suspension 22 1/2" c-c TS38000 TS38000

17QF473M3 AL Air Suspension 22 1/2" c-c TS38000 TS38000

25166077 AL Air Suspension 22 1/2" c-c TS38000 TS38000

25195315 22 1/2" c-c TS38000 TS38000

TR62-413P2 Torque Rod
Bushing

OEM Part# Length A B

17QF423P2 24 7/16" c-c TS38875 TM38000

1RY339P2 24 7/16" c-c TS38875 TM38000

5435-942672 24 7/16" c-c TS38875 TM38000

www.atrobushing.com 800-325-6114 148

http://www.atrobushing.com


Mack
Torque Rod

TR62-413P3 Torque Rod
Bushing

OEM Part# Length A B

17QF423P3 20 11/16" c-c TS38875 TM38000

TR62-413P5 Torque Rod
Bushing

OEM Part# Length A B

17QF423P5 19 11/16" c-c TS38875 TM38000

TR62-41470 Torque Rod
Bushing

OEM Part# Length A B

1RY340AP11 18 3/32" c-c TS38000 TM38000

1RY351P11 18 3/32" c-c TS38000 TM38000

5435-921470 18 3/32" c-c TS38000 TM38000

TR62-41758 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

1RYA39306P8 21" c-c TS38000 TM38000 1

5435-943758 21" c-c TS38000 TM38000 1

943758 21" c-c TS38000 TM38000 1

TR62-417M1 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

17QF357-M1 14.41" c-c TS00-22500 TS00-22500

8180645 CHU613 14.41" c-c TS00-22500 TS00-22500

TR62-417M2 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

17QF357M2 20.31" c-c TS00-22500 TS00-22500

TR62-418M2 Torque Rod
Bushing

OEM Part# Length A B

17QF348M2 18 3/32" c-c TS38000 TT38000

FAX: 866-920-2005 customerservice@atrobushing.com 149

mailto:customerservice@atrobushing.com


Mack
Torque Rod

TR62-41P24 Torque Rod
Bushing

OEM Part# Length A B

17QF460P245 24 1/2" c-c TS38000 TS38000

25164947 24 1/2" c-c TS38000 TS38000

TR94-41900 Torque Rod
Bushing

OEM Part# Length A B

5435-924900 23 1/8" c-c TS38000 TS38000

TR96-41068 Torque Rod

Bushing

OEM Part# Length A B Qty per Vehicle

30SQ4525 22 1/8" c-c TS38000 TS38000 typically 2

TR99-41428 Torque Rod
Bushing

OEM Part# Length A B

17QF457P213 21 1/4" c-c TS38000 TS38000

17QF460P213 21 1/4" c-c TS38000 TS38000

25155635 21 1/4" c-c TS38000 TS38000

4000-62001540 21 1/4" c-c TS38000 TS38000

TS34000 Torque Rod Bushing

Note: Use in place of discontinued TS34095,  NEW CRIMPED DESIGN 
OEM Part# Application OD Length Misc. Dimensions Install Tool

1688-227710 ST34 Taper Leaf 2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

TS38000 Torque Rod Bushing

Note: Use in place of discontinued TS38095 
OEM Part# Application OD Length Misc. Dimensions Install Tool

1688-227720 SS 34/38; ST34
Taper Leaf

2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100

TS38875 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

240530 SS44; SWS57;
SWS573 Camelback

2 3/4" 4 3/8" Bolt Hole: 7/8" PT59-59100

www.atrobushing.com 800-325-6114 150

http://www.atrobushing.com


Mack
Torque Rod

TS46000 Torque Rod Bushing

OD Length Misc. Dimensions

3" 4 3/8" c-c (pin) Bolt Hole: 5/8"; OAL: 5 13/16"

TS50-22649 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

4000-64400003L 2 3/4" 5 1/4" c-c Bolt Hole: .91" 4

TS62-22240 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

SS-R0035P240 1 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT00-52500

Under Hood
HM62-64362 Hood Rest Bracket, Right

Notes: Use with ATRO Part Number HM62-64371  
OEM Part#

20802362 

HM62-64371 Hood Rest Bracket, Left
Notes: Use with ATRO Part Number HM62-64362  
OEM Part#

20802371 

HM62-64M31 Pin Hood Guide

OEM Part# Large OD Small OD Length Misc. Dimensions

25QM31 3 5/16" 1 1/2" 4 1/16" Thread Size: 3/8"-24 UNF x 1 1/8"

KT62-62216 Insulator Kit
Contains: (8) PL1017. (8) Washers, (4) 3/4"-16 x 6 1/2" Bolts, (4) Locknuts 
OEM Part# Application Qty per Vehicle

204SX216 Mack Transmission 1

FAX: 866-920-2005 customerservice@atrobushing.com 151

mailto:customerservice@atrobushing.com


Mack
Under Hood

KT62-62216-HT Insulator Kit (High Temp)
Contains: (8) PL1017-HT, (8) Washers, (4) 3/4"-16 x 6 1/2" Bolts, (4) Locknuts 
Note: High Temperature 
OEM Part# Application Qty per Vehicle

204SX216 Mack Transmission 1

KT62-62389 Insulator Kit
Contains: (8) PL1017. (8) Washers, (4) 3/4"-16 x 5" Bolts, (4) Locknuts 
OEM Part# Application Qty per Vehicle

204SX389 Rear engine (Fuller & Allison transmission) 1

KT62-62389-HT Insulator Kit (High Temp)
Contains: (8) PL1017-HT, (8) Washers, (4) 3/4"-16 x 5" Bolts, (4) Locknuts 
OEM Part# Application

204SX389 Rear engine (Fuller & Allison transmission)

MM62-62002 Motor Mount Kit (Front)
Contains: (1) MM62-62322 Mount, (1) MM62-62329 Mount 

Bushing

OEM Part# Application A B

20QL322 upper mount CH Models MM62-62322 MM62-62329

20QL329 lower mount CH Models MM62-62322 MM62-62329

25172757 CH Models MM62-62322 MM62-62329

MM62-62322 Motor Mount, Upper (Front)
Notes: use with MM62-62329 
OEM Part# Application Length Height Width Misc. Dimensions

20QL329 CH Models 7 1/4" 2 7/16" 2 1/2" Bolt Hole: 5/8"; Bolt Holes: 3 3/4" c-c

25164809 CH Models 7 1/4" 2 7/16" 2 1/2" Bolt Hole: 5/8"; Bolt Holes: 3 3/4" c-c

MM62-62329 Motor Mount, Lower (Front)
Notes: use with MM62-62322 
OEM Part# Application Length Height Width Misc. Dimensions

20QL329 CH Models 6 5/8" 1/2" 3" Bolt Hole: 5/8"; Bolt Holes: 3 3/4" c-c

MM62-62334 Motor Mount

OEM Part# Application Large OD Small OD Length Misc. Dimensions

20QL295M CH models 2 1/2" 1 5/16" 1 7/8" Bolt Hole: 5/8" or 16mm

25121334 CH models 2 1/2" 1 5/16" 1 7/8" Bolt Hole: 5/8" or 16mm

www.atrobushing.com 800-325-6114 152

http://www.atrobushing.com


Mack
Under Hood

PB62-65251 Cab Pivot Bushing

OEM Part# ID OD Length Qty per Vehicle

20QL251 1" 1 5/8" 1 3/4" 2

PL1017 Motor Mount

Notes: See KT62-62216 and KT62-62389 for complete kits  
OEM Part# ID Large OD Small OD Length

20QL1118A 3/4" 3 3/16" 1 11/16" 1 1/2"

20QL1175 3/4" 3 3/16" 1 11/16" 1 1/2"

25167342 3/4" 3 3/16" 1 11/16" 1 1/2"

PL1017-HT Motor Mount (High Temp)

Note: See KT62-62216-HT and KT62-62389-HT for complete kits, High Temperature 
OEM Part# ID Large OD Small OD Length

20QL1118A 3/4" 3 3/16" 1 11/16" 1 1/2"

20QL1175 3/4" 3 3/16" 1 11/16" 1 1/2"

25167342 3/4" 3 3/16" 1 11/16" 1 1/2"

PL1091 Motor Mount

OEM Part# ID Large OD Small OD Length

20QL324M 7/8" 3 3/4" 2" 1 15/16"

PL1107 Exhaust Mount/Insulator Bushing

OEM Part# ID Large OD Small OD Length

20QL231P1 9/16" 1 3/4" 1 1/4" 1 1/4"

PL1108 Insulator (set of 2)

OEM Part# ID OD Width Misc. Dimensions

20QL1171 4 7/16" 5 13/16" 1 1/4" Small Width: 13/16"

FAX: 866-920-2005 customerservice@atrobushing.com 153

mailto:customerservice@atrobushing.com


Mack
Under Hood

PL1109 Insulator (set of 2)

OEM Part# ID OD Width Misc. Dimensions

20QL1166 4 7/16" 5 13/16" 1 1/4" Small Width: 15/16"

PL1131 Motor Mount Kit (Front)

Contains: (2) Polyurethane Bushings. (2) Washers, (1) Inner Sleeve 
OEM Part# ID Large OD Small OD Length

20QL312M2 11/16" 2 5/8" 1 3/8" 2 3/16"

PL1132 Cab Mount

OEM Part# ID Large OD Small OD Length

20QL1144 11/16" 2 5/8" 1 1/8" 2"

20QL250 11/16" 2 5/8" 1 1/8" 2"

WP62-61003 Vibration Kit
Contains: (4) Pads, (4) Blind Rivets 
Note: Rivet is Stainless Steel 
OEM Part# Application Length Height Width Misc.

Dimensions
Qty per Vehicle

44-74 8182 cab tilt Pad: 2 1/4" Pad: 1/4" Pad: 1 3/8" Rivet: 3/16"
Diameter x 1/2"

2

4866KL3003 8182 cab tilt Pad: 2 1/4" Pad: 1/4" Pad: 1 3/8" Rivet: 3/16"
Diameter x 1/2"

2

4866-KL3003 8182 cab tilt Pad: 2 1/4" Pad: 1/4" Pad: 1 3/8" Rivet: 3/16"
Diameter x 1/2"

2

9343-6223 8182 cab tilt Pad: 2 1/4" Pad: 1/4" Pad: 1 3/8" Rivet: 3/16"
Diameter x 1/2"

2

Other
BP99-65000 Trailer Door Bumper

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

9817-02201085 1 7/8" 1 5/8" Bolt: 1/2" 2

CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

203SJ13 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

210661-1X 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

www.atrobushing.com 800-325-6114 154

http://www.atrobushing.com


Mack
Other

FW51-32011 5th Wheel Bushing

OEM Part# ID OD Length

3889-XB0011 1 1/8" 2" 4 1/4"

FW51-32731 5th Wheel Kit

Contains: (2) PL1006 Bushings, (2) Foot Pins, (2) Bolts, (2) Flanged Locknuts 
Note: Available Summer 2017
OEM Part# Qty per Vehicle

3889-RK369731 1

FW99-32109 5th Wheel Bushing (set of 2)

OEM Part# ID Length Qty per Vehicle

3065-BSH109L 1 1/4" 2 3/4" 1

FW99-32172 5th Wheel Bushing (set of 2)

OEM Part# ID Length Qty per Vehicle

3065-BSH172U 1 1/4" 2 3/8" 1

FW99-32175 5th Wheel Bushing Kit
Contains: (2) FW99-32109 Lower Bushings, (2) FW99-32172 Upper Bushings 

Bushing

OEM Part# A B

3065-BSH109L FW99-32109 FW99-32172

3065-BSH172U FW99-32109 FW99-32172

FW99-32401 5th Wheel Bushing Kit
Contains: (2) FW99-32594 Bushings, (2) Bracket Pins, (2) Collars, (2) Tab Washers, (4) Bolts 
OEM Part# Bushing A

1770-SK7501401 FW99-32594

FW99-32605 5th Wheel Bushing

OEM Part# ID Large OD Small OD Length

3889-XB10605 1 3/16" 3 7/8" 2 7/16" 2 1/16"

FAX: 866-920-2005 customerservice@atrobushing.com 155

mailto:customerservice@atrobushing.com


Mack
Other

MS99-63399 Shifter Isolator Bushing Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut
OEM Part# ID OD Length Install Tool

3088-K3399 .84" 1 1/2" 2.3" PT99-63399

PL1026 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

14QK136 1 1/16" 1 7/8" 1 1/2" 1" 8

PL1026-HT Shock Bushing (High Temp)

Note: High Temperature Bushing
OEM Part# ID Large OD Small OD Length Qty per Vehicle

14QK136 1 1/16" 1 7/8" 1 1/2" 1" Varies

MCI
Suspension

TH03-82725 Hollow Mount Bushing
Note: Features "no press" precision sleeve
OEM Part# ID OD Length

12J-1-26 2 1/2" 3 5/8" 2 1/2"

TH03-85001 Hollow Mount Bushing
Notes: Features "no press" precision sleeve  
OEM Part# ID OD Length

- 2 1/2" 3 5/8" 2 1/2"

Torque Rod
TS03-85002 Radius Rod Bushing Kit

Contains: (1) Rotating Bushing, (1) Retaining Ring, (1) Spacer Ring
OEM Part# Application Large OD Length Misc.

Dimensions

12-05-1002 J Series & E Series Buses 2 15/16" 4 1/2" c-c Bolt Hole: 5/8"

www.atrobushing.com 800-325-6114 156

http://www.atrobushing.com


MCI
Torque Rod

TS03-85013 Straddle Bushing Kit
Contains: (1) Rotating Bushing, (1) Retaining Ring, (1) Spacer Ring
OEM Part# Application Large OD Length Misc.

Dimensions
Install Tool

12-05-1013 J Series & E Series Transit Buses
(fits in small ends of V-rod)

2 15/16" 5 1/8" c-c Bolt Hole: 24mm PT03-52100

TS03-85019 Straddle Bushing Kit
Contains: (1) Non-rotating Bushing, (1) Retaining Ring  
Note: Non-Rotating Design
OEM Part# Application Large OD Length Misc.

Dimensions
Install Tool

12-05-1019 J Series & E Series Transit Buses
(fits in large end of V-rod)

3 15/16" 6" c-c Bolt Hole: 24mm PT03-52200

TS38750 Torque Rod Bushing

Note: Use in place of discontinued TS38795 
OEM Part# OD Length Misc. Dimensions Install Tool

12L-5-94 2 3/4" 4 3/8" Bolt Hole: 3/4" PT59-59100

McNeilus
Suspension

EB38651 Booster Cylinder Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

0183488 4 3/8" 8 1/2" Bolt Hole: 1 1/16" PT40000

PB99-29937 Pivot Bushing Kit
Contains: (1) Polyurethane Bushing, (2) Snap Rings, (2) Washers, (2) Shims   
Note: The grease fitting shoulder has been eliminated on ATRO design and replaced
OEM Part# OD Length Misc. Dimensions Qty per Vehicle

1106937 4 7/16" 5 3/4" Pin: 8 1/2" - 11" c-c  (9 3/4" optimum c-c) 2

Other
MS99-65035 Bumper Pad

OEM Part# Application Length Height Width Misc. Dimensions

0602035 Universal Bumper Block (Front Rear);
Front Loader Waste Hauler (Heil;

Leach; McNeilus)

7 7/8" 3" 6" Bolt Hole Pattern: 5 1/2" x
3" x 1/2" (4)

FAX: 866-920-2005 customerservice@atrobushing.com 157

mailto:customerservice@atrobushing.com


McNeilus
Other

MS99-65038 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

0120500 6"; 3" c-c 3 1/2" 3" Accepts 1/2" Bolt 2

MS99-65045 Bumper Pad (Severe Duty)
Notes: Severe Duty  
OEM Part# Application Length Width Misc. Dimensions

602035 Various front load trash compactor/waster
hauler bumper; Flatbed Trailer bumper

7 7/8" 6" Bolt Hole Pattern: 5 1/2" x 3"
x 1/2" (4)

MS99-69717 Grabber Assembly Roller
Contains: (1) Roller Bushing, (2) Washers
OEM Part# ID OD Length

1108125 1/2" 2 1/2" 1 7/16"

Mercedes Benz
Under Hood

RM46-63359 Radiator Isolator

OEM Part# Length Width Misc. Dimensions

A6805040382 3 3/4" 1 5/8" Thickness: 1 5/8"; Bolts: 3/8"

Meritor
Suspension

EQ83-35000 Equalizer Beam w/Bushing
Contains: (1) Equalizer Beam w/EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut, (2) 5/8" Bolt, (2) 5/8" 
Locknuts, (2) Spacer Sleeves
OEM Part# Length Misc. Dimensions Bushing A

R304813 no hardware 16 1/2" Bolt Hole: 1" EQ83-35902

EQ83-35850 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Equalizer Beam, (1) EQ83-35902 Bushing
OEM Part# Length Misc. Dimensions Bushing A Qty per Vehicle

R3010250 16 1/2" Bolt Hole: 1" EQ83-35902 2

www.atrobushing.com 800-325-6114 158

http://www.atrobushing.com


Meritor
Suspension

EQ83-35855 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Equalizer Beam, (1) EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut, (2) 5/8" Bolt, (2) 
5/8" Locknuts, (2) Spacer Sleeves
OEM Part# Length Misc. Dimensions Bushing A Qty per Vehicle

R3010250 beam w/bushing 16 1/2" Bolt Hole: 1" EQ83-35902 2

R304835 rebound bolt assembly 16 1/2" Bolt Hole: 1" EQ83-35902 2

HW53-39100 Bolt Assembly, Rebound
Contains: (1) BT10410 Bolt, (1) NT10150 Nut, (1) EQ35146-02 Sleeve
OEM Part# Misc. Dimensions

R303527 Bolt: 5/8"-18x4 1/2"; Nut: 5/8"x18

SU99-39113 Pivot Bushing

OEM Part# Application ID OD Length Qty per Vehicle

A1225-G-1437 RHP11/MPA Series Tandem Trailer Air
Suspensions

.89" 2.27" 3" 8

SU99-39114 Upper Control Arm Bushing & Bolt Kit
Contains: (4) SU99-39113 Bushings, (4) Pivot Bolts 7/8", 6" Long, (8) Hard Washers, (4) Lock Nuts, (8) Thrust 
Washers, (2) Pivot Bolt Washers
OEM Part# Application Bushing A Qty per Vehicle

FRK0510030 RHP11/MPA Series Tandem
Trailer Air Suspensions

SU99-39113 2

KIT11300 RHP11/MPA Series Tandem
Trailer Air Suspensions

SU99-39113 2

SU99-39115 Control Arm Bushing Kit
Contains: (2) PB00-36314 Flange Bushings, (1) Inner Sleeve   
Note: 2 Piece Design

Bushing

OEM Part# Application A B

KIT11126 RHP11 PB00-36314 PB00-36314

SU99-39116 Control Arm Bushing Kit
Contains: (8) PB00-36314 Flange Bushings, (4) Inner Sleeves, (4) Bolts 7/8" x 6"
OEM Part# Application Bushing A Qty per Vehicle

1225-R-1370 bushing only RHP11 PB00-36314 1/axle

A-1225-L-1416 bushing only RHP11 PB00-36314 1/axle

KIT11126 2 bushings & sleeve RHP11 PB00-36314 1/axle

FAX: 866-920-2005 customerservice@atrobushing.com 159

mailto:customerservice@atrobushing.com


Meritor
Torque Rod

TH99-37102 Torque Rod Bushing Kit
Contains: (1) PL1118, (2) Washers, (1) Bolt, (1) Nut
OEM Part# Application

KIT11102 RHP11 Trailer Suspension

TR75-41108 Torque Rod

Bushing

OEM Part# Length A B Qty per Vehicle

R307853 25 9/16" c-c TS38000 TS38000 typically 2

TR96-41068 Torque Rod

Bushing

OEM Part# Length A B Qty per Vehicle

R308821 22 1/8" c-c TS38000 TS38000 typically 2

TR96-44829 V-Rod

Note: Available Summer 2017
Bushing

OEM Part# Length Misc. Dimensions A B C Qty per Vehicle

R3011906 26 3/4" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22286 TS96-22286 2

Other
AW51-34036 Axle/Trunnion Kit

Contains: (2) PL1094, (4) PL1095, (2) AW51-34010, (16) Bolts, 3/4-10UNCx2.5", Gr8, (16) Locknuts, (32) 
Washers 

Bushing

OEM Part# A B C Qty per Vehicle

R304385 PL1094 PL1095 AW51-34010 1 per axle

MS50-39613 Wear Washer

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

R306122 2.27" 7" Thickness: .35" 4/axle

PB99-36201 Pivot Bushing Kit

Contains: (1) PB99-36522 Bushing, (2) Polymer Shims, (1) Bolt, (1) Flat Washer, (1) Nut 
Note: Available Summer 2017
OEM Part# Application Qty per Vehicle

KIT11201 RFS 23T 2 per axle

www.atrobushing.com 800-325-6114 160

http://www.atrobushing.com


Meritor
Other

PB99-36205 Pivot Bushing Kit

Contains: (1) PB99-36537 Bushing, (2) Poly Shims, (1) Bolt 7/8"x9", (1) Hardened Washer, (2) Locknut 
Note: Available Summer 2017
OEM Part# Application Qty per Vehicle

KIT11205 RFS 25T 2 per axle

KIT11214 RFS 25T 2 per axle

PB99-36522 Pivot Bushing, Tri-Functional

Note: Available Summer 2017
OEM Part# Application ID OD Width Qty per Vehicle

21226997 RFS 23T, RFS 25T 7/8" 5 15/16" 4 3/4" 2 per axle

21230041 RFS 23T, RFS 25T 7/8" 5 15/16" 4 3/4" 2 per axle

A1225N1522 RFS 23T, RFS 25T 7/8" 5 15/16" 4 3/4" 2 per axle

PB99-36537 Pivot Bushing, Tri-Functional

Note: Available Summer 2017
OEM Part# ID OD Width Qty per Vehicle

21227380 7/8" 5 15/16" 5 3/4" 2 per axle

21230539 7/8" 5 15/16" 5 3/4" 2 per axle

A1225C1537 7/8" 5 15/16" 5 3/4" 2 per axle

A-1225-C-1537 7/8" 5 15/16" 5 3/4" 2 per axle

Miscellaneous
Other

BP52-34203 Dock Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

Various 6" 3 3/4" 3" Bolt Hole: 1/2" Bolt Holes: 3" c-c 2

BP99-36037 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

Various 6" 3.3" 3" Bolt Hole: 1/2"; Bolt Holes: 2 1/2" c-c 2

BP99-36038 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

Various 6.1" 3.2" 4" Bolt Hole: 1/2"; Bolt Holes: 2.4" c-c 2

BP99-36040 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

Various 7" 1 3/4" 1 15/16" Bolt Hole: 3/8" Bolt Holes: 4 1/2" c-c 2 or 4

FAX: 866-920-2005 customerservice@atrobushing.com 161

mailto:customerservice@atrobushing.com


Miscellaneous
Other

BP99-65360 Buffer,  Heavy Duty

OEM Part# Large OD Height Misc. Dimensions Qty per Vehicle

- 4 1/4" 4 3/4" Stud: 12mm x 1 3/4" - 1 1/4" 2

MS99-34008 Trailer/Dock Bumper Pad

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

Various 8" 3 5/8" 5 1/2" Bolt Holes: .775" Bolt Hole Pattern:
3.4" c-c x 5.5" c-c

2

Mitsubishi
Suspension

PL1179 Spring Bushing

OEM Part# Application ID Large OD Small OD Length

MB025153 FE 1987-2004; UD 1400 Series
(1989-2000)

7/8" 1 7/8" 1 1/2" 1 7/8"

Torque Rod
TS45000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions

MC81266 4 5/32"  Bushing: 2 1/2" Pin: 6"  Bolt Hole: 18mm Bolt Holes: 4 21/64" c-c

Monaco
Torque Rod

MO10000 Torque Rod Bushing

OEM Part# Application ID OD Length

86820 Motor Home 7/8" 2" 3"

Neoplan
Suspension

TH03-85520 Transit Rod Bushing

OEM Part# Application ID OD Length

080155020 Bus 1 27/64" 2 17/32" 3"

www.atrobushing.com 800-325-6114 162

http://www.atrobushing.com


Neoplan
Torque Rod

TS03-85533 Transit Rod Bushing

OEM Part# Application OD Length Misc. Dimensions

080155033 Bus 2 17/32" 4 7/8" c-c Bolt Hole: 3/4"

New Flyer
Suspension

TH03-82725 Hollow Mount Bushing
Note: Features "no press" precision sleeve
OEM Part# ID OD Length

5922276 2 1/2" 3 5/8" 2 1/2"

5957548 2 1/2" 3 5/8" 2 1/2"

6322561 2 1/2" 3 5/8" 2 1/2"

6322757 2 1/2" 3 5/8" 2 1/2"

Torque Rod
TS03-85765 Straddle Bushing Kit

Contains: (1) Non-rotating Bushing, (1) Snap Ring 
Note: Non-Rotating Design
OEM Part# OD Length Misc. Dimensions

6313765 3 3/4" 6" c-c Bolt Hole: .825"

FAX: 866-920-2005 customerservice@atrobushing.com 163

mailto:customerservice@atrobushing.com


Neway

www.atrobushing.com 800-325-6114 164

http://www.atrobushing.com


Neway
Suspension

AS57-27267 Bar Pin Bushing

Note: Available Summer 2017
OEM Part# Application OD Length Width Misc.

Dimensions
Qty per
Vehicle

90008267 ADZ-123, ADZ-126, CB Series 3 1/8"; Pin
OD: 2"

6 1/4" c-c Flat Width:
1 1/2"

Bolt Hole: 1";
OAL 8"

2 per axle

AS57-27644 Axle Seat Rebush Kit

Contains: (1) AS57-27267 Bushing, (4) Spacer Washers, (8) Flat Washers 1", (4) Locknuts 1"-8UNC GR C  
Note: Available Summer 2017
OEM Part# Application Qty per Vehicle

48100510 ADZ-123, ADZ-126 1 per axle

SRK644 ADZ-123, ADZ-126 1 per axle

SRK-644 ADZ-123, ADZ-126 1 per axle

EB03-85901 End Bushing
Note: For bored beams only
OEM Part# Application ID OD Length

1234 Neway 300/400/500 1 1/8" 3 1/4" 5"

NW30000 Trunnion Bushing

OEM Part# Application ID OD Length Qty per Vehicle

910 08 022 TS; US; USR; SB360B; 500/600B;
660HDD Trailer Single Point

4" 5" 8 7/8" 4

91008022 TS; US; USR; SB360B; 500/600B;
660HDD Trailer Single Point

4" 5" 8 7/8" 4

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  
OEM Part# Application ID OD Length

900 08 139 AR41/45/70/75/80/85/90/92/93/95; ARU92/93;
ART500/505/551/555

1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  
OEM Part# Application ID OD Length

900 08 149 AR90/92/93; ARU92/93; RL196/228 1 1/8" 2 13/16" 5"

PB57-26643 Pivot Bushing Kit, Front

Contains: (2) PB57-26279 Bushings, (4) Washer Spacers, (2) Aluminum Puck, (1) Bolt 1 1/8"-7x7" LG GR 8, (1) 
Bolt 1 1/8"-7x7.5" GR8, (3) Flat Washers, (2) Locknuts 
Note: Available Summer 2017
OEM Part# Application Qty per Vehicle

48100509 ADZ-123, ADZ-126 1 per axle

SRK643 ADZ-123, ADZ-126 1 per axle

SRK-643 ADZ-123, ADZ-126 1 per axle

FAX: 866-920-2005 customerservice@atrobushing.com 165

mailto:customerservice@atrobushing.com


Neway
Suspension

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings, (2) Bolts 9 1/2" 
OEM Part# Application

48100202 AR; ARU; ART; RL; RLU Series

SRK01 AL, TL TA, Beam Kit

SRK-145 AR, ARU, ART, RL, RLU Series

PB57-36300 Axle Connection Kit
Contains: (4) PB57-21149 Bushings, (8) Wear Washers, (8) Service Wear Washers, (4) Bolts, (4) Locknuts 
OEM Part# Application

48100206 AR90/92/93; ARU92/93; RL196/228

SRK02 AL, TL, TA CL Axle Seat Kit

SRK-149 AR90/92/93; ARU92/93; RL196/228

PL1030 Trunnion Bushing

OEM Part# Application ID OD Length Qty per Vehicle

900 08 011 T-8540/8750/9000 Tri-Axle;
TR8540/8600/8750/8900; TR4100-B

3 7/16" 4 9/16" 5 3/4" 4

90008011 T-8540/8750/9000 Tri-Axle;
TR8540/8600/8750/8900; TR4100-B

3 7/16" 4 9/16" 5 3/4" 4

PL1041 Spring/Axle Pad

OEM Part# Application Length Height Width Qty per Vehicle

910 28 089 Spring Pad: TS; US; USR; Trailer Single
Point Axle Pad: T-8540; TR-8750/8900

5 1/4" 7/8" 4 5/8" 4

91028089 Spring Pad: TS; US; USR; Trailer Single
Point Axle Pad: T-8540; TR-8750/8900

5 1/4" 7/8" 4 5/8" 4

PL1093 Trunnion Bushing

OEM Part# Application ID OD Length

910 08 040 TA-800-B5; TA-800-C5 Truck/Tractor 3 1/2" 4 1/2" 3 1/2"

910 08 072 TA-800-B5; TA-800-C5 Truck/Tractor 3 1/2" 4 1/2" 3 1/2"

91008040 TA-800-B5; TA-800-C5 Truck/Tractor 3 1/2" 4 1/2" 3 1/2"

91008072 TA-800-B5; TA-800-C5 Truck/Tractor 3 1/2" 4 1/2" 3 1/2"

PL1094 Trunnion Bushing

OEM Part# Application ID OD Length

910 08 014 RTS-536-1/2/3/4; RTS-544-1/2/3/4 4" 5" 5 3/4"

91008014 RTS-536-1/2/3/4; RTS-544-1/2/3/4 4" 5" 5 3/4"

PL1095 Spring End Pad

OEM Part# Application Length Height Width

910 28 023 RTS-536-1/2/3/4; RTS-544-1/2/3/4; TA-800-B5;
TA-800-C5

5 1/2" 3/4" 1 3/4"

91028023 RTS-536-1/2/3/4; RTS-544-1/2/3/4; TA-800-B5;
TA-800-C5

5 1/2" 3/4" 1 3/4"

www.atrobushing.com 800-325-6114 166

http://www.atrobushing.com


Neway
Suspension

PL1096 Axle Wrapper
Notes: For round axle 
OEM Part# Application Length Height Width

900 28 007 AR; ART500/551 Series 7 1/8" 3/8" 7 1/8"

90028007 AR; ART500/551 Series 7 1/8" 3/8" 7 1/8"

PL1097 Axle Pad
Notes: Lower pad  
OEM Part# Application Length Height Width

900 28 075 All AR/ART Series (except AR90) 7" 7/16" 5 5/8"

90028075 All AR/ART Series (except AR90) 7" 7/16" 5 5/8"

PL1098 Axle Wrapper
Notes: For round axle 
OEM Part# Application Length Height Width

900 28 047 All AR/ART Series (except AR90 & AR95HD) 8" 1/2" 7 1/4"

90028047 All AR/ART Series (except AR90 & AR95HD) 8" 1/2" 7 1/4"

PL1125 Spring End Pad

OEM Part# Application Length Height Width

910 28 152 Two Spring Tandem Trailer;
TS-426A/432/436/442/536/542

6 1/2" 11/16" 4 5/8"

91028152 Two Spring Tandem Trailer;
TS-426A/432/436/442/536/542

6 1/2" 11/16" 4 5/8"

PL1154 Center Bushing

OEM Part# Application ID OD Length

900 08 131 ARD 125/244 (1981-); T/TR-8540/8600/8750/8900
Trailer Tri-Axle New Style; RC Series

1 1/8" 2 3/8" 5"

90008131 ARD 125/244 (1981-); T/TR-8540/8600/8750/8900
Trailer Tri-Axle New Style; RC Series

1 1/8" 2 3/8" 5"

PL1155 Center Bushing

OEM Part# Application ID OD Length

900 08 008 AD 123/246; ARD 120/125/234/238/244; ARDST
123/244/246/250; ARDSTM/L 123/246

2 1/2" 3 7/8" 5 9/16"

90008008 AD 123/246; ARD 120/125/234/238/244; ARDST
123/244/246/250; ARDSTM/L 123/246

2 1/2" 3 7/8" 5 9/16"

Torque Rod
TH57-22264 Hollow Mount Bushing

OEM Part# Application ID OD Length Qty per Vehicle

900-08-264 ADZ-123, ADZ-126 1" 2 3/4" 2 7/8" 1 per axle

900-08-278 ADZ-123, ADZ-126 1" 2 3/4" 2 7/8" 1 per axle

FAX: 866-920-2005 customerservice@atrobushing.com 167

mailto:customerservice@atrobushing.com


Neway
Torque Rod

TR46-46016 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

57750377 17" c-c TS00-22500 TH00-22500

TR57-44645 V-Rod Rebush Kit
Contains: (2) TS59-22400 Bushings, (1) TH57-22264 Bushing, (2) Spacer Shims, (1) 1-8UNC x 6" Bolt & Locknut, 
(4) 5/8-11UNC x 3 3/4" Bolt & Locknut, (2) 1" Washers, (8) 5/8" Washers

Bushing

OEM Part# Application A B Qty per Vehicle

48100511 ADZ Series TS59-22400 TH57-22264 1/axle

SRK-645 ADZ Series TS59-22400 TH57-22264 1/axle

TR57-44992 V-Rod Assembly
Contains: (1) V-Rod, (2) TS59-22400 Straddle Bushings, (1) TH57-22264 Hollow Bushing 
Note: H/S=Hollow/Straddle, S/S=Straddle/Straddle 

Bushing

OEM Part# Application Length A B C Qty per Vehicle

90045702 ADZ-123; ADZ-126 20 1/2" c-c (H/S); 
20 1/4" c-c (S/S)

TS59-22400 TS59-22400 TH57-22264 1

90548900 ADZ-123; ADZ-126 20 1/2" c-c (H/S); 
20 1/4" c-c (S/S)

TS59-22400 TS59-22400 TH57-22264 1

90549992 ADZ-123; ADZ-126 20 1/2" c-c (H/S); 
20 1/4" c-c (S/S)

TS59-22400 TS59-22400 TH57-22264 1

Other
AW51-34036 Axle/Trunnion Kit

Contains: (2) PL1094, (4) PL1095, (2) AW51-34010, (16) Bolts, 3/4-10UNCx2.5", Gr8, (16) Locknuts, (32) 
Washers 

Bushing

OEM Part# Application A B C Qty per Vehicle

48100033 RTS Series PL1094 PL1095 AW51-34010 1 per axle

SRK36 RTS Series PL1094 PL1095 AW51-34010 1 per axle

SRK-36 RTS Series PL1094 PL1095 AW51-34010 1 per axle

AW57-10000 Axle Wrap (set of 4)

OEM Part# Application Length Height Width Qty per Vehicle

910 28 039 T-8750/8900 Series Tri-Axle Spring (20"
wheel; 5" round cent

8 15/16" 13/16" 5" 1

91028039 T-8750/8900 Series Tri-Axle Spring (20"
wheel; 5" round cent

8 15/16" 13/16" 5" 1

AW57-12000 Axle Wrap (set of 4)

OEM Part# Application Length Height Width Misc.
Dimensions

Qty per
Vehicle

910 28 051 T-8540/8750/8900 (20" wheel; 5"
round center axle); TR-8540/

9" 3/4" 5" Small Width: 3" 1

91028051 T-8540/8750/8900 (20" wheel; 5"
round center axle); TR-8540/

9" 3/4" 5" Small Width: 3" 1

www.atrobushing.com 800-325-6114 168

http://www.atrobushing.com


Neway
Other

AW57-14000 Axle Pads (set of 4)

OEM Part# Application Length Height Width Qty per Vehicle

91028075 TR8450/8600 Tri-Axle Trailer 3" 15/16" 5 1/2" 4

Nissan
Torque Rod

TS45000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions

55542-Z2001 4 5/32"  Bushing: 2 1/2" Pin: 6"  Bolt Hole: 18mm Bolt Holes: 4 21/64" c-c

Nova
Torque Rod

TS03-80000 Tie Rod Bushing Kit
Contains: (1) Rotating Bushing, (1) Retaining Ring, (1) Spacer Ring

OD Length Misc. Dimensions

2 15/16" 4 3/8" c-c Bolt Hole: 5/8"

O & S America LLC
Torque Rod

SK27174 Torque Rod Kit
Contains: (1) TR71000, (1) TR75000  Note: Finished length up to 27" 
OEM Part# Misc. Dimensions Bushing A

SU3844 Bolt Hole: 5/8" TS38000

TR62-41198 Torque Rod
Bushing

OEM Part# Length A B

SB-233-30 19 3/4" c-c TS38000 TM38000

TR62-413P2 Torque Rod
Bushing

OEM Part# Length A B

SB-371-02 24 7/16" c-c TS38875 TM38000

FAX: 866-920-2005 customerservice@atrobushing.com 169

mailto:customerservice@atrobushing.com


O & S America LLC
Torque Rod

TR62-413P5 Torque Rod
Bushing

OEM Part# Length A B

SB-371-05 19 11/16" c-c TS38875 TM38000

Orion
Suspension

AT80000 Leaf Spring Bushing

OEM Part# ID OD Length

020117461 1" 2 1/2" 4 1/4"

020117461U 1" 2 1/2" 4 1/4"

Torque Rod
TH85000 Hollow Mount Bushing

OEM Part# ID OD Length

020117451 2 1/2" 4 3/8" 4 1/2"

020117451U 2 1/2" 4 3/8" 4 1/2"

Oshkosh
Suspension

AT33501 Torque Rod Bushing

OD Length Misc. Dimensions Install Tool

3 1/2" 5 1/4" c-c Bolt Holes: 15/16" PT48-52000

Ottawa
Under Hood

PL1077 Radiator Mount

OEM Part# ID Large OD Small OD Length

90022099 3/8" 1 1/8" 7/8" 1"

www.atrobushing.com 800-325-6114 170

http://www.atrobushing.com


Ottawa
Under Hood

PL1168 Cab Mount

OEM Part# ID Large OD Small OD Length

90026587 1/2" 2" 1 3/8" 1 5/8"

PL1172 Cab Mount

ID OD Length

1" 2 7/8" 3 5/16"

PL1176 Cab Stop

Length Height Width Misc. Dimensions

8" 3/4" 1 1/2" Bolt Holes: 1 3/4" c-c

TM99-63516 Motor/Transmission Mount

OEM Part# Large OD Small OD Misc. Dimensions

90017516 3.4" each part 2.24" each part Poly Part OAL: 1.94"; Sleeve ID: 15/16";
Inner Sleeve OAL: 2

Page
Suspension

EB34000 Beam End Bushing

OEM Part# ID OD Length Install Tool

1027037 2 1/2" 4 3/8" 5 1/4" PT40000

EB38000 Beam End Bushing

OEM Part# ID OD Length Install Tool Qty per Vehicle

1027038 2 1/2" 4 3/8" 5 3/4" PT40000 4

NW30000 Trunnion Bushing

OEM Part# Application ID OD Length Qty per Vehicle

1083483 Trailer Single Point Suspension 4" 5" 8 7/8" 4

FAX: 866-920-2005 customerservice@atrobushing.com 171

mailto:customerservice@atrobushing.com


Page
Suspension

PL1041 Spring/Axle Pad

Length Height Width Qty per Vehicle

5 1/4" 7/8" 4 5/8" 4

PL1154 Center Bushing

OEM Part# Application ID OD Length

1090237 LM-2000/3000 Lift Axle Suspension; Trailmaster
Air Spring

1 1/8" 2 3/8" 5"

Peerless
Suspension

PL1078 Spring Pad

OEM Part# Application Length Height Width

31-12 Logger Single Point Trailer 6 1/4" 5/8" 4 1/2"

PL1092 Reach Cradle

OEM Part# Length

20623 11 3/4"; 6 1/2" c-c holes

PL1101 Trunnion Bushing

OEM Part# Application ID OD Length

36-10 Trailer Walking Beam; Logger Single Point
Trailer

4" 4 15/16" 7 13/16"

PL1103 Trailing Arm Bushing

OEM Part# Application ID OD Length

36-15 Trailer Air Suspension 3 1/2" 4 1/2" 10 9/16"

www.atrobushing.com 800-325-6114 172

http://www.atrobushing.com


Peerless
Suspension

PL1121 Walking Beam Bushing

OEM Part# Application ID OD Length

36-22 Trailer Walking Beam 3 1/2" 4 1/2" 7 9/16"

PL1123 Pivot Arm Bushing

OEM Part# ID OD Length

36-21 2 1/2" 3 1/2" 7"

36-521 2 1/2" 3 1/2" 7"

PL1124 Trunnion Bushing

OEM Part# ID OD Length

36-500 4" 5" 10 3/8"

FAX: 866-920-2005 customerservice@atrobushing.com 173

mailto:customerservice@atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Peterbilt Air Leaf

www.atrobushing.com 800-325-6114 174

http://www.atrobushing.com


Peterbilt Air Trac

FAX: 866-920-2005 customerservice@atrobushing.com 175

mailto:customerservice@atrobushing.com


Peterbilt Low Mount Air Leaf

www.atrobushing.com 800-325-6114 176

http://www.atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Peterbilt New Low Mount

FAX: 866-920-2005 customerservice@atrobushing.com 177

mailto:customerservice@atrobushing.com
https://www.youtube.com/channel/UCLKlfz7MAhdW7uDkTu5cTeg


Peterbilt
Suspension

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings. (8) Inner Sleeves, (8) Bolts 3/4" x 5" 

OEM Part#

R008839 

PB46-26268 Pivot Bushing (Anti-Walk)

Notes: Anti-Walk High Confinement 

OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

52296 New Low Air Leaf 2 1/2" Bolt Hole: 3/4"; Bolt Holes: 5 21/32" c-c PT50000 2

PB75-29101 Low Air Leaf Bushing Kit

Contains: (2) PL1076 Washers, (2) PL1189 Bushings, (2) Compression Washers, (1) Bolt 1 x 8" Long, (1) Locknut, 
(1) Spacer Sleeve
Note: Job Minimum = 1

Bushing

OEM Part# Application A B Qty per Vehicle

03AL02 Low Mount Air Leaf PL1076 PL1189 4

03AL2 Low Mount Air Leaf PL1076 PL1189 4

PB75-29674 Air Leaf Bushing Kit

Contains: (2) PL1075 Bushings, (2) PL1076 Washers, (2) Compression Washers, (1) Bolt 1"x 8 1/2" long, (1) 
Locknut, (1) Spacer Sleeve   
Note: Job Minimum = 1

Bushing

OEM Part# Application A B Qty per Vehicle

03AL01 Air Leaf PL1075 PL1076 4

03AL1 Air Leaf PL1075 PL1076 4

PL1073 Equalizer Bushing

OEM Part# Application ID Large OD Small OD Length

03-02099 Four Spring Tandem Suspension (early models) 2 1/2" 4" 3 1/8" 2 1/4"

PL1075 Air Leaf Bushing
Notes: See PB75-29674 for complete kit 

OEM Part# ID OD Length

03-01674 1 3/4" 2 1/2" 2 5/16"

03-07016 1 3/4" 2 1/2" 2 5/16"

PL1076 Beam End Washer
Notes: See PB75-29101 and PB75-29674 for complete kits  

OEM Part# Application ID OD Length

03-01675 Air Leaf; Low Mount Air Leaf 1 3/4" 2 5/8" 1 1/4"

www.atrobushing.com 800-325-6114 178

http://www.atrobushing.com


Peterbilt
Suspension

PL1189 Spring Eye Bushing (set of 2)
Notes: See PB75-29101 for complete kit 

OEM Part# Application ID OD Length

03-05101 Low Mount Air Leaf 1 3/4" 2 1/2" 1 15/16"

SK75-10000 Spring Eye Shackle Kit
Contains: (2) SP00-11561 Bushings, (2) Sidebars, (4) Bolts, (4) Locknuts  
Notes: Rear of front  

OEM Part# Application OD Length Install Tool Qty per Vehicle

02-01154 COE models 1982-86 1 1/2" 4" PT00-53000 2

02-01561 COE models 1982-86 1 1/2" 4" PT00-53000 2

02-01805 COE models 1982-86 1 1/2" 4" PT00-53000 2

SK75-10100 Spring Eye Shackle Kit
Contains: (2) SP75-11781 Bushings, (2) Sidebars, (4) Bolts, (4) Locknuts  
Notes: Rear of front  

OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

0201747 COE models 1987-97 (4"
models with eye casting)

1 1/2" 4" Sidebar Hole: 5 1/8" c-c PT00-53000 2

02-01781 COE models 1987-97 (4"
models with eye casting)

1 1/2" 4" Sidebar Hole: 5 1/8" c-c PT00-53000 2

02-01805 COE models 1987-97 (4"
models with eye casting)

1 1/2" 4" Sidebar Hole: 5 1/8" c-c PT00-53000 2

SK75-10200 Spring Eye Shackle Kit
Contains: (2) SP75-11781 Bushings, (2) Sidebars, (4) Bolts, (4) Locknuts  
Notes: Rear of front  

OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

02-01781 COE models 1987-97 (4"
models with eye casting)

1 1/2" 4" Sidebar Hole: 3 1/2" c-c PT00-53000 2

02-01783 sidebar COE models 1987-97 (4"
models with eye casting)

1 1/2" 4" Sidebar Hole: 3 1/2" c-c PT00-53000 2

02-01784 COE models 1987-97 (4"
models with eye casting)

1 1/2" 4" Sidebar Hole: 3 1/2" c-c PT00-53000 2

02-01805 COE models 1987-97 (4"
models with eye casting)

1 1/2" 4" Sidebar Hole: 3 1/2" c-c PT00-53000 2

SP00-11005 Spring Eye Bushing

Contains: (1) Spring Eye Bushing, (2) Washers  

OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

B65-6005 4" wide spring 1 3/4" Outer Sleeve Length: 4 1/16";  Pin
Groove: 5 7/16" c-c

PT00-53000 2

SP00-11013 Spring Eye Bushing
Contains: (1) Spring Eye Bushing, (2) Washers 

OEM Part# Application OD Misc. Dimensions Install Tool Qty per Vehicle

B65-1013 Late model 2 1/16" Outer Sleeve Length: 4 1/16"; Pin
Groove: 5 7/16" c-c

PT59-53000 6

B65-6006 Late model 2 1/16" Outer Sleeve Length: 4 1/16"; Pin
Groove: 5 7/16" c-c

PT59-53000 6

FAX: 866-920-2005 customerservice@atrobushing.com 179

mailto:customerservice@atrobushing.com


Peterbilt
Suspension

SP00-11561 Spring Eye Bushing
Notes: Front of front; Rear of front  

OEM Part# OD Length Misc. Dimensions Install Tool Qty per Vehicle

02-01561 pin 1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 6

02-01805 bushing 1 1/2" 4" Pin: 5 1/32" c-c PT00-53000 6

SP75-11781 Spring Eye Bushing
Notes: Front of front; Rear of front  

OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

02-01781 pin COE models (1987-97) (4"
models w/eye casting)

1 1/2" 4" Pin: 5 5/16" c-c PT00-53000 6

02-01805 bushing COE models (1987-97) (4"
models w/eye casting)

1 1/2" 4" Pin: 5 5/16" c-c PT00-53000 6

SU00-29001 Spring Link Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

C13-6001 Flexair 2 3/8" 4 3/8" c-c Bolt Hole: 5/8" PT00-52200

SU00-29002 Spring Link Bushing

OEM Part# Application ID OD Length Install Tool

C13-6002 Flexair 7/8" 2 3/8" 3" PT00-52200

SU75-29623 Spring Roller

OEM Part# Application ID OD Length Qty per Vehicle

03-04623 Air Trac 1 1/16" 1 7/8" 5 1/8" 2 or 4

SU75-29624 Spring Roller Kit
Contains: (1) SU75-29623 Spring Roller, (1) Bolt, (1) Inner Sleeve, (2) Flat Washers, (1) Locknut 

OEM Part# Application Bushing A Qty per Vehicle

03-04623 bushing only Air Trac SU75-29623 2 or 4

WP50-29557 Wear Pad Kit
Contains: (1) Slipper Pad, (2) Retaining Plates, (4) Bolts 

OEM Part# Length Height Width Misc. Dimensions

56557-002 6 7/8" 3" 3" Bolt: 3/8"

www.atrobushing.com 800-325-6114 180

http://www.atrobushing.com


Peterbilt
Suspension

WP50-29929 Wear Pad

OEM Part# Length Height Width

56929-000 3 3/4" 1 1/2" 3 3/16"

Torque Rod
PL1146 Torque Rod Bushing

Note: Does NOT Rotate, See TS50-22691 for preferred bushing 

OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

47691 Four Spring Tandem
(early models)

1.91" 4 3/8"  Bolt Holes: 11/16" Bolt:
5/8"

PT00-52000 2/rod

SK27174 Torque Rod Kit
Contains: (1) TR71000, (1) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27175 Torque Rod Kit
Contains: (2) TR71000, (2) TR75000  Note: Finished length up to 27" 

Misc. Dimensions Bushing A

Bolt Hole: 5/8" TS38000

SK27176 Torque Rod Kit
Contains: (1) TR71000, (1) TR76000  Note: Finished length up to 27" 

Bushing

Misc. Dimensions A B

Bolt Hole: 5/8" TS38000 TT38000

SK70380 Torque Rod Bushing Kit
Contains: (4) TS38000 

Misc. Dimensions

Bolt Hole: 5/8"

SK70381 Torque Rod Bushing Kit
Contains: (6) TS38000, (2) TT38000 

Misc. Dimensions

Bolt Hole: 5/8"

FAX: 866-920-2005 customerservice@atrobushing.com 181

mailto:customerservice@atrobushing.com


Peterbilt
Torque Rod

TR00-41001 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

C65-6000-001 Flexair 23 3/4" c-c TS00-22500 TH00-22500

C65-6011-001 Flexair 23 3/4" c-c TS00-22500 TH00-22500

TR00-41009 Torque Rod, Small Eye

Bushing

OEM Part# Application Length A B Qty per Vehicle

C65-6002 Flexair / New Low Air Leaf 25 9/16" c-c TS00-22500 TS00-22500 typically 2

C65-6009 Flexair / New Low Air Leaf 25 9/16" c-c TS00-22500 TS00-22500 typically 2

TR00-41160 Torque Rod
Bushing

OEM Part# Length A B

925160 25 1/8" c-c TS38000 TS38000

TR00-41420 Torque Rod
Bushing

OEM Part# Length A B

925420 27 3/4" c-c TS38000 TS38000

TR00-41600 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

C65-6000-002 Flexair 24 11/16" c-c TS00-22500 TH00-22500

C65-6011-002 Flexair 24 11/16" c-c TS00-22500 TH00-22500

TR00-41910 Torque Rod
Bushing

OEM Part# Length A B

924910 23 3/16" c-c TS38000 TS38000

www.atrobushing.com 800-325-6114 182

http://www.atrobushing.com
www.torque-rod.com


Peterbilt
Torque Rod

TR75-41059 Torque Rod

Bushing

OEM Part# Application Length A B Qty per Vehicle

03-04059 Air Leaf & Air Trac 22 7/8" c-c TS38000 TS38000 typically 2

C65-6013 Air Leaf & Air Trac 22 7/8" c-c TS38000 TS38000 typically 2

SS-219-117 Air Leaf & Air Trac 22 7/8" c-c TS38000 TS38000 typically 2

TR75-41108 Torque Rod

Bushing

OEM Part# Application Length A B Qty per Vehicle

03-05108 Low Mount Air Leaf 25 9/16" c-c TS38000 TS38000 typically 2

943711 Low Mount Air Leaf 25 9/16" c-c TS38000 TS38000 typically 2

TR75-41119 Torque Rod
Bushing

OEM Part# Application Length A B

03-04119 Air Trac 17 3/8" c-c TS38000 TS38000

TR75-41327 Torque Rod

Bushing

OEM Part# Application Length A B Qty per Vehicle

03-04327 Air Trac 17 5/16" c-c TS38000 TS38750 typically 2

924175 Air Trac 17 5/16" c-c TS38000 TS38750 typically 2

C65-6012-000010440 heavy duty Air Trac 17 5/16" c-c TS38000 TS38750 typically 2

C65-6016-000010440 Air Trac 17 5/16" c-c TS38000 TS38750 typically 2

SS326-11 Air Trac 17 5/16" c-c TS38000 TS38750 typically 2

TR75-41781 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

03-01764 Four Spring Tandem 19 1/8" c-c TS00-22500 TS00-22500

03-01781 Four Spring Tandem 19 1/8" c-c TS00-22500 TS00-22500

03-04839 Four Spring Tandem 19 1/8" c-c TS00-22500 TS00-22500

TS34000 Torque Rod Bushing

Note: Use in place of discontinued TS34095,  NEW CRIMPED DESIGN 

OEM Part# Application OD Length Misc. Dimensions Install Tool

02-27710 Air Leaf / Air Trac (lateral); Low Mount Air
Leaf

2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

227710 Air Leaf / Air Trac (lateral); Low Mount Air
Leaf

2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

FAX: 866-920-2005 customerservice@atrobushing.com 183

mailto:customerservice@atrobushing.com


Peterbilt
Torque Rod

TS38000 Torque Rod Bushing

Note: Use in place of discontinued TS38095 

OEM Part# Application OD Length Misc. Dimensions Install Tool Misc. Tool

02-27720 Air Trac (lower radial) 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100 PT00-52100

227720 Air Trac (lower radial) 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59100 PT00-52100

TS38750 Torque Rod Bushing

Note: Use in place of discontinued TS38795 

OEM Part# Application OD Length Misc. Dimensions Install Tool Misc. Tool

02-27723 Air Trac; Single/Tandem Axle 2 3/4" 4 3/8" Bolt Hole: 3/4" PT59-59100 PT00-52100

TT38000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool Misc. Tool Qty per Vehicle

02-29610 2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 PT00-52100 2

229610 2 3/4" 8 1/16" Stud: 1 1/4-12" PT59-59100 PT00-52100 2

Under Hood
CM75-61055 Cab Mount

OEM Part# Application ID OD Length Qty per Vehicle

170-55 Model 320 (cab over) Waste Trucks 1/2" 3 3/8" 2 3/4" 2

CM75-61257 Cab/Sleeper Mount

Notes: Does not include hardware: See KT75-61257 for complete set including all hardware & mounts needed to 
service one mounting location. 

OEM Part# Application ID OD Large OD Height

20-08257 Models (Unibilt) 357; 365; 378; 379; 385; 389 21/32" 1 13/16" (nipple) 3" 1 1/8"

EM75-61001-HT Air Cooler Mount Kit (High Temp)
Contains: (4) Polyurethane Mount Bushings, (4) Polyurethane Washers, (4) Bolts, (4) Locknuts, (4) Flat Washers   
Note: High Temperature 

OEM Part# Application

N4751001 T800 (2008-2010)

www.atrobushing.com 800-325-6114 184

http://www.atrobushing.com


Peterbilt
Under Hood

EM75-69000-HT Exhaust Mount Bushing Kit (High Temp)

Contains: (2) EM75-69001-HT Mount, (1) Shaft, (2) Washers, (2) E-Clips 
Note: High Temperature 

OEM Part# ID Large OD Small OD Bushing A

M13-6001 7/16" 1 3/4" 1 1/8" EM75-69001-HT

EM75-69001-HT Exhaust Mount Bushing (High Temp)

Note: High Temperature 

OEM Part# ID Large OD Small OD

M13-6001 7/16" 1 3/4" 1 1/8"

EM75-69096 Exhaust/Radiator Mount, Air to Air Bushing

Notes: Accepts 3/8" diameter fasteners (not included)  

OEM Part# Application OD Large OD Height

13-03096 Upper Exhaust: 357; 375-379; 385 Pre 1995 Standard & Unibilt;
Radiator: 387; C13; C15; ISX; Air to Air: 357; 362(E); 375-379; 38

3/4" (nipple) 1 1/16" 1/4" (flange)

EM75-69096-HT Exhaust/Radiator Mount; Air to Air Bushing (High Temp)

Notes: Accepts 3/8" diameter fasteners (not included) High Temperature Mount 

OEM Part# Application OD Large OD Height

13-03096 Upper Exhaust: 357; 375-379; 385 Pre 1995 Standard 3/4" (nipple) 1 1/16" 1/4" (flange)

EM75-69656 Exhaust Bushing

OEM Part# Application ID Large OD Small OD Length

14-14656 Models 357; 375 through 379 and 385 3/8" 1 1/4" 3/4" 1 3/8"

EM75-69656-HT Exhaust Bushing (High Temp)

Notes: High Temperature Bushing  

OEM Part# Application ID Large OD Small OD Length

14-14656 Models 357; 375 through 379 and 385 3/8" 1 1/4" 3/4" 1 3/8"

HM75-64593 Hood Roller

OEM Part# Application ID OD Length

13-03593 Models 357; 375-379 5/8" 1 1/2" 1 5/8"

FAX: 866-920-2005 customerservice@atrobushing.com 185

mailto:customerservice@atrobushing.com


Peterbilt
Under Hood

HM75-64726 Hood Mount Pivot Bushing

OEM Part# Application ID Large
OD

Small
OD

Length Misc. Dimensions

13-04726 pivot bushing Models 357; 367; 377 thru 379 3/4" 1 11/16" 1" 1 11/16" Sleeve ID: 5/8"; Sleeve Length: 1 7/8"

13-04727 metal sleeve Models 357; 367; 377 thru 379 3/4" 1 11/16" 1" 1 11/16" Sleeve ID: 5/8"; Sleeve Length: 1 7/8"

HM75-65114 Hood Bumper

OEM Part# Application OD Length Height Width

13-03114 Model 359 3/16" hole 2 3/4" outside; 2" inside 2 3/4" outside; 2 1/4" inside 3" outside; 2" inside

HM75-65424 Hood Spike Grommet

OEM Part# Application Height Width

13-03170 Peterbilt Model 359 3 9/16" outside; 1 7/8" inside 2 3/8" outside; 1 1/8" inside

13-03424 Peterbilt Model 359 3 9/16" outside; 1 7/8" inside 2 3/8" outside; 1 1/8" inside

13-03425 Peterbilt Model 359 3 9/16" outside; 1 7/8" inside 2 3/8" outside; 1 1/8" inside

HM75-65510 Hood Bumper

OEM Part# Application OD Length Height Width

13-03510 Models 330; 357; 377; 379; 385 3/16" hole 2 3/8" outside; 2"
inside

2" outside; 1 1/2"
inside

3 3/16" outside; 2"
inside

HM75-65609 Hood Support (Rear)

OEM Part# Application OD Length Height Misc. Dimensions

13-04609 Models 377; 385 3 7/8" 3 5/16" 15/16" (base) Accepts 1/2" diameter Bolt

HM75-65711 Hood Bumper

OEM Part# Application Length Height Width

13-04711 Model 385 2 3/8" outside; 2" inside 2" outside; 1 9/16" inside 3 1/8" outside; 2 1/4" inside

www.atrobushing.com 800-325-6114 186

http://www.atrobushing.com


Peterbilt
Under Hood

HM75-66154 Hood Mount

OEM Part# Application Large OD Small OD Misc. Dimensions

13-04154 Model 379 1 3/4" 1 3/16" Thickness: 7/16"; Accepts 1/2" diameter Bolt

HM75-66164 Hood Mount

OEM Part# OD Length Height Width Misc. Dimensions

13-04164 1 3/16" 2" 7/16" 2 1/4" Accepts 1/2" diameter Bolt

HM75-66165 Hood Mount Kit
Contains: (3) HM75-66154, (1) HM75-66164  Note: Reuse existing hardware 

Bushing

OEM Part# Misc. Dimensions A B Qty per Vehicle

13-04154 single mount Bolt Size: 1/2" HM75-66154 HM75-66164 2

13-04164 single mount Bolt Size: 1/2" HM75-66154 HM75-66164 2

KT75-61257 Cab/Sleeper Mount Kit

Contains: (2) CM75-61257, (2) Flat Washers, (1) Nut, (1) Inner Sleeve, (1) Bolt 

OEM Part# Application ID OD Large OD Height

20-08257 mount Models (Unibilt) 357; 365; 378;
379; 385; 389

21/32" (bushing) 1 13/16" (nipple) 3" (bushing) 1 1/8" (bushing)

20-08867 sleeve Models (Unibilt) 357; 365; 378;
379; 385; 389

21/32" (bushing) 1 13/16" (nipple) 3" (bushing) 1 1/8" (bushing)

MM00-62000 Motor Mount Kit, Front
Contains: (2) Motor Mounts, (1) Spacer Sleeve 

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

SSB33-1000-2 3/4" Bolt 3" Thickness: 13/16" 2

MM59-62407 Motor Mount Kit (Front)
Contains: (2) Upper Mounts, (2) Lower Mounts 
Note: Same dimensions as KT59-62002 but different material; see application guide below.

OEM Part# ID Large OD Small OD Height

K066-405 13/16" 3 1/4" 2" 1 3/16" (upper); 1/2" (lower)

K066-407 13/16" 3 1/4" 2" 1 3/16" (upper); 1/2" (lower)

K066-423 13/16" 3 1/4" 2" 1 3/16" (upper); 1/2" (lower)

FAX: 866-920-2005 customerservice@atrobushing.com 187

mailto:customerservice@atrobushing.com


Peterbilt
Under Hood

MM59-62407-HW Motor Mount Kit (Front) w/ Hardware
Contains: (2) Upper Mounts, (2) Lower Mounts, (2) Bolts, (2) Locknuts, (4) Flat Washers  
Note:  For "High Temperature" version see KT59-62003-HT, Same dimensions as KT59-62002-HW but different material; 
see application guide below.

OEM Part#

K066-405 no hardware

K066-407 no hardware

K066-423 no hardware

MM75-62370 Motor Mount, Rear

Contains: (1) Upper Mount, (1) Lower Mount, (1) Inner Sleeve 

OEM Part# Application Large OD Misc. Dimensions Qty per Vehicle

CB2203-70 Model 379 w/CAT C15 & C11 Engines 2 9/16" Sleeve ID: 3/4"; Washer ID: 3/4" 4

MM75-62370-HT Motor Mount, Rear (High Temp)
Contains: (1) Upper Mount, (1) Lower Mount, (1) Inner Sleeve  
Note: High Temperature

OEM Part# Application Large OD Misc. Dimensions Qty per Vehicle

CB2203-70 Model 379 w/CAT C15 & C11 Engines 2 9/16" Sleeve ID: 3/4"; Washer ID: 3/4" 4

MM75-62372 Motor Mount, Rear

Contains: (1) Upper Mount, (1) Lower Mount 

OEM Part# Application Large
OD

Small
OD

Length Misc. Dimensions Qty per
Vehicle

07-08003-003
radiator support

Models: 387 2 9/16" 1 1/2" 2 9/16" Sleeve ID: 5/8"; Washer ID: 3/4" 4

CB2203-72 Models: 379 w/CAT; 320 w/Cummins 2 9/16" 1 1/2" 2 9/16" Sleeve ID: 5/8"; Washer ID: 3/4" 4

MR1001 Models: 379 w/CAT; 320 w/Cummins 2 9/16" 1 1/2" 2 9/16" Sleeve ID: 5/8"; Washer ID: 3/4" 4

MM75-62372-HT Motor Mount, Rear (High Temp)

Contains: (1) Upper Mount, (1) Lower Mount  
Notes:  High Temperature Mount 

OEM Part# Application Large
OD

Small
OD

Length Misc. Dimensions Qty per
Vehicle

CB2203-72 Models: 379 w/CAT; 320 w/Cummins 2 9/16" 1 1/2" 2 9/16" Sleeve ID: 5/8"; Washer ID: 3/4" 4

MR1001 Models: 379 w/CAT; 320 w/Cummins 2 9/16" 1 1/2" 2 9/16" Sleeve ID: 5/8"; Washer ID: 3/4" 4

MM75-62377 Motor Mount

Contains: (1) Upper Mount, (1) Lower Mount 

OEM Part# Application Large OD Small OD Length Misc. Dimensions

CB2203-77 Older cabover engine models; 320 series 2 9/16" 1 1/2" 2 9/16" Sleeve ID: 5/8"; Washer ID: 3/4"

CB2203-78 Older cabover engine models; 320 series 2 9/16" 1 1/2" 2 9/16" Sleeve ID: 5/8"; Washer ID: 3/4"

www.atrobushing.com 800-325-6114 188

http://www.atrobushing.com


Peterbilt
Under Hood

MM75-62597 Motor Mount Kit (Front)
Contains: (2) MM00-62970 Bushings, (1) Spacer Sleeve 

Bushing

OEM Part# Application ID OD Length Misc. Dimensions A B

05-17597 320 Series 1/2" 2 5/8" Spacer: 1 13/16" Thickness: 13/16" MM00-62970 MM00-62970

MM75-62748 Motor Mount

OEM Part# Application Length Height Width

05-00748 Peterbilt model 379 w/CAT engine 8 1/8" 9/16" 7/8

MS75-65904 Bump Stop

OEM Part# Length Height Width

02-02904 2 3/4" 1 11/16" 1 9/16"

PL1009 Cab/Motor Mount

OEM Part# Application ID Large OD Small OD Length

05-14794 Motor Mount 5/8" 3" 1 13/16" 2 7/16"

PL1010 Hood Hinge Bushing

OEM Part# ID Large OD Small OD Length

M300-70NR 1/2" 1 13/16" 1 3/16" 1 3/8"

PL1013 Motor Mount

OEM Part# ID Large OD Small OD Length

05-08969 13/16" 3 3/4" 2 1/16" 2 5/8"

05-10103 13/16" 3 3/4" 2 1/16" 2 5/8"

FAX: 866-920-2005 customerservice@atrobushing.com 189

mailto:customerservice@atrobushing.com


Peterbilt
Under Hood

PL1013-HT Motor Mount (High Temp)

Note: High Temperature 

OEM Part# ID Large OD Small OD Length

05-08969 13/16" 3 3/4" 2 1/16" 2 5/8"

05-10103 13/16" 3 3/4" 2 1/16" 2 5/8"

PL1015 Radiator/Motor Mount

OEM Part# Application ID Large OD Small OD Length

07-03286 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

PL1015-HT Radiator/Motor Mount (High Temp)

Note: High Temperature 

OEM Part# Application ID Large OD Small OD Length

07-03286 Radiator Mount 5/8" 3" 1 13/16" 1 3/16"

PL1018 Motor Mount

OEM Part# ID Large OD Small OD Length

05-10197 13/16" 2 3/4" 1 5/8" 2 3/8"

PL1018-HT Motor Mount (High Temp)

Notes:  High Temperature Mount 

OEM Part# ID Large OD Small OD Length

05-10197 13/16" 2 3/4" 1 5/8" 2 3/8"

PL1062 Hood Roller

OEM Part# ID OD Length

13-04391 11/16" 1 1/8" 1 1/2"

www.atrobushing.com 800-325-6114 190

http://www.atrobushing.com


Peterbilt
Under Hood

PL1068 Cab Mount

OEM Part# ID OD Length

J5950 1 5/16" 2 1/8" 2 1/4"

PL1069 Hood Roller

OEM Part# ID OD Length

13-03439 11/16" 2" 1 1/2"

PL1070 Motor Mount

OEM Part# ID Large OD Small OD Length

05-08968 5/8" 2 1/2" 1 1/2" 2"

PL1070-HT Motor Mount (High Temp)

Notes:  High Temperature Mount 

OEM Part# ID Large OD Small OD Length

05-08968 5/8" 2 1/2" 1 1/2" 2"

PL1071 Hood Hinge Bushing

OEM Part# Length Height Width

13-03318 1 7/8" 1 1/4" 1 3/8"

PL1072 Hood Pin

OEM Part# OD Length Misc. Dimensions

13-01840 2 1/2" 6 1/2" Thread: 5/8"-18

FAX: 866-920-2005 customerservice@atrobushing.com 191

mailto:customerservice@atrobushing.com


Peterbilt
Under Hood

PL1074 Hood Hinge Bushing

OEM Part# ID OD Length

13-03440 11/16" 1 1/4" 1 3/8"

PL1077 Radiator Mount

OEM Part# ID Large OD Small OD Length

13-01633 3/8" 1 1/8" 7/8" 1"

PL1111 Motor Mount, Front

OEM Part# ID Large OD Small OD Length Qty per Vehicle

05-16919 13/16" 3 5/8" 2 1/8" 2 7/16" 2

PL1112 Motor Mount

OEM Part# ID Large OD Length

05-18263 3/4" 2 9/16" 2 1/2"

CB2203-2 3/4" 2 9/16" 2 1/2"

PL1120 Motor Mount

OEM Part# ID OD Length

05-17224 11/16" 2 7/16" 5/8"

PL1126 Radiator Bushing

OEM Part# Large OD Small OD Length

07-02552 1 3/16" 1 1/16" 3/4"

www.atrobushing.com 800-325-6114 192

http://www.atrobushing.com


Peterbilt
Under Hood

PL1126-HT Radiator Bushing (High Temp)

Notes: High Temperature  

OEM Part# Large OD Small OD Length

07-02252 1 3/16" 1 1/16" 3/4"

07-02552 1 3/16" 1 1/16" 3/4"

PL1127 Motor Mount

OEM Part# ID Large OD Small OD Length

05-17225 11/16" 2 3/8" 1 5/8" 1 5/16"

RM75-63861 Radiator Mount

OEM Part# Application ID Large OD Small OD

07-05861 Models 357; 377-379; 385 all engines 1/2" 2" 1 5/16"

TH75-69000 Lateral Control Sleeper Rod Bushing

OEM Part# Application ID Large OD Small OD Length

29-05704 fits in this rod Model 387 with sleeper cab 5/8" 1 3/4" 1 3/8" 2"

TH75-69000-HT Lateral Control Sleeper Rod Bushing-High Temp

OEM Part# Application ID Large OD Small OD Length

29-05704 fits in this rod Model 387 with sleeper cab 5/8" 1 3/4" 1 3/8" 2"

TH75-69002 Sleeper Rod Bushing Kit
Contains: (2) TH75-69000 Bushings 

Bushing

OEM Part# Application ID Large OD Small OD Length A B

29-05704 fits in this rod Model 387 with sleeper cab 5/8" 1 3/4" 1 3/8" 2" TH75-69000 TH75-69000

FAX: 866-920-2005 customerservice@atrobushing.com 193

mailto:customerservice@atrobushing.com


Peterbilt
Other

CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

210661-1X 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

CB2106611XSA 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c
Bolt Size: 1/2"

FW51-32731 5th Wheel Kit

Contains: (2) PL1006 Bushings, (2) Foot Pins, (2) Bolts, (2) Flanged Locknuts 
Note: Available Summer 2017

OEM Part# Qty per Vehicle

RK069731 1

HL00-64001 Hood Latch

OEM Part# Application Length

L56-0001 Model 379 8 3/4"

HL59-64107 Hood Latch

OEM Part# Length

K147-107 5 1/2"

MS99-63399 Shifter Isolator Bushing Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut

OEM Part# ID OD Length Install Tool

FULK3399 .84" 1 1/2" 2.3" PT99-63399

PL1025 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

- 3/4" 1 9/16" 1 7/16" 7/8" 8

PL1025-HT Shock Bushing (High Temp)
Notes:  High Temperature Bushing 

OEM Part# ID Large OD Small OD Length

- 3/4" 1 9/16" 1 7/16" 7/8"

www.atrobushing.com 800-325-6114 194

http://www.atrobushing.com


Peterbilt
Other

PL1026 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

02-00377 1 1/16" 1 7/8" 1 1/2" 1" 8

PL1026-HT Shock Bushing (High Temp)

Note: High Temperature Bushing 

OEM Part# ID Large OD Small OD Length Qty per Vehicle

02-00377 1 1/16" 1 7/8" 1 1/2" 1" Varies

PL1028 Shock Bushing

OEM Part# ID Large OD Small OD Length

03-04627 11/16" 1 13/16" 1" 1 1/16"

COM266 11/16" 1 13/16" 1" 1 1/16"

Premier
Other

PL1079 Drawbar Eye Bushing

OEM Part# Application ID OD Length

437 435 Front End Assembly; 536 Housing w/207S; 307S; 405S & 410S
Swivel Eyes

2" 4 1/4" 4 1/2"

437A 435 Front End Assembly; 536 Housing w/207S; 307S; 405S & 410S
Swivel Eyes

2" 4 1/4" 4 1/2"

PL1080 Drawbar Eye Bushing

OEM Part# Application ID OD Length

P205 546 Housing w/207SE; 307SE; 405SE; 407SE & 410SE Swivel Eyes 2 1/16" 4 3/4" 5 3/16"

P205A 546 Housing w/207SE; 307SE; 405SE; 407SE & 410SE Swivel Eyes 2 1/16" 4 3/4" 5 3/16"

PL1081 Hinge Bushing

OEM Part# Application ID OD Length

434 430 Hinge Assembly 2 1/2" 4 1/4" 5"

434B 430 Hinge Assembly 2 1/2" 4 1/4" 5"

FAX: 866-920-2005 customerservice@atrobushing.com 195

mailto:customerservice@atrobushing.com


Premier
Other

PL1019 Hinge Bushing

OEM Part# Application OD Length Misc. Dimensions

344 320-330 Hinge Assembly 3 1/2" 4 1/2" ID is tapered from 1 9/16" to 1 7/8"

344A 320-330 Hinge Assembly 3 1/2" 4 1/2" ID is tapered from 1 9/16" to 1 7/8"

PL1020 Hinge Bushing

OEM Part# Application ID OD Length

448 440-450 Hinge Assembly 2" 3 7/16" 1 13/16"

448A 440-450 Hinge Assembly 2" 3 7/16" 1 13/16"

PL1021 Drawbar Eye Bushing

OEM Part# Application ID OD Length

348 340S/340SA & 640S/640SA
Front End Assemblies

2" 3 1/2" 3 5/8"

348A 340S/340SA & 640S/640SA
Front End Assemblies

2" 3 1/2" 3 5/8"

SC99-36437 Hinge Bushing (set of 2)

OEM Part# Application ID OD Length

437AK 536 Housing w/207K & 307K
Swivel Eyes

2 1/4" 4 1/4" 4 1/2"

Raydan
Suspension

CB38012 Center Bushing Kit
Contains: (1) Bushing. (2) TW38000 thrust washers, (1) EP38000 welded end plug 

OEM Part# Large OD Small OD Length Install Tool Qty per Vehicle Misc. Tool

4 3/4" 3 1/2" 12" PT30000 2 Removal: PT30000

EB38000 Beam End Bushing

OEM Part# ID OD Length Install Tool Qty per Vehicle

2 1/2" 4 3/8" 5 3/4" PT40000 4

www.atrobushing.com 800-325-6114 196

http://www.atrobushing.com


Raydan
Suspension

PB99-26071 Lever Pivot Bushing

OEM Part# Application Large OD Small OD Length Qty per Vehicle

20600071 Air Link 460/520 3 5/8" 2 3/4" 10 1/16" 2

RBR Enterprises
Other

MS99-69003 Ladder Bumper

OEM Part# Height Misc. Dimensions

2500393 5/8" Diameter: 1 1/2"; Bolt Size: 3/8"

MS99-69004 Frame Bumper

OEM Part# Height Misc. Dimensions

5183017 1 5/8" Dia: 3 7/8"; Mounting Plate: 5" x 5"; Bolt Hole: 3/8";Bolt Holes: 3 15/16"

Reliance
Other

PL1182 Dock Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

360A 5" 2 5/8" 3 1/2" Small Width: 2 5/8" 2

Reyco
Suspension

EB38700 Cylinder Pivot Bushing

OEM Part# ID Large OD Small OD Length

1 5/8" 3 1/2" 2 3/4" 4 3/8"

EQ83-11000 Equalizer Bushing

Note: See SK83-31000 for complete kit 

OEM Part# Application ID Large OD Small OD Length

T-5524 21B Trailer Suspension 1 5/8" 3 1/2" 2 3/4" 4 3/8"

FAX: 866-920-2005 customerservice@atrobushing.com 197

mailto:customerservice@atrobushing.com


Reyco
Suspension

EQ83-35000 Equalizer Beam w/Bushing
Contains: (1) Equalizer Beam w/EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut, (2) 5/8" Bolt, (2) 5/8" 
Locknuts, (2) Spacer Sleeves 

OEM Part# Application Length Misc. Dimensions Bushing A

0650-00 no hardware Model 86/88/89 Four Spring 16 1/2" Bolt Hole: 1" EQ83-35902

EQ83-35850 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Equalizer Beam, (1) EQ83-35902 Bushing 

OEM Part# Length Misc. Dimensions Bushing A Qty per Vehicle

0850-00 16 1/2" Bolt Hole: 1" EQ83-35902 2

EQ83-35855 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Equalizer Beam, (1) EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut, (2) 5/8" Bolt, (2) 
5/8" Locknuts, (2) Spacer Sleeves 

OEM Part# Length Misc. Dimensions Bushing A Qty per Vehicle

0741-00 rebound bolt assembly 16 1/2" Bolt Hole: 1" EQ83-35902 2

0850-00 beam w/bushing 16 1/2" Bolt Hole: 1" EQ83-35902 2

EQ83-35902 Equalizer Bushing

OEM Part# Application ID OD Length

0649-02 Model 86/88/89 Four Spring 1" 3 5/16" 4"

EQ83-35904 Equalizer Bushing Kit
Contains: (1) EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut 

OEM Part# Application ID OD Length Bushing A

K0649-04 Model 86/88/89 Four Spring 1" 3 5/16" 4" EQ83-35902

PB83-22723 Torque Rod Bushing, Eccentric

OEM Part# Application ID Large OD Small OD Length

T1723 Model 101/101A/201 1 1/16" 3" 1 13/16" 2 7/8"

PL1148 Equalizer Bushing

OEM Part# Application ID OD Length

08363-01 Models 101/101A/102/102W/201 (1984-) 1 1/2" 3 1/8" 4 1/2"

14713-01 Models 101/101A/102/102W/201 (1984-) 1 1/2" 3 1/8" 4 1/2"

www.atrobushing.com 800-325-6114 198

http://www.atrobushing.com


Reyco
Suspension

PL1177 Equalizer Bushing

OEM Part# Application ID OD Length

T-2102 Model 21 Tandem Four Spring Trailer; Model
21B Cast/Widespread

2 1/2" 4 1/8" 2 1/2"

SK83-31000 Equalizer Bushing Kit
Contains: (2) EQ83-11000, (1) Equalizer Shaft, (2) Equalizer Washers, (2) Lock Washers, (2) Bolts 

OEM Part# Application ID OD Length

T-5524 21B Trailer Suspension 1 1/2" 3 1/8" 4 7/16"

TK18998 21B Trailer Suspension 1 1/2" 3 1/8" 4 7/16"

Torque Rod
PL1115 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length Misc. Dimensions

T-2242 102CC Single Axle; Model 102 Tractor
Four Spring

1 1/16" 2 5/16" 1 13/16" 2 11/16" For 1" bolt

PL1116 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

T-5493 21AR Single/Tandem Air; Model 45 Tandem
Four Spring Trailer

1" 2 5/16" 1 13/16" 3"

PL1117 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

T-1842 102AR Single/Tandem Tractor; Air Hanger End 1 1/16" 3 1/16" 1 13/16" 2 15/16"

PL1118 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance;  Outer rims added to retain bushing in rod; For 1-piece 
design see UB30000 

OEM Part# Application ID Large OD Small OD Length

09729-01 Multiple applications 7/8" 2 5/16" 1 3/4" 3 1/8"

FAX: 866-920-2005 customerservice@atrobushing.com 199

mailto:customerservice@atrobushing.com


Reyco
Torque Rod

TH83-22089 Torque Rod Bushing Kit
Contains: (2) PL1115, (1) Bolt, (2) Washers, (1) Locknut 

OEM Part# Application Qty per Vehicle

TK19089 Model 102CC 2

TH83-22302 Torque Rod Bushing Kit
Contains: (1) PL1118, (1) Bolt, (1) Nut 

OEM Part# Application

TK7302 31/41; Model 45; 79KB; 83; 101A; 102W; 102AR; 102CC; 201; 240AR

TH83-37022 Torque Rod Bushing Kit
Contains: (1) PL1118, (1) Bolt, (1) Nut 

OEM Part# Application

0022-01 Model 86/88 Heavy Weight/Super Heavy Weight Trailer Suspension

TH83-37238 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

21238-01 Models 102/102W/102AR/102CC/240A 1" 3.19" 1.82" 2.64"

T1842 Models 102/102W/102AR/102CC/240A 1" 3.19" 1.82" 2.64"

TH83-37640 Torque Rod Bushing Kit
Contains: (2) TH83-37238, (2) Washers, (1) Bolt, (1) Nut 

OEM Part# Application

TK21640 Models 102/102W/102AR/102CC/240A

TH83-37997 Torque Rod Bushing Kit

Contains: (2) PL1116, (2) Washers, (1) Bolt, (1) Nut 

OEM Part# Application

TK18997 21/B/21B-FAB; 21AR; Model 45; Trailer Suspension

TR83-41201 Torque Rod, Small Eye
Bushing

OEM Part# Application Length A B

1976201 79KB 19 3/8" c-c TH00-22500 TH00-22500

www.atrobushing.com 800-325-6114 200

http://www.atrobushing.com


Reyco
Torque Rod

TR83-41520 Torque Rod, Fixed Length

Note: Bushings NOT sold separately

Bushing

OEM Part# Application Length Misc. Dimensions A B

0075-20 86/88/89 Four Spring 19 7/8" c-c Bushing ID: 7/8" Bushing Length: 3" TH83-13000 TH83-13000

TR83-45520 Torque Rod, Adjustable

Note: Bushings NOT sold separately 

Bushing

OEM Part# Application Length Misc. Dimensions A B

1035-20 Model 86/88/89; 86AR 19 7/8" c-c (Adjustable
18 1/4"-21 1/2" c-c)

Bolt Size: 7/8" TH83-13000 TH83-13000

UB30000 Torque Rod Bushing

Note: 1-piece design, For 2-piece design see PL1118 

OEM Part# Application ID OD Length

09729-01 Multiple applications 7/8" 1 3/4" 3"

Ridewell
Suspension

AK38200 Beam End Adapter Kit
Contains: (1) Spacer, (2) End Caps, (1) Bolt, (1) Locknut, (2) Washers 

OEM Part# Application Misc. Dimensions Qty per Vehicle

1307564B000 RD202B; C; S Bolt: 1" 4

CB34012 Center Bushing Kit
Contains: (1) Bushing, (2) TW34000 thrust washers, (1) EP34000 welded end plug 

OEM Part# Large OD Small OD Length Install Tool Qty per Vehicle

1117558B000 3 5/8" 2 3/4" 12" PT60000 2

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

1117564B001 RD202B; C; S 2 1/2" 4 3/8" 5 3/4" PT40000 4

FAX: 866-920-2005 customerservice@atrobushing.com 201

mailto:customerservice@atrobushing.com


Ridewell
Suspension

FA96452 Torque Arm Bushing

OEM Part# ID OD Length

- 7/8" 2 1/2" 2 1/2"

PB85-36029 Mono-Pivot Bushing Kit
Contains: (2) PB85-360B0 Pivot Bushings, (2) Eccentric Bolts, (2) Anti-turn Washers, (2) Securelok® Nuts, (4) 
Bearing Washers, (4) Clamp Bolts, (4) Flat Washers, (4) Locknuts 

OEM Part# Application Bushing A Qty per Vehicle

6040029 RAR240 Overslung/RAR240 Underslung PB85-360B0 2/axle

PB85-360B0 Pivot Bushing

OEM Part# Application ID OD Length

1117680B060 RAR240 Overslung & Underslung 1 1/2" 5 1/2" 6 3/4"

1117680B070 RAR240 Overslung & Underslung 1 1/2" 5 1/2" 6 3/4"

1117680B075 RAR240 Overslung & Underslung 1 1/2" 5 1/2" 6 3/4"

RS20200 Suspension Rebuild Kit
Contains: (4) RS20220, (4) RS20222, (2) RS20210, (4) AK38200, (4) EB38000, (4) RS20230, (1) Loctite 680, (40) 
Spring Fasteners 
Notes: Machining work required to install center bushing kit  

OEM Part# Application

RD202B Dynalastic

RD202C Dynalastic

RS20201 Suspension Rebuild Kit
Contains: (4) RS20220, (4) RS20222, (2) CB38012, (4) AK38200, (4) EB38000, (4) RS20230, (40) Spring 
Fasteners 

OEM Part# Application

RD202S Dynalastic

RS20210 Center Bushing Kit
Contains: (1) RS20212, (1) RS20214, (1) RS20216  
Notes: Machining work required to install center bushing kit  

OEM Part# Application

1100608B000 RD202B/C

5900582B585 RD202B/C

RS20212 Trunnion Sleeve
Notes: Machining work required to install center bushing kit  

OEM Part# Application

RD202B/C Center Bushing Assembly

www.atrobushing.com 800-325-6114 202

http://www.atrobushing.com


Ridewell
Suspension

RS20214 Center Sleeve
Notes: Machining work required to install center bushing kit 

OEM Part# Application

RD202B/C Center Bushing Assembly

RS20216 Center Bushing
Notes: Machining work required to install center bushing kit 

OEM Part# Application

RD202B/C Center Bushing Assembly

RS20220 Spring Pad
Notes: Double bolt hole pattern 

OEM Part# Application Length Height Width

1037326D003 RD202B/C/S 10" 7" 4"

9030595D000 RD202B/C/S 10" 7" 4"

9031797D000 RD202B/C/S 10" 7" 4"

RS20222 Overload Spring

OEM Part# Application Length Height Width

1037261C001 RD202B/C/S 4 1/2" 3 1/2" 4"

1037261C002 RD202B/C/S 4 1/2" 3 1/2" 4"

9031221B302 RD202B/C/S 4 1/2" 3 1/2" 4"

9031221B303 RD202B/C/S 4 1/2" 3 1/2" 4"

RS20230 Swing Arm Bushing
Notes: RS20230 design incorporates an outer sleeve; Machine work is required to install 

OEM Part# Application ID OD Length

1110512B000 RD202B/C/S 1 1/2" 3 1/8" 4 7/16"

Torque Rod
PB85-36023 Torque Rod Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

1120023 1 5/16" 2 1/2" 2 1/32" 1 13/16" 2/rod end

FAX: 866-920-2005 customerservice@atrobushing.com 203

mailto:customerservice@atrobushing.com


Rimpull
Suspension

CB90000 Center Bushing Kit
Contains: (1) Bushing. (2) TW85000 Thrust Washers, (1) EP85000 Welded End Plug 
Notes: Offset inner sleeve  

OEM Part# Large OD Small OD Length Qty per Vehicle

8 7/16" 6 15/16" 27 1/8" 2

EB90000 Beam End Bushing

OEM Part# ID OD Length

6 3/4" 11 1/4" 10"

Rockwell
Suspension

PL1005 Spring Pad

OEM Part# Length Height Width Qty per Vehicle

303582 7 9/16" 1" 4 5/8" 4

Torque Rod
RW51000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

A-2297-K-1051 4 1/8" 5 1/4" Bolt Hole: 15/16" PT85-51000

RW52000 Torque Rod Bushing

OEM Part# Application OD Length Misc. Dimensions Install Tool

A-2297-X-3664 Tandem Suspension 4 1/8" 5 1/4" Bolt Hole: 1" PT85-51000

RW53000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Install Tool

A-2297-K-1052 4 1/8" 4 3/8" Bolt Hole: 11/16" PT85-51000

A-2297-V-4806 4 1/8" 4 3/8" Bolt Hole: 11/16" PT85-51000

www.atrobushing.com 800-325-6114 204

http://www.atrobushing.com


Rockwell
Torque Rod

RW54000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions

A-2297-H-1048 3 5/8" 4 3/8" Bolt Hole: 11/16"

RW55000 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions

A-2297-U-73A 3 1/2" 4 3/8" Bolt Hole: 3/4"

TH83-22089 Torque Rod Bushing Kit
Contains: (2) PL1115, (1) Bolt, (2) Washers, (1) Locknut 

OEM Part# Qty per Vehicle

R301983 2

TH83-37238 Torque Rod Bushing

OEM Part# ID Large OD Small OD Length

R3010057 1" 3.19" 1.82" 2.64"

TH83-37640 Torque Rod Bushing Kit
Contains: (2) TH83-37238, (2) Washers, (1) Bolt, (1) Nut 

OEM Part#

R309350 

TS59-22400 Straddle Bushing (High Articulation)

Note: Bushing does NOT rotate; High Articulation, ONLY use in Kenworth Airglide 200/400/460/690 torque rods 
(K195-474 and K195-472) 

OEM Part# Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

R3010303 Airglide 200/400/460/690 2 3/4" 4 3/8" c-c Bolt Hole: 5/8" PT59-59110 4

FAX: 866-920-2005 customerservice@atrobushing.com 205

mailto:customerservice@atrobushing.com


Scania
Suspension

PB99-26710 Spring Pivot Bushing

OEM Part# Application ID OD Length

1362710 G93/P93/R93; P113/R113; R143; 124-144 6x2; K113 Bus 30 mm 65 mm 122 mm

Silver Eagle
Suspension

PL1082 Spring End Boot (Left)

OEM Part# Application ID

G-34 Trailer Dolly Suspension; Low Profile Trailer 1"

PL1083 Spring End Boot (Right)

OEM Part# Application ID

G-35 Trailer Dolly Suspension; Low Profile Trailer 1"

Other
PL1022 Eye Bushing

OEM Part# ID OD Length

R-205 2 1/2" 4 3/4" 5 3/16"

PL1023 Hinge Bushing

OEM Part# ID OD Length

R-213 2 1/2" 3 3/4" 2 3/16"

PL1129 Shock Bushing

OEM Part# ID Length Height Width

12170 2 1/2" 4 7/16" 4 15/16" 4 1/4"

www.atrobushing.com 800-325-6114 206

http://www.atrobushing.com


Simplex
Other

PL1130 5th Wheel Bushing

OEM Part# Length Height Width

ASF-0329-47 10" 5/16" 3 5/8"

PL1144 5th Wheel Pad

OEM Part# Length Height Width

4100358 10 5/16" 5/8" 3 5/8"

ASF-0358-07 10 5/16" 5/8" 3 5/8"

Spartan Motors
Suspension

HW50-21013 Hardware Kit
Contains: (1) Bolts. (1) Locknuts, (2) Shims, (2) Washers  
Notes: Bolt Kit for EB50-21013  

OEM Part#

3385-DD4-001 bolt kit

Other
MS99-69004 Frame Bumper

OEM Part# Height Misc. Dimensions

3386DD4001 bump stop 1 5/8" Dia: 3 7/8"; Mounting Plate: 5" x 5"; Bolt Hole: 3/8";Bolt Holes: 3 15/16"

Spicer
Other

AW51-34010 Axle Wrap

OEM Part# Length Height Width Qty per Vehicle

L1138 8 3/4" 3/4" 4" 2 per axle

L1338 8 3/4" 3/4" 4" 2 per axle

CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

2106611X 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c Bolt Size: 1/2"

5003323 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8" c-c Bolt Size: 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 207

mailto:customerservice@atrobushing.com


Sterling Truck
Suspension

LP46-24807 Spring Insulator Pad, Lower

Note: Available Summer 2017

OEM Part# Length Height Width Qty per Vehicle

11-20807-00 3 7/8" 2 1/4" 3 7/8" 4

MS50-29791 Auxiliary Shim

OEM Part# Length Width Misc. Dimensions

HDR 60791 000 9 1/2" 4 3/4" Thickness: 1/4"

PB00-26422 Pivot Bushing Kit
Contains: (2) PB00-36314. (1) Inner Sleeve, (1) Bolt  3/4" x 5, (1) Locknut, (2) Washers 

OEM Part# Qty per Vehicle

HDRR005422 2

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  

OEM Part# ID OD Length

NEW 90008139 1 1/8" 3 1/2" 5 1/4"

WCM 10050 1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  

OEM Part# ID OD Length

HLD90008149 1 1/8" 2 13/16" 5"

WCM11223 1 1/8" 2 13/16" 5"

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings, (2) Bolts 9 1/2" 

OEM Part#

HLD 48100202 

PB85-360B0 Pivot Bushing

OEM Part# ID OD Length

1117680B060 1 1/2" 5 1/2" 6 3/4"

1117680B070 1 1/2" 5 1/2" 6 3/4"

www.atrobushing.com 800-325-6114 208

http://www.atrobushing.com


Sterling Truck
Suspension

SP46-11473 Spring Eye Bushing
Contains: (1) Spring Eye Bushing. (2) Polyurethane Washers 

OEM Part# Application ID OD Length Install Tool

16-16473-000 Acterra (3" eye/slipper springs) 3/4" 1 3/4" 3 9/16" PT43-53200

SP46-52050 Spring Eye Bushing

OEM Part# ID OD Length Qty per Vehicle

A6803220050 13/16" 2 1/4" 4 1/4" 6

MBT A6803220050 13/16" 2 1/4" 4 1/4" 6

WP50-29004 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Retaining Brackets, (2) Bolts 

OEM Part# Length Height Width Bushing A

HDR 56557-004 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29005 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Spring Pins 

OEM Part# Length Height Width Bushing A

HDR 56557-005 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29557 Wear Pad Kit
Contains: (1) Slipper Pad. (2) Retaining Plates, (4) Bolts 

OEM Part# Length Height Width Misc. Dimensions

HDR 56557 002 6 7/8" 3" 3" Bolt: 3/8"

WP50-29929 Wear Pad

OEM Part# Length Height Width

HDR 56929000 3 3/4" 1 1/2" 3 3/16"

Torque Rod
TH83-22089 Torque Rod Bushing Kit

Contains: (2) PL1115, (1) Bolt, (2) Washers, (1) Locknut 

OEM Part# Qty per Vehicle

REY TK19089 2

FAX: 866-920-2005 customerservice@atrobushing.com 209

mailto:customerservice@atrobushing.com


Sterling Truck
Torque Rod

TR13-41022 Torque Rod
Bushing

OEM Part# Length A B

IPC 924711 22" c-c TS38000 TT38000

TR46-49002 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-15002-000 TufTrac® 54" axle spacing 40K, front of
rear, rear of rear

23 1/4" c-c TS46-22300 TS46-22300 2

16-15002-001 TufTrac® 54" axle spacing 40K, front of
rear, rear of rear

23 1/4" c-c TS46-22300 TS46-22300 2

TR46-49004 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-15004-000 TufTrac® 60" axle spacing 46-52K, front of
rear, rear of rear

26 3/8" c-c TS46-22300 TS46-22300 2

16-15004-001 TufTrac® 60" axle spacing 46-52K, front of
rear, rear of rear

26 3/8" c-c TS46-22300 TS46-22300 2

TR46-49998 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-14998-000 TufTrac® 56" axle spacing 46-52K, front of
rear, rear of rear

24 7/16"
c-c

TS46-22300 TS46-22300 2

16-14998-001 TufTrac® 56" axle spacing 46-52K, front of
rear, rear of rear

24 7/16"
c-c

TS46-22300 TS46-22300 2

TR59-41375 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

IPC 925030 24" c-c TS38000 TS38000 typically 2

TR99-41428 Torque Rod
Bushing

OEM Part# Length A B

HDR 62001 540 21 1/4" c-c TS38000 TS38000

www.atrobushing.com 800-325-6114 210

http://www.atrobushing.com


Sterling Truck
Torque Rod

TS46-22300 Torque Rod Bushing

Note: Rebushes ATRO Torque Rods ONLY, Does NOT fit in OEM or other aftermarket rods 

Application OD Length Misc. Dimensions Install Tool Qty per Vehicle

TufTrac® 2 3/4" 4 3/8" c-c Bolt Hole: 5/8"; Pin Width: .945" PT59-59100 8

TS50-22649 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

HDR 64400-003L 2 3/4" 5 1/4" c-c Bolt Hole: .91" 4

Under Hood
CM94-61875 Cab Mount (Front)

OEM Part# ID Large OD Small OD Length Qty per Vehicle

LOR CB2204 146 5/8" 3 1/2" 2 1/4" 2 7/8" 2

MM00-62000 Motor Mount Kit, Front
Contains: (2) Motor Mounts, (1) Spacer Sleeve 

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

LOR SSB33 1000 2 3/4" Bolt 3" Thickness: 13/16" 2

MM46-62000 Motor Mount Kit (Rear)
Contains: (2) MM46-62001 (2-Upper & 2-Lower). (2) Bolts, (4) Washers, (2) Locknuts 

OEM Part# Application

BCD 27330 1 upper mount Century Class

BCD 27330 2 Century Class

BCD 28805 1 lower mount Century Class

MM46-62001 Motor Mount Kit (Rear)
Contains: (1) MM46-62301 Upper Mount. (1) MM46-62051 Lower Mount  
Notes: For Complete Kit see MM46-62000  

Bushing

OEM Part# Application ID A B Qty per Vehicle

BCD 27330-1 Century Class 3/4" MM46-62301 MM46-62051 1

BCD 288051 Century Class 3/4" MM46-62301 MM46-62051 1

FAX: 866-920-2005 customerservice@atrobushing.com 211

mailto:customerservice@atrobushing.com


Sterling Truck
Under Hood

MM46-62002 Motor Mount Kit (Front)
Contains: (1) MM46-62651 Upper Mount. (1) MM46-62451 Lower Mount 

Bushing

OEM Part# Application ID Misc. Dimensions A B Qty per Vehicle

BCD 26704-1 lower mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 27651 1 upper mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 27651 2 upper mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 27651 3 upper mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

BCD 28945-1 lower mount Century Class 3/4" Bolt Hole: 4" c-c MM46-62451 MM46-62651 1

MM46-62005 Motor Mount Kit w/Hardware (Front)
Contains: (1) MM46-62451 Motor Mount, Lower, (1) MM46-62651 Motor Mount, Upper, (2) 3/4" Bolts, (2) 3/4" 
Locknuts, (4) 3/4" Flat Washers 

Bushing

OEM Part# Application A B Qty per Vehicle

BCD 26704-1 lower mount Century Class MM46-62451 MM46-62651 1

BCD 27651 1 upper mount Century Class MM46-62451 MM46-62651 1

BCD 27651 2 upper mount Century Class MM46-62451 MM46-62651 1

BCD 27651 3 upper mount Century Class MM46-62451 MM46-62651 1

BCD 28945-1 lower mount Century Class MM46-62451 MM46-62651 1

MM46-62051 Motor Mount, Lower (Rear)
Note: For complete kit see MM46-62000 or MM46-62001 

OEM Part# Application ID

BCD28805 1 Century Class 3/4"

MM46-62301 Motor Mount, Upper (Rear)
Note: For complete kit see MM46-62000 or MM46-62001 

OEM Part# Application ID

BCD27330 1 Columbia & Century Class 1400 lb Max rating 3/4"

MM46-62417 Motor Mount Kit (Rear) w/Hardware
Contains: (1) MM46-62416, (2) 5/8"" Bolts, (2) 5/8"" Locknuts, (2) Washers 

OEM Part# Bushing A Qty per Vehicle

J20941-6 MM46-62416 2

J20941-7 MM46-62416 2

MM46-62418 Motor Mount Kit (Rear) w/Hardware
Contains: (2) MM46-62417 

OEM Part# Bushing A Qty per Vehicle

J20941-6 MM46-62417 1

J20941-7 MM46-62417 1

www.atrobushing.com 800-325-6114 212

http://www.atrobushing.com


Sterling Truck
Under Hood

MM46-62451 Motor Mount, Lower (Front)
Note: For complete kit see MM46-62002 

OEM Part# Application ID Length Width Misc. Dimensions

BCD 26704-01 Century Class 3/4" 6 1/2" 2 1/2" Thickness: 9/16"; Bolt Holes: 4" c-c

BCD 28945-1 Century Class 3/4" 6 1/2" 2 1/2" Thickness: 9/16"; Bolt Holes: 4" c-c

MM46-62651 Motor Mount, Upper (Front)
Note: For complete kit see MM46-62002 

OEM Part# Application ID Length Width Misc. Dimensions

BCD 27651 1 Century Class 3/4" 7 1/8" 3 1/8" Thickness: 3/4"; Bolt Holes: 4" c-c

BCD 27651 2 Century Class 3/4" 7 1/8" 3 1/8" Thickness: 3/4"; Bolt Holes: 4" c-c

BCD 27651 3 Century Class 3/4" 7 1/8" 3 1/8" Thickness: 3/4"; Bolt Holes: 4" c-c

MM96-62401 Motor Mount

OEM Part# ID Large OD Small OD Height

HUN 12004 3401 5/8" 3" 1 27/32" 1 3/16"

MM96-62401-HT Motor Mount (High Temp)

OEM Part# ID Large OD Small OD Height

HUN 12004 3401 5/8" 3" 1 27/32" 1 3/16"

MS46-66791 Mount

OEM Part# ID OD Misc. Dimensions

LOR J19791 1 1.35" 3.94" Thickness: .88"

RM46-63359 Radiator Isolator

OEM Part# Length Width Misc. Dimensions

LOR SM10359 3 3/4" 1 5/8" Thickness: 1 5/8"; Bolts: 3/8"

MBT 6805040382 3 3/4" 1 5/8" Thickness: 1 5/8"; Bolts: 3/8"

RM46-63471 Radiator Isolator

OEM Part# Length Width Misc. Dimensions

BCD 28847 1 3 3/4" 3 5/8" Thickness: 1 3/16"; Bolts: 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 213

mailto:customerservice@atrobushing.com


Sterling Truck
Other

BP99-65000 Trailer Door Bumper

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

FTG 022 01085 1 7/8" 1 5/8" Bolt: 1/2" 2

FW51-32011 5th Wheel Bushing

OEM Part# ID OD Length

HLD XB 0011 1 1/8" 2" 4 1/4"

FW99-32109 5th Wheel Bushing (set of 2)

OEM Part# ID Length Qty per Vehicle

FON BSH 109 L 1 1/4" 2 3/4" 1

FW99-32172 5th Wheel Bushing (set of 2)

OEM Part# ID Length Qty per Vehicle

FON BSH 172U L 1 1/4" 2 3/8" 1

FW99-32175 5th Wheel Bushing Kit
Contains: (2) FW99-32109 Lower Bushings, (2) FW99-32172 Upper Bushings 

Bushing

OEM Part# A B

FON BSH 109 L FW99-32109 FW99-32172

FON BSH 172U L FW99-32109 FW99-32172

FW99-32605 5th Wheel Bushing

OEM Part# ID Large OD Small OD Length

HLD-XB10605 1 3/16" 3 7/8" 2 7/16" 2 1/16"

MS99-62620 APU Mount
Contains: (1) Upper Mount, (1) Lower Mount 

OEM Part# Application Large OD Small OD Length Misc. Dimensions

LOR CB2202-12 Tri-Pac APU 1 7/8" 1 9/32" 1 5/16" Bolt Size: 1/2"

www.atrobushing.com 800-325-6114 214

http://www.atrobushing.com


Stoughton
Suspension

EQ53-35001 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Beam w/EQ53-35146 Bushing, (1) 1 1/8" Bolt, (1) 1 1/8" Locknut, (2) Flat Washers, (2) 5/8" 
Bolts, (2) 5/8" Locknuts, (2) Spacer Sleeves 

OEM Part# Length Misc. Dimensions Bushing A

H16290-01 16 1/2" Bolt Hole: 1 1/8" EQ53-35146

H17784-01 no hardware 16 1/2" Bolt Hole: 1 1/8" EQ53-35146

EQ53-35701 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Beam w/Bushing, (1) EQ53-35701, (2) 5/8" Bolts, (2) Locknuts, (2) Spacer Sleeves 

OEM Part# Length Misc. Dimensions

H19137-01 no hardware 16 1/2" Bolt Hole: 3/4"; Bolt Holes: 1 3/8" c-c

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  

OEM Part# ID OD Length

NW900-08-139 1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  

OEM Part# ID OD Length

NW900-08-149 1 1/8" 2 13/16" 5"

PB85-36029 Mono-Pivot Bushing Kit
Contains: (2) PB85-360B0 Pivot Bushings, (2) Eccentric Bolts, (2) Anti-turn Washers, (2) Securelok® Nuts, (4) 
Bearing Washers, (4) Clamp Bolts, (4) Flat Washers, (4) Locknuts 

OEM Part# Bushing A Qty per Vehicle

RI6040029 PB85-360B0 2/axle

SU99-39115 Control Arm Bushing Kit
Contains: (2) PB00-36314 Flange Bushings, (1) Inner Sleeve  
Note: 2 Piece Design 

Bushing

OEM Part# A B

RWKIT1126 PB00-36314 PB00-36314

FAX: 866-920-2005 customerservice@atrobushing.com 215

mailto:customerservice@atrobushing.com


Stoughton
Other

BP89-65100 Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

04-86997-001-00 5 7/8" 3 1/8" 2 15/16" Bolt Hole: 1/2" Bolt Holes: 3" c-c 2

BP89-65300 Trailer/Dock Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

7 1/2" 3.725" 5 1/2" Bolt Hole Length: 5 3/8" c-c;  Bolt Hole Width: 3" c-c 2

FW51-32011 5th Wheel Bushing

OEM Part# ID OD Length

HHXB-0011 1 1/8" 2" 4 1/4"

MS99-65038 Trailer Bumper

OEM Part# Application Length Height Width Misc. Dimensions Qty per Vehicle

04-85104-PLY-00 multiple applications 6"; 3" c-c 3 1/2" 3" Accepts 1/2" Bolt 2

MS99-65341 Dock Bumper

OEM Part# Application Length Height Width Misc. Dimensions Qty per Vehicle

04-85341-000-00 Loading docks; multiple
applications

7 3/8" 3 7/8" 5 1/2" Hole Pattern: 3" x 5 1/4" 2

04-85341-PLY-00 Loading docks; multiple
applications

7 3/8" 3 7/8" 5 1/2" Hole Pattern: 3" x 5 1/4" 2

PB99-36201 Pivot Bushing Kit

Contains: (1) PB99-36522 Bushing, (2) Polymer Shims, (1) Bolt, (1) Flat Washer, (1) Nut 
Note: Available Summer 2017

OEM Part# Qty per Vehicle

RWKIT11201 2 per axle

www.atrobushing.com 800-325-6114 216

http://www.atrobushing.com


Terex Advance Mixer
Torque Rod

TR99-41149 Torque Rod
Bushing

OEM Part# Length A B

17149 24" c-c TS38000 TT34038

TR99-41388 Torque Rod
Bushing

OEM Part# Length A B

19388 20" c-c TS38000 TT34038

TR99-41428 Torque Rod
Bushing

OEM Part# Length A B

19428 21 1/4" c-c TS38000 TS38000

Thermo King
Other

MS99-39159 Vibration Mount

OEM Part# ID OD Misc. Dimensions

91-2618 5/8" 2 1/4" Short Length: 1";  Long Length: 1 1/2"

91-4159 5/8" 2 1/4" Short Length: 1";  Long Length: 1 1/2"

MS99-39709 Vibration Mount

OEM Part# OD Length Misc. Dimensions

91-1404 2 1/2" 2.1" Bolt ID: 5/8"

91-2578 2 1/2" 2.1" Bolt ID: 5/8"

91-7709 2 1/2" 2.1" Bolt ID: 5/8"

MS99-62620 APU Mount
Contains: (1) Upper Mount, (1) Lower Mount 

OEM Part# Application Large OD Small OD Length Misc. Dimensions

92-7620 Tri-Pac APU 1 7/8" 1 9/32" 1 5/16" Bolt Size: 1/2"

928893 1 7/8" 1 9/32" 1 5/16" Bolt Size: 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 217

mailto:customerservice@atrobushing.com


Thomas Built
Suspension

SK88-10200 Spring Eye Bushing Kit
Contains: (2) SP00-52400 Bushings. (2) Bolts, (2) Washers, (2) Locknuts  
Notes: Rear of front  

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

61300221 MVP; EF Transit 2nd Design 13/16" 1 13/16" 3 1/2" PT91000 2

61370672 MVP; EF Transit 2nd Design 13/16" 1 13/16" 3 1/2" PT91000 2

SP00-52400 Spring Eye Bushing
Notes: Rear of front; Front of front  

OEM Part# Application ID OD Misc. Dimensions Install Tool Qty per Vehicle

61300221 MVP; EF Transit 2nd Desing 13/16" 1 13/16" Sleeve Length: 3 1/2" PT91000 6

Toyota
Suspension

SP90-19021 Spring Eye Bushing

OEM Part# Application Large OD Small OD Length Misc. Dimensions

90385-18021 FJ40 Landcruiser Platform 1.97" 1.56" 1.875" Flange Length: .43"

SP90-19022 Spring Eye Bushing

OEM Part# Application Large OD Small OD Length Misc. Dimensions

90385-18022 FJ40 Landcruiser Platform 1.95" 1.56" 2.12" Flange Length: .36"

Trailmobile
Suspension

EQ53-35001 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Beam w/EQ53-35146 Bushing, (1) 1 1/8" Bolt, (1) 1 1/8" Locknut, (2) Flat Washers, (2) 5/8" 
Bolts, (2) 5/8" Locknuts, (2) Spacer Sleeves 

OEM Part# Length Misc. Dimensions Bushing A

HU1629001 16 1/2" Bolt Hole: 1 1/8" EQ53-35146

HU1778401 no hardware 16 1/2" Bolt Hole: 1 1/8" EQ53-35146

EQ53-35701 Cast Equalizer Beam w/Bushing
Contains: (1) Cast Beam w/Bushing, (1) EQ53-35701, (2) 5/8" Bolts, (2) Locknuts, (2) Spacer Sleeves 

OEM Part# Length Misc. Dimensions

HU-19137-01 no hardware 16 1/2" Bolt Hole: 3/4"; Bolt Holes: 1 3/8" c-c

www.atrobushing.com 800-325-6114 218

http://www.atrobushing.com


Trailmobile
Suspension

PB57-36300 Axle Connection Kit
Contains: (4) PB57-21149 Bushings, (8) Wear Washers, (8) Service Wear Washers, (4) Bolts, (4) Locknuts 

OEM Part#

NE-48100206 

Torque Rod
PL1084 Torque Rod Bushing

OEM Part# Application ID Large OD Small OD Length

7620-00 International Fabricated; Trailer Four Spring 1 1/4" 2 1/4" 1 13/16" 2 5/16"

PL1119 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance;  Outer rims added to retain bushing in rod 

OEM Part# Application ID Large OD Small OD Length

3-12-35. Standard Fabricated; Trailer Four Spring 1" 2" 1 3/4" 3 1/8"

TH53-37149 Torque Rod Bushing Kit
Contains: (1) PL1119 Bushing, (1) Bolt, (1) Nut 

OEM Part# Application Bushing A

700-7-149 Standard Fabricated Four Spring PL1119

TH53-37637 Torque Rod Bushing Kit
Contains: (2) PL1084, (1) Bolt, (2) Washers, (1) Nut 

OEM Part# Application Length Misc. Dimensions

3-69-2 "International" 4 Spring Trailer Suspension 6 1/6" (shaft) Bolt: 1 1/4"

7637-00 "International" 4 Spring Trailer Suspension 6 1/6" (shaft) Bolt: 1 1/4"

Other
MS99-65341 Dock Bumper

OEM Part# Application Length Height Width Misc. Dimensions Qty per Vehicle

700-99-484 Loading docks; multiple applications 7 3/8" 3 7/8" 5 1/2" Hole Pattern: 3" x 5 1/4" 2

FAX: 866-920-2005 customerservice@atrobushing.com 219

mailto:customerservice@atrobushing.com


Transpro
Suspension

EQ83-35000 Equalizer Beam w/Bushing
Contains: (1) Equalizer Beam w/EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut, (2) 5/8" Bolt, (2) 5/8" 
Locknuts, (2) Spacer Sleeves 

OEM Part# Application Length Misc. Dimensions Bushing A

0650-00 no hardware Model 86/88/89 Four Spring 16 1/2" Bolt Hole: 1" EQ83-35902

EQ83-35902 Equalizer Bushing

OEM Part# Application ID OD Length

0649-02 Model 86/88/89 Four Spring 1" 3 5/16" 4"

EQ83-35904 Equalizer Bushing Kit
Contains: (1) EQ83-35902 Bushing, (1) 1" Bolt, (1) Flanged Locknut 

OEM Part# Application ID OD Length Bushing A

K0649-04 Model 86/88/89 Four Spring 1" 3 5/16" 4" EQ83-35902

Torque Rod
PL1118 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance;  Outer rims added to retain bushing in rod; For 1-piece 
design see UB30000 

OEM Part# Application ID Large OD Small OD Length

0022-00 HLQ-AH/SR 7/8" 2 5/16" 1 3/4" 3 1/8"

A-1712 HLQ-AH/SR 7/8" 2 5/16" 1 3/4" 3 1/8"

TR83-45520 Torque Rod, Adjustable
Note: Bushings NOT sold separately 

Bushing

OEM Part# Application Length Misc. Dimensions A B

1035-20 Model 86/88/89 19 7/8" c-c (Adjustable
18 1/4"-21 1/2" c-c)

Bolt Size: 7/8" TH83-13000 TH83-13000

UB30000 Torque Rod Bushing

Note: 1-piece design, For 2-piece design see PL1118 

OEM Part# ID OD Length

0022-00 7/8" 1 3/4" 3"

A-1712 7/8" 1 3/4" 3"

www.atrobushing.com 800-325-6114 220

http://www.atrobushing.com


Transpro
Other

AW51-34010 Axle Wrap

OEM Part# Length Height Width Qty per Vehicle

0921-00 8 3/4" 3/4" 4" 2 per axle

Unisorb
Other

MS99-65100 Bump Stop

OEM Part# Application Height Misc. Dimensions

ANB50 Penpac dumpster grabbing device 1.63" Base: 2 3/4" sq; Hole Pattern: 1.97" sq: Bolt:
1/4"; Pad Dia: 2"

Utility Trailer
Suspension

PL1040 Wear Pad

OEM Part# Length Height Width Misc. Dimensions

- 4" 11/16" 3 5/8" Groove: 1 1/8"

PL1045 Wear Pad

OEM Part# Length Height Width

- 6" 1 1/4" 3 5/16"

PL1089 Wear Pad

OEM Part# Length Height Width

- 5 3/8" 1 1/4" 1 1/2"

Other
BP99-65000 Trailer Door Bumper

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

3-1250-25 1 7/8" 1 5/8" Bolt: 1/2" 2

FAX: 866-920-2005 customerservice@atrobushing.com 221

mailto:customerservice@atrobushing.com


Utility Trailer
Other

BP99-65020 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

03-1250-0-214 4 5/8" 3 1/2" 2 5/8" Bolt Hole: 7/16"; Bolt Holes: 2 3/8" c-c 2

BP99-65040 Trailer/Dock Bumper
Notes: Replaces BP99-65010 & BP99-65781 

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

RDB-003 5 3/4" 3 3/4" 3" Bolt Holes: 3 1/2" c-c Bolt Size: 1/2" 2

PL1024 Hinge Bushing

OEM Part# ID Length Width

3-1306 1 7/8" 2 7/8" 2 7/8"

SC99-34101 Spring Pad

OEM Part# Length Height Width

3-5851-01 3 1/2" 1 3/8" 1 3/8"

Van Raden
Suspension

MS99-29273 Bolster Pivot Compression Ring
Contains: (1) Steel Flat Washer, (1) Polyurethane Compression Ring 

OEM Part# Application ID OD Height

3049273 Flexmaster Auxiliary Liftable Air Ride Suspension 1 1/4" 2 5/8" 1/2"

PL1187 Trailing Arm Bushing

OEM Part# ID OD Length

3049271 1 1/4" 2" 5 1/2"

PL1188 Drop Axle Bushing

OEM Part# ID OD Length

3049270 1" 4 1/8" 4"

www.atrobushing.com 800-325-6114 222

http://www.atrobushing.com


Vanguard National
Other

BP91-34046 Trailer Door Bumper

OEM Part# OD Height Misc. Dimensions Qty per Vehicle

RDB00004 1 11/16" 3/8" Hole ID: 3/8" Counterbore ID: 3/4"
Counterbore Depth: 9/16

2

BP99-36040 Trailer Bumper

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

RDB00002 7" 1 3/4" 1 15/16" Bolt Hole: 3/8" Bolt Holes: 4 1/2" c-c 2 or 4

FAX: 866-920-2005 customerservice@atrobushing.com 223

mailto:customerservice@atrobushing.com


Volvo TRide

www.atrobushing.com 800-325-6114 224

http://www.atrobushing.com


Volvo
Suspension

CT10000 Cross Tube

OEM Part# Application OD Length

878841 Hendrickson 380-520 Series 2 7/16" 44 7/8"

LP96-24657 Load Spring

Note: Base Bolt Pattern: 4 bolt - 6 9/32" x 4 9/16", Top Bolt Pattern: 2 bolt - 7 1/16" 

OEM Part# Application Length Height Width Misc. Dimensions Qty per Vehicle

1089501 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

1577873 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

1609657 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

1629553 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

20390836 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

3090971 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

8151413 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

V1609657 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

V1629553 T-Ride 8 1/4" 5 7/8" 5 7/8" Bolt Size Top: 9/16"; Bolt Size Bottom: 1/2" 4

MS50-29791 Auxiliary Shim

OEM Part# Length Width Misc. Dimensions

HDR60791000 9 1/2" 4 3/4" Thickness: 1/4"

PB00-26422 Pivot Bushing Kit
Contains: (2) PB00-36314. (1) Inner Sleeve, (1) Bolt  3/4" x 5, (1) Locknut, (2) Washers 

OEM Part# Qty per Vehicle

HDRR005422 2

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings. (8) Inner Sleeves, (8) Bolts 3/4" x 5", (8) Locknuts, (16) Washers 

OEM Part#

HDRR008839 

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  

OEM Part# ID OD Length

NEW90008139 1 1/8" 3 1/2" 5 1/4"

WCM10050 1 1/8" 3 1/2" 5 1/4"

FAX: 866-920-2005 customerservice@atrobushing.com 225

mailto:customerservice@atrobushing.com


Volvo
Suspension

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  

OEM Part# ID OD Length

NEW90008149 1 1/8" 2 13/16" 5"

WCM11223 1 1/8" 2 13/16" 5"

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings. (2) Bolts 9 1/2", (2) Locknuts, (4) Wear Washers 

OEM Part#

HOH48100202 

SK96-10200 Spring Eye Shackle Kit
Contains: (2) SP96-11026 Bushings. (2) Sidebars, (4) Bolts, (4) Locknuts  
Notes: Rear of front  

OEM Part# Application OD Length Install Tool Tool Handle Qty per Vehicle

1075723 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

1075724 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

1076334 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

V1075724 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

SK96-10300 Spring Eye Bushing Kit
Contains: (1) SP96-11026 Bushing. (2) Bolts, (2) Locknuts  
Notes: Front of front  

OEM Part# Application OD Length Install Tool Tool Handle Qty per Vehicle

1075723 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

1075724 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

1076334 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

V1075724 420/610/660/770 VN; VL Series Four Spring 1 3/4" 4" PT91118 PT91500 2

SP96-11026 Threaded Pin & Spring Eye Bushing Kit
Contains: (1) Spring Eye Bushing. (1) Threaded Pin 

OEM Part# Application Misc. Dimensions Misc. Tool Qty per Vehicle

1075723 pin VN series; Mack CXN (Vision) Bushing OD: 45mm;  Bushing Length:
105mm;   Pin Groove: 142mm c-c

PT96-53100 6

1075724 bushing VN series; Mack CXN (Vision) Bushing OD: 45mm;  Bushing Length:
105mm;   Pin Groove: 142mm c-c

PT96-53100 6

1076334 pin VN series; Mack CXN (Vision) Bushing OD: 45mm;  Bushing Length:
105mm;   Pin Groove: 142mm c-c

PT96-53100 6

20526026 bushing VN series; Mack CXN (Vision) Bushing OD: 45mm;  Bushing Length:
105mm;   Pin Groove: 142mm c-c

PT96-53100 6

20747781 pin VN series; Mack CXN (Vision) Bushing OD: 45mm;  Bushing Length:
105mm;   Pin Groove: 142mm c-c

PT96-53100 6

TW38000 Thrust Washer

OEM Part# Application ID OD Misc. Dimensions

6496634 Hendrickson 380-440 Series 3 1/2" 5 3/4" Thickness: 1/8"

www.atrobushing.com 800-325-6114 226

http://www.atrobushing.com


Volvo
Suspension

WP50-29004 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Retaining Brackets, (2) Bolts 

OEM Part# Length Height Width Bushing A

HDR56557004 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29005 Wear Pad Kit
Contains: (1) WP50-29929 Wear Pad. (2) Spring Pins 

OEM Part# Length Height Width Bushing A

HDR56557005 3 3/4" 1 1/2" 3 3/16" WP50-29929

WP50-29557 Wear Pad Kit
Contains: (1) Slipper Pad. (2) Retaining Plates, (4) Bolts 

OEM Part# Length Height Width Misc. Dimensions

HDR56557002 6 7/8" 3" 3" Bolt: 3/8"

WP50-29929 Wear Pad

OEM Part# Length Height Width

HDR56929000 3 3/4" 1 1/2" 3 3/16"

Torque Rod
TH96-22200 V-Rod Apex Bushing

Contains: (1) Bushing, (1) Cover, (1) Bolt, (1) Snap Ring  
Note: New Design 
Note: Available Summer 2017

OEM Part# OD Qty per Vehicle

20741710 72mm 2

TR00-41270 Torque Rod
Bushing

OEM Part# Length A B

945460 25 1/2" c-c TS38000 TS38000

FAX: 866-920-2005 customerservice@atrobushing.com 227

mailto:customerservice@atrobushing.com
www.torque-rod.com


Volvo
Torque Rod

TR00-42486 Torque Rod
Bushing

OEM Part# Length A B

85102486 22 3/4" c-c TS38000 TS38000

TR62-417M1 Torque Rod, Small Eye
Bushing

OEM Part# Length A B

HDR48411006 14.41" c-c TS00-22500 TS00-22500

TR96-41003 Torque Rod, Small Eye

Note: Slotted Straddle Bushing NOT sold separately 

Bushing

OEM Part# Length A B

21608003 22 1/4" c-c TS00-22003 TH00-22500

TR96-41068 Torque Rod

Bushing

OEM Part# Application Length A B Qty per Vehicle

3187322 Air Ride 22 1/8" c-c TS38000 TS38000 typically 2

35801-0068 Air Ride 22 1/8" c-c TS38000 TS38000 typically 2

8071513 22 1/8" c-c TS38000 TS38000 typically 2

TR96-41239 Torque Rod
Bushing

OEM Part# Length A B

35801-3202 25 11/16 c-c TS38000 TS38000

564239 25 11/16 c-c TS38000 TS38000

TR96-41945 Torque Rod
Bushing

OEM Part# Length A B

8021378 22 5/8" c-c VS02000 VS02000

8028945 22 5/8" c-c VS02000 VS02000

8071851 22 5/8" c-c VS02000 VS02000

8074268 22 5/8" c-c VS02000 VS02000

943902 22 5/8" c-c VS02000 VS02000

www.atrobushing.com 800-325-6114 228

http://www.atrobushing.com


Volvo
Torque Rod

TR96-44004 V-Rod

Note: Available Summer 2017
Bushing

OEM Part# Application Length Misc. Dimensions A B C Qty per Vehicle

20367004 T-Ride, Mack
M-Ride, 46K

26 1/2" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22600 TS96-22600 2

20507262 T-Ride, Mack
M-Ride, 46K

26 1/2" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22600 TS96-22600 2

20741695 T-Ride, Mack
M-Ride, 46K

26 1/2" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22600 TS96-22600 2

20741703 T-Ride, Mack
M-Ride, 46K

26 1/2" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22600 TS96-22600 2

22318833 T-Ride, Mack
M-Ride, 46K

26 1/2" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22600 TS96-22600 2

TR96-44829 V-Rod

Note: Available Summer 2017
Bushing

OEM Part# Application Length Misc. Dimensions A B C Qty per Vehicle

3172829 T-Ride, Mack
M-Ride, 46K

26 3/4" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22286 TS96-22286 2

8073569 T-Ride, Mack
M-Ride, 46K

26 3/4" c-c Bolt Hole Mount
Plate: 19mm

TH96-22200 TS96-22286 TS96-22286 2

TR96-45568 Torque Rod, Off-set

Note: Available Summer 2017
Bushing

OEM Part# Application Length A B Qty per Vehicle

20509568 T-Ride, Mack M-Ride 23 5/8" c-c TS96-22700 TS96-22700 2

TR96-49046 Torque Rod, Off-set

Note: Available Summer 2017
Bushing

OEM Part# Application Length A B Qty per Vehicle

20443046 T-Ride, Mack M-Ride 22 5/8" c-c TS96-22700 TS96-22700 2

TR99-41428 Torque Rod
Bushing

OEM Part# Length A B

HDR62001540 21 1/4" c-c TS38000 TS38000

TS00-22000 Torque Rod Bushing Kit
Contains: (1) Rotating Bushing, (1) Retaining Ring, (1) Spacer Ring 

OEM Part# OD Length Misc. Dimensions Install Tool

2 15/16" 4 1/2" c-c Bolt Hole: 5/8" PT03-52100

FAX: 866-920-2005 customerservice@atrobushing.com 229

mailto:customerservice@atrobushing.com


Volvo
Torque Rod

TS34000 Torque Rod Bushing

Note: Use in place of discontinued TS34095,  NEW CRIMPED DESIGN 

OEM Part# OD Length Misc. Dimensions Install Tool

8079894 2 17/32" 4 3/8" Bolt Hole: 5/8" PT00-52600

TS50-22649 Torque Rod Bushing

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

HDR64400003L 2 3/4" 5 1/4" c-c Bolt Hole: .91" 4

TS96-22286 V-Rod Bushing

Contains: (1) Bushing, (1) Snap Ring 
Note: Available Summer 2017

OEM Part# OD Length Misc. Dimensions Install Tool Qty per Vehicle

271187 75mm 115mm c-c Bolt Hole: 17mm PT96-52200 4

3092452 75mm 115mm c-c Bolt Hole: 17mm PT96-52200 4

20547286 75mm 115mm c-c Bolt Hole: 17mm PT96-52200 4

TS96-22600 V-Rod Bushing

Contains: (1) Bushing, (1) Snap Ring  
NOTES: ONLY fits ATRO TR96-45568 & TR96-49046 
Note: Available Summer 2017

OD Length Misc. Dimensions Install Tool Qty per Vehicle

75mm 115mm c-c Bolt Hole: 19mm PT96-52200 4

TS96-22700 Straddle Bushing

Contains: (1) Bushing, (1) Snap Ring 
NOTES: ONLY fits ATRO TR96-44004 
Note: Available Summer 2017

OEM Part# OD Length Misc. Dimensions Install Tool Qty per Vehicle

75mm 115mm c-c Bolt Hole: 17mm PT96-52200 4

VO20000 Torque Rod Bushing

Note: VO20000 for rebushable OEM rods only, Does NOT fit in ATRO p/n TR96-41268 

OEM Part# Application OD Length Misc. Dimensions

834240 T-Ride 2 5/8" 3 15/16" c-c Bolt Hole: 5/8"

www.atrobushing.com 800-325-6114 230

http://www.atrobushing.com


Volvo
Under Hood

CM13-61199 Cab Pivot Bushing

OEM Part# ID OD Length Misc. Dimensions Qty per Vehicle

3081199 1 1/8" 2 1/8" 2 29/32" Outer Sleeve: 2 1/4" 2

66108-0006 1 1/8" 2 1/8" 2 29/32" Outer Sleeve: 2 1/4" 2

MM96-62002 Motor Mount, Front (Snubber)

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

12005-0002 5/8" 2 3/4" Thickness: 1" 2

12005-3208 5/8" 2 3/4" Thickness: 1" 2

3081659 5/8" 2 3/4" Thickness: 1" 2

MM96-62207 Engine Insulator, Main Front

Note: Available Summer 2017

OEM Part# Application Length Height Width Misc. Dimensions Qty per Vehicle

12005-3207 WG64 10" 1 7/8" 3 5/16" Bolt Hole Mount: 3/4", Bolt Hole Bracket:
1/2"; Mount Hole Spacing: 4" c-c,
Bracket Hole Spacing: 8 1/2" c-c

1

MM96-62657 Motor Mount

OEM Part# ID OD Length Qty per Vehicle

3081657 1 1/2" 3" 3" 2

PL1048 Motor Mount

OEM Part# ID Large OD Small OD Length

12004-0007 1 1/2" 3 7/16" 3" 3 1/8"

3081657 1 1/2" 3 7/16" 3" 3 1/8"

PL1086 Motor Mount

OEM Part# ID Large OD Small OD Length

702727 11/16" 3 1/4" 2 1/4" 2 5/8"

PL1087 Cab Mount

OEM Part# ID Large OD Small OD Length

2005774 17/32" 3 1/4" 1 5/8" 2 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 231

mailto:customerservice@atrobushing.com


Volvo
Under Hood

PL1088 Motor Mount

OEM Part# ID Large OD Small OD Length

15506936 5/8" Bolt 2 3/8" 1 1/2" 3 3/16"

Other
BP92-65283 Bumper/Axle Stop

OEM Part# Application Large OD Small OD Length Qty per Vehicle

3082283 WG64 2 1/2" 2 1/8" 3" 2

BP99-65000 Trailer Door Bumper

OEM Part# OD Length Misc. Dimensions Qty per Vehicle

FLE02201085 1 7/8" 1 5/8" Bolt: 1/2" 2

CR00-67825 Carrier Bearing Assembly

OEM Part# ID Length Height Width Misc. Dimensions

210661-1X 60mm (Bearing) 10" 7 1/4" 3" Center Height: 3 1/4" Bolt: 8 5/8"
c-c Bolt Size: 1/2"

FW51-32011 5th Wheel Bushing

OEM Part# ID OD Length

HOHXB0011 1 1/8" 2" 4 1/4"

FW51-32731 5th Wheel Kit

Contains: (2) PL1006 Bushings, (2) Foot Pins, (2) Bolts, (2) Flanged Locknuts 
Note: Available Summer 2017

OEM Part# Qty per Vehicle

85106469 1

HOHRK069731 1

FW99-32109 5th Wheel Bushing (set of 2)

OEM Part# ID Length Qty per Vehicle

FNTBSH109L 1 1/4" 2 3/4" 1

www.atrobushing.com 800-325-6114 232

http://www.atrobushing.com


Volvo
Other

FW99-32172 5th Wheel Bushing (set of 2)

OEM Part# ID Length Qty per Vehicle

FNTBSH172U 1 1/4" 2 3/8" 1

FW99-32175 5th Wheel Bushing Kit
Contains: (2) FW99-32109 Lower Bushings, (2) FW99-32172 Upper Bushings 

Bushing

OEM Part# A B

FNTBSH109L FW99-32109 FW99-32172

FNTBSH172U FW99-32109 FW99-32172

FW99-32401 5th Wheel Bushing Kit
Contains: (2) FW99-32594 Bushings, (2) Bracket Pins, (2) Collars, (2) Tab Washers, (4) Bolts 

OEM Part# Bushing A

JSTSK7501401 FW99-32594

FW99-32605 5th Wheel Bushing

OEM Part# ID Large OD Small OD Length

HOHXB10605 1 3/16" 3 7/8" 2 7/16" 2 1/16"

HL00-64002 Hood Latch Catch

Note: Included in kits HL46-64530, HL46-64531 and HL96-64018 

OEM Part# Application Length

8174018 kit AC, WA, WC, WG, WI (1991-2002) 3 1/2"

HL96-64000 Hood Latch

Note: Included in kit HL96-64018 

OEM Part# Application Length

8174018 kit AC, WA, WC, WG, WI (1991-2002) 12 1/2"

HL96-64018 Hood Latch Kit
Contains: (1) HL00-64002, (1) HL96-64000 

OEM Part# Application Length

8174018 AC, WA, WC, WG, WI (1991-2002) 12 1/2"

FAX: 866-920-2005 customerservice@atrobushing.com 233

mailto:customerservice@atrobushing.com


Volvo
Other

MS99-63399 Shifter Isolator Bushing Kit

Contains: (1) Shifter Isolator Bushing, (2) Step Bushings, (1) Shoulder Bolt, (1) Lock Nut 

OEM Part# ID OD Length Install Tool

FULK3399 .84" 1 1/2" 2.3" PT99-63399

PL1025 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

V8057131 3/4" 1 9/16" 1 7/16" 7/8" 8

PL1025-HT Shock Bushing (High Temp)

Note: High Temperature 

OEM Part# ID Large OD Small OD Length

V8057131 3/4" 1 9/16" 1 7/16" 7/8"

PL1026 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

- 1 1/16" 1 7/8" 1 1/2" 1" 8

PL1026-HT Shock Bushing (High Temp)

Note: High Temperature Bushing 

ID Large OD Small OD Length Qty per Vehicle

1 1/16" 1 7/8" 1 1/2" 1" Varies

Volvo/White/GMC
Suspension

CB34010 Center Bushing Kit
Contains: (1) Bushing, (2) TW34000 thrust washers 

OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

1714667 Hendrickson 340 Series 3 5/8" 2 3/4" 12" PT60000 2

www.atrobushing.com 800-325-6114 234

http://www.atrobushing.com


Volvo/White/GMC
Suspension

CB34011 Center Bushing Kit
Contains: (1) Bushing, (2) TW34000 thrust washers, (1) EP34000 loose end plug 
Notes: Weld plugs using electric welder only  

OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

1714667 Hendrickson 340 Series 3 5/8" 2 3/4" 12" PT60000 2

CB34012 Center Bushing Kit
Contains: (1) Bushing, (2) TW34000 thrust washers, (1) EP34000 welded end plug 

OEM Part# Application Large OD Small OD Length Install Tool Qty per Vehicle

498403 Hendrickson 340 Series 3 5/8" 2 3/4" 12" PT60000 2

CB38010 Center Bushing Kit
Contains: (1) Bushing, (2) TW38000 thrust washers 

OEM Part# Application Large OD Small OD Length Install Tool Misc. Tool Qty per Vehicle

1714668 Hendrickson 380-440
Series

4 3/4" 3 1/2" 12" PT30000 Removal: PT30000 2

CB38011 Center Bushing Kit

Contains: (1) Bushing, (2) TW38000 thrust washers, (1) EP38000 loose end plug 
Notes: Weld plugs using electric welder only  

OEM Part# Application Large OD Small OD Length Install Tool Misc. Tool Qty per Vehicle

1714668 Hendrickson 380-440
Series

4 3/4" 3 1/2" 12" PT30000 Removal: PT30000 2

CB38012 Center Bushing Kit
Contains: (1) Bushing, (2) TW38000 thrust washers, (1) EP38000 welded end plug 

OEM Part# Application Large OD Small OD Length Install Tool Misc. Tool Qty per Vehicle

452839 Hendrickson 380-440
Series

4 3/4" 3 1/2" 12" PT30000 Removal: PT30000 2

CT10000 Cross Tube

OEM Part# Application OD Length

878841 Hendrickson 380-520 Series 2 7/16" 44 7/8"

EB34000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool

498417 Hendrickson 340 Series 2 1/2" 4 3/8" 5 1/4" PT40000

FAX: 866-920-2005 customerservice@atrobushing.com 235

mailto:customerservice@atrobushing.com


Volvo/White/GMC
Suspension

EB38000 Beam End Bushing

OEM Part# Application ID OD Length Install Tool Qty per Vehicle

452836 Hendrickson 380-440 Series 2 1/2" 4 3/8" 5 3/4" PT40000 4

HV38000 Vertical Bushing

OEM Part# Application ID OD Length

498407A Hendrickson RS Series 2" 4 1/8" 4"

SF10000 Shear Spring

OEM Part# Application ID OD Height

889364 SR Series 3" 6 15/16" 3 1/4"

TW38000 Thrust Washer

OEM Part# Application ID OD Misc. Dimensions

6496634 Hendrickson 380-440 Series 3 1/2" 5 3/4" Thickness: 1/8"

Torque Rod
TR96-41068 Torque Rod

Bushing

OEM Part# Application Length A B Qty per Vehicle

3187322 Air Ride 22 1/8" c-c TS38000 TS38000 typically 2

35801-0068 Air Ride 22 1/8" c-c TS38000 TS38000 typically 2

Wabash
Suspension

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  

OEM Part# ID OD Length

NEW900-08-139 1 1/8" 3 1/2" 5 1/4"

www.atrobushing.com 800-325-6114 236

http://www.atrobushing.com


Wabash
Suspension

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  

OEM Part# ID OD Length

NEW900-08-149 1 1/8" 2 13/16" 5"

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings, (2) Bolts 9 1/2", (2) Locknuts, (4) Wear Washers 

OEM Part#

32761450 

PB57-36300 Axle Connection Kit
Contains: (4) PB57-21149, (8) Wear Washers, (8) Service Wear Washers, (4) Bolts, (4) Locknuts 

OEM Part#

NEWSRK-149 

Other
BP99-34312 Trailer/Dock Bumper

Notes: Accepts 1/2" fasteners 

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

6" 3 1/4" 2 1/2" Holes: 2.63" c-c 2

BP99-65040 Trailer/Dock Bumper
Notes: Replaces BP99-65010 & BP99-65781 

OEM Part# Length Height Width Misc. Dimensions Qty per Vehicle

WAB21400098 5 3/4" 3 3/4" 3" Bolt Holes: 3 1/2" c-c Bolt Size: 1/2" 2

Watson & Chalin
Suspension

NW30000 Trunnion Bushing

OEM Part# Application ID OD Length Qty per Vehicle

SP-0192 Pedestal Mount Trailer Single Point 4" 5" 8 7/8" 4

FAX: 866-920-2005 customerservice@atrobushing.com 237

mailto:customerservice@atrobushing.com


Watson & Chalin
Suspension

PB00-26839 Lift Axle Bushing Kit
Contains: (16) PB00-36314 Bushings, (8) Inner Sleeves, (8) Bolts 3/4" x 5" 

OEM Part# Application

SRK1190-1 lift axle kit Models: SL089x/SL109x/SL119x

PB00-36314 Flange Bushing

OEM Part# Application ID Large OD Small OD Misc. Dimensions

19204 Trailer suspensions & lift axles 1 1/2" 3" 2 1/4" Barrel Length: 1 1/4";
Flange Thickness: 3/16"

19682 Trailer suspensions & lift axles 1 1/2" 3" 2 1/4" Barrel Length: 1 1/4";
Flange Thickness: 3/16"

PB50-36000 Pivot Bushing Kit

Contains: (1) Pivot Bushing, (2) Wear Washers, (2) Flat Washers, (1) Bolt, (1) Nut 

OEM Part# ID Large OD Length Misc. Dimensions Install Tool Qty per Vehicle

17993-112 bushing only 1 1/8" 5 7/8" 6 3/4" Bolt: 7/8" PT50-59307 4

PB50-36000-EI Pivot Bushing Kit
Contains: (1) Pivot Bushing, (2) Wear Washers, (2) Flat Washers, (1) Bolt, (1) Nut   
Note: Easy Install 

OEM Part# ID Large OD Length Misc. Dimensions Install Tool

17993-112 bushing only 1 1/8" 5 1/2" 6 3/4" Bolt: 7/8" PT50-59307

PB50-36001 Pivot Bushing Kit w/Hdwr
Contains: (1) Pivot Bushing, (1) HW50-26679 Hardware Kit, (2) Shims   
Note: Includes Shear Bolt 
OEM Part# ID Large OD Length Misc.

Dimensions
Install Tool Bushing A Qty per Vehicle

17993-112 bushing only 1 1/8" 5 7/8" 6 3/4" Bolt: 7/8" PT50-59307 HW50-26679 2/axle

PB50-36001-EI Pivot Bushing Kit w/Hdwr
Contains: (1) Pivot Bushing, (1) HW50-26679 Hardware Kit, (2) Shims   
Note: Includes Shear Bolt, Easy Install; Use Hendrickson shear bolt socket & air impact gun capable of 
800 ft/lbs torque minimum 

OEM Part# ID Large OD Length Misc.
Dimensions

Install Tool Bushing A Qty per Vehicle

17993-112 bushing only 1 1/8" 5 1/2" 6 3/4" Bolt: 7/8" PT50-59307 HW50-26679 2/axle

www.atrobushing.com 800-325-6114 238

http://www.atrobushing.com


Watson & Chalin
Suspension

PB57-21139 Pivot Bushing
Notes: For kit see PB57-36200  

OEM Part# Application ID OD Length

10050 AL; SL; TA; TL Series 1 1/8" 3 1/2" 5 1/4"

PB57-21149 Pivot Bushing
Notes: For kit see PB57-36300  

OEM Part# Application ID OD Length

11223 AL; SL; TA; TL Series 1 1/8" 2 13/16" 5"

PB57-36200 Pivot Bushing Kit (set of 2)
Contains: (2) PB57-21139 Bushings. (2) Bolts 9 1/2" 

OEM Part# Application

SRK01 AL, TL, TA

PL1005 Spring Pad

OEM Part# Application Length Height Width Qty per Vehicle

SP-0039 Straddlemount Trailer; Single Point; PP; Pedestal
Mount; Single Point PP

7 9/16" 1" 4 5/8" 4

PL1041 Spring/Axle Pad

OEM Part# Application Length Height Width Qty per Vehicle

SP-0040 5 1/4" 7/8" 4 5/8" 4

SP-0193 Straddle mount Trailer; Single Point; HD/LW;
Pedestal Mount HD/LW

5 1/4" 7/8" 4 5/8" 4

Torque Rod
PL1119 Torque Rod Bushing

Note: 2-piece not identical to OE bushing appearance;  Outer rims added to retain bushing in rod 

OEM Part# Application ID Large OD Small OD Length

17012 SL-1100-LP/LR/LW/RO/SR/SRR/Auxiliary
Truck Suspension

1" 2" 1 3/4" 3 1/8"

FAX: 866-920-2005 customerservice@atrobushing.com 239

mailto:customerservice@atrobushing.com


Watson & Chalin
Torque Rod

TR53-41500 Torque Rod; Fixed Length

Note: Bushings NOT sold separately 

Bushing

OEM Part# Application Length Misc. Dimensions A B Qty per Vehicle

12954 SL Series 19 1/4" c-c Bolt Size: 1" TH53-33100 TH53-33100 typically 2

Western Star
Suspension

LP46-24807 Spring Insulator Pad, Lower

Note: Available Summer 2017

OEM Part# Length Height Width Qty per Vehicle

11-20807-00 3 7/8" 2 1/4" 3 7/8" 4

Torque Rod
TR13-41022 Torque Rod

Bushing

OEM Part# Length A B

35801-0033 22" c-c TS38000 TT38000

TR46-49002 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-15002-000 TufTrac® 54" axle spacing 40K, front of rear, rear
of rear

23 1/4" c-c TS46-22300 TS46-22300 2

16-15002-001 TufTrac® 54" axle spacing 40K, front of rear, rear
of rear

23 1/4" c-c TS46-22300 TS46-22300 2

TR46-49004 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-15004-000 TufTrac® 60" axle spacing 46-52K, front of rear,
rear of rear

26 3/8" c-c TS46-22300 TS46-22300 2

16-15004-001 TufTrac® 60" axle spacing 46-52K, front of rear,
rear of rear

26 3/8" c-c TS46-22300 TS46-22300 2

www.atrobushing.com 800-325-6114 240

http://www.atrobushing.com


Western Star
Torque Rod

TR46-49998 Torque Rod

Note: Because of ATRO's rotating bushing design, rod will work in both front of rear & rear of rear locations. 

Bushing

OEM Part# Application Length A B Qty per Vehicle

16-14998-000 TufTrac® 56" axle spacing 46-52K, front of rear,
rear of rear

24 7/16" c-c TS46-22300 TS46-22300 2

16-14998-001 TufTrac® 56" axle spacing 46-52K, front of rear,
rear of rear

24 7/16" c-c TS46-22300 TS46-22300 2

TR59-41376 Torque Rod
Bushing

OEM Part# Length A B Qty per Vehicle

35801-3441 24" c-c TS38000 TT38000 typically 2

TR94-41458 Torque Rod
Bushing

OEM Part# Length A B

35801-3458 22 3/8" c-c TS38000 TS38000

TR94-41514 Torque Rod
Bushing

OEM Part# Length A B

35801-3514 22 1/2" c-c TH99-22101 TH99-22101

IPC947-271 22 1/2" c-c TH99-22101 TH99-22101

TR94-41900 Torque Rod
Bushing

OEM Part# Length A B

35801-3459 23 1/8" c-c TS38000 TS38000

Under Hood
CM94-61875 Cab Mount (Front)

OEM Part# Application ID Large OD Small OD Length Qty per Vehicle

A18-66875-002 Model 6900 5/8" 3 1/2" 2 1/4" 2 7/8" 2

FAX: 866-920-2005 customerservice@atrobushing.com 241

mailto:customerservice@atrobushing.com


Western Star
Under Hood

HM94-64438 Hood Mount

OEM Part# Length Width Misc. Dimensions

67009-3438 4" 3"  Thickness: 1 1/2" Bolt: 3/8" or 7/16" Bolt Holes: 2"
c-c

HM96-64442 Hood Mount Kit
Contains: (1) MS99-62620 Bushing, (1) Bolt, (1) Flat Washer, (1) Locknut 

OEM Part# Bushing A

67009-3442 bushing MS99-62620

MM96-62002 Motor Mount, Front (Snubber)

OEM Part# ID OD Misc. Dimensions Qty per Vehicle

12005-002 5/8" 2 3/4" Thickness: 1" 2

MM96-62401 Motor Mount

OEM Part# ID Large OD Small OD Height

12004-3401 5/8" 3" 1 27/32" 1 3/16"

MM96-62401-HT Motor Mount (High Temp)

OEM Part# ID Large OD Small OD Height

12004-3401 5/8" 3" 1 27/32" 1 3/16"

MM96-62870 Engine Mount (Upper Position)
Notes: Must use with (2) PL1015 mounts for lower position at same location 

OEM Part# ID OD Length Height Width

04-9009997 hard 5/8" 1 7/8" (nipple) 6" 3/4" 3"

12004-3402 soft 5/8" 1 7/8" (nipple) 6" 3/4" 3"

MM96-62870-HT Engine Mount (Upper Position) (High Temp)

Note: Must use with (2) PL1015-HT mounts for lower position at same location, High Temperature 

OEM Part# ID OD Length Height Width

04-9009997 hard 5/8" 1 7/8" (nipple) 6" 3/4" 3"

12004-3402 soft 5/8" 1 7/8" (nipple) 6" 3/4" 3"

www.atrobushing.com 800-325-6114 242

http://www.atrobushing.com


Western Star
Under Hood

PL1015 Radiator/Motor Mount

OEM Part# Application ID Large OD Small OD Length

04-9009996 Lower Engine Mount 5/8" 3" 1 13/16" 1 3/16"

PL1015-HT Radiator/Motor Mount (High Temp)

Note: High Temperature 

OEM Part# Application ID Large OD Small OD Length

04-9009996 Lower Engine Mount 5/8" 3" 1 13/16" 1 3/16"

PL1016 Cab Mount (Rear)

OEM Part# ID Large OD Small OD Length

04-9009990 5/8" 3" 1 13/16" 1 15/16"

PL1111 Motor Mount, Front

OEM Part# ID Large OD Small OD Length Qty per Vehicle

05-16919 13/16" 3 5/8" 2 1/8" 2 7/16" 2

12005-3403 13/16" 3 5/8" 2 1/8" 2 7/16" 2

PL1126 Radiator Bushing

OEM Part# Large OD Small OD Length

656-215 1 3/16" 1 1/16" 3/4"

PL1126-HT Radiator Bushing (High Temp)

Notes: High Temperature  

OEM Part# Large OD Small OD Length

656-215 1 3/16" 1 1/16" 3/4"

PL1136 Radiator Mount

OEM Part# ID Large OD Small OD Length

66001-3403 11/16" 2 15/16" 1 15/16" 2 1/4"

FAX: 866-920-2005 customerservice@atrobushing.com 243

mailto:customerservice@atrobushing.com


Western Star
Other

MS99-62620 APU Mount
Contains: (1) Upper Mount, (1) Lower Mount 

OEM Part# Application Large OD Small OD Length Misc. Dimensions

67009-3442 Hood Mount 1 7/8" 1 9/32" 1 5/16" Bolt Size: 1/2"

PL1026 Shock Bushing

OEM Part# ID Large OD Small OD Length Qty per Vehicle

1 1/16" 1 7/8" 1 1/2" 1" 8

PL1026-HT Shock Bushing (High Temp)

Note: High Temperature Bushing 

OEM Part# ID Large OD Small OD Length Qty per Vehicle

1 1/16" 1 7/8" 1 1/2" 1" Varies

PL1139 Shock Bushing (set of 8)

OEM Part# ID Large OD Small OD Length

37302-3403 1" 1 7/8" 1 7/16" 1 3/16"

Western Unit
Suspension

PL1099 Eye Bushing

OEM Part# Application ID Length Width

102309 Dolly 1 3/4" 3 5/16" 3 1/8"

Other
PL1027 Hinge Bushing

OEM Part# Application ID Length Width

102308 Dolly 1 3/4" 2 15/16" 2 1/8"

www.atrobushing.com 800-325-6114 244

http://www.atrobushing.com


Wittke
Other

MS99-69006 Roller
Notes: NO WARRANTY 

OEM Part# Application ID OD Length

Lift Mechanism 1 3/8" 2.525" 1 1/2"

Workhorse Chassis
Under Hood

TM99-63506 Transmission Mount

OEM Part# Application Length Height Width Misc. Dimensions

880506 Workhorse P42, W42 Chassis 4 3/4" 1 7/8" 2 7/8"  Bolt Hole: 15/32" Bolt Holes: 3 3/4" c-c Stud:
M10x1.5

880507 Workhorse P42, W42 Chassis 4 3/4" 1 7/8" 2 7/8"  Bolt Hole: 15/32" Bolt Holes: 3 3/4" c-c Stud:
M10x1.5

World Trans
Suspension

PB03-89501 Pivot Bushing

OEM Part# Application ID OD Length

522239 Rear Air Ride 1 1/4" 2 1/2" 3 3/8"

York Transport
Suspension

PB99-36012 Pivot Bushing (Outer)

Note: Use with PB99-36013 

OEM Part# Application ID OD Length

61610012 Tecair FB VRH Air Suspension 57mm tapered 148mm 51mm

PB99-36013 Pivot Bushing (Inner)

Note: Use with PB99-36012 

OEM Part# Application ID OD Length

61610013 Tecair FB VRH Air Suspension 53mm tapered 148mm 51mm

FAX: 866-920-2005 customerservice@atrobushing.com 245

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62011 360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62012 360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62011-360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62012-360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International HD62011360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International HD62012360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International HUD62011360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International HUD62012360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62011360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62012360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62011360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62012360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62011360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62012360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62011360

TR50-42360 14 3/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62012360

TR50-45950 14.31" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 57950-007 Adj. 14"-16" c-c

TR50-45950 14.31" c-c TS00-22500 5/8" TS00-22500 5/8" Mack 25168255 Adj. 14"-16" c-c

TR50-45950 14.31" c-c TS00-22500 5/8" TS00-22500 5/8" Mack 17QF466M Adj. 14"-16" c-c

TR50-45950 14.31" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner HDR 57950 007 Adj. 14"-16" c-c

TR50-45950 14.31" c-c TS00-22500 5/8" TS00-22500 5/8" Volvo HDR57950007 Adj. 14"-16" c-c

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Ford 32271-102

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Ford 48411-006

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Ford 50376-001

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Ford 62007-365

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 32271-102

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 48411006

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 50376001

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62007365

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" International 32271-102

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" International 48411006

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" International 50376001

www.atrobushing.com 800-325-6114 246

http://www.atrobushing.com
www.torque-rod.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" International 62007365

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Kenworth 32271-102

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Kenworth 48411-006

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Kenworth 50376-001

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Kenworth 62007-365

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Mack 17QF357M

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Volvo 32271-102

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Volvo 48411-006

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Volvo 50376-001

TR50-41102 14 3/8" c-c TS38000 5/8" TS38000 5/8" Volvo 62007-365

TR62-417M1 14.41" c-c TS00-22500 5/8" TS00-22500 5/8" Autocar 48411-006 Small Eye

TR62-417M1 14.41" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 48411006 Small Eye

TR62-417M1 14.41" c-c TS00-22500 5/8" TS00-22500 5/8" Mack 17QF357-M1 Small Eye

TR62-417M1 14.41" c-c TS00-22500 5/8" TS00-22500 5/8" Mack 8180645 Small Eye

TR62-417M1 14.41" c-c TS00-22500 5/8" TS00-22500 5/8" Volvo HDR48411006 Small Eye

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62009 375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62009-375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" International HD62000375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" International HUD62000375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62000375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62000375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000375

TR50-42375 14 3/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000375

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62029 385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62013-385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62029-385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" International HD62029385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" International HUD62029385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62029385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62029385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62029385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62029 385

TR50-42385 15 3/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62029385

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 390

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-390

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" International HD62000390

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" International HUD62000390

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" International ZAK62000390

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" International ZJF62000390

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000390

TR50-42390 15 3/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000390

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62009 400

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62009-400

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" International HD62009400

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" International HUD62009400

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62009400

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62009400

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62009400

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62009 400

FAX: 866-920-2005 customerservice@atrobushing.com 247

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42400 15 3/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62009400

TR50-41111 15 13/16" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 484111 Small Eye

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62005 420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62005-420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" International HD62005420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" International HUD62005420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" International ZAK62005420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" International ZJF62005420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62005420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62005 420

TR50-42420 16 1/2" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62005420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" International HD62001420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001420

TR50-42425 16 9/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001420

TR46-41053 16 5/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-03053-000 Small Eye

TR46-41053 16 5/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-13053-000 Small Eye

TR46-41053 16 5/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-19568-000 Small Eye

TR46-43016 16 5/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 681-626-6016 Small Eye 

TR50-42430 16 15/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-430

TR50-43435 17 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 67428-435 Small Eye

TR75-41327 17 5/16" c-c TS38000 5/8" TS38750 3/4" Peterbilt 03-04327

TR75-41327 17 5/16" c-c TS38000 5/8" TS38750 3/4" Peterbilt 924175

TR75-41327 17 5/16" c-c TS38000 5/8" TS38750 3/4" Peterbilt C65-6012-0000
10440

TR75-41327 17 5/16" c-c TS38000 5/8" TS38750 3/4" Peterbilt C65-6016-0000
10440

TR75-41327 17 5/16" c-c TS38000 5/8" TS38750 3/4" Peterbilt SS326-11

TR75-41119 17 3/8" c-c TS38000 5/8" TS38000 5/8" Peterbilt 03-04119

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62010 455

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62010-455

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" International HD62010455

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" International HUD62010455

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62010455

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62010455

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62010455

TR50-42455 17 15/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62010455

TR50-42460 18 1/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-460

TR55-41117 18 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-10420-000 Small Eye

TR55-41117 18 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner IPC-927180 Small Eye

TR55-41117 18 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" International 3581271C1 Small Eye

TR55-41117 18 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" International 493920C1 Small Eye

TR55-41117 18 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" International 493920C2 Small Eye

TR55-41117 18 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" International 588117C91 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner HDR 62001 465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62001-465 Small Eye

www.atrobushing.com 800-325-6114 248

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62012-465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" International HD62001465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" International HUD62001465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" International ZAK62001465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" International ZJF62001465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Mack 4000-62001465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Mack 4000-62012465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Volvo HDR62001465 Small Eye

TR50-42465 18 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Volvo HDR62012465 Small Eye

TR50-43475 18.7" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 67219-475 Small Eye

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" International HD62001485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 485

TR50-42485 19 1/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001485

TR75-41781 19 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" Peterbilt 03-01764 Small Eye

TR75-41781 19 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" Peterbilt 03-01781 Small Eye

TR75-41781 19 1/8" c-c TS00-22500 5/8" TS00-22500 5/8" Peterbilt 03-04839 Small Eye

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 495

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-495

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" International HD62001495

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" International HUD62001495

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" International ZAK62001495

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" International ZJF62001495

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001495

TR50-42495 19 1/2" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001495

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" International HD62001500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 500

TR50-42500 19 11/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001500

TR59-41474 19 3/4" c-c TS59-22400 5/8" TS59-22400 5/8" Kenworth K195-472

TR59-41474 19 3/4" c-c TS59-22400 5/8" TS59-22400 5/8" Kenworth K195-474

TR50-42505 19 7/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-505

TR50-42505 19 7/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000505

TR50-42505 19 7/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000505

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Hendrickson 3226713

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Mack 17QF358

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Mack 17QF359

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P200

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Mack 17QF473M

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Mack 25014582

FAX: 866-920-2005 customerservice@atrobushing.com 249

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Mack 251660077

TR62-413M3 20" c-c TS38000 5/8" TS38000 5/8" Mack 25170831

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International HD62000510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International HD62001510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International ZFJ62000510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 510

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001505

TR50-42510 20 1/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001510

TR46-41003 20 1/4" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-16749-003 Small Eye

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" International HD62001515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" International HUD62001515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62001515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62001515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 515

TR50-42515 20 1/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001515

TR59-41008 20 1/4" c-c TS59-22400 5/8" TS59-22400 5/8" Kenworth C65-1008

TR59-41008 20 1/4" c-c TS59-22400 5/8" TS59-22400 5/8" Kenworth C65-1009

TR62-417M2 20.31" c-c TS00-22500 5/8" TS00-22500 5/8" Mack 17QF357M2 Small Eye

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International HD62000520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International HD62001520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International HUD62000520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International HUD62001520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International ZAK62000520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International ZAK62001520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International ZJF62000520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" International ZJF62001520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P205

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 25164936

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000520

TR50-42520 20 1/2" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001520

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-525

www.atrobushing.com 800-325-6114 250

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross Reference

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International HD62000525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International HD62001525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000525

TR50-42525 20 11/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001525

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-530

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-530

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Mack 17QF250P7

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Mack 17QF352M3

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P208

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Mack 1RY39307P10

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Mack 1RY39307P2

TR62-412M3 20 7/8" c-c TS38000 5/8" TS38000 5/8" Mack 1RY39307P5

TR62-413M2 21" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P210

TR62-413M2 21" c-c TS38000 5/8" TS38000 5/8" Mack 17QF473M2

TR62-413M2 21" c-c TS38000 5/8" TS38000 5/8" Mack 17QF474P209

TR62-413M2 21" c-c TS38000 5/8" TS38000 5/8" Mack 25170832

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International HD62000535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International HD62001535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000535

TR50-42535 21 1/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001535

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" Freightliner HDR 62700 540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" Hendrickson 62700-540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" International HD62700540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" International HUD62700540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" International ZAK62700540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" International ZJF62700540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" Mack 4000-62700540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" Sterling Truck HDR 62700 540

TR50-62540 21 1/8" c-c TS38750 3/4" TS38750 3/4" Volvo HDR62700540

FAX: 866-920-2005 customerservice@atrobushing.com 251

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross Reference

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" International HD62001540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" International HUD62001540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62001540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62001540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF457P213

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P213

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 25155635

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 540

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Terex Advance
Mixer

19428

TR99-41428 21 1/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001540

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62000545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62001545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000545

TR50-42545 21 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001545

TR62-41215 21 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P215

TR62-41215 21 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 25174658

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International HD62000550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International HD62001550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International HUD62000550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International HUD62001550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International ZAK62000550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International ZAK62001550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International ZJF62000550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" International ZJF62001550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 550

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000550

www.atrobushing.com 800-325-6114 252

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross Reference Notes

TR50-42550 21 5/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001545

TR00-45375 21 3/4" c-c TS50-22649 .91" TS50-22649 .91" International 1617375C92

TR50-42555 21 7/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-555

TR50-42555 21 7/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-555

TR50-41112 21 15/16" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 484112 Small Eye

TR55-41118 21 31/32" c-c TS00-22500 5/8" TS00-22500 5/8" International 2504006C91 Small Eye

TR55-41118 21 31/32" c-c TS00-22500 5/8" TS00-22500 5/8" International 493921C1 Small Eye

TR55-41118 21 31/32" c-c TS00-22500 5/8" TS00-22500 5/8" International 493921C2 Small Eye

TR55-41118 21 31/32" c-c TS00-22500 5/8" TS00-22500 5/8" International 588118C91 Small Eye

TR62-41220 22" c-c TS38000 5/8" TS38000 5/8" Hendrickson 57857006

TR62-41220 22" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P220

TR62-41220 22" c-c TS38000 5/8" TS38000 5/8" Mack 25174706

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 32001 560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International HD62000560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International HD62001560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000560

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Mack 30SQ4525

TR50-42560 22 1/16" c-c TS38000 5/8" TS38000 5/8" Meritor R308821

TR96-41068 22 1/8" c-c TS38000 5/8" TS38000 5/8" Volvo 3187322

TR96-41068 22 1/8" c-c TS38000 5/8" TS38000 5/8" Volvo 3187322

TR96-41068 22 1/8" c-c TS38000 5/8" TS38000 5/8" Volvo 35801-0068

TR96-41068 22 1/8" c-c TS38000 5/8" TS38000 5/8" Volvo 8071513

TR96-41068 22 1/8" c-c TS38000 5/8" TS38000 5/8" Volvo/White/GMC 3187322

TR96-41068 22 1/8" c-c TS38000 5/8" TS38000 5/8" Volvo/White/GMC 35801-0068

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62011-565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International HD62000565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International HD62001565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International HUD62000565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International HUD62001565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62000565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62001565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62000565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62001565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF457P223

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P223

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 25164943

FAX: 866-920-2005 customerservice@atrobushing.com 253

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 3972682

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 565

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Volvo 3972682

TR50-42565 22 1/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000565

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" Freightliner HDR 62700 570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" Hendrickson 62700-570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" International HD62700570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" International HUD62700570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" International ZAK62700570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" International ZJF62700570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" Mack 4000-62700570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" Sterling Truck HDR 62700 570

TR50-62570 22 5/16" c-c TS38750 3/4" TS38750 3/4" Volvo HDR62700570

TR94-41458 22 3/8" c-c TS38000 5/8" TS38000 5/8" Western Star 35801-3458

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62000570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62001570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000570

TR50-42570 22 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001570

TR00-41795 22 1/2" c-c TS38000 5/8" TS38750 3/4" Clevite 924795

TR00-41816 26 1/2" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-28-16

TR00-41816 26 1/2" c-c TS38000 5/8" TS38000 5/8" International 1615913C91

TR00-41816 26 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 5435-942161

TR62-413M4 22 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P225

TR62-413M4 22 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF473M3

TR62-413M4 22 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 25166077

TR62-413M4 22 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 25195315

TR50-42575 22 5/8" c-c TS38000 5/8" TS38000 5/8" Autocar A3580048575

TR50-42575 22 5/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-575

TR50-42575 22 5/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-575

TR50-42575 22 5/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 72000-575

TR50-42575 22 5/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000575

TR50-42575 22 5/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000575

TR96-41268 22 5/8" c-c VS02000 5/8" VS02000 5/8" Dayton Parts 345-862 Offset

TR96-41268 22 5/8" c-c VS02000 5/8" VS02000 5/8" Gaff 31095 Offset

TR96-41945 22 5/8" c-c VS02000 5/8" VS02000 5/8" Volvo 943902

www.atrobushing.com 800-325-6114 254

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR96-41945 22 5/8" c-c VS02000 5/8" VS02000 5/8" Volvo 8071851

TR96-41945 22 5/8" c-c VS02000 5/8" VS02000 5/8" Volvo 8021378

TR96-41945 22 5/8" c-c VS02000 5/8" VS02000 5/8" Volvo 8028945

TR96-41945 22 5/8" c-c VS02000 5/8" VS02000 5/8" Volvo 8074268

TR96-49046 22 5/8" c-c TS96-22700 17mm TS96-22700 17mm Volvo 20443046 Offset

TR00-42486 22 3/4" c-c TS38000 5/8" TS38000 5/8" Volvo 85102486

TR00-45901 22 3/4" c-c TS50-22649 .91" TS50-22649 .91" International 1613901C93

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62022-580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International HD62001580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International HD62022580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International HUD62022580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62022580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62022580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62022580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Peterbilt 03-04251

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001580

TR50-42580 22 13/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62022580

TR46-41316 22 7/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-16749-000 Small Eye 

TR46-41316 22 7/8" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 681-326-6316 Small Eye 

TR75-41059 22 7/8" c-c TS38000 5/8" TS38000 5/8" Peterbilt 03-04059

TR75-41059 22 7/8" c-c TS38000 5/8" TS38000 5/8" Peterbilt C65-6013

TR75-41059 22 7/8" c-c TS38000 5/8" TS38000 5/8" Peterbilt SS-219-117

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" International HD62001585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" International HUD62001585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" International ZAK62001585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" International ZJF62001585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 585

TR50-42585 23" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001585

TR94-41900 23 1/8" c-c TS38000 5/8" TS38000 5/8" International 583922C91

TR94-41900 23 1/8" c-c TS38000 5/8" TS38000 5/8" Mack 5435-924900

TR94-41900 23 1/8" c-c TS38000 5/8" TS38000 5/8" Western Star 35801-3459

TR00-41910 23 3/16" c-c TS38000 5/8" TS38000 5/8" Mack 5435-924910

TR00-41910 23 3/16" c-c TS38000 5/8" TS38000 5/8" Peterbilt 924910

TR50-41590 23 1/4" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62000-590 Small Eye

TR50-41590 23 1/4" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62001-590 Small Eye

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-2516

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR62000 590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International HD62000590

FAX: 866-920-2005 customerservice@atrobushing.com 255

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International HD62001590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International HUD62000590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International HUD62001590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62000590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62001590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62000590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62001590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000590

TR50-42590 23 1/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001590

TR46-49002 23 1/4" c-c TS46-22300 5/8" TS46-22300 5/8" Freightliner 16-15002-000 Pin Width .945"

TR46-49002 23 1/4" c-c TS46-22300 5/8" TS46-22300 5/8" Freightliner 16-15002-001 Pin Width .945"

TR46-49002 23 1/4" c-c TS46-22300 5/8" TS46-22300 5/8" Sterling Truck 16-15002-000 Pin Width .945"

TR46-49002 23 1/4" c-c TS46-22300 5/8" TS46-22300 5/8" Sterling Truck 16-15002-001 Pin Width .945"

TR46-49002 23 1/4" c-c TS46-22300 5/8" TS46-22300 5/8" Western Star 16-15002-000 Pin Width .945"

TR46-49002 23 1/4" c-c TS46-22300 5/8" TS46-22300 5/8" Western Star 16-15002-001 Pin Width .945"

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Hino 6200-595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62000595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62001595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000595

TR50-42595 23 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001595

TR46-41175 23 1/2" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-27-16

TR46-41175 23 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P235

TR46-41175 23 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 25164944

TR46-41175 23 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 5435-942175

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" International HD62000600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" International HUD62000600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" International ZAK62000600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" International ZJF62000600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 600

TR50-42600 23 5/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000600

www.atrobushing.com 800-325-6114 256

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR96-45568 23 5/8" c-c TS96-22700 17mm TS96-22700 17mm Volvo 20509568 Offset, Adj. 22
7/8"-24 3/8" c-c

TR00-45949 23 3/4" c-c TS50-22649 .91" TS50-22649 .91" International 1651949C93

TR62-41238 23 3/4" c-c TS38000 5/8" TS38000 5/8" International 1516350C91

TR62-41238 23 3/4" c-c TS38000 5/8" TS38000 5/8" International 1516350C92

TR62-41238 23 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF457P238

TR62-41238 23 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P238

TR62-41238 23 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 25160749

TR62-41238 23 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 25164945

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Autocar A3580007-605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International HD62000605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International HD62001605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000605

TR50-42605 23 13/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001605

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" Freightliner HDR 62700 610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" Hendrickson 62700-610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" International HD62700610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" International HUD62700610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" International ZAK62700610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" International ZJF62700610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" Mack 4000-62700610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" Sterling Truck HDR 62700 610

TR50-62610 23 7/8" c-c TS38750 3/4" TS38750 3/4" Volvo HDR62700610

TR46-41716 23 15/16" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-16749-001 Small Eye 

TR46-41716 23 15/16" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 681-326-6716 Small Eye 

TR50-42608 23.94" c-c TS38000 5/8" TS38000 5/8" Kenworth 925000

TR50-42608 23.94" c-c TS38000 5/8" TS38000 5/8" Peterbilt 925000

TR00-45950 24" c-c TS50-22649 .91" TS50-22649 .91" International 1651950C93

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Freightliner 6813262065

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-610

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" International 1661925C91

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Kenworth 944270

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Kenworth K195-375

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P240

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Mack 1RY39307P13

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Mack 25164946

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Mack 5435-947794

TR59-41375 24" c-c TS38000 5/8" TS38000 5/8" Sterling Truck IPC 925030

TR46-41000 24 3/16" c-c TS38000 5/8" TS38000 5/8" Freightliner 16-15632-000 Heavy Duty

FAX: 866-920-2005 customerservice@atrobushing.com 257

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR46-41000 24 3/16" c-c TS38000 5/8" TS38000 5/8" Freightliner 16-18972-000 Heavy Duty

TR62-41243 24 1/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-615

TR62-41243 24 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF261P23

TR62-41243 24 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF352M2

TR62-41243 24 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P243

TR62-41243 24 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF473M4

TR62-41243 24 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 25170833

TR46-41002 24 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-16749-002 Small Eye

TR46-41002 24 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 16-18972-000 Small Eye

TR46-41002 24 5/16" c-c TS00-22500 5/8" TS00-22500 5/8" Freightliner 681-326-72-16 Small Eye

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" Freightliner HDR 62700 620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" Hendrickson 62700-620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" International HD62700620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" International HUD62700620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" International ZAK62700620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" International ZJF62700620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" Mack 4000-62700620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" Sterling Truck HDR 62700 620

TR50-62620 24 5/16" c-c TS38750 3/4" TS38750 3/4" Volvo HDR62700620

TR50-45620 24 3/8" c-c TS50-22649 .91" TS50-22649 .91" Hendrickson 72100-620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62008 620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62011 620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62008-620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62011-620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62000620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62001620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International HD62008620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International HUD62008620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62008620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62008620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62008620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62011620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62011 620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62008620

TR50-42620 24 7/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62011620

www.atrobushing.com 800-325-6114 258

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-43620 24 7/16" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62001-620 Small Eye

TR46-49998 24 7/16" c-c TS46-22300 5/8" TS46-22300 5/8" Freightliner 16-14998-000 Pin Width .945"

TR46-49998 24 7/16" c-c TS46-22300 5/8" TS46-22300 5/8" Freightliner 16-14998-001 Pin Width .945"

TR46-49998 24 7/16" c-c TS46-22300 5/8" TS46-22300 5/8" Sterling Truck 16-14998-000 Pin Width .945"

TR46-49998 24 7/16" c-c TS46-22300 5/8" TS46-22300 5/8" Sterling Truck 16-14998-001 Pin Width .945"

TR46-49998 24 7/16" c-c TS46-22300 5/8" TS46-22300 5/8" Western Star 16-14998-000 Pin Width .945"

TR46-49998 24 7/16" c-c TS46-22300 5/8" TS46-22300 5/8" Western Star 16-14998-001 Pin Width .945"

TR00-45170 24 1/2" c-c TS50-22649 .91" TS50-22649 .91" International 546170C93

TR62-41P24 24 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P245

TR62-41P24 24 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 25164947

TR50-42625 24 5/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-625

TR62-41248 24 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P248

TR62-41248 24 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 25164948

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International HD62000630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International HD62001630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International HUD62000630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62000630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62000630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000630

TR50-42630 24 13/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001630

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Autocar 3580007-635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-09-16

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 630

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International HD62000635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International HD62001635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International HUD62000635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International HUD62001635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International ZAK62000635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International ZAK62001635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International ZJF62000635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" International ZJF62001635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000635

TR50-42635 25" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001635

TR00-41160 25 1/8" c-c TS38000 5/8" TS38000 5/8" Mack 5435-925160

TR00-41160 25 1/8" c-c TS38000 5/8" TS38000 5/8" Peterbilt 925160

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 640

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-640

FAX: 866-920-2005 customerservice@atrobushing.com 259

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" International HD62001640

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001640

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001640

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001640

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001635

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 640

TR50-42640 25 3/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001640

TR00-45951 25 1/4" c-c TS50-22649 .91" TS50-22649 .91" International 1651951C93

TR55-418C1 25 3/8" c-c TS38000 5/8" TS38000 5/8" International 3548381C1

TR55-418C1 25 3/8" c-c TS38000 5/8" TS38000 5/8" International 4C4Z4612AA

TR55-418C1 25 3/8" c-c TS38000 5/8" TS38000 5/8" International 501565C2

TR55-428C1 25 3/8" c-c TS00-22500 5/8" TS00-22500 5/8" International 3580088C1 Small Eye

TR00-41270 25 1/2" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-11-16

TR00-41270 25 1/2" c-c TS38000 5/8" TS38000 5/8" International 583922C91

TR00-41270 25 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P255

TR00-41270 25 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 5435-925190

TR00-41270 25 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 5435-925580

TR00-41270 25 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 5435-945270

TR00-41270 25 1/2" c-c TS38000 5/8" TS38000 5/8" Volvo 945460

TR00-45265 25 1/2" c-c TS50-22649 .91" TS50-22649 .91" International 1615265C93

TR00-41009 25 9/16" c-c TS00-22500 5/8" TS00-22500 5/8" Kenworth C65-6002 Small Eye

TR00-41009 25 9/16" c-c TS00-22500 5/8" TS00-22500 5/8" Kenworth C65-6009 Small Eye

TR00-41009 25 9/16" c-c TS00-22500 5/8" TS00-22500 5/8" Peterbilt C65-6002 Small Eye

TR00-41009 25 9/16" c-c TS00-22500 5/8" TS00-22500 5/8" Peterbilt C65-6009 Small Eye

TR75-41108 25 9/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-650

TR75-41108 25 9/16" c-c TS38000 5/8" TS38000 5/8" Meritor R307853

TR75-41108 25 9/16" c-c TS38000 5/8" TS38000 5/8" Peterbilt 03-05108

TR75-41108 25 9/16" c-c TS38000 5/8" TS38000 5/8" Peterbilt 943711

TR96-41239 25 11/16 c-c TS38000 5/8" TS38000 5/8" Volvo 35801-3202

TR96-41239 25 11/16 c-c TS38000 5/8" TS38000 5/8" Volvo 564239

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" International HD62001655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 655

TR50-42655 25 13/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001655

TR00-45222 26" c-c TS50-22649 .91" TS50-22649 .91" International 1610222C93

TR62-41260 26" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-1216

TR62-41260 26" c-c TS38000 5/8" TS38000 5/8" Hendrickson 58757-660

TR62-41260 26" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P260

TR62-41260 26" c-c TS38000 5/8" TS38000 5/8" Mack 25100535

TR62-41260 26" c-c TS38000 5/8" TS38000 5/8" Mack 25164959

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 665

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-665

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" International HD62001665

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001665

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001665

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001665

www.atrobushing.com 800-325-6114 260

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001665

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 665

TR50-42665 26 3/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001665

TR00-45104 26 1/4" c-c TS50-22649 .91" TS50-22649 .91" International 1652104C93

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Autocar A3580007-670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62000 670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P263

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Mack 25165726

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001665

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000670

TR50-42670 26 3/8" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001670

TR46-49004 26 3/8" c-c TS46-22300 5/8" TS46-22300 5/8" Freightliner 16-15004-000 Pin Width .945"

TR46-49004 26 3/8" c-c TS46-22300 5/8" TS46-22300 5/8" Freightliner 16-15004-001 Pin Width .945"

TR46-49004 26 3/8" c-c TS46-22300 5/8" TS46-22300 5/8" Sterling Truck 16-15004-000 Pin Width .945"

TR46-49004 26 3/8" c-c TS46-22300 5/8" TS46-22300 5/8" Sterling Truck 16-15004-001 Pin Width .945"

TR46-49004 26 3/8" c-c TS46-22300 5/8" TS46-22300 5/8" Western Star 16-15004-000 Pin Width .945"

TR46-49004 26 3/8" c-c TS46-22300 5/8" TS46-22300 5/8" Western Star 16-15004-001 Pin Width .945"

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62000-675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" International HD62001675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" International HUD62001675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" International ZAK62001675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" International ZJF62001675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P265

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Mack 25173020

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62000675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62000 675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62000675

TR50-42675 26 9/16" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001675

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" Freightliner 62001 680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" International HD62001680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" International HUD62001680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" International ZAK62001680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" International ZJF62001680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P268

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 25164961

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 680

TR50-42680 26 3/4" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001680

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62001 685

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62001-685

FAX: 866-920-2005 customerservice@atrobushing.com 261

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Straddle Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross
Reference

Notes

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" International HD62001685

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" International HUD62001685

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" International ZAK62001685

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" International ZJF62001685

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62001685

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" Sterling Truck HDR 62001 685

TR50-42685 27" c-c TS38000 5/8" TS38000 5/8" Volvo HDR62001685

TR00-41420 27 3/4" c-c TS38000 5/8" TS38000 5/8" Kenworth 925420

TR00-41420 27 3/4" c-c TS38000 5/8" TS38000 5/8" Mack 5435-925420

TR00-41420 27 3/4" c-c TS38000 5/8" TS38000 5/8" Peterbilt 925420

TR00-45106 28" c-c TS50-22649 .91" TS50-22649 .91" International 1652106C93

TR00-45171 28 1/4" c-c TS50-22649 .91" TS50-22649 .91" International 546171C93

TR62-41283 28 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 17QF460P283

TR62-41283 28 1/4" c-c TS38000 5/8" TS38000 5/8" Mack 25165006

TR50-41720 28 3/8" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62011-720 Small Eye

TR50-41720 28 3/8" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 64992-725 Small Eye

TR50-42720 28 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62011-720

TR50-42720 28 3/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 64992-725

TR50-43720 28 3/8" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62011-720 Small Eye

TR50-43720 28 3/8" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62014-720 Small Eye

TR50-43720 28 3/8" c-c TS00-22500 5/8" TS00-22500 5/8" Hendrickson 62017-720 Small Eye

TR00-45902 28 3/4" c-c TS50-22649 .91" TS50-22649 .91" International 1613902C93

TR00-41935 29" c-c TS38000 5/8" TS38000 5/8" International 1661935C1

TR00-41935 29" c-c TS38000 5/8" TS38000 5/8" International 1661935C92

TR00-41935 29" c-c TS38000 5/8" TS38000 5/8" Mack 5435-644600

TR59-41280 29 1/4" c-c TS38000 5/8" TS38000 5/8" Kenworth 945280

TR00-45485 29 1/4" c-c TS50-22649 .91" TS50-22649 .91" International 1613485C93

TR00-45107 29 1/2" c-c TS50-22649 .91" TS50-22649 .91" International 1652107C93

TR55-41C91 29 1/2" c-c TS38000 5/8" TS38000 5/8" International 1661937C91

TR50-45770 30 5/16" c-c TS50-22649 .91" TS50-22649 .91" Hendrickson 72100-770

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" Freightliner HDR 62013 790

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" Hendrickson 62013-790

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" International HD62013790

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" International HUD62013790

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" International ZAK62013790

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" International ZJF62013790

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" Mack 4000-62013790

TR50-41790 31 1/8" c-c TS38000 5/8" TS38000 5/8" Volvo HRD62013790

TR00-45978 32 1/4" c-c TS50-22649 .91" TS50-22649 .91" International 318978C91

TR00-42325 32 1/2" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-34-16

TR00-42325 32 1/2" c-c TS38000 5/8" TS38000 5/8" International 1661980C91

TR00-42325 32 1/2" c-c TS38000 5/8" TS38000 5/8" Mack 17QF364P2

TR00-45415 32 3/4" c-c TS50-22649 .91" TS50-22649 .91" International 3531415C91

TR00-42350 35" c-c TS38000 5/8" TS38000 5/8" Freightliner 681-326-42-16

www.atrobushing.com 800-325-6114 262

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole Bushing B Taper Length OEM Cross Reference

TR50-41450 17 11/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 450

TR50-41450 17 11/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-655

TR50-41450 17 11/16" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350450

TR50-41450 17 11/16" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 450

TR50-41450 17 11/16" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350450

TR62-41178 17 3/4" c-c TS38000 5/8" TM38000 7" Mack 17QF463P178

TR62-41180 18" c-c TS38000 5/8" TM38000 7" Mack 17QF251P11

TR62-41180 18" c-c TS38000 5/8" TM38000 7" Mack 17QF463P180

TR62-41180 18" c-c TS38000 5/8" TM38000 7" Mack 17QF464P180

TR62-41180 18" c-c TS38000 5/8" TM38000 7" Mack 1RY48P23

TR62-41180 18" c-c TS38000 5/8" TM38000 7" Mack 25162529

TR62-41470 18 3/32" c-c TS38000 5/8" TM38000 7" Mack 1RY340AP11

TR62-41470 18 3/32" c-c TS38000 5/8" TM38000 7" Mack 1RY351P11

TR62-41470 18 3/32" c-c TS38000 5/8" TM38000 7" Mack 5435-921470

TR62-418M2 18 3/32" c-c TS38000 5/8" TT38000 8 1/16" Mack 17QF348M2

TR62-41183 18 1/4" c-c TS38000 5/8" TM38000 7" Mack 17QF463P183

TR62-41183 18 1/4" c-c TS38000 5/8" TM38000 7" Mack 17QF464P183

TR62-41183 18 1/4" c-c TS38000 5/8" TM38000 7" Mack 25160893

TR62-41183 18 1/4" c-c TS38000 5/8" TM38000 7" Mack 25168854

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 470

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-470

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" International HD62350470

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350470

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350470

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350470

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350470

TR50-41470 18 7/16" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350470

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 495

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-495

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" International HD62650495

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650495

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650495

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650495

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650495

TR50-75495 19 7/16" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR62650495

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 500

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-500

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" International HD62650500

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650500

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650500

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650500

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650500

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" Sterling Truck HDR 62650 500

FAX: 866-920-2005 customerservice@atrobushing.com 263

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole Bushing B Taper Length OEM Cross Reference

TR50-75500 19 5/8" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR62650500

TR62-413P5 19 11/16" c-c TS38875 7/8" TM38000 7" Mack 17QF423P5

TR62-413P5 19 11/16" c-c TS38875 7/8" TM38000 7" O & S America LLC SB-371-05

TR62-41198 19.750" c-c TS38000 5/8" TM38000 7" Mack 17QF251P22

TR62-41198 19.750" c-c TS38000 5/8" TM38000 7" Mack 17QF463P198

TR62-41198 19.750" c-c TS38000 5/8" TM38000 7" Mack 17QF464P198

TR62-41198 19.750" c-c TS38000 5/8" TM38000 7" Mack 1RY340AP22

TR62-41198 19.750" c-c TS38000 5/8" TM38000 7" Mack 1RY351P22

TR62-41198 19.750" c-c TS38000 5/8" TM38000 7" O & S America LLC SB-233-30

TR50-41505 19 13/16" c-c TS38000 5/8" TM38000 7" Freightliner HDR 62350 505

TR50-41505 19 13/16" c-c TS38000 5/8" TM38000 7" Hendrickson 62350-505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" International HD62650505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" Sterling Truck HDR 62650 505

TR50-75505 19 13/16" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR62650505

TR99-41388 20" c-c TS38000 5/8" TT34038 6 5/8" Terex Advance
Mixer

19388

TR62-4123A 20 3/16" c-c TS38875 7/8" TM38000 7" Mack 17QF418

TR62-4123A 20 3/16" c-c TS38875 7/8" TM38000 7" Mack 17QF423

TR62-4123A 20 3/16" c-c TS38875 7/8" TM38000 7" Mack 17QF423A

TR62-4123A 20 3/16" c-c TS38875 7/8" TM38000 7" Mack 17QF423P1

TR62-41203 20 1/4" c-c TS38000 5/8" TM38000 7" Mack 17QF442P203

TR62-41203 20 1/4" c-c TS38000 5/8" TM38000 7" Mack 17QF464P203

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 520

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-520

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" International HD62350520

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350520

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350520

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350520

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350520

TR50-41520 20 7/16" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350520

TR50-75520 20 7/16" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-520

TR50-75520 20 7/16" c-c TS38750 3/4" TT38000 8 1/16" International HD62650520

TR50-75520 20 7/16" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650520

TR50-75520 20 7/16" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650520

TR50-75520 20 7/16" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650520

TR50-75520 20 7/16" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650520

TR50-75520 20 7/16" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626505

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 525

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-525

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" International HD62350525

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350525

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350525

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350525

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350525

TR50-41525 20 5/8" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350525

www.atrobushing.com 800-325-6114 264

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole Bushing B Taper Length OEM Cross Reference

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 34072-21

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" International HD62650525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" Sterling Truck HDR 62650 525

TR50-75525 20 5/8" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626525

TR62-413P3 20 11/16" c-c TS38875 7/8" TM38000 7" Mack 17QF423P3

TR62-41758 21" c-c TS38000 5/8" TM38000 7" Mack 1RYA39306P8

TR62-41758 21" c-c TS38000 5/8" TM38000 7" Mack 5435-943758

TR62-41758 21" c-c TS38000 5/8" TM38000 7" Mack 943758

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 535

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-535

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" International HD62350535

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350535

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350535

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350535

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350535

TR50-41535 21" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" International HD62650535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" Sterling Truck HDR 62650 535

TR50-75535 21" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626535

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 545

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-545

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" International HD62350545

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350545

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350545

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350545

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350545

TR50-41545 21 3/8" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350545

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 550

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-550

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" International HD62350550

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350550

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350550

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350550

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350550

TR50-41550 21 9/16" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350550

TR50-41555 21 13/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-555

TR13-41022 22" c-c TS38000 5/8" TT38000 8 1/16" Autocar 35801-0033

TR13-41022 22" c-c TS38000 5/8" TT38000 8 1/16" Autocar 358010-560

TR13-41022 22" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck IPC 924711

FAX: 866-920-2005 customerservice@atrobushing.com 265

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole Bushing B Taper Length OEM Cross Reference

TR13-41022 22" c-c TS38000 5/8" TT38000 8 1/16" Western Star 35801-0033

TR50-41560 22 1/16" c-c TS38000 5/8" TT38000 8 1/16" Autocar A3580010-560

TR50-41560 22 1/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-560

TR50-41587 23 1/8" c-c TS38000 5/8" TT38000 8 1/16" Peterbilt 924901

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" International HD62350605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 605

TR50-41605 23 3/4" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350605

TR50-75605 23 3/4" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-605

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" International HD62350610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 610

TR50-41610 23 15/16" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" International HD62650610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650610

TR50-75610 23 15/16" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626610

TR59-41376 24" c-c TS38000 5/8" TT38000 8 1/16" International 3581270C1

TR59-41376 24" c-c TS38000 5/8" TT38000 8 1/16" Kenworth 925031

TR59-41376 24" c-c TS38000 5/8" TT38000 8 1/16" Kenworth K195-375

TR59-41376 24" c-c TS38000 5/8" TT38000 8 1/16" Kenworth K195-376

TR59-41376 24" c-c TS38000 5/8" TT38000 8 1/16" Mack 17QF455P240

TR59-41376 24" c-c TS38000 5/8" TT38000 8 1/16" Mack 25164994

TR59-41376 24" c-c TS38000 5/8" TT38000 8 1/16" Western Star 35801-3441

TR99-41149 24" c-c TS38000 5/8" TT34038 6 5/8" Terex Advance
Mixer

17149

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 615

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-615

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" International HD62650615

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650615

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650615

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650615

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650615

TR50-75615 24 1/8" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" International HD62350615

www.atrobushing.com 800-325-6114 266

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole Bushing B Taper Length OEM Cross Reference

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" Mack 17QF455P243

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" Mack 25171605

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 615

TR50-41615 24 1/4" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350615

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" International HD62350620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 620

TR50-41620 24 3/8" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350620

TR46-41016 24 7/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner 680-326-00-16

TR62-413P2 24 7/16" c-c TS38875 7/8" TM38000 7" Mack 17QF423P2

TR62-413P2 24 7/16" c-c TS38875 7/8" TM38000 7" Mack 1RY339P2

TR62-413P2 24 7/16" c-c TS38875 7/8" TM38000 7" Mack 5435-942672

TR62-413P2 24 7/16" c-c TS38875 7/8" TM38000 7" O & S America LLC SB-371-02

TR62-41245 24 1/2" c-c TS38000 5/8" TM38000 7" Mack 17QF463P245

TR62-41245 24 1/2" c-c TS38000 5/8" TM38000 7" Mack 17QF464P245

TR62-41245 24 1/2" c-c TS38000 5/8" TM38000 7" Mack 1RY351P2

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner 681-326-71-16

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" International HD62350625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 625

TR50-41625 24 9/16" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350625

TR50-41626 24 5/8" c-c TS38000 5/8" TT38000 8 1/16" Peterbilt 925101

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" Freightliner 681-326-03-16

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" International 512146C92

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" International HD62350630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 630

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" Volvo 85102511

TR50-41630 24 3/4" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" International HD62650630

FAX: 866-920-2005 customerservice@atrobushing.com 267

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole Bushing B Taper Length OEM Cross Reference

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" Sterling Truck HDR 62650 630

TR50-75630 24 3/4" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626630

TR50-44630 24 13/16" c-c TS38000 5/8" TT38000 8 1/16" Autocar A3580047-630

TR50-44630 24 13/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 72350-630

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 52350 635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" International HD62350635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 635

TR50-41635 24 15/16" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" International HDR62650635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" Sterling Truck HDR 62650 635

TR50-75635 24 15/16" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626635

TR13-41635 25" c-c TS59-22400 5/8" TT38000 8 1/16" Autocar A3580010-635

TR13-41635 25" c-c TS59-22400 5/8" TT38000 8 1/16" Autocar S3580001-635

TR13-41635 25" c-c TS59-22400 5/8" TT38000 8 1/16" Autocar S3580003-635

TR59-41150 25" c-c TS38000 5/8" TT38000 8 1/16" Freightliner 681-326-70-16

TR59-41150 25" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-635

TR59-41150 25" c-c TS38000 5/8" TT38000 8 1/16" Kenworth 925150

TR62-41250 25" c-c TS38000 5/8" TM38000 7" Mack 17QF442P250

TR62-41250 25" c-c TS38000 5/8" TM38000 7" Mack 25158543

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" International HD62350640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 640

TR50-41640 25 1/8" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" International HD62650640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" Sterling Truck HDR 62650 640

TR50-75640 25 1/8" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626640

www.atrobushing.com 800-325-6114 268

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

Straddle/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Bolt Hole Bushing B Taper Length OEM Cross Reference

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" International HD62350645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 645

TR50-41645 25 1/4" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350645

TR62-41253 25 1/4" c-c TS38000 5/8" TM38000 7" Mack 17QF442P253

TR62-41253 25 1/4" c-c TS38000 5/8" TM38000 7" Mack 25023772

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" Freightliner HDR 62650 645

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" Hendrickson 62650-645

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" International HD62650645

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" International HUD62650645

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" International ZAK62650645

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" International ZJF62650645

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" Mack 4000-62650645

TR50-75645 25 5/16" c-c TS38750 3/4" TT38000 8 1/16" Volvo HDR626645

TR62-41255 25 1/2" c-c TS38000 5/8" TM38000 7" Mack 17QF251P31

TR62-41255 25 1/2" c-c TS38000 5/8" TM38000 7" Mack 17QF464P255

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" Freightliner HDR 62350 655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" Hendrickson 62350-655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" International HD62350655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" International HUD62350655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" International ZAK62350655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" International ZJF62350655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" Mack 4000-62350655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" Sterling Truck HDR 62350 655

TR50-41655 25 3/4" c-c TS38000 5/8" TT38000 8 1/16" Volvo HDR62350655

TR46-46002 24 7/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner 1614149002

TR46-46003 24 7/16" c-c TS38000 5/8" TT38000 8 1/16" Freightliner 1614149003

TR62-41295 29 1/2" c-c TS38000 5/8" TM38000 7" Mack 17QF464P295

FAX: 866-920-2005 customerservice@atrobushing.com 269

mailto:customerservice@atrobushing.com


Torque Rods
OE Replacement Rods

Taper/Taper Torque Rods

ATRO Part
Number

ATRO Center to
Center

Bushing A Taper Length A Bushing B Taper Length B OEM Cross Reference

TR62-41205 21 1/2" c-c TM38000 7" TM38000 7" Mack 17QF443P205

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" Freightliner HDR 62599 560

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" Hendrickson 62599-560

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" International HD62599560

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" International HUD62599560

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" International ZAK62599560

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" International ZJF62599560

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" Mack 4000-62599560

TR50-65560 22 1/16" c-c TT38000 8 1/16" TT38000 8 1/16" Volvo HDR62599560

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" Freightliner HDR 62599 585

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" Hendrickson 62599-585

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" International HD62599585

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" International HUD62599585

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" International ZAK62599585

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" International ZJF62599585

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" Mack 4000-62599585

TR50-65585 23" c-c TT38000 8 1/16" TT38000 8 1/16" Volvo HDR62599585

TR50-65650 25 9/16" c-c TT38000 8 1/16" TT38000 8 1/16" Hendrickson 62599-585

www.atrobushing.com 800-325-6114 270

http://www.atrobushing.com
www.torque-rod.com


Torque Rods
OE Replacement Rods

Hollow/Hollow Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross Reference Notes

TR53-41500 19 1/4" c-c TH53-33100 1" TH53-33100 1" Hutchens 715-00 Fixed Length

TR53-41500 19 1/4" c-c TH53-33100 1" TH53-33100 1" Watson & Chalin 12954 Fixed Length

TR53-45305 19 1/4" c-c TH53-33100 1" TH53-33100 1" Hutchens 16398-04 Adjustable 18
1/2"-21" c-c

TR53-45305 19 1/4" c-c TH53-33100 1" TH53-33100 1" Hutchens 713-05 Adjustable 18
1/2"-21" c-c

TR83-41201 19 3/8" c-c TH00-22500 7/8" TH00-22500 7/8" Reyco 1976201 Small Eye

TR83-41520 19 7/8" c-c TH83-13000 7/8" TH83-13000 7/8" Reyco 0075-20 Fixed Length

TR83-45520 19 7/8" c-c TH83-13000 7/8" TH83-13000 7/8" Reyco 1035-20 Adjustable 18
1/4"-21 1/2" c-c

TR83-45520 19 7/8" c-c TH83-13000 7/8" TH83-13000 7/8" Transpro 1035-20 Adjustable 18
1/4"-21 1/2" c-c

TR94-41514 22 1/2" c-c TH99-22101 .88" TH99-22101 .88" Western Star 35801-3514

TR94-41514 22 1/2" c-c TH99-22101 .88" TH99-22101 .88" Western Star IPC947-271

TR50-43640 25.2" c-c TH00-22500 7/8" TH00-22500 7/8" Hendrickson 60641-640 Small Eye

TR50-43660 25.975" c-c TH00-22500 7/8" TH00-22500 7/8" Hendrickson 60641-660 Small Eye

TR47-41026 32 1/2" c-c TH47-33026 7/8" TH47-33026 7/8" Fruehauf FCF-008248004

TR47-41028 35 1/2" c-c TH47-33026 7/8" TH47-33026 7/8" Fruehauf FCF-008248006

FAX: 866-920-2005 customerservice@atrobushing.com 271

mailto:customerservice@atrobushing.com
www.torque-rod.com


Torque Rods
OE Replacement Rods

Straddle/Hollow Torque Rods

ATRO Part
Number

ATRO Center
to Center

Bushing A Bolt Hole A Bushing B Bolt Hole B OEM Cross Reference Notes

TR50-41001 15.85" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 47401-001 Small Eye

TR50-41001 15.85" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 48158-001 Small Eye

TR50-41001 15.85" c-c TS00-22500 5/8" TH00-22500 7/8" Meritor R305282 Small Eye

TR46-46016 17" c-c TS00-22500 5/8" TH00-22500 7/8" Freightliner 681-326-00-16 Small Eye

TR46-46016 17" c-c TS00-22500 5/8" TH00-22500 7/8" Mack 5435-942430 Small Eye

TR46-46016 17" c-c TS00-22500 5/8" TH00-22500 7/8" Neway 57750377 Small Eye

TR03-83200 17 1/2" c-c TS38000 5/8" TH03-82751 1" Gillig 8239803000

TR50-41530 20.866" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 67274-530 Small Eye

TR50-41002 21.92" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 47401-002 Small Eye

TR50-41002 21.92" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 48158-002 Small Eye

TR50-41002 21.92" c-c TS00-22500 5/8" TH00-22500 7/8" Meritor R305283 Small Eye

TR96-41003 22 1/4" c-c TS00-22003 5/8" TH00-22500 7/8" Volvo 21608003 Small Eye

TR50-41570 22.44" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 67274-570 Small Eye

TR00-41001 23 3/4" c-c TS00-22500 5/8" TH00-22500 7/8" Kenworth C65-6000-001 Small Eye

TR00-41001 23 3/4" c-c TS00-22500 5/8" TH00-22500 7/8" Kenworth C65-6011-001 Small Eye

TR00-41001 23 3/4" c-c TS00-22500 5/8" TH00-22500 7/8" Peterbilt C65-6000-001 Small Eye

TR00-41001 23 3/4" c-c TS00-22500 5/8" TH00-22500 7/8" Peterbilt C65-6011-001 Small Eye

TR50-49605 23 13/16" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 60827-605A Small Eye,
Offset 1 5/16"

TR50-49605 23 13/16" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 60827-605B Small Eye,
Offset 1 5/16"

TR00-41600 24 11/16" c-c TS00-22500 5/8" TH00-22500 7/8" Kenworth C65-6000-002 Small Eye

TR00-41600 24 11/16" c-c TS00-22500 5/8" TH00-22500 7/8" Kenworth C65-6011-002 Small Eye

TR00-41600 24 11/16" c-c TS00-22500 5/8" TH00-22500 7/8" Peterbilt C65-6000-002 Small Eye

TR00-41600 24 11/16" c-c TS00-22500 5/8" TH00-22500 7/8" Peterbilt C65-6011-002 Small Eye

TR50-49645 25 3/8" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 60827-645A Small Eye,
Offset 1 5/16"

TR50-49645 25 3/8" c-c TS00-22500 5/8" TH00-22500 7/8" Hendrickson 60827-645B Small Eye,
Offset 1 5/16"

www.atrobushing.com 800-325-6114 272

http://www.atrobushing.com


Torque Rods
OE Replacement Rods

V-Rod Torque Rods

Straddle Bushing End B & C

ATRO Part Number ATRO Center to
Center

OEM Cross Reference Apex Bushing End
A OD

Bolt Hole Length OD

TR96-44004 26 1/2" Volvo 20367004 72mm 19mm 115mm c-c 75mm

TR96-44004 26 1/2" Volvo 20367004 72mm 19mm 115mm c-c 75mm

TR96-44004 26 1/2" Volvo 20367004 72mm 19mm 115mm c-c 75mm

TR96-44004 26 1/2" Volvo 20367004 72mm 19mm 115mm c-c 75mm

TR96-44004 26 1/2" Volvo 20367004 72mm 19mm 115mm c-c 75mm

TR96-44829 26 3/4" Meritor R3011906 72mm 17mm 115mm c-c 75mm

TR96-44829 26 3/4" Volvo 3172829 72mm 17mm 115mm c-c 75mm

TR96-44829 26 3/4" Volvo 8073569 72mm 17mm 115mm c-c 75mm

FAX: 866-920-2005 customerservice@atrobushing.com 273

mailto:customerservice@atrobushing.com


Torque Rods
Two Piece Assembly Chart

www.atrobushing.com 800-325-6114 274

http://www.atrobushing.com


Torque Rods
Custom Length Rods

Straddle/Straddle Torque Rods

ATRO Part Number Bushing A Bolt Hole A Bushing B Bolt Hole B Notes

TR20003 TS38000 5/8" TS38750 3/4"

TR20007 TS38750 3/4" TS38750 3/4"

TR20013 TS38875 7/8" TS38875 7/8"

TR20018 TS38875 7/8" TS38750 3/4"

TR20023 TS50-22649 .91" TS50-22649 .91"

TR21001 TS00-22500 5/8" TS00-22500 5/8" Small Eye

Straddle/Taper Torque Rods

ATRO Part Number Bushing A Bolt Hole A Bushing B Taper Length B Notes

TR20002 TS38000 5/8" TT38000 8 1/16"

TR20004 TS38000 5/8" TM38000 7"

TR20006 TS38750 3/4" TT38000 8 1/16"

TR20008 TS38750 3/4" TM38000 7"

TR20012 TS38875 7/8" TM38000 7"

TR20017 TS38000 5/8" TT34038 6 5/8"

Taper/Taper Torque Rods

ATRO Part Number Bushing A Taper Length
A

Bushing B Taper Length
B

Notes

TR20005 TT38000 8 1/16" TT38000 8 1/16"

TR20009 TM38000 7" TM38000 7"

TR20014 TT34038 6 5/8" TT34038 6 5/8"

Straddle/Hollow Torque Rods

ATRO Part Number Bushing A Bolt Hole A Bushing B Bolt Hole B Notes

TR20010 TS38000 5/8" TH50000 1 1/8"

TR20016 TS49000 3/4" TH50000 1 1/8"

TR20019 TS38000 5/8" TH99-22101 .88"

TR20025 TS38000 5/8" TH47-33026 7/8"

TR21002 TS00-22500 5/8" TH00-22500 7/8" Small Eye

Hollow/Hollow Torque Rods

ATRO Part Number Bushing A Bolt Hole A Bushing B Bolt Hole B Notes

TR20011 TH50000 1 1/8" TH50000 1 1/8"

TR20020 TH99-22101 .88" TH99-22101 .88"

TR20021 TH47-33026 7/8" TH47-33026 7/8"

TR20022 TH00-22500 7/8" TH00-22500 7/8" Small Eye

TR20024 TH03-82751 1" TH03-82751 1"

No Bushing Torque Rods

ATRO Part Number End A Hole A ID End B Hole B ID Notes

TR99-49999 no bushing 2 3/4" no bushing 2 3/4"

FAX: 866-920-2005 customerservice@atrobushing.com 275

mailto:customerservice@atrobushing.com


0010 Severson PL1154
0011 Severson PL1006
0022-00 Transpro PL1118
0022-00 Transpro UB30000
0022-01 Reyco TH83-37022
002237 Hendrickson Aux PB50-26237
002582-1 Hendrickson Aux PB50-26821
004931 Hendrickson PB00-36314
004931 Hendrickson Aux  PB00-36314
0075-20 Reyco TR83-41520
0100 Severson PL1124
0105 Severson PL1008
01-15047-000 Freightliner MM46-62003
01-15047-000 Freightliner MM46-62006
0120500 McNeilus MS99-65038
01411535 Heil BP99-65535
0183488 McNeilus EB38651
02-00377 Peterbilt PL1026
02-00377 Peterbilt PL1026-HT
02-01154 Peterbilt SK75-10000
020117451 Orion TH85000
020117451U Orion TH85000
020117461 Orion AT80000
020117461U Orion AT80000
02-01561 Peterbilt SK75-10000
02-01561 Peterbilt SP00-11561
0201747 Peterbilt SK75-10100
02-01781 Peterbilt SK75-10100
02-01781 Peterbilt SK75-10200
02-01781 Peterbilt SP75-11781
02-01783 Peterbilt SK75-10200
02-01784 Peterbilt SK75-10200
02-01805 Peterbilt SK75-10000
02-01805 Peterbilt SK75-10100
02-01805 Peterbilt SK75-10200
02-01805 Peterbilt SP00-11561
02-01805 Peterbilt SP75-11781
02-02904 Peterbilt MS75-65904
02-27710 Peterbilt TS34000
02-27720 Peterbilt TS38000
02-27723 Peterbilt TS38750
02-29610 Peterbilt TT38000
03-01674 Peterbilt PL1075
03-01675 Peterbilt PL1076
03-01764 Peterbilt TR75-41781
03-01781 Peterbilt TR75-41781
03-02099 Peterbilt PL1073
03-04059 Peterbilt TR75-41059
03-04119 Peterbilt TR75-41119
03-04251 Peterbilt TR50-42580
03-04327 Peterbilt TR75-41327
03-04623 Peterbilt SU75-29623
03-04623 Peterbilt SU75-29624
03-04627 Peterbilt PL1028
03-04839 Peterbilt TR75-41781
03-05101 Peterbilt PL1189
03-05108 Peterbilt TR75-41108
03-07016 Peterbilt PL1075
03-1250-0-214 Utility Trailer BP99-65020
035-25182 Great Dane BP99-65182
03602 Gaumers TR46-46016
03604 Gaumers TR46-41716
03AL01 Peterbilt PB75-29674
03AL02 Peterbilt PB75-29101
03AL1 Peterbilt PB75-29674
03AL2 Peterbilt PB75-29101
04-85104-PLY-00 Stoughton MS99-65038
04-85341-000-00 Stoughton MS99-65341

04-85341-PLY-00 Stoughton MS99-65341
04-86997-001-00 Stoughton BP89-65100
04-9009990 Western Star PL1016
04-9009996 Western Star PL1015
04-9009996 Western Star PL1015-HT
04-9009997 Western Star MM96-62870
04-9009997 Western Star MM96-62870-HT
05-00748 Peterbilt MM75-62748
05-08968 Peterbilt PL1070
05-08968 Peterbilt PL1070-HT
05-08969 Peterbilt PL1013
05-08969 Peterbilt PL1013-HT
05-10103 Peterbilt PL1013
05-10103 Peterbilt PL1013-HT
05-10197 Peterbilt PL1018
05-10197 Peterbilt PL1018-HT
05-14794 Peterbilt PL1009
05-16401 Peterbilt MM75-62401
05-16919 Peterbilt PL1111
05-16919 Western Star PL1111
05-17224 Peterbilt PL1120
05-17225 Peterbilt PL1127
05-17597 Peterbilt MM75-62597
05-18263 Peterbilt PL1112
0518713SPL Peterbilt MM75-62001
0518713SPL Peterbilt MM75-62001-HT
05546 Gaumers SW59-29000
05546 Gaumers SW59-29000-KIT
05919-000L Hendrickson CB38012
0602035 McNeilus MS99-65035
0620717 Heil MS99-69717
0649-02 Great Dane EQ83-35902
0649-02 Reyco EQ83-35902
0649-02 Transpro EQ83-35902
0650-00 Great Dane EQ83-35000
0650-00 Reyco EQ83-35000
0650-00 Transpro EQ83-35000
06664-000L Hendrickson CB34012
068231506 Orion TR03-86006
06969-000L Hendrickson EB34000
07-02252 Peterbilt PL1126-HT
07-02552 Peterbilt PL1126
07-02552 Peterbilt PL1126-HT
07-03286 Peterbilt PL1015
07-03286 Peterbilt PL1015-HT
07-03286RUB Kenworth PL1015
07-05861 Peterbilt RM75-63861
07-08003-003 Peterbilt MM75-62001
07-08003-003 Peterbilt MM75-62001-HT
07-08003-003 Peterbilt MM75-62372
07-3286RUB Kenworth PL1015-HT
074100 Hutchens HW53-39100
0741-00 Reyco EQ83-35855
080155020 Neoplan TH03-85520
080155033 Neoplan TS03-85533
08363-01 Reyco PL1148
0850-00 Reyco EQ83-35850
0850-00 Reyco EQ83-35855
08-6448 Batco AW51-34036
0921-00 Transpro AW51-34010
09-2274 Batco PL1005
09-228202 Batco TH83-37640
09-2360 Batco TH83-22089
09-3301 Batco HW53-39100
09-4424 Batco PL1041
09-4428 Batco AW51-34010
095039 Dayton Parts PL1146
09-5039 Batco PL1146

09-5495 Batco AK50-45000
09-6241 Batco MS50-39613
09-6494 Batco TR46-46016
09-7280 Batco TR96-41068
09729-01 Binkley PL1118
09729-01 Reyco PL1118
09729-01 Binkley UB30000
09729-01 Reyco UB30000
09-8048 Batco SU75-29624
09-8049 Batco SU75-29623
09-8065 Batco TS38750
09-8208 Batco MS83-69219
09-8436 Batco LP19-24015
10001 Gaff PL1144
10002 Gaff PL1002
10020 Gaff PL1110
10026 Gaff PL1113
1003 Granning EB38000
10050 Watson & Chalin PB57-21139
10075 Gaff PL1048
10079 Gaff FW99-32172
10080 Gaff PL1130
10-1008 Westar TR55-41117
10-1009 Westar TR46-41053
102308 Western Unit PL1027
102309 Western Unit PL1099
1024 Severson PL1003
1027037 Page EB34000
1027038 Page EB38000
1035-20 Reyco TR83-45520
1035-20 Transpro TR83-45520
10363 Hendrickson EA50000
10363 Hendrickson EB50000
10364 Hendrickson EB65000
10366 Hendrickson CB50000
10366 Hendrickson CB50011
1037261C001 Ridewell RS20222
1037261C002 Ridewell RS20222
1037326D003 Ridewell RS20220
10503 Gaff PL1055
10505 Gaff PL1104
10506 Gaff HL55-64C91
1052.00 ET&T PB99-26710
1064 Severson PL1002
10651H International SP00-11561
10651-H International SK55-10000
1075723 Volvo SK96-10200
1075723 Volvo SK96-10300
1075723 Volvo SP96-11026
1075724 Volvo SK96-10200
1075724 Volvo SK96-10300
1075724 Volvo SP96-11026
1076334 Volvo SK96-10200
1076334 Volvo SK96-10300
1076334 Volvo SP96-11026
10818 Watson & Chalin MS83-69219
1083483 Page NW30000
1089501 Volvo LP96-24657
1090237 Page PL1154
10QK130P1 Mack MA20000
10QK130P1 Mack SK50342
10QK146 Mack AT82000
10QK219P1 Mack PL1090
10QK219P2 Mack MA10000
10QK219P2 Mack MA10085
10QK253M Mack SK62-10700
10QK254M Mack SK62-10600
10QK254M2 Mack SP62-1154M

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 276

CROSS REFERENCE



10QK260 Mack AT80000
10QK276 Mack MA10000
10QK276 Mack MA10085
10QK32BP1 Mack MA32000
10QK365A Mack MA36500
10QK36B Mack MA36000
10QK370 Mack MA37000
10QK372 Mack MA37200
10QK388 Mack MA36000
10QK389 Mack MA37200
10QK48 Mack MA36000-OFF
11000 Gaff PL1054
11002 Gaff PL1053
11004 Gaff TS50-22691
11005 Gaff PB46-26268
1100608B000 Ridewell RS20210
11008 Gaff CM46-61891
11009 Gaff CM46-61890
11013 Gaff PL1052
11018 Gaff MM46-62003
11019 Gaff PL1133
11020 Gaff PL1051
11060 Gaff UB16100
11062 Gaff PL1068
11064 Gaff PL1054
11065 Gaff MM46-62416
11065 Gaff MM46-62417
11065 Gaff MM46-62418
11066 Gaff SP46-52800
1106937 McNeilus PB99-29937
11074 Gaff MM46-62002
11075 Gaff CM46-61769
11077 Gaff MM46-62000
11077 Gaff MM46-62001
11078 Gaff TR46-41716
11080 Gaff TR59-41376
11081 Gaff TR46-41002
1108125 McNeilus MS99-69717
11083 Gaff PB46-26268
11086 Gaff CM46-61001
11087 Gaff MM46-62006
11088 Gaff MM46-62417
11088 Gaff MM46-62418
11089 Gaff MM46-62000
11090 Gaff MM46-62005
11094 Gaff SP46-11023
11096 Gaff HL46-64434
11096 Gaff HL46-64650
11096 Gaff HL46-64651
11097 Gaff HL00-64002
11097 Gaff HL46-64530
11097 Gaff HL46-64531
11102 Gaff HL46-64435
11103 Gaff HL00-64001
11104 Gaff HL46-64650
11105 Gaff HL46-64651
1110512B000 Ridewell RS20230
11106 Gaff HL46-64531
11107 Gaff HL46-64530
11110 Gaff CM46-61384
11117 Gaff RM46-63359
11118 Gaff MS46-29002
11129 Gaff RM46-63471
1117558B000 Ridewell CB34012
1117564B001 Ridewell EB38000
1117680B060 Ridewell PB85-360B0
1117680B060 Sterling Truck PB85-360B0
1117680B070 Ridewell PB85-360B0

1117680B070 Sterling Truck PB85-360B0
1117680B075 Ridewell PB85-360B0
1119581000 Freightliner LP46-24581
11-19581-000 Freightliner LP46-24581
1120023 Ridewell PB85-36023
1120042 Ridewell RW20000
1120042 Ridewell RW21000
11223 Watson & Chalin PB57-21149
11357-00 Hutchens HU10000
11357-00 Hutchens HU10065
11442-00 Hutchens PL1030
114450 Clevite SP48-11118
11501035 GMC/Chevrolet SK22-10100
11502 Gaff PL1008
11512 Gaff RW53000
11514454 GMC/Chevrolet SK22-10100
11515 Gaff PL1037
11517 Gaff PL1006
11520 Gaff PL1015
11520 Gaff PL1015-HT
11523 Gaff PL1015
11523 Gaff PL1015-HT
11531 Gaff PL1063
11531 Gaff PL1063-HT
11535 Gaff PL1014
11537 Gaff PL1063
11537 Gaff PL1063-HT
11539 Gaff MM59-62002
11539 Gaff PL1012
11540 Gaff KT59-62001
11540 Gaff KT59-62001-HT
11541 Gaff KT59-62001
11541 Gaff KT59-62001-HT
11543 Gaff HL59-64107
11544 Gaff PL1107
11545 Gaff PL1011
11545 Gaff PL1011-HT
11549 Gaff PL1065
11550 Gaff PL1028
11554 Gaff PL1077
11556 Gaff TS34000
11611 Gaff MS99-63399
11613 Gaff PL1013
11613 Gaff PL1013-HT
11615 Gaff KT59-62002
11615 Gaff KT59-62002-HT
11615 Gaff KT59-62002-HW
11615 Gaff KT59-62003-HT
11615 Gaff MM59-62005
11705 Gaff PL1009
11705 Gaff PL1016
11705 Gaff PL1136
11707 Gaff PL1070
11707 Gaff PL1070-HT
11707 Gaff PL1105
11707 Gaff PL1105-HT
11709 Gaff PL1010
11714 Gaff TS50-22256
11720 Gaff PL1147
11720 Gaff PL1150
11724 Gaff PL1032
11725 Gaff PL1003
11729 Gaff TS59-22400
11739 Gaff TH19-22010
11740 Gaff LP19-24002
11751 Gaff TR59-41375
11753 Gaff SP59-11006
11758 Gaff SP59-11010

11758 Gaff SP59-11378
11760 Gaff KT59-62001-HW
11760 Gaff KT59-62004-HT
11761 Gaff MM59-62002
11762 Gaff KT59-62002-HW
11762 Gaff KT59-62003-HT
11763 Gaff SP59-11007
11764 Gaff SU00-29002
11765 Gaff SU00-29001
11767 Gaff SP00-11005
11792 Gaff TR00-41009
11795 Gaff TR00-41600
12000 Gaff PL1017
12000 Gaff PL1017-HT
12004-0007 Volvo PL1048
12004-3401 Western Star MM96-62401
12004-3401 Western Star MM96-62401-HT
12004-3402 Western Star MM96-62870
12004-3402 Western Star MM96-62870-HT
12005-0002 Autocar MM96-62002
12005-0002 Volvo MM96-62002
12005-002 Western Star MM96-62002
12005-3208 Autocar MM96-62002
12005-3208 Volvo MM96-62002
12005-3403 Western Star PL1111
12006 Gaff MA36500
12009 Gaff MA37200
12010 Gaff MA37000
12014 Gaff MA36000
12015 Gaff MA10000
12015 Gaff MA10085
12017 Gaff PL1109
12023 Gaff PL1091
12026 Gaff MM62-62334
12028 Gaff MA20000
12029 Gaff PL1090
12031 Gaff TM38000
12034 Gaff KT62-62216
12034 Gaff KT62-62216-HT
12035 Gaff KT62-62389
12035 Gaff KT62-62389-HT
12036 Gaff SK50380
12036 Gaff SK50380-HW
12037 Gaff SK50341
12038 Gaff SK50342
12039 Gaff SK50340
12039 Gaff SK50340-HW
12041 Gaff SP62-1154M
12042 Gaff SK27771
12043 Gaff SK62-10700
12045 Gaff MM62-62002
12046 Gaff PL1131
12047 Gaff PL1131
12048 Gaff PB62-65251
12051 Gaff TS62-22240
12-05-1002 MCI TS03-85002
12-05-1013 MCI TS03-85013
12-05-1019 MCI TS03-85019
12069 Gaff TR62-413M2
12071 Gaff TR62-41243
12072 Gaff TR62-41180
12117 Gaumers SP48-11118
12170 Silver Eagle PL1129
1219 Reyco MS83-69219
1225-R-1370 Arvin Meritor PB00-36314
1225-R-1370 Meritor SU99-39116
12301 Gaff MM96-62870
12301 Gaff MM96-62870-HT

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 277

CROSS REFERENCE



12305 Gaff MM96-62002
12333 Gaff LP96-24657
1234 Neway EB03-85901
12350 Gaff PL1075
12351 Gaff PL1076
12354 Gaff PL1189
12355 Gaff PL1070
12355 Gaff PL1070-HT
12356 Gaff PL1018
12356 Gaff PL1018-HT
12357 Gaff EM75-69656
12357 Gaff EM75-69656-HT
12358 Gaff EM75-69656
12358 Gaff EM75-69656-HT
12359 Gaff HM75-65510
12360 Gaff KT75-61257
12361 Gaff PB75-29674
12362 Gaff PB75-29101
12363 Gaff HM75-64593
12364 Gaff HM75-65711
12365 Gaff HL00-64001
12366 Gaff PL1126
12366 Gaff PL1126-HT
12367 Gaff PL1074
12368 Gaff MM75-62370
12369 Gaff MM75-62372
12369 Gaff MM75-62372-HT
12370 Gaff HM75-66154
12380 Gaff MS99-39159
1238779 Curotto Can MS99-69779
1238780 Curotto Can MS99-69780
12395 Gaff TR75-41327
12398 Gaff TR75-41108
124865R1 International EB34000
124892R1 International EB38000
124896R2 International CT10000
124901R91 International CB38012
12954 Watson & Chalin TR53-41500
12J-1-26 MCI TH03-82725
12L-5-94 MCI TS38750
13001 Gaff PL1084
13005 Gaff PL1085
13009 Gaff PL1004
13-01633 Peterbilt PL1077
13-01840 Peterbilt PL1072
13-03096 Peterbilt EM75-69096
13-03096 Peterbilt EM75-69096-HT
13-03114 Peterbilt HM75-65114
13-03170 Peterbilt HM75-65424
13-03318 Peterbilt PL1071
13-03424 Peterbilt HM75-65424
13-03425 Peterbilt HM75-65424
13-03439 Peterbilt PL1069
13-03440 Peterbilt PL1074
13-03510 Peterbilt HM75-65510
13-03593 Peterbilt HM75-64593
13037 Gaff PL1005
13041 Gaff EQ47-35900
13-04154 Peterbilt HM75-66154
13-04154 Peterbilt HM75-66165
13-04164 Peterbilt HM75-66164
13-04164 Peterbilt HM75-66165
13042 Gaff TH47-37900
1304339 Peterbilt HL00-64001
13-04391 Peterbilt PL1062
13-04609 Peterbilt HM75-65609
13-04711 Peterbilt HM75-65711
13-04726 Peterbilt HM75-64726

13-04727 Peterbilt HM75-64726
1307564B000 Ridewell AK38200
1329 Severson PL1125
13500 Gaff CB34012
13501 Gaff EB34000
13502 Gaff AK34100
13504 Gaff SK80340
13505 Gaff CB38010
13505 Gaff CB38011
13505 Gaff CB38012
13509 Gaff SK80380
13510 Gaff PB50-36000
13510 Gaff PB50-36000-EI
13510 Gaff PB50-36001
13510 Gaff PB50-36001-EI
13513 Gaff AT80000
13514 Gaff IN35190
13515 Gaff IN35180
13516 Gaff TH50000
13517 Gaff TS49000
13518 Gaff TT38000
13519 Gaff AK65100
13520 Gaff TS38000
13521 Gaff PL1146
13521 Gaff TS50-22691
13522 Gaff TS34000
13524 Gaff WP50-29557
13526 Gaff CB27500
13528 Gaff TS38750
13533 Gaff TT38000
1353440 Bluebird SK00-10500
13536 Gaff TS38000
13537 Gaff CB34010
13537 Gaff CB34011
13537 Gaff CB34012
13539 Gaff PB99-26071
13542 Gaff MS50-39613
13544 Gaff CB50000
13544 Gaff CB50011
13545 Gaff EB50000
13546 Gaff EB65000
13547 Gaff AK50100
13548 Gaff SK80381
13548 Gaff SK80382
13548 Gaff SK80383
13550 Gaff WP50-29929
13553 Gaff EB38000
13560 Gaff EB45000
13566 Gaff EA38000
13577 Gaff NA47000
13582 Gaff TT50-22697
13586 Gaff EA50000
13587 Gaff SK80380
13590 Gaff TR60000
13590 Gaff TR70005
13592 Gaff HV38000
13601 Gaff LP50-24000
13607 Gaff EB50-21013
13609 Gaff AK38200
13610 Gaff AK45100
13611 Gaff LP50-24974
13624 Gaff PB50-36000
13624 Gaff PB50-36000-EI
13624 Gaff PB50-36001
13624 Gaff PB50-36001-EI
13625 Gaff HS11000
13626 Gaff LP50-24179
13627 Gaff SU50-29383

1362710 Scania PB99-26710
13628 Gaff PB50-36100
13628 Gaff PB50-36100-EI
13634 Gaff TR62-41220
13649 Gaff HC10000
13657 Gaff TR13-41022
13658 Gaff CB65002
13659 Gaff TH85000
13672 Gaff TS50-22210
13685 Gaff TS38875
13690 Gaff TR75000
13694 Gaff TR75-41059
13694 Gaff TR76000
13721 Gaff LP50-24000
13QK246 Mack MS62-29246
14000 Gaff EQ53-35234
14003 Gaff PL1084
14003052 International PL1104
14008 Gaff PL1119
14010 Gaff TH50-22692
140149 International PL1025
140149 International PL1025-HT
14027 Gaff HU10000
14027 Gaff NW30000
14038 Gaff EQ53-35118
14073 Gaff PL1119
14110 Hendrickson CB85000
14110 Hendrickson CB85011
14-14656 Peterbilt EM75-69656
14-14656 Peterbilt EM75-69656-HT
14505 Gaff AW57-10000
14509 Gaff AW57-12000
14510 Gaff PL1154
14513 Gaff PB57-21139
14521 Gaff NW30000
14522 Gaff PL1041
14527 Gaff PL1155
14533 Gaff PB57-21149
14713-01 Reyco PL1148
14QK136 Mack PL1026
14QK136 Mack PL1026-HT
15001 Gaff PL1148
15002 Chalmers LP19-24002
15008 Gaff PL1117
15008 Gaff TH83-37238
15009 Gaff PB83-22723
15010 Gaff PL1115
15013 Gaff PL1118
15015 Chalmers LP19-24015
15016 Gaff EQ83-11000
15019 Gaff PL1116
15026 Chalmers LP19-24026
15051 Gaff PL1115
15054 Gaff EQ83-35902
15061 Gaff TH83-37640
15062 Gaff PB83-22723
15063 Gaff TH83-22302
15064 Gaff TH83-22089
151087-148 Freightliner TS34000
15137 Hendrickson SF10000
15137000 Hendrickson SF10000
1515190412 Isuzu TS45000
1515966C1 International TH19-22010
1516350C91 International TR62-41238
1516350C92 International TR62-41238
15-3443-60 GVM BP99-65360
15-3443-60 Trelleborg BP99-65360
15424 Hendrickson EB85000

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 278

CROSS REFERENCE



15464 Hendrickson CB65002
15464 Hendrickson CB65011
15503823 GMC/RTS/Nova MM03-83023
15503823A GMC/RTS/Nova MM03-83023
15503823CG GMC/RTS/Nova MM03-83023
15503823U GMC/RTS/Nova MM03-83023
15506936 GMC PL1088
15506936 Volvo PL1088
15512196 GMC CR00-67825
15588650 GMC/Chevrolet SK22-10100
15588650 GMC/Chevrolet SK22-10200
15588650 GMC/Chevrolet SP00-52400
1577873 Volvo LP96-24657
16-03053-000 Freightliner TR46-41053
1609657 Volvo LP96-24657
1610222C93 International TR00-45222
16-10420-000 Freightliner TR55-41117
16-11351-000 Freightliner PL1053
16-11890-001 Freightliner SK46-10000
16-12302-000 Freightliner SK46-10000
16-12373-000 Freightliner SK46-10000
16-12373-000 Freightliner SK46-11200
16-12373-000 Freightliner SP46-11002
16-12373-000 Freightliner SP46-11373
16-12399-000 Freightliner SK46-10000
16-12399-000 Freightliner SK46-11200
16-12399-000 Freightliner SP46-11373
16-13053-000 Freightliner TR46-41053
16-13470-000 Freightliner SK46-10000
16-13470-000 Freightliner SK46-11200
16-13470-000 Freightliner SP46-11002
16-13470-000 Freightliner SP46-11373
1613485C93 International TR00-45485
16-13568-000 Freightliner PL1054
1613901C93 International TR00-45901
1613902C93 International TR00-45902
16-139262-000 Freightliner PB46-26268
16-13962-000 Freightliner PB46-26268
1614149002 Freightliner TR46-46002
1614149003 Freightliner TR46-46003
16146-01 Hutchens EQ53-35118
16-14603-000 Freightliner SP46-11023
16-14998-000 Freightliner TR46-49998
16-14998-000 Sterling Truck TR46-49998
16-14998-000 Western Star TR46-49998
16-14998-001 Freightliner TR46-49998
16-14998-001 Sterling Truck TR46-49998
16-14998-001 Western Star TR46-49998
16-15002-000 Freightliner TR46-49002
16-15002-000 Sterling Truck TR46-49002
16-15002-000 Western Star TR46-49002
16-15002-001 Freightliner TR46-49002
16-15002-001 Sterling Truck TR46-49002
16-15002-001 Western Star TR46-49002
16-15004-000 Freightliner TR46-49004
16-15004-000 Sterling Truck TR46-49004
16-15004-000 Western Star TR46-49004
16-15004-001 Freightliner TR46-49004
16-15004-001 Sterling Truck TR46-49004
16-15004-001 Western Star TR46-49004
16-15215-000 Freightliner MS46-19215
1615265C93 International TR00-45265
16-15632-000 Freightliner TR46-41000
16158-01 Hutchens EQ53-35158
16158-01 Hutchens EQ53-35158-NH
1615913C91 International TR00-41816
16-16412-000 Freightliner PB46-26268
16-16473-000 Freightliner SP46-11473

16-16473-000 Sterling Truck SP46-11473
16-16749-000 Freightliner TR46-41316
16-16749-001 Freightliner TR46-41716
16-16749-002 Freightliner TR46-41002
16-16749-003 Freightliner TR46-41003
16-17194-000 Freightliner SP46-11023
1617375C92 International TR00-45375
16-17770-000 Freightliner SP46-11023
16-18023-000 Freightliner SP46-11023
16-18035-000 Freightliner PB46-26268
16-18972-000 Freightliner TR46-41000
16-18972-000 Freightliner TR46-41002
16-19568-000 Freightliner TR46-41053
162426 Cummins Engine FP99-69426
16290-01 Hutchens EQ53-35001
1629553 Volvo LP96-24657
16398-04 Hutchens TR53-45305
1651949C93 International TR00-45949
1651950C93 International TR00-45950
1651951C93 International TR00-45951
1652104C93 International TR00-45104
1652106C93 International TR00-45106
1652107C93 International TR00-45107
1661925C91 International TR59-41375
1661926C91 International TR00-41816
1661933C91 International TR55-42C91
1661935C1 International TR00-41935
1661935C92 International TR00-41935
1661937C91 International TR55-41C91
1661966 Bluebird SK14-10000
1661976C3 International SK55-10000
1661976C3 International SK55-10100
1661976C3 International SP00-11561
1661980C91 International TR00-42325
1662774 Bluebird SK14-10000
1662774 Bluebird SK14-10100
1662774 Bluebird SP14-11774
1664223C1 International SK55-10000
1664223C1 International SK55-10600
1664723C1 International MM55-62003
1664723C1 International MM55-623C3
1664723C2 International MM55-62003
1664723C2 International MM55-623C3
1664723C3 International MM55-62003
1664723C3 International MM55-623C3
1664724C1 International MM55-62002
1664724C1 International MM55-624C3
1664724C2 International MM55-62002
1664724C2 International MM55-624C3
1664724C3 International MM55-62002
1664724C3 International MM55-624C3
1664726C2 International MM55-62002
1664726C2 International MM55-62003
1664726C2 International MM55-626C2
1664729C1 International MM55-62004
1664729C1 International MM55-62005
1664729C1 International MM55-629C7
1664729C2 International MM55-62004
1664729C2 International MM55-62005
1664729C2 International MM55-629C7
1664729C3 International MM55-62004
1664729C3 International MM55-62005
1664729C3 International MM55-629C7
1664729C4 International MM55-62004
1664729C4 International MM55-62005
1664729C4 International MM55-629C7
1664729C5 International MM55-62004
1664729C5 International MM55-62005

1664729C5 International MM55-629C7
1664729C7 International MM55-62004
1664729C7 International MM55-62005
1664729C7 International MM55-629C7
1664730C5 International MM55-62004
1664730C5 International MM55-62005
1664730C5 International MM55-620C7
1664730C7 International MM55-62004
1664730C7 International MM55-62005
1664730C7 International MM55-620C7
1664730C7 International MM55-623C3
1664976C3 International SK55-10000
1671766C1 International SK00-10500
1680033C1 International SK55-10600
1680033C1 International SK55-10700
1680033C1 International SP55-113C1
1680034C1 International SK55-10000
1680034C1 International SP00-11561
1688-227710 Mack TS34000
1688-227720 Mack TS38000
1688-229240 Mack TM38000
16899930C91 International HL55-64C91
1691034C91 International TR55-42C91
1693060C1 International TS34000
1693061C1 International TS38000
1693063C1 International TS38750
1693064C1 International TM38000
1693065C1 International TT34000
1693066C1 International TT38000
1693067C1 International TT34038
1693069C1 International TH50000
1693070C1 International TS49000
1693531C1 International TR71000
1693532C1 International TR80000
1693533C1 International TR72000
1693536C1 International TR75000
1693537C1 International TR75000
1693542C1 International TR76000
1693543C1 International TR76000
1693544C1 International TR77000
1693545C1 International TR77000
1693548C1 International TR73000
1693550C1 International TR74000
1693559C1 International TR78000
17/0566-60 Trelleborg CM13-61026
17012 Watson & Chalin PL1119
170-55 Peterbilt CM75-61055
17-12348-000 Freightliner HL46-64480
17-12434-000 Freightliner HL46-64434
17-12434-000 Freightliner HL46-64480
17-12434-000 Freightliner HL46-64650
17-12434-001 Freightliner HL46-64651
17-12435-000 Freightliner HL46-64435
17-12435-000 Freightliner HL46-64650
17-12435-001 Freightliner HL46-64651
17-12438-00 Freightliner HL46-64480
1714667 Volvo/White/GMC CB34010
1714667 Volvo/White/GMC CB34011
1714668 Volvo/White/GMC CB38010
1714668 Volvo/White/GMC CB38011
17-14781-000 Freightliner HL00-64002
17149 Terex Adv Mixer TR99-41149
171AM8 Mack SK62-10700
17506 Gaff FP99-69426
1770-SK7501401 Mack FW99-32401
17784-01 Hutchens EQ53-35001
17990857 AC Delco TM99-63506
17990857 GMC TM99-63506

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 279

CROSS REFERENCE



17993-112 Watson & Chalin PB50-36000
17993-112 Watson & Chalin PB50-36000-EI
17993-112 Watson & Chalin PB50-36001
17993-112 Watson & Chalin PB50-36001-EI
17QF250P7 Mack TR62-412M3
17QF251P11 Mack TR62-41180
17QF251P22 Mack TR62-41198
17QF251P31 Mack TR62-41255
17QF261P23 Mack TR62-41243
17QF348M2 Mack TR62-418M2
17QF352M2 Mack TR62-41243
17QF352M3 Mack TR62-412M3
17QF357M Mack TR50-41102
17QF357-M1 Mack TR62-417M1
17QF357M2 Mack TR62-417M2
17QF358 Mack TR62-413M3
17QF359 Mack TR62-413M3
17QF364P2 Mack TR00-42325
17QF418 Mack TR62-4123A
17QF418P2 TRW TR62-413P2
17QF418P3 TRW TR62-413P3
17QF423 Mack TR62-4123A
17QF423A Mack TR62-4123A
17QF423P1 Mack TR62-4123A
17QF423P2 Mack TR62-413P2
17QF423P3 Mack TR62-413P3
17QF423P5 Mack TR62-413P5
17QF442P203 Mack TR62-41203
17QF442P250 Mack TR62-41250
17QF442P253 Mack TR62-41253
17QF443P205 Mack TR62-41205
17QF455P240 Mack TR59-41376
17QF455P243 Mack TR50-41615
17QF457P213 Mack TR99-41428
17QF457P223 Mack TR50-42565
17QF457P238 Mack TR62-41238
17QF460P200 Mack TR62-413M3
17QF460P205 Mack TR50-42520
17QF460P208 Mack TR62-412M3
17QF460P210 Mack TR62-413M2
17QF460P213 Mack TR99-41428
17QF460P215 Mack TR62-41215
17QF460P220 Mack TR62-41220
17QF460P223 Mack TR50-42565
17QF460P225 Mack TR62-413M4
17QF460P235 Mack TR46-41175
17QF460P238 Mack TR62-41238
17QF460P240 Mack TR59-41375
17QF460P243 Mack TR62-41243
17QF460P245 Mack TR62-41P24
17QF460P248 Mack TR62-41248
17QF460P255 Mack TR00-41270
17QF460P260 Mack TR62-41260
17QF460P263 Mack TR50-42670
17QF460P265 Mack TR50-42675
17QF460P268 Mack TR50-42680
17QF460P283 Mack TR62-41283
17QF463P178 Mack TR62-41178
17QF463P180 Mack TR62-41180
17QF463P183 Mack TR62-41183
17QF463P198 Mack TR62-41198
17QF463P245 Mack TR62-41245
17QF464P180 Mack TR62-41180
17QF464P183 Mack TR62-41183
17QF464P198 Mack TR62-41198
17QF464P203 Mack TR62-41203
17QF464P245 Mack TR62-41245
17QF464P255 Mack TR62-41255

17QF464P295 Mack TR62-41295
17QF466M Mack TR50-45950
17QF473M Mack TR62-413M3
17QF473M2 Mack TR62-413M2
17QF473M3 Mack TR62-413M4
17QF473M4 Mack TR62-41243
17QF474P209 Mack TR62-413M2
18015 Gaff MS99-62620
18063 Gaff PL1114
18102 Gaff PL1111
1811 International PL1055
18215 Gaff FW51-32011
18222 Gaff PL1087
18222 Gaff PL1088
18232 Gaff PL1086
18-34678-000 Freightliner CM46-61769
18-41005-000 Freightliner CM46-61769
18-42727-000 Freightliner CM46-61769
18-45384-000 Freightliner CM46-61384
18-45959-000 Freightliner CM46-61959
18526 Gaff PL1061
18558 Gaff PL1079
18566 Gaff PL1026
18566 Gaff PL1026-HT
18574 Gaff PL1021
18575 Gaff PL1020
18-64205-000 Freightliner CM46-61959
18710 Gaff PB99-36013
18711 Gaff PB99-36012
18786 Gaff PL1112
18821 Gaff PB50-26648
18837 Gaff PL1107
18860 Gaff TR96-41068
18919 Gaff PL1047
18919 Gaff TH19-22128
18920 Gaff TH19-22129
18921 Gaff PL1049
19001 Gaff SK00-10500
19002 Gaff RS20220
19003 Gaff RS20222
19004 Gaff RS20210
19008 Gaff RS20230
19137-01 Hutchens EQ53-35701
19204 Watson & Chalin PB00-36314
19279 Hendrickson HV38000
19388 Terex Adv Mixer TR99-41388
19428 Terex Adv Mixer TR99-41428
19682 Watson & Chalin PB00-36314
1976201 Reyco TR83-41201
1RY337P1 TRW TR62-41203
1RY339P2 Mack TR62-413P2
1RY340AP11 Mack TR62-41470
1RY340AP22 Mack TR62-41198
1RY351P11 Mack TR62-41470
1RY351P2 Mack TR62-41245
1RY351P22 Mack TR62-41198
1RY39307P10 Mack TR62-412M3
1RY39307P13 Mack TR59-41375
1RY39307P2 Mack TR62-412M3
1RY39307P5 Mack TR62-412M3
1RY48P23 Mack TR62-41180
1RYA39306P8 Mack TR62-41758
20051 Energy Suspension PB85-36023
2005774 GMC PL1087
2005774 Volvo PL1087
20-08257 Peterbilt CM75-61257
20-08257 Peterbilt KT75-61257
20-08867 Peterbilt KT75-61257

20147772C2 International MM55-62005
20147772C2 International MM55-623C3
2014777C2 International MM55-62004
2014777C2 International MM55-620C7
20390836 Volvo LP96-24657
203SJ13 Mack CR00-67825
2044U IMX BP99-34312
204SX216 Mack KT62-62216
204SX216 Mack KT62-62216-HT
204SX389 Mack KT62-62389
204SX389 Mack KT62-62389-HT
20526026 Volvo SK96-10200
20526026 Volvo SK96-10300
20526026 Volvo SP96-11026
20600071 Raydan PB99-26071
20623 Peerless PL1092
20747781 Volvo SK96-10200
20747781 Volvo SK96-10300
20747781 Volvo SP96-11026
20802362 Mack HM62-64362
20802371 Mack HM62-64371
20-836 Power Products PL1146
20-91-4159 Carrier Corp MS99-39159
20-91-7709 Carrier Corp MS99-39709
2096958 GMC/RTS/Nova MM03-83023
20QL1118A Mack PL1017
20QL1118A Mack PL1017-HT
20QL1144 Mack PL1132
20QL1166 Mack PL1109
20QL1171 Mack PL1108
20QL1175 Mack PL1017
20QL1175 Mack PL1017-HT
20QL231P1 Mack PL1107
20QL250 Mack PL1132
20QL251 Mack PB62-65251
20QL295M Mack MM62-62334
20QL312M2 Mack PL1131
20QL322 Mack MM62-62002
20QL324M Mack PL1091
20QL329 Mack MM62-62002
20QL329 Mack MM62-62322
20QL329 Mack MM62-62329
21036254 Mack MA36000
2106611X Spicer CR00-67825
210661-1X Arvin Meritor CR00-67825
210661-1X Autocar CR00-67825
210661-1X Kenworth CR00-67825
210661-1X Mack CR00-67825
210661-1X Peterbilt CR00-67825
210661-1X Volvo CR00-67825
21140-33 Hendrickson AK45100
21140-34 Hendrickson AK38200
211407 Hendrickson AK50100
211407 Hendrickson EA50000
21238-01 Reyco TH83-37238
21244 Fuller TransmissionMS99-63399
21608003 Volvo TR96-41003
2204 Severson PL1011
2204 Severson PL1011-HT
2205 Severson PL1126
2205 Severson PL1126-HT
22082 Chalmers TH19-22128
2212 Severson PL1016
22128 Chalmers PL1047
22128 Chalmers TH19-22128
22129 Chalmers TH19-22129
2213 Severson PL1015
2213 Severson PL1015-HT

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 280

CROSS REFERENCE



22278 Hendrickson EP34000
22279 Hendrickson CB34010
22279 Hendrickson CB34011
22279-000L Hendrickson CB34011
22281 Hendrickson EP38000
22282 Hendrickson CB38010
22282 Hendrickson CB38011
22282-000L Hendrickson CB38011
226940 Clevite SP99-11001
227710 Peterbilt TS34000
227720 Kenworth TS38000
227720 Peterbilt TS38000
227720 Kenworth TS59-22400
229610 Kenworth TT38000
229610 Peterbilt TT38000
22QK39301 Mack SK62-10600
23-13857 Peterbilt HL00-64001
2314759 GMC/RTS/Nova TH03-85000
2325972 GMC CB34012
2325973 GMC EB34000
23311 Fuller TransmissionMS99-63399
234255 Fabco FA96452
23505249 Detriot FP99-69426
2350908 GMC/RTS/Nova SB03-83008
2350908U GMC/RTS/Nova SB03-83008
2359280 GMC CB38012
2359281 GMC EB38000
2383283 GMC/RTS/Nova TH03-82725
2390348 GMC CT10000
240530 Mack TS38875
24209 Hendrickson HC10000
2425394 GMC HV38000
2426422 GMC/RTS/Nova TH03-82725
2436411 GMC TW38000
2449224 GMC/RTS/Nova TH03-82725
2454867 GMC SF10000
2500393 RBR Enterprises MS99-69003
25014582 Mack TR62-413M3
25023772 Mack TR62-41253
2504006C91 International TR55-41118
2507714C1 International PB57-21139
2507718C1 International PB57-21149
25100535 Mack TR62-41260
25115012 Mack MA37000
25115289 Mack MA32000
25121334 Mack MM62-62334
25121508 Mack MA36500
25124724 Mack MA37200
25125064 Mack MA36000
25155635 Mack TR99-41428
25157862 Mack MS62-29246
25158543 Mack TR62-41250
25160749 Mack TR62-41238
25160893 Mack TR62-41183
25161976 Mack MA10000
25162529 Mack TR62-41180
25164809 Mack MM62-62322
25164936 Mack TR50-42520
25164943 Mack TR50-42565
25164944 Mack TR46-41175
25164945 Mack TR62-41238
25164946 Mack TR59-41375
25164947 Mack TR62-41P24
25164948 Mack TR62-41248
25164959 Mack TR62-41260
25164961 Mack TR50-42680
25164994 Mack TR59-41376
25165006 Mack TR62-41283

25165726 Mack TR50-42670
251660077 Mack TR62-413M3
25166077 Mack TR62-413M4
25167342 Mack PL1017
25167342 Mack PL1017-HT
25168255 Mack TR50-45950
25168854 Mack TR62-41183
25170831 Mack TR62-413M3
25170832 Mack TR62-413M2
25170833 Mack TR62-41243
25171605 Mack TR50-41615
25172757 Mack MM62-62002
25173020 Mack TR50-42675
25174658 Mack TR62-41215
25174706 Mack TR62-41220
25195315 Mack TR62-413M4
258892C91 International MS50-39613
25QM31 Mack HM62-64M31
260002 Chalmers MS19-29002
26953 Hendrickson HC20000
270203C1 International PL1114
276348C1 International SF10000
27980-1/E Lord CM55-615C2
283071C93 International CR00-67825
28398-3 Barry Controls CM55-614C4
29-05704 Peterbilt TH75-69000
29-05704 Peterbilt TH75-69000-HT
29-05704 Peterbilt TH75-69002
2907869 Dodge SP99-11001
29481-5 Hendrickson CB34012
29483-5 Hendrickson CB38012
2974-1117680B060 Mack PB85-360B0
2974-1117680B070 Mack PB85-360B0
2974-1117680B075 Mack PB85-360B0
2974-1120023 Mack PB85-36023
2974-6040029 Mack PB85-36029
29878-1 Hendrickson EB38000
2993-2019 Kenworth TH59-69019
30.4002 Energy Suspension PL1071
30.4003 Energy SuspensionHM75-65424
30.4004 Energy SuspensionHM75-65114
30.4005 Energy SuspensionHM75-65510
30.4010 Energy Suspension PL1070
30.4010 Energy Suspension PL1070-HT
30.4011 Energy Suspension PL1013
30.4011 Energy Suspension PL1013-HT
30.4012 Energy Suspension PL1018
30.4012 Energy Suspension PL1018-HT
30.4014 Energy Suspension PL1015
30.4014 Energy Suspension PL1015-HT
30.4015 Energy Suspension CM75-61257
30.4016 Energy SuspensionHM75-65711
30.4017 Energy SuspensionHM75-65609
30.4018G Energy SuspensionHM75-66165
30.4019 Energy SuspensionHM75-66164
30.4020 Energy SuspensionHM75-66154
30.6001 Energy SuspensionHM75-64593
30.6009 Energy Suspension PL1074
30.7003 Energy Suspension TH75-69000
30.7003 Energy Suspension TH75-69000-HT
30.7003 Energy Suspension TH75-69002
3001 Severson PL1123
30014-1535 Waste Equipment BP99-65535
30027 Tramec BP99-65040
30036 Great Dane MS99-34008
30037 IMX BP99-36037
30038 IMX BP99-36038
30062-0717 Waste Equipment MS99-69717

30-1357PU Westar PL1110
30-1362PU Westar RM55-637C1
30-1372PU Westar PL1104
3021 Severson PL1007
30240-2 Hendrickson CB38065
3035 James King BP99-65020
303582 Rockwell PL1005
304002 Energy Suspension PL1071
304005 Energy SuspensionHM75-65510
304010 Energy Suspension PL1070
304010 Energy Suspension PL1070-HT
304012 Energy Suspension PL1018
304012 Energy Suspension PL1018-HT
304014 Energy Suspension PL1015
304014 Energy Suspension PL1015-HT
3042 James King BP99-36040
3043 James King BP99-36038
3044 James King BP99-34303
3046200 Cummins Engine FP99-69426
30490 Cozad Trailer TN99-31490
3049270 Van Raden PL1188
3049271 Van Raden PL1187
3049273 Van Raden MS99-29273
3050 James King BP99-650B1
30507 Gaff PL1139
30507 Gaff SB03-83008
30544 Gaff WP55-290C1
306001 Energy SuspensionHM75-64593
306009 Energy Suspension PL1074
3065-BSH109L Mack FW99-32109
3065-BSH109L Mack FW99-32175
3065-BSH172U Mack FW99-32172
3065-BSH172U Mack FW99-32175
3081199 Volvo CM13-61199
3081657 Volvo MM96-62657
3081657 Volvo PL1048
3081659 Autocar MM96-62002
3081659 Volvo MM96-62002
3082283 Volvo BP92-65283
3088-K3399 Mack MS99-63399
3090971 Volvo LP96-24657
30SQ4525 Mack TR96-41068
31.2002 Energy Suspension MA10000
31.2002 Energy Suspension MA10085
31.4101 Energy Suspension PL1132
31.4102 Energy Suspension PL1132
31005001 Hendrickson BM50-66208
31095 Gaff TR96-41268
31096 Gaff VO20000
31-12 Peerless PL1078
3-12-35. Trailmobile PL1119
3-1250-25 Utility Trailer BP99-65000
3-1306 Utility Trailer PL1024
315-5201 Dorman HL46-64480
315-5202 Dorman HL46-64531
315-5203 Dorman HL46-64530
315-5204 Dorman HL46-64651
315-5205 Dorman HL46-64435
315-5205 Dorman HL46-64650
315-5401 Dorman HL00-64001
315-5501 Dorman HL96-64000
315-5501 Dorman HL96-64018
31601 Gaff TS03-85013
31602 Gaff TS03-85019
31604 Gaff RM55-638C2
31624 Gaff LP46-19773
3187322 Volvo TR96-41068
3187322 Volvo/White/GMC TR96-41068

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 281

CROSS REFERENCE



318978C91 International TR00-45978
32.1101 Energy Suspension PL1014
32.1103 Energy SuspensionMM59-62002
32.1103 Energy Suspension PL1012
32.1104 Energy Suspension PL1013
32.1104 Energy Suspension PL1013-HT
32.4001 Energy Suspension PL1011
32.4001 Energy Suspension PL1011-HT
32.4002 Energy Suspension PL1010
32.4102 Energy Suspension PL1009
32.5002 Energy Suspension PL1008
32.5002 Energy Suspension PL1184
320-108 Dayton Parts PL1075
320-108U Dayton Parts PL1075
320-132 Dayton Parts PL1189
320-150 Dayton Parts PL1008
320-150 Dayton Parts PL1184
320-150U Dayton Parts PL1008
320-150U Dayton Parts PL1184
320-151 Dayton Parts PL1001
320-151U Dayton Parts PL1001
320-152U Dayton Parts PL1025
320-152U Dayton Parts PL1025-HT
320-153 Dayton Parts PL1026
320-153 Dayton Parts PL1026-HT
320-153U Dayton Parts PL1026
320-153U Dayton Parts PL1026-HT
320-155 Dayton Parts PL1080
320-155U Dayton Parts PL1080
320-159U Dayton Parts PL1082
320-159U Dayton Parts PL1083
320-159U Dayton Parts PL1129
320-160 Dayton Parts PL1103
320-160U Dayton Parts PL1103
320-161U Dayton Parts PL1020
320-162U Dayton Parts PL1121
320-163U Dayton Parts PL1123
320-164U Dayton Parts PL1021
320-167U Dayton Parts PL1019
320-171U Dayton Parts PL1099
320-172U Dayton Parts PL1039
320-174U Dayton Parts PL1027
320-175U Dayton Parts PL1023
320-176 Dayton Parts PL1050
320-176U Dayton Parts PL1050
320-177U Dayton Parts PL1053
320-178 Dayton Parts PL1028
320-178U Dayton Parts PL1028
320-182 Dayton Parts PL1061
320-182U Dayton Parts PL1061
320-200 Dayton Parts PL1147
320-200A Dayton Parts PL1150
320-200U Dayton Parts PL1147
320-201 Dayton Parts SW59-29465
320-201U Dayton Parts SW59-29465
320-202 Dayton Parts SW59-29454
320-203 Dayton Parts SW59-29461
320-285U Dayton Parts PL1022
321-117 Dayton Parts CB34012
321-118 Dayton Parts CB34010
321-118U Dayton Parts CB34010
321-118U Dayton Parts CB34011
321-119 Dayton Parts CB34012
321-120 Dayton Parts EB34000
321-120U Dayton Parts EB34000
321-122 Dayton Parts CB38012
321-123 Dayton Parts CB38010
321-123 Dayton Parts CB38011

321-123U Dayton Parts CB38010
321-123U Dayton Parts CB38011
321-124 Dayton Parts CB38012
321-125 Dayton Parts HV38000
321-125U Dayton Parts HV38000
321-126 Dayton Parts EB38000
321-126U Dayton Parts EB38000
321-127 Dayton Parts EB45000
321-127U Dayton Parts EB45000
321-128 Dayton Parts CB50000
321-128 Dayton Parts CB50011
321-129 Dayton Parts EB50000
321-131 Dayton Parts TS34000
321-131U Dayton Parts TS34000
321-132 Dayton Parts TS38000
321-132U Dayton Parts TS38000
321-133 Dayton Parts TT38000
321-133U Dayton Parts TT38000
321-134 Dayton Parts TT34000
321-135 Dayton Parts TS49000
321-136 Dayton Parts TM38000
321-136U Dayton Parts TM38000
321-137 Dayton Parts TH50000
321-138 Dayton Parts TT34038
321-141 Dayton Parts IN35190
321-141U Dayton Parts IN35190
321-143 Dayton Parts SF10000
321-144 Dayton Parts IN35180
321-144U Dayton Parts IN35180
321-145 Dayton Parts PL1116
321-145U Dayton Parts PL1116
321-146 Dayton Parts EQ83-11000
321-146 Dayton Parts SK83-31000
321-147 Dayton Parts PL1115
321-147U Dayton Parts PL1115
321-149 Dayton Parts PL1177
321-149U Dayton Parts PL1177
321-152 Dayton Parts PL1148
321-153 Dayton Parts PL1118
321-153U Dayton Parts PL1118
321-157 Dayton Parts PB83-22723
321-158 Dayton Parts PL1117
321-158U Dayton Parts PL1117
321-162 Dayton Parts TH50-22692
321-175 Dayton Parts PL1119
321-175U Dayton Parts PL1119
321-177 Dayton Parts PL1084
321-177U Dayton Parts PL1084
321-190 Dayton Parts PL1085
321-190U Dayton Parts PL1085
321-191 Dayton Parts PL1148
321-191U Dayton Parts PL1148
321-194 Dayton Parts EQ83-35902
321-194U Dayton Parts EQ83-35902
321-195 Dayton Parts NA47000
321-195U Dayton Parts NA47000
321-223 Dayton Parts PL1146
321-223U Dayton Parts PL1146
321-225 Dayton Parts CB27500
321-225U Dayton Parts CB27500
321-227 Dayton Parts PL1154
321-227U Dayton Parts PL1154
321-229 Dayton Parts PB57-21139
321-229U Dayton Parts PB57-21139
321-231 Dayton Parts PB57-21149
321-231U Dayton Parts PB57-21149
321-237 Dayton Parts PL1155
321-237U Dayton Parts PL1155

321-238 Dayton Parts AT33501
321-242 Dayton Parts EB38000
321-243 Dayton Parts CB38012
321-244 Dayton Parts CB38011
321-245 Dayton Parts CB27500
321-245 (HD) Dayton Parts CB27500
321-246 Dayton Parts EB27500
321-265 Dayton Parts TS38750
321-265U Dayton Parts TS38750
321-267 Dayton Parts TS38875
321-273 Dayton Parts PL1047
321-273 Dayton Parts TH19-22128
321-273U Dayton Parts PL1047
321-273U Dayton Parts TH19-22128
321-274 Dayton Parts TH19-22129
321-275 Dayton Parts MS19-29002
321-276 Dayton Parts PL1046
321-276 Dayton Parts TH19-22010
321-276U Dayton Parts PL1046
321-277 Dayton Parts PL1049
321-277U Dayton Parts PL1049
321-279 Dayton Parts TS50-22256
321-284 Dayton Parts RS20230
321-285 Dayton Parts TH83-37238
321-288 Dayton Parts TS59-22400
321-288 Dayton Parts VO20000
3212882R2 International TS46000
321-299 Dayton Parts RW51000
321-299U Dayton Parts RW51000
321-317 Dayton Parts CB65002
321-318 Dayton Parts EB65000
321-323 Dayton Parts FA96452
321-323U Dayton Parts FA96452
321-324U Dayton Parts PL1139
321-325 Dayton Parts RW53000
321-326 Dayton Parts RW52000
321-326A Dayton Parts RW52000
321-326U Dayton Parts RW52000
321-327 Dayton Parts RW54000
321-327U Dayton Parts RW54000
321-338 Dayton Parts PB85-360B0
321-360 Dayton Parts TT50-22697
321-361 Dayton Parts TT50-22809
321-366 Dayton Parts TS50-22210
321-368 Dayton Parts PB85-360B0
321-376 Dayton Parts PB50-26821
321-377 Dayton Parts PB99-26071
321-387 Dayton Parts PB50-26648
321-388 Dayton Parts SU50-29383
321-519 Dayton Parts TS62-22240
322069C91 International IN35190
322-103 Dayton Parts CB38065
322-119 Dayton Parts PL1073
322-138 Dayton Parts PL1054
322-141 Dayton Parts SK75-10000
322-141 Dayton Parts SK75-10100
322-141 Dayton Parts SK75-10200
322-141 Dayton Parts SP00-11561
322-141 Dayton Parts SP75-11781
3226713 Hendrickson TR62-413M3
32271-102 Ford TR50-41102
32271-102 Hendrickson TR50-41102
32271-102 International TR50-41102
32271-102 Kenworth TR50-41102
32271-102 Volvo TR50-41102
323-167 Dayton Parts EB27500
323-167U Dayton Parts EB27500
32364 Hendrickson TW34000

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 282

CROSS REFERENCE



32365 Hendrickson TW38000
325-100 Dayton Parts HC10000
325-100U Dayton Parts HC10000
325-103 Dayton Parts HC20000
325-104 Dayton Parts HC20000
325-104U Dayton Parts HC20000
325-107 Dayton Parts HU10000
325-107 Dayton Parts HU10065
325-107U Dayton Parts HU10000
325-107U Dayton Parts HU10065
325-108 Dayton Parts MA32000
325-108U Dayton Parts MA32000
325-110 Dayton Parts MA36000
325-112 Dayton Parts MA36500
325-112U Dayton Parts MA36500
325-113 Dayton Parts MA37000
325-113U Dayton Parts MA37000
325-114 Dayton Parts MA37200
325-115 Dayton Parts MA20000
325-115U Dayton Parts MA20000
325-117 Dayton Parts PL1090
325-117U Dayton Parts PL1090
325-118 Dayton Parts MA10000
325-118 Dayton Parts MA10085
325-119 Dayton Parts PL1007
325-119U Dayton Parts PL1007
325-120 Dayton Parts MA10000
325-120 Dayton Parts MA10085
325-120U Dayton Parts MA10000
325-120U Dayton Parts MA10085
325-122 Dayton Parts HU10000
325-122 Dayton Parts HU10065
325-123 Dayton Parts MA36000
325-124 Dayton Parts MA37200
325-125 Dayton Parts MA36000-OFF
325-127 Dayton Parts MA36000
325-129 Dayton Parts PL1097
325-129U Dayton Parts PL1097
325-131 Dayton Parts PL1098
325-131U Dayton Parts PL1098
325-132 Dayton Parts PL1096
325-134 Dayton Parts PL1030
325-134U Dayton Parts PL1030
325-135 Dayton Parts PL1094
325-135U Dayton Parts PL1094
325-137 Dayton Parts NW30000
325-137U Dayton Parts NW30000
325-138 Dayton Parts AW51-34010
325-140 Dayton Parts PL1095
325-140U Dayton Parts PL1095
325-142 Dayton Parts PL1041
325-142U Dayton Parts PL1041
325-144 Dayton Parts PL1093
325-144U Dayton Parts PL1093
325-150 Dayton Parts PL1004
325-150U Dayton Parts PL1004
325-151 Dayton Parts PL1005
325-151U Dayton Parts PL1005
325-155 Dayton Parts LP19-24015
325-156 Dayton Parts LP19-24002
325-160 Dayton Parts RS20210
325-160U Dayton Parts RS20210
325-173 Dayton Parts PL1078
325-173U Dayton Parts PL1078
325-175U Dayton Parts PL1042
325-176U Dayton Parts PL1058
325-177U Dayton Parts PL1057
325-181U Dayton Parts PL1124

325-182U Dayton Parts PL1092
325-183U Dayton Parts PL1056
325-184 Dayton Parts PL1101
325-184U Dayton Parts PL1101
325-199 Dayton Parts AW57-14000
325-222 Dayton Parts PL1038
325-222U Dayton Parts PL1038
325-238 Dayton Parts PL1125
325-238U Dayton Parts PL1125
325-240U Dayton Parts PL1100
325-247 Dayton Parts LP46-24581
325-249 Dayton Parts LP46-19773
327-179 Dayton Parts SK00-10500
327-212 Dayton Parts SK00-10500
327-256 Dayton Parts SK00-10500
327-293 Dayton Parts SK55-10200
327-293 Dayton Parts SK55-10300
327-306 Dayton Parts SP59-11378
327-434 Dayton Parts SK59-10000
327-434 Dayton Parts SK59-12000
327-446 Dayton Parts SK75-10000
327-446 Dayton Parts SP00-11561
327-479 Dayton Parts SK00-10500
327-480 Dayton Parts SK55-10000
327-480 Dayton Parts SK55-10100
327-480 Dayton Parts SP00-11561
327-481 Dayton Parts SK62-10700
327-483 Dayton Parts SK75-10100
327-483 Dayton Parts SK75-10200
327-483 Dayton Parts SP75-11781
327-485 Dayton Parts SK55-10600
327-485 Dayton Parts SK55-10700
327-485 Dayton Parts SP55-113C1
327-487 Dayton Parts SK46-10000
327-487 Dayton Parts SP46-11002
327-487 Dayton Parts SP46-11373
327-490 Dayton Parts SK46-10000
327-522 Dayton Parts SK14-10000
327-522 Dayton Parts SK14-10100
327-522 Dayton Parts SP14-11774
327-533 Dayton Parts SK96-10300
327-533 Dayton Parts SP96-11026
32761450 Wabash PB57-36200
329-101U Dayton Parts PL1034
329-103U Dayton Parts PL1044
329-104U Dayton Parts PL1006
329-105U Dayton Parts PL1060
329-106U Dayton Parts PL1113
329-109U Dayton Parts PL1017
329-109U Dayton Parts PL1017-HT
329-110U Dayton Parts PL1086
329-111U Dayton Parts PL1087
329-113U Dayton Parts PL1068
329-114U Dayton Parts PL1091
329-115U Dayton Parts PL1052
329-116U Dayton Parts PL1003
329-117U Dayton Parts PL1088
329-119U Dayton Parts PL1114
329-120U Dayton Parts PL1065
329-121U Dayton Parts PL1024
329-124U Dayton Parts PL1037
329-127U Dayton Parts PL1069
329-128U Dayton Parts PL1063
329-128U Dayton Parts PL1063-HT
329-129U Dayton Parts PL1011
329-129U Dayton Parts PL1011-HT
329-130U Dayton Parts PL1126
329-130U Dayton Parts PL1126-HT

329-131U Dayton Parts PL1071
329-132U Dayton Parts PL1074
329-133U Dayton Parts PL1110
329-134U Dayton Parts PL1072
329-135U Dayton Parts PL1016
329-136U Dayton Parts PL1015
329-136U Dayton Parts PL1015-HT
329-137U Dayton Parts PL1016
329-137U Dayton Parts PL1064
329-138U Dayton Parts PL1066
329-139U Dayton Parts PL1036
329-141U Dayton Parts PL1013
329-141U Dayton Parts PL1013-HT
329-142U Dayton Parts PL1014
329-143U Dayton Parts MM59-62002
329-143U Dayton Parts PL1012
329-144U Dayton Parts PL1070
329-144U Dayton Parts PL1070-HT
329-145U Dayton Parts PL1010
329-147U Dayton Parts PL1009
329-148U Dayton Parts PL1067
329-149U Dayton Parts PL1077
329-150U Dayton Parts PL1048
329-151U Dayton Parts PL1018
329-151U Dayton Parts PL1018-HT
329-152U Dayton Parts PL1182
329-155U Dayton Parts PL1112
329-157U Dayton Parts PL1002
329-158U Dayton Parts PL1168
329-161U Dayton Parts PL1062
329-166U Dayton Parts PL1081
329-167U Dayton Parts PL1132
329-170U Dayton Parts PL1132
329-171U Dayton Parts PL1109
329-177U Dayton Parts PL1136
329-178U Dayton Parts PL1183
329-179U Dayton Parts PL1055
329-181U Dayton Parts PL1104
329-191U Dayton Parts PL1111
329-194U Dayton Parts PL1013
329-194U Dayton Parts PL1013-HT
329-199U Dayton Parts PL1051
330-102 Dayton Parts SK62-10600
330-116 Dayton Parts SK75-10000
330-117 Dayton Parts SK75-10000
330-117 Dayton Parts SK75-10200
330-123 Dayton Parts SK46-10000
330-125 Dayton Parts SK59-10000
330-125 Dayton Parts SK59-12100
330-126 Dayton Parts SK59-12000
330-146 Dayton Parts SK55-10200
330-149 Dayton Parts SK55-10000
330-149 Dayton Parts SK55-10600
330-165 Dayton Parts SK55-10000
330-186 Dayton Parts SK75-10200
330-187 Dayton Parts SK75-10100
330-190 Dayton Parts SK55-10600
330-192 Dayton Parts SK75-10100
330-217 Dayton Parts SK46-10800
330-219 Dayton Parts SK46-10000
330-340 Dayton Parts SK96-10200
334-106 Dayton Parts TW34000
334-108 Dayton Parts AK34100
334-1123 Dayton Parts AK50-45000
334-113 Dayton Parts CT10000
334-116 Dayton Parts TW38000
334-1194 Dayton Parts SU75-29624
334-1195 Dayton Parts SU75-29623

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 283

CROSS REFERENCE



334-126 Dayton Parts AK45100
334-127 Dayton Parts AK38200
334-1272 Dayton Parts EQ53-35118
334-1331 Dayton Parts HW59-29000
334-137 Dayton Parts TW50650
334-138 Dayton Parts AK50100
334-1445 Dayton Parts MS83-69219
334-145 Dayton Parts BM50-66208
334-1573 Dayton Parts MS50-26925
334-1574 Dayton Parts MS50-26924
334-1576 Dayton Parts PB50-36000
334-1576 Dayton Parts PB50-36000-EI
334-1576 Dayton Parts PB50-36001
334-1576 Dayton Parts PB50-36001-EI
334-1576 Dayton Parts PB50-36100
334-1576 Dayton Parts PB50-36100-EI
334-1579 Dayton Parts HW50-26679
334-1588 Dayton Parts PB50-26237
334-1589 Dayton Parts TW50-29495
334-1597 Dayton Parts WP50-29929
334-1602 Dayton Parts WP50-29004
334-1603 Dayton Parts WP50-29005
334-1628 Dayton Parts PB50-36321
334-1628 Dayton Parts PB50-36322
334-1637 Dayton Parts HW50-26705
334-1672 Dayton Parts SU99-39115
334-1674 Dayton Parts SU99-39116
334-1676 Dayton Parts TH99-37102
334-1698 Dayton Parts PB50-26632
334-1698 Dayton Parts PB50-26961
334-1699 Dayton Parts HW50-26961
334-1719 Dayton Parts MS50-29890
334-1719 Dayton Parts MS50-29891
334-1720 Dayton Parts LP50-24974
334-1727 Dayton Parts LP50-24179
334-176 Dayton Parts TH99-37102
334-1794 Dayton Parts SW59-29000
334-1794 Dayton Parts SW59-29000-KIT
334-1795 Dayton Parts SW59-29001
334-1795 Dayton Parts SW59-29001-KIT
334-1806 Dayton Parts HW59-29000
334-1845 Dayton Parts LP50-24179
334-190 Dayton Parts EP34000
334-191 Dayton Parts EP38000
334-1968 Dayton Parts LP50-24902
334-2024 Dayton Parts TR57-44645
334-211 Dayton Parts SK83-31000
334-247 Dayton Parts TH83-22302
334-252 Dayton Parts TH83-37997
334-252U Dayton Parts TH83-37997
334-253 Dayton Parts TH83-22089
334-316 Dayton Parts TH83-37022
334-341 Dayton Parts EQ53-35234
334-343 Dayton Parts EQ83-35855
334-343 Dayton Parts HW53-39100
334-344 Dayton Parts TH53-37149
334-345 Dayton Parts HW53-37149
334-381 Dayton Parts EA38000
334-452A Dayton Parts EQ47-35900
334-456 Dayton Parts PL1076
334-460 Dayton Parts PB75-29674
334-460U Dayton Parts PB75-29674
334-467 Dayton Parts AK38200
334-565 Dayton Parts TH47-37900
334-612 Dayton Parts PB57-36200
334-613 Dayton Parts PB57-36300
334-624 Dayton Parts HW19-29200
334-628 Dayton Parts EQ83-35904

334-640 Dayton Parts TH53-37637
334-658 Dayton Parts PB50-36914
334-658 Dayton Parts PB50-36914-EI
334-717 Dayton Parts SK62-10700
334-747 Dayton Parts WP55-290C1
334-754 Dayton Parts HW19-29202
334-770 Dayton Parts HW19-29201
334-788 Dayton Parts SK46-10800
334-814 Dayton Parts PB75-29101
334-830 Dayton Parts EB50-21013
334-830U Dayton Parts EB50-21013
334-831 Dayton Parts EB50-21013
334-831U Dayton Parts EB50-21013
334-833 Dayton Parts WP50-29557
334-848 Dayton Parts HS11000
334-850 Dayton Parts HS12000
334-852 Dayton Parts LP50-24000
334-852A Dayton Parts LP50-24000
334-853 Dayton Parts MS19-29201
334-855 Dayton Parts MS19-29055
334-860 Dayton Parts MS19-29028
334-861 Dayton Parts MS19-29029
334-884 Dayton Parts RS20220
334-885 Dayton Parts RS20220
334-886 Dayton Parts RS20222
334-896 Dayton Parts TH83-37640
334-898 Dayton Parts MS50-39613
334-906 Dayton Parts SK22-10100
334-908 Dayton Parts SK22-10100
334-916 Dayton Parts LP96-24657
334-964 Dayton Parts SK00-10500
334-965 Dayton Parts SK22-10000
334-990 Dayton Parts SK88-10200
33500 Gaff TH03-85000
33502 Gaff TH03-82725
33502 Gaff TH03-85001
338-1491 Dayton Parts EQ53-35250
338-378 Dayton Parts EQ83-35000
338-408 Dayton Parts EQ53-35701
338-419 Dayton Parts EQ53-35250
3385-DD4-001 Spartan Motors HW50-21013
3386DD4001 Spartan Motors MS99-69004
338-729 Dayton Parts MS62-29246
338-871 Dayton Parts EQ83-35850
338-871 Dayton Parts EQ83-35855
338-886 Dayton Parts EQ53-35158
338-886 Dayton Parts EQ53-35158-NH
338-886U Dayton Parts EQ53-35158
338-887 Dayton Parts EQ53-35001
339-208 Dayton Parts AW51-34036
339-255 Dayton Parts PB85-36029
339-277 Dayton Parts PB00-26839
34013050 Hendrickson EA38000
34013-087L Hendrickson EB50-21013
34013-088L Hendrickson EB50-21013
34013-49 Hendrickson EA38000
34013-87 Hendrickson EB50-21013
3401388 Hendrickson EB50-21013
34072-21 Hendrickson TR50-75525
344 Premier PL1019
3444147C91 International CM55-61454
344A Premier PL1019
34507 Gaff MM55-626C2
34509 Gaff MM55-62003
34510 Gaff MM55-62004
34510 Gaff MM55-62005
34510 Gaff MM55-620C7
34510 Gaff MM55-629C7

34511 Euclid SP55-52600
34511 Gaff SP55-52600
34514 Gaff PB00-36314
34515 Gaff CM55-615C2
345-157 Dayton Parts TR83-45520
345-158 Dayton Parts TR83-41520
34516 Gaff CM55-61454
345-164 Dayton Parts TR53-45305
345-167 Dayton Parts TR53-41500
345-185 Dayton Parts TR55-41117
345-186 Dayton Parts TR75-41781
345-187 Dayton Parts TR55-41118
345-188 Dayton Parts TR55-41117
345-189 Dayton Parts TR50-41001
345-190 Dayton Parts TR50-41002
345-196 Dayton Parts TR75-41119
345-204 Dayton Parts TR50-41111
345-205 Dayton Parts TR50-41112
345-207 Dayton Parts TR46-46016
345-208 Dayton Parts TR46-41053
345-209 Dayton Parts TR46-41053
345-210 Dayton Parts TR75-41059
345-211 Dayton Parts TR75-41327
345-212 Dayton Parts TR46-41716
345-213 Dayton Parts TR46-41316
345-215 Dayton Parts TR75-41108
345-216 Dayton Parts TR96-41945
345-219 Dayton Parts TR96-41068
345-222 Dayton Parts TR62-41180
345-222 Dayton Parts TR62-41470
345-223 Euclid TR62-41198
345-224 Dayton Parts TR62-413P2
345-227 Dayton Parts TR62-41203
345-228 Dayton Parts TR62-413P5
345-240 Dayton Parts TR75-41327
34525 Gaff MM55-62005
34528 Gaff CM55-614C4
34554 Gaff TR75-41059
345-610 Dayton Parts TR35205
345-612 Dayton Parts TR35220
345-620 Dayton Parts TR35225
345-620 Dayton Parts TR72000
34563 Gaff TR55-418C1
34563 Gaff TR55-428C1
345-630 Dayton Parts TR35210
345-640 Dayton Parts TR84000
345-660 Dayton Parts TR75000
345-661 Dayton Parts TR35105
345-670 Dayton Parts TR76000
345-671 Dayton Parts TR35125
345-680 Dayton Parts TR76000
345-681 Dayton Parts TR35110
345-690 Dayton Parts TR77000
345-691 Dayton Parts TR77000
345-700 Dayton Parts TR85000
345-701 Dayton Parts TR85000
345-734 Dayton Parts TR50-41102
345-736 Dayton Parts TR81000
345-738 Dayton Parts TR72000
345-738 Dayton Parts TR76000
345-739 Dayton Parts TR73000
345-740 Dayton Parts TR84000
345-741 Dayton Parts TR71000
345-741 Dayton Parts TR75000
345-741 Dayton Parts TR85000
345-742 Dayton Parts TR71000
345-742 Dayton Parts TR75000
345-744 Dayton Parts TR82000

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 284

CROSS REFERENCE



345-769 Dayton Parts TR73000
345-792 Dayton Parts TR50-41102
345-794 Dayton Parts TR74000
345-794 Dayton Parts TR78000
345-802 Dayton Parts SK27174
345-815 Dayton Parts TR50-41102
345-862 Dayton Parts TR96-41268
345-862 Dayton Parts TR96-41945
345-866 Dayton Parts TR55-418C1
345-866 Dayton Parts TR55-428C1
345-868 Dayton Parts TR46-41002
345-878 Dayton Parts TR46-49002
345-879 Dayton Parts TR46-49002
345-880 Dayton Parts TR46-49998
345-881 Dayton Parts TR46-49998
345-882 Dayton Parts TR00-41001
345-883 Dayton Parts TR00-41600
345-884 Dayton Parts TR00-41009
345-898 Dayton Parts TR96-41068
345-904 Dayton Parts TR55-428C1
345-906 Dayton Parts TR50-45950
345-908L Dayton Parts TR50-49605
345-908R Dayton Parts TR50-49605
345-909L Dayton Parts TR50-49645
345-909R Dayton Parts TR50-49645
34734C1 International PL1118
34734C1 International UB30000
348 Premier PL1021
348A Premier PL1021
3511254C1 International SK55-10000
3511254C1 International SK55-10100
3512064C4 Hino CM55-614C4
3512064C4 International CM55-614C4
3515345C1 International CM55-615C2
3515345C2 International CM55-615C2
3522-18 Crown Coach PL1001
3525665C1 International SP55-52600
3531415C91 International TR00-45415
3548381C1 International TR55-418C1
3548381C1 International TR55-428C1
3557 Severson MM59-62002
3557 Severson PL1012
3561 Severson PL1148
3574670C91 International CM55-61454
3574671C91 International CM55-61454
3574678C1 International CM55-61454
3574680C1 International CM55-61454
3580007-635 Autocar TR50-42635
3580088C1 International TR55-418C1
3580088C1 International TR55-428C1
3580088C2 International TR55-428C1
35801-0033 Autocar TR13-41022
35801-0033 Western Star TR13-41022
35801-0068 Volvo TR96-41068
35801-0068 Volvo/White/GMC TR96-41068
358010-560 Autocar TR13-41022
35801-3202 Volvo TR96-41239
35801-3441 Western Star TR59-41376
35801-3458 Western Star TR94-41458
35801-3459 Western Star TR94-41900
35801-3514 Western Star TR94-41514
35801-5010 Volvo/White/GMC TR72000
35801-5012 Volvo/White/GMC TR75000
35801-5014 Volvo/White/GMC TR76000
35801-5018 Volvo/White/GMC TR77000
358115C1 International PB46-26268
3581270C1 International TR59-41376
3581271C1 International TR55-41117

3581272C2 International TR55-41117
3-5851-01 Utility Trailer SC99-34101
3589599C91 International CM55-61454
3590 Severson PL1014
3591 Severson MM59-62002
3591 Severson PL1012
3594 Severson PL1010
3595976C4 International CM55-616C5-HT
3595976C5 International CM55-616C5-HT
3596 Severson PL1009
3599 Severson PL1001
360A Reliance PL1182
36-10 Peerless PL1101
36-15 Peerless PL1103
36-21 Peerless PL1123
36-22 Peerless PL1121
3630 James King BP99-65040
36-500 Peerless PL1124
365123 Fruehauf PL1043
36-521 Peerless PL1123
3-69-2 Trailmobile TH53-37637
373020 Chalmers MS19-29028
373021 Chalmers MS19-29029
37302-3403 Western Star PL1139
373028 Chalmers MS19-29028
373029 Chalmers MS19-29029
3765438 GMC/Chevrolet SK00-10500
3769289 GMC/Chevrolet SK00-10500
3781 James King BP99-65040
3822129 GMC/Chevrolet SK22-10000
3822129 GMC/Chevrolet UB75000
3844147C91 International CM55-61454
385275 Trailmobile PL1146
3887851 GMC SP48-11751
3888968 GMC SP48-11118
3889-XB0011 Mack FW51-32011
3889-XB10605 Mack FW99-32605
39400016 Dayton Parts PL1118
3972682 Mack TR50-42565
3972682 Volvo TR50-42565
4000-47691000L Mack PL1146
4000-56557002 Mack WP50-29557
4000-56557004 Mack WP50-29004
4000-56557005 Mack WP50-29005
4000-56929000 Mack WP50-29929
4000-60791000 Mack MS50-29791
4000-62000375 Mack TR50-42375
4000-62000390 Mack TR50-42390
4000-62000505 Mack TR50-42505
4000-62000520 Mack TR50-42520
4000-62000525 Mack TR50-42525
4000-62000535 Mack TR50-42535
4000-62000545 Mack TR50-42545
4000-62000550 Mack TR50-42550
4000-62000560 Mack TR50-42560
4000-62000565 Mack TR50-42565
4000-62000570 Mack TR50-42570
4000-62000575 Mack TR50-42575
4000-62000590 Mack TR50-42590
4000-62000595 Mack TR50-42595
4000-62000600 Mack TR50-42600
4000-62000605 Mack TR50-42605
4000-62000620 Mack TR50-42620
4000-62000630 Mack TR50-42630
4000-62000635 Mack TR50-42635
4000-62000670 Mack TR50-42670
4000-62000675 Mack TR50-42675
4000-62001420 Mack TR50-42425

4000-62001465 Mack TR50-42465
4000-62001485 Mack TR50-42485
4000-62001495 Mack TR50-42495
4000-62001500 Mack TR50-42500
4000-62001510 Mack TR50-42510
4000-62001515 Mack TR50-42515
4000-62001520 Mack TR50-42520
4000-62001525 Mack TR50-42525
4000-62001535 Mack TR50-42535
4000-62001540 Mack TR99-41428
4000-62001545 Mack TR50-42545
4000-62001550 Mack TR50-42550
4000-62001560 Mack TR50-42560
4000-62001565 Mack TR50-42565
4000-62001570 Mack TR50-42570
4000-62001580 Mack TR50-42580
4000-62001585 Mack TR50-42585
4000-62001590 Mack TR50-42590
4000-62001595 Mack TR50-42595
4000-62001605 Mack TR50-42605
4000-62001620 Mack TR50-42620
4000-62001630 Mack TR50-42630
4000-62001635 Mack TR50-42635
4000-62001635 Mack TR50-42640
4000-62001655 Mack TR50-42655
4000-62001665 Mack TR50-42665
4000-62001665 Mack TR50-42670
4000-62001675 Mack TR50-42675
4000-62001680 Mack TR50-42680
4000-62001685 Mack TR50-42685
4000-62005420 Mack TR50-42420
4000-62008620 Mack TR50-42620
4000-62009400 Mack TR50-42400
4000-62010455 Mack TR50-42455
4000-62011360 Mack TR50-42360
4000-62011620 Mack TR50-42620
4000-62012360 Mack TR50-42360
4000-62012465 Mack TR50-42465
4000-62013790 Mack TR50-41790
4000-62022580 Mack TR50-42580
4000-62029385 Mack TR50-42385
4000-62350450 Mack TR50-41450
4000-62350470 Mack TR50-41470
4000-62350520 Mack TR50-41520
4000-62350525 Mack TR50-41525
4000-62350535 Mack TR50-41535
4000-62350545 Mack TR50-41545
4000-62350550 Mack TR50-41550
4000-62350605 Mack TR50-41605
4000-62350610 Mack TR50-41610
4000-62350615 Mack TR50-41615
4000-62350620 Mack TR50-41620
4000-62350625 Mack TR50-41625
4000-62350630 Mack TR50-41630
4000-62350635 Mack TR50-41635
4000-62350640 Mack TR50-41640
4000-62350645 Mack TR50-41645
4000-62350655 Mack TR50-41655
4000-62599560 Mack TR50-65560
4000-62599585 Mack TR50-65585
4000-62650495 Mack TR50-75495
4000-62650500 Mack TR50-75500
4000-62650505 Mack TR50-75505
4000-62650520 Mack TR50-75520
4000-62650525 Mack TR50-75525
4000-62650535 Mack TR50-75535
4000-62650610 Mack TR50-75610
4000-62650615 Mack TR50-75615

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 285

CROSS REFERENCE



4000-62650630 Mack TR50-75630
4000-62650635 Mack TR50-75635
4000-62650640 Mack TR50-75640
4000-62650645 Mack TR50-75645
4000-62700540 Mack TR50-62540
4000-62700570 Mack TR50-62570
4000-62700610 Mack TR50-62610
4000-62700620 Mack TR50-62620
4000-64400003L Mack TS50-22649
4000-66610000 Mack TR35205
4000-66620000H Mack TR35225
4000-66630000H Mack TR35210
4000-66661000 Mack TR35105
4000-66671000H Mack TR35125
4000-66681000H Mack TR35110
4000-66767000H Mack TR35220
4000-67047000 Mack TR35120
400329 Hyster PL1061
40035 Gaff FW99-32605
40074 Gaff CR00-67825
40141 Gaff FW99-32191
401754 International PL1026
401754 International PL1026-HT
4023-KW Kenworth PL1034
4100358 Simplex PL1144
4170 International PL1104
41700301 Great Dane BP99-65304
41700304 Great Dane BP99-65304
41700322 Great Dane MS99-34008
42.2001 Energy Suspension NW30000
42500863 Great Dane BP99-34863
43.2001 Energy Suspension HU10000
434 Premier PL1081
434B Premier PL1081
437 Premier PL1079
437A Premier PL1079
437AK Premier SC99-36437
438506C1 International IN35180
438506C91 International IN35180
43RU297M Mack SK62-10700
44.2001 Energy Suspension PL1004
444097C1 International SK55-10000
444097C1 International SK55-10100
44409C1 International SP00-11561
44409-C1 International SK55-10000
44409-C1 International SK55-10100
44643-9 Hendrickson CT10000
44694 Hendrickson TS34000
44694-000L Hendrickson TS34000
44695 Hendrickson TS38000
44695-000L Hendrickson TS38000
44697 Hendrickson TT38000
44697-000L Hendrickson TT38000
44-74 Mack WP62-61003
448 Premier PL1020
44809 Hendrickson TT34000
448A Premier PL1020
45000 011L Hendrickson AK50-45000
45000005 Hendrickson AK34100
45000013 Hendrickson AK34100
4500013L Hendrickson AK34100
45261 Hendrickson TW50650
452836 Volvo/White/GMC EB38000
452839 Volvo/White/GMC CB38012
45407 Hendrickson EB45000
45477 Hendrickson IN35190
45900 Hendrickson EB38000
45900 Kenworth EB38000

45900-000L Hendrickson EB38000
460719C1 International SK55-10200
460719C1 International SK55-10300
462300C2 International PL1183
46610 Hendrickson TR71000
46620 Hendrickson TR80000
46630 Hendrickson TR72000
46640 Hendrickson TR82000
46650 Hendrickson TR84000
46660 Hendrickson TR75000
46661 Hendrickson TR75000
46670 Hendrickson TR81000
46671 Hendrickson TR81000
46680 Hendrickson TR76000
46681 Hendrickson TR76000
46690 Hendrickson TR77000
46691 Hendrickson TR77000
46700 Hendrickson TR85000
46701 Hendrickson TR85000
46734 Hendrickson TS49000
46735 Hendrickson TM38000
46735 Mack TM38000
46736 Hendrickson TH50000
46737 Hendrickson TT34038
468481 GMC SP48-11118
470031C2 International PL1055
470033C1 International SK55-10200
470033C1 International SK55-10300
470033C1 International SK55-11000
470033C1 International SK55-12000
470033C1 International UB75000
470248C91 International SK55-10200
470248C91 International SK55-11000
470248C91 International SK55-12000
471226C1 International SK00-10500
471226C1 International SK55-10600
471226C1 International SK55-10700
471226C1 International SP55-113C1
471477C1 International RM55-637C1
471478C1 International RM55-638C2
471478C2 International RM55-638C2
472697C1 International PL1113
47401-001 Hendrickson TR50-41001
47401-002 Hendrickson TR50-41002
47420 Hendrickson CB27500
47421 Hendrickson EB27500
476869C1 International PL1136
47691 Hendrickson PL1146
47691 Mack PL1146
47691 Peterbilt PL1146
47691 Hendrickson TS50-22691
47691000 Hendrickson PL1146
47691000L TW Distributors PL1146
47691-000L Autocar PL1146
47691-000L Hendrickson PL1146
47691-000L Mack PL1146
47691-000L Hendrickson TS50-22691
47691000L-HR Autocar PL1146
47692-000 Hendrickson TH50-22692
476991 Hendrickson IN35180
479237C1 International PL1104
48100033 Holland AW51-34036
48100033 Neway AW51-34036
48100202 Freightliner PB57-36200
48100202 Holland PB57-36200
48100202 Neway PB57-36200
48100206 Holland PB57-36300
48100206 Neway PB57-36300

48100511 Neway TR57-44645
48158-001 Hendrickson TR50-41001
48158-002 Hendrickson TR50-41002
48304 Hendrickson AT33501
48401 Hendrickson EB27500
48402 Hendrickson CB27500
48411006 Hendrickson TR50-41102
48411006 International TR50-41102
48411006 Hendrickson TR62-417M1
48411-006 Ford TR50-41102
48411-006 Kenworth TR50-41102
48411-006 Volvo TR50-41102
48411-006 Autocar TR62-417M1
484111 Hendrickson TR50-41111
484112 Hendrickson TR50-41112
48570 Hendrickson HS12000
48570000 Hendrickson HS12000
48570-000 Hendrickson HS12000
4866KL3003 Mack WP62-61003
4866-KL3003 Mack WP62-61003
48929 Hendrickson EB27500
48932 Hendrickson CB27500
48972 Hendrickson HC20000
48973 Hendrickson HC20000
49210 Hendrickson TS38750
49305-1110 Hendrickson TS45000
49377 Hendrickson LP50-24000
49377000 Hendrickson LP50-24000
493920C1 International TR55-41117
493920C2 International TR55-41117
493921C1 International TR55-41118
493921C2 International TR55-41118
49395 Hendrickson HS11000
49395000 Hendrickson HS11000
49395-000 Hendrickson HS11000
49400 Hendrickson CB38012
49400-000L Hendrickson CB38012
49600 Hendrickson CB38010
49600-000L Hendrickson CB38011
497501C2 International NA47000
498403 Volvo/White/GMC CB34012
498407A Volvo/White/GMC HV38000
498417 Volvo/White/GMC EB34000
4C40-6038-AA Ford MM55-623C3
4C4Z4612AA International TR55-418C1
4C4Z4612AA International TR55-428C1
4C4Z5348BA Ford SP55-52600
4C4Z6038A Ford MM55-623C3
50031 Gaff SU99-39113
50032 Gaff SU99-39114
50032 Gaff SU99-39116
5003323 Spicer CR00-67825
50056 Gaff MS99-39709
50150000 Hendrickson EB50-21013
5015565C2 International TR55-418C1
501565C2 International TR55-418C1
501565C2 International TR55-428C1
50160000 Hendrickson EB50-21013
50275AA Barry Controls KT59-62001
50275AA Barry Controls KT59-62001-HT
50275AA Barry Controls KT59-62001-HW
50275AA Barry Controls KT59-62004-HT
503579C1 International PL1048
503611C1 International UB16100
503611C2 International UB16100
50376001 Hendrickson TR50-41102
50376001 International TR50-41102
50376-001 Ford TR50-41102

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 286

CROSS REFERENCE



50376-001 Kenworth TR50-41102
50376-001 Volvo TR50-41102
503837C1 International PL1048
50407007 Fontaine BP99-34408
50612-000 Hendrickson WP50-29557
507569C91 International PL1048
512146C92 International TR50-41630
5183017 RBR Enterprises MS99-69004
522239 World Trans PB03-89501
52296 Hendrickson PB46-26268
52296 Peterbilt PB46-26268
5295 Kenworth SK59-10000
5295 Kenworth SK59-12000
5295 Kenworth SP59-11378
5296 Kenworth SK59-10000
5296 Kenworth SK59-12000
53-09360-000 Gillig TH03-83203
53099V International SP55-113C1
5316702 Kenworth PL1025
5316702 Kenworth PL1025-HT
5435-644600 Mack TR00-41935
5435-921470 Mack TR62-41470
5435-924900 Mack TR94-41900
5435-924910 Mack TR00-41910
5435-925160 Mack TR00-41160
5435-925190 Mack TR00-41270
5435-925420 Mack TR00-41420
5435-925580 Mack TR00-41270
5435-942161 Mack TR00-41816
5435-942175 Mack TR46-41175
5435-942430 Mack TR46-46016
5435-942672 Mack TR62-413P2
5435-943758 Mack TR62-41758
5435-945270 Mack TR00-41270
5435-947794 Mack TR59-41375
546170C93 International TR00-45170
546171C93 International TR00-45171
5462-10050 Mack PB57-21139
5462-11223 Mack PB57-21149
55-11012 Westar TH83-37238
55-146 Westar TH83-37640
55-27964-001 Gillig SW03-83201
55-29477-004 Gillig SW03-83204
55542-Z2001 Nissan TS45000
5572681300 Atlas Copco AS10000
5575016200 Atlas Copco AC10000
5590000987 Atlas Copco AS11000
564239 Volvo TR96-41239
56557-002 Hendrickson WP50-29557
56557-002 Peterbilt WP50-29557
56557-004 Hendrickson WP50-29004
56557-005 Hendrickson WP50-29005
56766 Hendrickson TR74000
56766 Hendrickson TR83000
56767 Hendrickson TR74000
56769 Hendrickson TR73000
56929 Hendrickson WP50-29929
56929-000 Hendrickson WP50-29929
56929-000 Peterbilt WP50-29929
57048 Hendrickson TR78000
57096 Dallas Spring PL1005
57-10730-000 Gillig TN03-83205
571960C1 International WP55-290C1
572355C92 International UB75000
57256-000 Hendrickson TS50-22256
57750377 Neway TR46-46016
57857006 Hendrickson TR62-41220
57950-007 Hendrickson TR50-45950

583922C91 International TR00-41270
583922C91 International TR94-41900
583955C1 International PL1104
58648000 Hendrickson PB50-26648
58648-000 Hino PB50-26648
58648-000 Hendrickson PB50-26961
58757-660 Hendrickson TR62-41260
588117C91 International TR55-41117
588118C91 International TR55-41118
5900582B585 Ridewell RS20210
5922276 New Flyer TH03-82725
5957548 New Flyer TH03-82725
598699C1 International PL1128
60-1518 Westar PB57-36200
60-1520 Westar PB57-36300
60-1535 Westar PB57-21139
602035 McNeilus MS99-65045
60314000 Hendrickson LP50-24974
60383000 Hendrickson SU50-29383
60383-000 Hendrickson SU50-29383
6040029 Ridewell PB85-36029
60632-005 Hendrickson PB50-26961
60632-006 Hendrickson HW50-26961
60632-019 Hendrickson HW50-26961
60632-020 Hendrickson PB50-26632
60632-8 Hendrickson PB50-26632
60641-640 Hendrickson TR50-43640
60641-660 Hendrickson TR50-43660
60791000 Hendrickson MS50-29791
60827-605A Hendrickson TR50-49605
60827-605B Hendrickson TR50-49605
60827-645A Hendrickson TR50-49645
60827-645B Hendrickson TR50-49645
60879000L Hendrickson LP50-24000
60961-720 Hendrickson PB50-26961
60961-745 Hendrickson LP50-24745
60961-746 Hendrickson LP50-24746
60961-747 Hendrickson LP50-24747
61300221 Thomas Built SK88-10200
61300221 Thomas Built SP00-52400
61370672 Thomas Built SK88-10200
61610012 York Transport PB99-36012
61610013 York Transport PB99-36013
62000-375 Hendrickson TR50-42375
62000-390 Hendrickson TR50-42390
62000-420 Hendrickson TR50-42425
62000-430 Hendrickson TR50-42430
62000-485 Hendrickson TR50-42485
62000-505 Hendrickson TR50-42505
62000-510 Hendrickson TR50-42510
62000-520 Hendrickson TR50-42520
62000-525 Hendrickson TR50-42525
62000-530 Hendrickson TR62-412M3
62000-535 Hendrickson TR50-42535
62000-540 Hendrickson TR99-41428
62000-545 Hendrickson TR50-42545
62000-550 Hendrickson TR50-42550
62000-555 Hendrickson TR50-42555
62000-560 Hendrickson TR50-42560
62000-565 Hendrickson TR50-42565
62000-570 Hendrickson TR50-42570
62000-575 Hendrickson TR50-42575
62000-590 Hendrickson TR50-41590
62000-590 Hendrickson TR50-42590
62000-595 Hendrickson TR50-42595
62000-600 Hendrickson TR50-42600
62000-605 Hendrickson TR50-42605
62000-610 Hendrickson TR59-41375

62000-615 Hendrickson TR62-41243
62000-620 Hendrickson TR50-42620
62000-630 Hendrickson TR50-42630
62000-635 Hendrickson TR50-42635
62000-650 Hendrickson TR75-41108
62000-670 Hendrickson TR50-42670
62000-675 Hendrickson TR50-42675
62001 680 Freightliner TR50-42680
62001-420 Hendrickson TR50-42425
62001-460 Hendrickson TR50-42460
62001-465 Hendrickson TR50-42465
62001-485 Hendrickson TR50-42485
62001-495 Hendrickson TR50-42495
62001-500 Hendrickson TR50-42500
62001-510 Hendrickson TR50-42510
62001-515 Hendrickson TR50-42515
62001-520 Hendrickson TR50-42520
62001-525 Hendrickson TR50-42525
62001-530 Hendrickson TR62-412M3
62001-535 Hendrickson TR50-42535
62001-540 Hendrickson TR99-41428
62001-545 Hendrickson TR50-42545
62001-550 Hendrickson TR50-42550
62001-555 Hendrickson TR50-42555
62001-560 Hendrickson TR50-42560
62001-565 Hendrickson TR50-42565
62001-570 Hendrickson TR50-42570
62001-575 Hendrickson TR50-42575
62001-580 Hendrickson TR50-42580
62001-585 Hendrickson TR50-42585
62001-590 Hendrickson TR50-41590
62001-590 Hendrickson TR50-42590
62001-595 Hendrickson TR50-42595
62001-605 Hendrickson TR50-42605
62001-620 Hendrickson TR50-42620
62001-620 Hendrickson TR50-43620
62001-625 Hendrickson TR50-42625
62001-630 Hendrickson TR50-42630
62001-635 Hendrickson TR50-42635
62001-640 Hendrickson TR50-42640
62001-655 Hendrickson TR50-42655
62001-665 Hendrickson TR50-42665
62001-670 Hendrickson TR50-42670
62001-675 Hendrickson TR50-42675
62001-680 Hendrickson TR50-42680
62001-685 Hendrickson TR50-42685
62005-420 Hendrickson TR50-42420
6200-595 Hino TR50-42595
62007365 Hendrickson TR50-41102
62007365 International TR50-41102
62007-365 Ford TR50-41102
62007-365 Kenworth TR50-41102
62007-365 Volvo TR50-41102
62008-620 Hendrickson TR50-42620
62009-375 Hendrickson TR50-42375
62009-400 Hendrickson TR50-42400
62010-455 Hendrickson TR50-42455
62011-360 Hendrickson TR50-42360
62011-565 Hendrickson TR50-42565
62011-620 Hendrickson TR50-42620
62011-720 Hendrickson TR50-41720
62011-720 Hendrickson TR50-42720
62011-720 Hendrickson TR50-43720
62012-360 Hendrickson TR50-42360
62012-465 Hendrickson TR50-42465
62013-385 Hendrickson TR50-42385
62013-790 Hendrickson TR50-41790
62014-720 Hendrickson TR50-43720

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 287

CROSS REFERENCE



62017-720 Hendrickson TR50-43720
62022-580 Hendrickson TR50-42580
62029-385 Hendrickson TR50-42385
62350-470 Hendrickson TR50-41470
62350-505 Hendrickson TR50-41505
62350-520 Hendrickson TR50-41520
62350-525 Hendrickson TR50-41525
62350-535 Hendrickson TR50-41535
62350-545 Hendrickson TR50-41545
62350-550 Hendrickson TR50-41550
62350-555 Hendrickson TR50-41555
62350-560 Hendrickson TR50-41560
62350-605 Hendrickson TR50-41605
62350-610 Hendrickson TR50-41610
62350-615 Hendrickson TR50-41615
62350-620 Hendrickson TR50-41620
62350-625 Hendrickson TR50-41625
62350-630 Hendrickson TR50-41630
62350-635 Hendrickson TR50-41635
62350-635 Hendrickson TR59-41150
62350-640 Hendrickson TR50-41640
62350-645 Hendrickson TR50-41645
62350-655 Hendrickson TR50-41450
62350-655 Hendrickson TR50-41655
62599-560 Hendrickson TR50-65560
62599-585 Hendrickson TR50-65585
62599-585 Hendrickson TR50-65650
62650-495 Hendrickson TR50-75495
62650-500 Hendrickson TR50-75500
62650-505 Hendrickson TR50-75505
62650-520 Hendrickson TR50-75520
62650-525 Hendrickson TR50-75525
62650-535 Hendrickson TR50-75535
62650-605 Hendrickson TR50-75605
62650-610 Hendrickson TR50-75610
62650-615 Hendrickson TR50-75615
62650-630 Hendrickson TR50-75630
62650-635 Hendrickson TR50-75635
62650-640 Hendrickson TR50-75640
62650-645 Hendrickson TR50-75645
62700-540 Hendrickson TR50-62540
62700-570 Hendrickson TR50-62570
62700-610 Hendrickson TR50-62610
62700-620 Hendrickson TR50-62620
6313765 New Flyer TS03-85765
6322561 New Flyer TH03-82725
6322757 New Flyer TH03-82725
64096-000 Hendrickson MS50-26632
64097-000 Hendrickson MS50-26633
64179-002 Hendrickson KT50-25002
64179-002 Hendrickson KT50-25003
64179-002 Hendrickson LP50-24179
64179004 Hendrickson LP50-24974
64179-037 Hendrickson KT50-25002
64179-037 Hendrickson KT50-25003
64179-037 Hendrickson LP50-24179
64179-048 Hendrickson LP50-24179
641794 Hendrickson LP50-24974
642160 Clevite TR55-42C91
64400-002L Hendrickson TS38000
64400-003L Hendrickson TS50-22649
64400-004L Hendrickson TT38000
64400-005L Hendrickson TS38750
64400-007L Hendrickson TM38000
64400-008L Hendrickson TT34038
64400-009L Hendrickson TS49000
64400-010L Hendrickson TH50000
6-441-1 Flxible TH03-82725

64632-000 Hendrickson MS50-26632
64633-000 Hendrickson MS50-26633
64664-000L Hendrickson TS50-22664
64664-000L International TS50-22664
64697 Hendrickson TT50-22697
64697-000 Hendrickson TT50-22697
64809 Hendrickson TT50-22809
64890-000 Hendrickson KT50-25003
64890-000 Hendrickson MS50-29890
64890-000 Hendrickson MS50-29891
6496634 Volvo TW38000
6496634 Volvo/White/GMC TW38000
64992-725 Hendrickson TR50-41720
64992-725 Hendrickson TR50-42720
656-215 Western Star PL1126
656-215 Western Star PL1126-HT
65743-000 Hendrickson KT50-25002
65743-000 Hendrickson KT50-25003
65743-000 Hendrickson LP50-24179
65902-004 Hendrickson KT50-25002
65902-004 Hendrickson KT50-25003
65902-004 Hendrickson LP50-24902
66001-3403 Western Star PL1136
66108-0006 Volvo CM13-61199
66610-000H Autocar TR35205
66610-000H Hendrickson TR35205
66620-000H Hendrickson TR35225
66630-000H Hendrickson TR35210
66630-000H Peterbilt TR35210
6664 Hendrickson CB34012
66649-002 Hendrickson TS38000
66649-003 Hendrickson TS50-22649
66649-004 Hendrickson TT38000
66649-005 Hendrickson TS38750
66660-000H Hendrickson TR75000
66661000H Autocar TR35105
66661-000H Hendrickson TR35105
66671-000H Hendrickson TR35125
66671-000H Peterbilt TR35125
66680-000H Hendrickson TR76000
66681-000H Hendrickson TR35110
66681-000H Peterbilt TR35110
66690-000H Hendrickson TR77000
66691-000H Hendrickson TR77000
66767-000H Hendrickson TR35220
66769-000H Hendrickson TR73000
66D608 Kenworth PL1068
67009-3438 Western Star HM94-64438
67009-3442 Western Star HM96-64442
67009-3442 Western Star MS99-62620
67047-000H Hendrickson TR35120
67219-475 Hendrickson TR50-43475
67274-530 Hendrickson TR50-41530
67274-570 Hendrickson TR50-41570
67428-435 Hendrickson TR50-43435
6776397 GMC/RTS/Nova MM03-83092
67778/C Hendrickson LP50-24778
67778-000 Hendrickson LP50-24778
680-322-00-20 Freightliner SK46-10800
680-322-01-05 Freightliner SK46-10800
680-322-01-05 Freightliner SK46-10900
680-322-01-05 Freightliner SP46-52800
680-322-01-50 Freightliner SP46-52800
680-322-03-01 Freightliner SK46-10800
680-326-00-16 Freightliner TR46-41016
6805040382 Freightliner RM46-63359
680-880-01-60 Freightliner HL00-64001
68088016 Freightliner HL00-64001

681-325-01-50 Freightliner PB46-26268
681-325-01-50 Freightliner UB20500-OS
681-325-02-50 Freightliner PB46-26268
681-326-00-16 Freightliner TR46-46016
681-326-03-16 Freightliner TR50-41630
681-326-09-16 Freightliner TR50-42635
681-326-11-16 Freightliner TR00-41270
681-326-1216 Freightliner TR62-41260
681-326-15-16 Freightliner TR55-42C91
6813262065 Freightliner TR59-41375
681-326-2516 Freightliner TR50-42590
681-326-27-16 Freightliner TR46-41175
681-326-28-16 Freightliner TR00-41816
681-326-34-16 Freightliner TR00-42325
681-326-42-16 Freightliner TR00-42350
681-326-6316 Freightliner TR46-41316
681-326-6716 Freightliner TR46-41716
681-326-70-16 Freightliner TR59-41150
681-326-71-16 Freightliner TR50-41625
681-326-72-16 Freightliner TR46-41002
681-626-6016 Freightliner TR46-43016
681-890-00-01 Freightliner CM46-61001
681-890-00-01 Freightliner CM46-61890
681-891-00-01 Freightliner CM46-61001
681-891-00-01 Freightliner CM46-61891
682692 GMC/RTS/Nova MM03-83092
682692CG GMC/RTS/Nova MM03-83092
682692U GMC/RTS/Nova MM03-83092
69210-000 Hendrickson TS50-22210
69210-000H Hendrickson TS50-22210
6966 Hendrickson TH85000
6969 Hendrickson EB34000
70-0103 General Trailer PL1056
700701 GMC/RTS/Nova TH03-85000
700701U GMC/RTS/Nova TH03-85000
70-0703 General Trailer PL1059
700-7-149 Trailmobile TH53-37149
700-99-484 Trailmobile MS99-65341
7010-00 Hutchens EQ53-35234
7014-TK19089 Mack TH83-22089
702727 GMC PL1086
702727 Volvo PL1086
704-01 Hutchens EQ53-35701
70425001 Hendrickson PB50-26648
713-05 Hutchens TR53-45305
715-00 Hutchens TR53-41500
72000-575 Hendrickson TR50-42575
72100-620 Hendrickson TR50-45620
72100-770 Hendrickson TR50-45770
722-00 Hutchens PL1119
722-00 Hutchens TH53-37149
723330 GMC/RTS/Nova TH03-82725
723330A GMC/RTS/Nova TH03-82725
72350-630 Hendrickson TR50-44630
73073-1 Hendrickson IN35180
7317 Advance Mixer PL1033
73D2002 Kenworth PL1026
73D2002 Kenworth PL1026-HT
750-03 Great Dane EQ53-35250
750-03 Hutchens EQ53-35250
750051 Con-Tech EB38700
750110 PAI TR35205
750111 PAI TR35225
750114 PAI TR35105
750115 PAI TR35125
750341 PAI WP50-29557
753997C91 International PL1110
753997C92 International PL1110

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 288

CROSS REFERENCE



753997C93 International PL1110
7620-00 Hutchens PL1084
7620-00 Trailmobile PL1084
7620-00 Hutchens TH53-37637
7637-00 Trailmobile TH53-37637
7691 Severson PL1146
800009 Chalmers PL1049
800010 Chalmers PL1046
800010 Chalmers TH19-22010
800055 Chalmers MS19-29055
800201 Chalmers MS19-29201
8021378 Volvo TR96-41945
8028945 Volvo TR96-41945
8042900 PAI CM13-61026
8071513 Volvo TR96-41068
8071581 Volvo TR96-41945
8074268 Volvo TR96-41945
8077380 Autocar MM96-62657
8079894 Volvo TS34000
814-00 Hutchens PL1007
8151413 Volvo LP96-24657
8174018 Volvo HL00-64002
8174018 Volvo HL96-64000
8174018 Volvo HL96-64018
8180645 Mack TR62-417M1
82-15270 Gillig SU03-83202
8239803000 Gillig TR03-83200
834240 Volvo VO20000
83520 Gaff TS38000
83596 Gaff EB50-21013
836940 Kenworth TS38000
836940 Kenworth TS59-22400
839310 Kenworth TS38000
839310 Kenworth TS59-22400
8446-R005422 Mack PB00-26422
8446-R00839 Mack PB00-26839
85102486 Volvo TR00-42486
85102511 Volvo TR50-41630
85107110 Mack PL1146
85107110 Volvo PL1146
85171 Clevite MM96-62657
8663 Severson PL1004
8664 Severson PL1005
8665 Severson PL1007
8681 Severson PL1155
86820 Monaco MO10000
868789R91 International HV38000
878841 Volvo CT10000
878841 Volvo/White/GMC CT10000
880506 Workhorse Chassis TM99-63506
880507 Workhorse Chassis TM99-63506
889364 Volvo/White/GMC SF10000
890-00 Hutchens HU10000
890-00 Hutchens HU10065
892192R1 International TW38000
90.2135 Energy Suspension PL1001
90.3001 Energy Suspension EB34000
90.3002 Energy Suspension EB38000
90.4004 Energy Suspension PL1006
90.6010 Energy Suspension PL1007
90.6013 Energy Suspension PL1005
90.6017 Energy Suspension PL1182
90.6019 Energy Suspension SC99-34101
90.7001 Energy Suspension TS34000
90.7005G Energy Suspension PL1119
90.7010 Energy Suspension PL1118
90.7023 Energy Suspension TS38000
90.7024 Energy Suspension TS34000

90.8005 Energy Suspension PL1028
90.9053G Energy Suspension EM75-69656
90.9053G Energy Suspension EM75-69656-HT
90.9053R Energy Suspension EM75-69656
90.9053R Energy Suspension EM75-69656-HT
900 08 008 Neway PL1155
900 08 011 Neway PL1030
900 08 131 Neway PL1154
900 08 139 Neway PB57-21139
900 08 149 Neway PB57-21149
900 28 007 Neway PL1096
900 28 047 Neway PL1098
900 28 075 Neway PL1097
90008008 Neway PL1155
90008011 Neway PL1030
90008131 Neway PL1154
90008139 Holland PB57-21139
90008149 Holland PB57-21149
90008149 International PB57-21149
900-08-264 Neway TH57-22264
900-08-278 Neway TH57-22264
90017516 Ottawa TM99-63516
90021800 Kalmar/Cargotec CM99-61800
90022099 Ottawa PL1077
90026587 Ottawa PL1168
90028007 Neway PL1096
90028047 Neway PL1098
90028075 Neway PL1097
90045702 Holland TR57-44992
90045702 Neway TR57-44992
9030595D000 Ridewell RS20220
9031221B302 Ridewell RS20222
9031221B303 Ridewell RS20222
9031797D000 Ridewell RS20220
90385-18021 Toyota SP90-19021
90385-18022 Toyota SP90-19022
90548900 Holland TR57-44992
90548900 Neway TR57-44992
90549992 Holland TR57-44992
90549992 Neway TR57-44992
910 08 014 Neway PL1094
910 08 022 Neway NW30000
910 08 040 Neway PL1093
910 08 072 Neway PL1093
910 28 023 Neway PL1095
910 28 039 Neway AW57-10000
910 28 051 Neway AW57-12000
910 28 089 Neway PL1041
910 28 152 Neway PL1125
91008014 Neway PL1094
91008022 Neway NW30000
91008040 Neway PL1093
91008072 Neway PL1093
91028010 Holland AW51-34010
91028023 Neway PL1095
91028039 Neway AW57-10000
91028051 Neway AW57-12000
91028075 Neway AW57-14000
91028089 Neway PL1041
91028152 Neway PL1125
91-1404 Thermo King MS99-39709
91-2578 Thermo King MS99-39709
91-2618 Thermo King MS99-39159
91-4159 Thermo King MS99-39159
91-7709 Thermo King MS99-39709
920734.0001 Kalmar/Cargotec CM13-61026
921460 Clevite TR62-41245
921461 Clevite TR62-41203

921470 Clevite TR62-41470
9-2258 Batco EB50-21013
923230 Clevite TR75-41108
924170 Clevite TR75-41119
924175 Peterbilt TR75-41327
924711 Clevite TR13-41022
924760 Clevite TR94-41458
924795 Clevite TR00-41795
924800 Clevite TR50-42575
924830 Clevite TR50-42580
924900 Clevite TR94-41900
924901 Clevite TR50-41587
924901 Peterbilt TR50-41587
924910 Clevite TR00-41910
924910 Peterbilt TR00-41910
924920 Clevite TR50-42590
924950 Clevite TR46-41175
924955 Clevite TR46-41175
924970 Clevite TR62-41238
925000 Clevite TR50-42608
925000 Kenworth TR50-42608
925000 Peterbilt TR50-42608
925030 Clevite TR59-41375
925031 Kenworth TR59-41376
925050 Clevite TR46-41000
925101 Clevite TR50-41626
925101 Peterbilt TR50-41626
925150 Clevite TR50-42635
925150 Kenworth TR50-42635
925151 Clevite TR59-41150
925160 Clevite TR00-41160
925160 Peterbilt TR00-41160
925190 Clevite TR00-41270
925260 Clevite TR62-41260
925340 Clevite TR50-42685
925345 Clevite TR50-42685
925420 Clevite TR00-41420
925420 Kenworth TR00-41420
925420 Peterbilt TR00-41420
925500 Clevite TR55-42C91
925580 Clevite TR00-41270
925600 Clevite TR00-41935
925660 Clevite TR62-41P24
927180 Clevite TR55-41117
92-7620 Thermo King MS99-62620
927904 Clevite TR55-41117
927905 Clevite TR55-41118
927908 Clevite TR75-41781
928514 Clevite TR59-41150
928584 Clevite TR59-41150
928594 Clevite TR50-75525
928610 Clevite TR71000
928630 Clevite TR72000
928660 Clevite TR75000
928661 Clevite TR75000
928668 Clevite TR78000
928680 Clevite TR76000
928681 Clevite TR76000
928690 Clevite TR77000
928691 Clevite TR77000
928831 Clevite TR62-412M3
92883-4 Clevite TR62-41243
928893 Thermo King MS99-62620
9-3365 Batco HU10000
9-3366 Batco HU10000
9343-6223 Mack WP62-61003
934807 Clevite TR00-45375
934811 Clevite TR00-45901

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 289

CROSS REFERENCE



934815 Clevite TR00-45949
934816 Clevite TR00-45950
934818 Clevite TR00-45170
934821 Clevite TR00-45951
934822 Clevite TR00-45265
934824 Clevite TR00-45222
934825 Clevite TR00-45104
934832 Clevite TR00-45106
934833 Clevite TR00-45171
934835 Clevite TR00-45902
934837 Clevite TR00-45485
934838 Clevite TR00-45107
934849 Clevite TR00-45978
934851 Clevite TR00-45415
935312 Clevite TR50-42635
937530 Clevite TR00-41009
937560 Clevite TR00-41001
937561 Clevite TR00-41600
937640 Clevite TR46-46002
937641 Clevite TR46-46003
937641 Clevite TR62-41295
939060 Clevite TR62-417M1
939062 Clevite TR62-417M2
940102 Clevite TR00-42325
941220 Clevite TR46-46016
941390 Clevite TR73000
942102 Clevite TR50-42635
942115 Clevite TR50-42575
942116 Clevite TR59-41150
942119 Clevite TR62-41238
942161 Clevite TR00-41816
942162 Clevite TR00-41270
942163 Clevite TR00-41935
942169 Clevite TR50-42635
942171 Clevite TR62-41260
942174 Clevite TR50-42590
942175 Clevite TR46-41175
942176 Clevite TR50-42685
942178 Clevite TR59-41280
942179 Clevite TR55-41C91
942181 Clevite TR50-41630
942187 Clevite TR00-42350
942190 Clevite TR00-42325
942430 Clevite TR46-46016
942437 Clevite TR46-43016
942476 Clevite TR46-41175
942477 Clevite TR50-42635
942478 Clevite TR62-41260
942479 Clevite TR55-42C91
942480 Clevite TR59-41280
942486 Clevite TR59-41150
942494 Clevite TR96-41239
942514 Clevite TR62-417M1
942516 Clevite TR46-41053
942670 Clevite TR62-4123A
942671 Clevite TR62-413P3
942672 Clevite TR62-413P2
942674 Clevite TR62-413P5
942690 Clevite TR74000
943044 Clevite TR75-41059
943711 Clevite TR75-41108
943711 Peterbilt TR75-41108
943740 Clevite TR62-41470
943750 Clevite TR62-41198
943758 Mack TR62-41758
943763 Clevite TR62-41180
943783 Clevite TR62-418M2
943790 Clevite TR62-41238

943793 Clevite TR00-41270
943798 Clevite TR50-42685
943800 Clevite TR46-41175
943885 Clevite TR46-41716
943886 Clevite TR46-41316
943902 Clevite TR96-41945
943902 Volvo TR96-41945
943911 Clevite TR50-42635
944040 Clevite TR55-42C91
944130 Clevite TR62-41260
944160 Clevite TR50-42590
944200 Clevite TR59-41280
9-4422 Batco NW30000
944220 Clevite TR50-42590
944270 Kenworth TR59-41375
944500 Clevite TR62-41260
944510 Clevite TR00-41816
944520 Clevite TR50-42685
944550 Clevite TR00-41420
944580 Clevite TR55-42C91
944600 Clevite TR00-41935
944610 Clevite TR59-41280
944620 Clevite TR55-41C91
944821 Clevite TR50-44630
945100 Clevite TR00-41935
945118 Clevite TR96-41239
945240 Clevite TR62-41238
945270 Clevite TR00-41270
945280 Clevite TR59-41280
945280 Kenworth TR59-41280
945381 Clevite TR59-41376
945460 Clevite TR00-41270
945460 Volvo TR00-41270
945490 Clevite TR50-42635
945530 Clevite TR46-41175
945540 Clevite TR50-42635
947100 Clevite TR46-41716
947106 Clevite TR46-41002
947-271 Clevite TR94-41514
947790 Clevite TR75-41327
948461 Clevite TR59-41150
948569 Clevite TR50-42575
948574 Clevite TR50-42590
9-5017 Batco CB27500
9-5018 Batco EB27500
951220 Clevite TR62-41205
9-5420 Batco TR71000
9-5422 Batco TR72000
9-5424 Batco TR75000
9-5426 Batco TR76000
9-5431 Batco TR75000
9-5433 Batco TR76000
9-5435 Batco TR77000
9-5450 Batco CB65002
9-5451 Batco EB65000
9-5460 Batco EB45000
9-5463 Batco AK45100
9-5470 Batco CB50000
9-5500 Batco CB34012
9-5501 Batco EB34000
9-5510 Batco CB38012
9-5511 Batco EB38000
9-5512 Batco CB38012
9-5513 Batco CB38012
9-5514 Batco CB38011
9-5518 Batco IN35180
9-5519 Batco IN35190
9-5529 Batco EB50-21013

9-5532 Batco HC20000
9-5535 Batco HV38000
9-5536 Batco HC20000
9-5537 Batco HC20000
9-5598 Batco EP34000
9-5599 Batco EP38000
9-5620 Batco CB34011
9-5621 Batco CB38011
9-5628 Batco TW34000
9-5629 Batco TW38000
9-5690 Batco HC10000
9-5719 Batco TM38000
9-5721 Batco TT38000
9-5723 Batco TS38000
9-5728 Batco EB38000
9-6452 Batco FA96452
965080R1 International CB34012
9-6516 Batco PB46-26268
9-6851 Batco NA47000
97-2263-1 Flxible TN03-82701
97-2263-151 Flxible TN03-82701
97-2263-153 Flxible TN03-82701
97-2263-1U Flxible TN03-82701
9-7240 Batco RW51000
9-7241 Batco RW53000
9-7242 Batco RW52000
97-2627-151 Flxible TH03-82751
9-7567 Batco MA37000
9-7579 Batco MA10000
9-7579 Batco MA10085
9-7581 Batco MA20000
9-7583 Batco MA10000
9-7583 Batco MA10085
9-7586 Batco MA37200
9-7588 Batco MA36000
9-7593 Batco MA36500
9-7594 Batco MA36000
9-7595 Batco MA37000
9-7596 Batco MA37200
9-7597 Batco MA32000
9-7598 Batco MA36000
9-7599 Batco MA37200
97-6171-2 Flxible MM03-82712
9-7838 Batco RS20220
9-7839 Batco RS20222
9-7840 Batco RS20230
9-7852 Batco RS20210
97-9999-2033 Flxible TH03-82725
9817-02201085 Mack BP99-65000
A01-11166-000 Freightliner PL1052
A1225-G-1437 Meritor SU99-39113
A-1225-L-1416 Arvin Meritor PB00-36314
A-1225-L-1416 Meritor SU99-39116
A16-01005-002 Freightliner SK46-11200
A16-01005-002 Freightliner SP46-11002
A16-10549 Freightliner PL1054
A16-119448 Freightliner PL1146
A16-12301-000 Freightliner SK46-10000
A1615303000 Freightliner LP46-19773
A1615773000 Freightliner LP46-19773
A17-10464-001 Freightliner PL1051
A1712 Hendrickson Aux Axle PL1118
A1712 Hendrickson Aux AxleTH83-
22302
A1712 Hendrickson Aux Axle UB30000
A-1712 Transpro PL1118
A-1712 Transpro UB30000
A17-15553-000 Freightliner HL46-64530

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 290

CROSS REFERENCE



A17-15553-001 Freightliner HL46-64531
A1840099000 Freightliner CM46-61384
A18-66875-002 Western Star CM94-61875
A-2297-H-1048 Kenworth RW54000
A-2297-H-1048 Rockwell RW54000
A-2297-K-1051 Kenworth RW51000
A-2297-K-1051 Rockwell RW51000
A-2297-K-1052 Kenworth RW53000
A-2297-K-1052 Rockwell RW53000
A-2297-U-73A Rockwell RW55000
A-2297-V-4806 Kenworth RW53000
A-2297-V-4806 Rockwell RW53000
A-2297-X-3664 Rockwell RW52000
A3580007-605 Autocar TR50-42605
A3580007-670 Autocar TR50-42670
A3580010-560 Autocar TR50-41560
A3580010-635 Autocar TR13-41635
A3580047-630 Autocar TR50-44630
A3580048575 Autocar TR50-42575
A5080048-001 Autocar PL1176
A6600010-001 Autocar CM13-61199
A6621026-001 Autocar CM13-61026
A6803220050 Freightliner SP46-52050
A6803220050 Sterling Truck SP46-52050
A6805040182 Freightliner RM46-63359
A6805040382 Mercedes Benz RM46-63359
A-6914 Hendrickson PB50-36914
A-6914 Hendrickson Aux Axle PB50-36914
A-6914 Hendrickson PB50-36914-EI
A-6914 Hendrickson Aux      PB50-36914-EI
A80BL0011 Severson PL1006
A80BL0020 Severson SK83-31000
A80BL0024 Severson CM13-61199
A80BL0205 Severson PB46-26268
A80BL1024 Severson PL1003
A80BL1028 Severson RW51000
A80BL1030 Severson HV38000
A80BL1031 Severson HC20000
A80BL1033 Severson EB34000
A80BL1034 Severson HC10000
A80BL1046 Severson MA36000
A80BL1047 Severson MA36500
A80BL1049 Severson MA10000
A80BL1049 Severson MA10085
A80BL1055 Severson TS34000
A80BL1056 Severson TS38000
A80BL1058 Severson TT38000
A80BL1064 Severson PL1002
A80BL2204 Severson HM62-64M31
A80BL2204 Severson PL1011
A80BL2204 Severson PL1011-HT
A80BL2208 Severson PL1110
A80BL2212 Severson PL1016
A80BL2213 Severson PL1015
A80BL2213 Severson PL1015-HT
A80BL3014 Severson MA20000
A80BL3020 Severson HU10000
A80BL3030 Severson NW30000
A80BL3537 Severson TH85000
A80BL3557 Severson PL1013
A80BL3557 Severson PL1013-HT
A80BL3560 Severson EB38000
A80BL3590 Severson PL1014
A80BL3591 Severson MM59-62002
A80BL3591 Severson PL1012
A80BL3594 Severson PL1010
A80BL3596 Severson PL1009
A80BL3599 Severson PL1001

A80BL4151 Severson PL1182
A80BL5698 Severson RW53000
A80BL6735 Severson TM38000
A80BL8663 Severson PL1004
A80BL8664 Severson PL1005
A80BL8667 Severson MA37000
A80GR1951 Severson PL1182
A90BL0105 Severson PL1008
ABP1 Automann MA36500
ABP1UB Automann MA36500
ABP2 Automann MA36000
ABP2UB Automann MA36000
ABP4 Automann MA37000
ABP4UB Arvin Meritor MA37000
ABP5 Automann MA32000
ABP6 Automann MA37200
ABP6UB Automann MA37200
ABP9 Automann MA36000-OFF
AC02-034 Curotto Can MS99-69780
AC02-036 Curotto Can MS99-69779
ANB50 Unisorb MS99-65100
ASF-0329-47 Simplex PL1130
ASF-0358-07 Simplex PL1144
B1 Trelleborg BP99-650B1
B11613 Hendrickson Aux MS50-39613
B-11613 Hendrickson Aux   MS50-39613
B1163-22 Flagg SK00-10500
B1205-43 Flagg SK00-10500
B1314-55 Flagg SK00-10500
B1363-59 Flagg SP59-11378
B1372-59 Flagg SK59-10000
B1372-59 Flagg SK59-12000
B1384-55 Flagg SK55-10200
B1384-55 Flagg SK55-10300
B1403-75 Flagg SK75-10000
B1403-75 Flagg SP00-11561
B1408-46 Flagg SK46-10000
B1408-46 Flagg SP46-11002
B1408-46 Flagg SP46-11373
B1409-46 Flagg SK46-10000
B1420-75 Flagg SK75-10100
B1420-75 Flagg SK75-10200
B1420-75 Flagg SP75-11781
B1424-62 Flagg SK62-10700
B1431-96 Flagg SK46-10900
B1432-96 Flagg SK46-10800
B1434-55 Flagg SK55-10000
B1434-55 Flagg SK55-10100
B1434-55 Flagg SP00-11561
B1435-55 Flagg SK00-10500
B1442-55 Flagg SK55-10600
B1442-55 Flagg SK55-10700
B1442-55 Flagg SP55-113C1
B1445-46 Flagg SK46-10000
B1445-46 Flagg SP46-11002
B1445-46 Flagg SP46-11373
B-14495 Hendrickson TW50-29495
B1473-22 Flagg SK22-10100
B1473-22 Flagg SK88-10200
B1489 Flagg SK14-10000
B1489-14 Flagg SK14-10100
B1489-14 Flagg SP14-11774
B1491-96 Flagg SK96-10300
B1491-96 Flagg SP96-11026
B52641 Benson Trailer BP99-65182
B5500 Buyers BP89-65100
B552641 Fontaine BP99-36040
B65-1001 Kenworth SP59-11010

B65-1006 Kenworth SK59-12100
B65-1006 Kenworth SP59-11006
B65-1007 Kenworth SP59-11007
B65-1012 Kenworth SP59-11007
B65-1013 Kenworth SP00-11013
B65-1013 Peterbilt SP00-11013
B65-1017-001 Kenworth SK59-12100
B65-1017-001 Kenworth SP59-11006
B65-6005 Kenworth SP00-11005
B65-6005 Peterbilt SP00-11005
B65-6006 Kenworth SP00-11013
B65-6006 Peterbilt SP00-11013
B8QH5873A Ford EB38000
BA122 Automann EA38000
BA122UB Automann EA38000
BA123 Automann EA38000
BA49 Flagg EA38000
BA50 Flagg EA38000
BCD 26704-01 Sterling Truck MM46-62451
BCD 26704-1 Freightliner MM46-62002
BCD 26704-1 Sterling Truck MM46-62002
BCD 26704-1 Freightliner MM46-62005
BCD 26704-1 Sterling Truck MM46-62005
BCD 26704-1 Freightliner MM46-62451
BCD 27330 1 Freightliner MM46-62000
BCD 27330 1 Sterling Truck MM46-62000
BCD 27330 2 Freightliner MM46-62000
BCD 27330 2 Sterling Truck MM46-62000
BCD 27330-1 Freightliner MM46-62001
BCD 27330-1 Sterling Truck MM46-62001
BCD 27330-2 Freightliner MM46-62001
BCD 27651 1 Freightliner MM46-62002
BCD 27651 1 Sterling Truck MM46-62002
BCD 27651 1 Freightliner MM46-62005
BCD 27651 1 Sterling Truck MM46-62005
BCD 27651 1 Freightliner MM46-62651
BCD 27651 1 Sterling Truck MM46-62651
BCD 27651 2 Freightliner MM46-62002
BCD 27651 2 Sterling Truck MM46-62002
BCD 27651 2 Freightliner MM46-62005
BCD 27651 2 Sterling Truck MM46-62005
BCD 27651 2 Freightliner MM46-62651
BCD 27651 2 Sterling Truck MM46-62651
BCD 27651 3 Freightliner MM46-62002
BCD 27651 3 Sterling Truck MM46-62002
BCD 27651 3 Freightliner MM46-62005
BCD 27651 3 Sterling Truck MM46-62005
BCD 27651 3 Freightliner MM46-62651
BCD 27651 3 Sterling Truck MM46-62651
BCD 28721-1 Freightliner RM46-63471
BCD 28805 1 Freightliner MM46-62000
BCD 28805 1 Sterling Truck MM46-62000
BCD 288051 Freightliner MM46-62001
BCD 288051 Sterling Truck MM46-62001
BCD 28847 1 Sterling Truck RM46-63471
BCD 28847-1 Freightliner RM46-63471
BCD 28945-1 Freightliner MM46-62002
BCD 28945-1 Sterling Truck MM46-62002
BCD 28945-1 Freightliner MM46-62005
BCD 28945-1 Sterling Truck MM46-62005
BCD 28945-1 Freightliner MM46-62451
BCD 28945-1 Sterling Truck MM46-62451
BCD27330 1 Freightliner MM46-62301
BCD27330 1 Sterling Truck MM46-62301
BCD27330 2 Freightliner MM46-62301
BCD28805 1 Freightliner MM46-62051
BCD28805 1 Sterling Truck MM46-62051
BKC580312GR8F Automann HW19-29200

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 291

CROSS REFERENCE



BKC580500GR8F Automann HW19-29201
BKC580512GR8F Automann HW19-29202
BKF100500GR5 Automann HW53-37149
BP198 Automann EB50-21013
BP198HE Automann EB50-21013
BP198UB Automann EB50-21013
BP87 Flagg EB50-21013
BP88 Flagg EB50-21013
BSH-109-L Fontaine FW99-32109
BSH-109-L Fontaine FW99-32175
BSH-150 Fontaine PL1002
BSH-172-U Fontaine FW99-32172
BSH-172-U Fontaine FW99-32175
BSH-3000 Fontaine FW99-32300
BSH-3000 Fontaine FW99-32301
BSH-LWS-L Fontaine FW99-32109
BSH-LWS-L Fontaine FW99-32175
C13-6001 Kenworth SU00-29001
C13-6001 Peterbilt SU00-29001
C13-6002 Kenworth SU00-29002
C13-6002 Peterbilt SU00-29002
C-20924 Hendrickson Aux   MS50-26924
C29 Flagg SK22-10000
C2TZ5781A Ford SK00-10500
C3511-70 Cush PB50-36364
C3TZ54599A Ford HV38000
C4T25348A Ford SP99-11001
C4TZ25348A Ford SP99-11001
C65-1000 Kenworth SW59-29000
C65-1000 Kenworth SW59-29000-KIT
C65-1001 Kenworth SW59-29001
C65-1001 Kenworth SW59-29001-KIT
C65-1008 Kenworth TR59-41008
C65-1009 Kenworth TR59-41008
C65-1013 Kenworth SW59-29000
C65-1013 Kenworth SW59-29000-KIT
C65-6000-001 Kenworth TR00-41001
C65-6000-001 Peterbilt TR00-41001
C65-6000-002 Kenworth TR00-41600
C65-6000-002 Peterbilt TR00-41600
C65-6002 Kenworth TR00-41009
C65-6002 Peterbilt TR00-41009
C65-6009 Kenworth TR00-41009
C65-6009 Peterbilt TR00-41009
C65-6011-001 Kenworth TR00-41001
C65-6011-001 Peterbilt TR00-41001
C65-6011-002 Kenworth TR00-41600
C65-6011-002 Peterbilt TR00-41600
C65-6012-000010440 Peterbilt TR75-41327
C65-6013 Peterbilt TR75-41059
C65-6016-000010440 Peterbilt TR75-41327
C6TS5A552A Ford TW38000
C6TZ5899A Ford SF10000
C7TZ5348B Ford SP43-11100
C862 Flagg EB38000
C862UB Flagg EB38000
C863 Flagg CB38012
C864 Flagg CB34012
C865 Flagg EB34000
C865UB Flagg EB34000
C866 Flagg CB34010
C866U Flagg CB34010
C866UB Flagg CB34011
C867 Flagg CB38010
C867 Flagg CB38011
C867UB Flagg CB38010
C868 Flagg CB27500
C870 Flagg IN35190

C871 Flagg EB38000
C872 Flagg EB50000
C873 Flagg CB50000
C873 Flagg CB50011
C874 Flagg HV38000
C874UB Flagg HV38000
C875 Flagg EB45000
C877 Flagg CB38012
C878 Flagg TS34000
C878UB Flagg TS34000
C879 Flagg TS38000
C879UB Flagg TS38000
C880 Flagg TS49000
C881 Flagg TH50000
C882 Flagg TT34038
C883 Flagg TT38000
C883UB Flagg TT38000
C884 Flagg TM38000
C885 Flagg TT34000
C886 Flagg EB27500
C887 Flagg CB38012
C888 Flagg CB38011
C889 Flagg TS38750
C890 Flagg SU50-29383
C8HS5884A Ford CT10000
C9634375-03 Kimble EB38700
C9HS5872A Ford CB34011
C9HS5872A Ford CB38011
CA293 Kenworth PL1008
CA293 Kenworth PL1184
CB1121-10 Freightliner PL1107
CB1122-4 Freightliner PL1168
CB1125 2 Lord MM75-62401
CB2106611XSA Arvin Meritor CR00-67825
CB2106611XSA International CR00-67825
CB2106611XSA Kenworth CR00-67825
CB2106611XSA Peterbilt CR00-67825
CB2202-12 Lord MS99-62620
CB-2203-105A Lord MM62-62334
CB2203-2 Peterbilt PL1112
CB2203-70 Peterbilt MM75-62370
CB2203-70 Peterbilt MM75-62370-HT
CB2203-72 Peterbilt MM75-62001
CB2203-72 Peterbilt MM75-62001-HT
CB2203-72 Peterbilt MM75-62372
CB2203-72 Peterbilt MM75-62372-HT
CB2203-77 Peterbilt MM75-62377
CB2203-78 Peterbilt MM75-62377
CB2204-146 Lord CM94-61875
CB-2204-4 Lord TM99-63516
CBA/24-650-17 Freightliner PL1003
CBA28-1050 Freightliner PL1105
CBA28-1050 Freightliner PL1105-HT
CBA33-1600 Lord PL1102
CBA33-1600 Lord PL1102-HT
CHA03 Flagg LP19-24002
CHA05 Flagg LP19-24015
CHA22 Flagg PL1047
CHA22 Flagg TH19-22128
CHA22UB Flagg PL1047
CHA23 Flagg TH19-22129
CHA53 Flagg PL1049
CHA54 Flagg PL1046
CHA54 Flagg TH19-22010
CHA54UB Flagg PL1046
CHA59 Flagg HW19-29200
CHA60 Flagg HW19-29202
CHA61 Flagg HW19-29201

COLLB1 Columbia PL1100
COM266 Kenworth PL1028
COM266 Peterbilt PL1028
COM368-6 Kenworth PL1028
CS70815 Haldex TS59-22400
CSI15026 Freightliner LP19-24026
CT2 Flagg CT10000
D002 Dyco PL1126
D002 Dyco PL1126-HT
D003 Dyco PL1069
D004 Dyco PL1070
D004 Dyco PL1070-HT
D005 Dyco PL1009
D006 Dyco PL1015
D006 Dyco PL1015-HT
D007 Dyco PL1013
D007 Dyco PL1013-HT
D008 Dyco PL1071
D009 Dyco PL1018
D009 Dyco PL1018-HT
D019 Dyco PL1127
D020 Dyco PL1112
D021 Dyco PL1014
D022 Dyco MM59-62002
D022 Dyco PL1012
D023 Dyco PL1128
D024 Dyco PL1010
D025 Dyco PL1044
D026 Dyco PL1011
D026 Dyco PL1011-HT
D026M Dyco HM62-64M31
D027 Dyco PL1063
D028 Dyco PL1034
D030 Dyco PL1016
D031 Dyco PL1064
D032 Dyco PL1066
D033 Dyco PL1067
D034 Dyco PL1065
D035 Dyco PL1008
D036 Dyco PL1009
D037 Dyco PL1028
D038 Dyco PL1039
D039 Dyco PL1068
D041 Dyco PL1110
D042 Dyco PL1113
D044 Dyco PL1114
D046 Dyco PB46-26268
D047 Dyco PL1052
D048 Dyco PL1003
D049 Dyco PL1054
D051 Dyco PL1136
D052 Dyco PL1183
D053 Dyco PL1055
D054 Dyco PL1086
D055 Dyco PL1087
D056 Dyco PL1088
D060 Dyco PL1017
D061 Dyco PL1090
D062 Dyco MA10000
D062 Dyco MA10085
D063 Dyco MA20000
D065 Dyco PL1131
D066 Dyco PL1091
D067 Dyco PL1017
D069 Dyco PL1148
D070 Dyco PL1115
D071 Dyco PL1116
D072 Dyco PL1117

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 292

CROSS REFERENCE



D073 Dyco PL1118
D082 Dyco EM75-69656
D082 Dyco EM75-69656-HT
D085 Dyco PL1062
D089 Dyco PL1037
D090 Dyco PL1006
D091 Dyco PL1036
D092 Dyco PL1060
D094 Dyco PL1119
D095 Dyco EQ53-35234
D097 Dyco HU10000
D098 Dyco PL1007
D0HZ5780B Ford SK00-10500
D1 Dyco PL1026
D1 Dyco PL1026-HT
D-1 Dyco PL1026
D-1 Dyco PL1026-HT
D10 Dyco PL1074
D-10 Dyco PL1074
D100 Dyco PL1084
D-100 Dyco PL1084
D101 Dyco EQ53-35118
D-101 Dyco EQ53-35118
D102 Dyco PL1051
D-102 Dyco PL1051
D107 Dyco HV38000
D-107 Dyco HV38000
D108 Dyco KT59-62002
D108 Dyco KT59-62002-HT
D108 Dyco KT59-62002-HW
D108 Dyco KT59-62003-HT
D108 Dyco MM59-62005
D-108 Dyco KT59-62002
D-108 Dyco KT59-62002-HT
D-108 Dyco KT59-62002-HW
D-108 Dyco KT59-62003-HT
D-108 Dyco MM59-62005
D11 Dyco PL1072
D-11 Dyco PL1072
D111 Dyco KT59-62001
D111 Dyco KT59-62001-HT
D113 Dyco KT59-62002
D113 Dyco KT59-62002-HT
D113 Dyco KT59-62002-HW
D113 Dyco KT59-62003-HT
D113 Dyco MM59-62005
D113 Dyco MM59-62006
D-113 Dyco KT59-62002
D-113 Dyco KT59-62002-HT
D-113 Dyco KT59-62002-HW
D-113 Dyco KT59-62003-HT
D-113 Dyco MM59-62005
D-113 Dyco MM59-62006
D114 Dyco KT59-62001
D114 Dyco KT59-62001-HT
D114 Dyco KT59-62001-HT
D114 Dyco KT59-62001-HW
D114 Dyco KT59-62004-HT
D114 Dyco MM59-62001
D-114 Dyco KT59-62001
D-114 Dyco KT59-62001-HT
D-114 Dyco MM59-62001
D114KIT Dyco KT59-62001
D114KIT Dyco KT59-62001-HW
D114KIT Dyco KT59-62004-HT
D114KIT Dyco MM59-62001
D115 Dyco KT59-62001
D115 Dyco KT59-62001-HW

D115 Dyco KT59-62004-HT
D115 Dyco MM59-62001
D115KIT Dyco KT59-62001
D115KIT Dyco KT59-62001-HW
D115KIT Dyco KT59-62004-HT
D115KIT Dyco MM59-62001
D12 Dyco PL1073
D-12 Dyco PL1073
D13 Dyco PL1189
D13-1001-1 Barry Controls KT59-62001
D13-1001-1 Barry Controls KT59-62001-HT
D13-1001-1 Barry Controls KT59-62001-HW
D13-1001-1 Barry Controls KT59-62004-HT
D134 Dyco HC10000
D135 Dyco HC20000
D14 Dyco PL1076
D140 Dyco PL1132
D142 Dyco MM62-62334
D144 Dyco PL1132
D145 Dyco PL1109
D15 Dyco PL1077
D150 Dyco PL1056
D154 Dyco PL1038
D16 Dyco HM75-64593
D-16 Dyco HM75-64593
D162 Dyco PL1059
D163 Dyco PL1056
D164 Dyco PL1042
D165 Dyco PL1058
D166 Dyco PL1057
D167 Dyco PL1078
D168 Dyco PL1092
D169 Dyco PL1101
D-169 Dyco PL1101
D17 Dyco PL1111
D-17 Dyco PL1111
D172 Dyco PL1022
D173 Dyco PL1082
D174 Dyco PL1083
D175 Dyco PL1023
D177 Dyco PL1123
D178 Dyco PL1124
D18 Dyco PL1120
D180 Dyco PL1024
D186 Dyco PL1046
D186 Dyco TH19-22010
D187 Dyco PL1047
D187 Dyco TH19-22128
D188 Dyco PL1049
D19 Dyco PL1127
D2 Dyco PL1126
D2 Dyco PL1126-HT
D20 Dyco PL1112
D2001 Dyco PL1150
D2002 Dyco PL1147
D2003 Dyco LP50-24000
D201 Dyco PL1147
D203 Dyco PL1002
D208 Dyco PL1061
D21 Dyco PL1014
D21 Dyco PL1014
D214 Dyco PL1085
D215 Dyco PL1004
D217 Dyco PL1005
D218 Dyco PL1004
D22 Dyco MM59-62002
D22 Dyco PL1012
D221 Dyco PL1001

D23 Dyco PL1128
D232 Dyco NW30000
D233 Dyco PL1093
D234 Dyco PL1030
D234-split Dyco PL1030
D235 Dyco PL1154
D236 Dyco PL1094
D237 Dyco PL1155
D24 Dyco PL1010
D240 Dyco PL1154
D241 Dyco PL1099
D242 Dyco PL1027
D244 Dyco RW53000
D246 Dyco RW54000
D247 Dyco RW51000
D248 Dyco SW03-83201
D249 Dyco PL1080
D25 Dyco PL1044
D250 Dyco PL1079
D-250 Dyco PL1079
D251 Dyco PL1021
D252 Dyco PL1020
D253 Dyco PL1019
D26 Dyco PL1011
D26 Dyco PL1011-HT
D26M Dyco HM62-64M31
D27 Dyco PL1063
D270 Dyco PL1050
D28 Dyco PL1034
D283 Dyco MA32000
D284 Dyco MA37200
D285 Dyco MA36500
D286 Dyco MA36000
D286 Dyco MA36000-OFF
D288 Dyco MA36000-OFF
D288 Dyco MA37000
D293 Dyco TM38000
D293S Dyco TM38000
D3 Dyco PL1069
D30 Dyco PL1016
D301 Dyco PL1104
D-301 Dyco PL1104
D31 Dyco PL1064
D-31 Dyco PL1064
D312 Dyco IN35180
D316 Dyco IN35190
D32 Dyco PL1066
D-32 Dyco PL1066
D322 Dyco PL1139
D324 Dyco MM96-62870
D324 Dyco MM96-62870-HT
D325 Dyco PL1077
D326 Dyco PL1070
D326 Dyco PL1070-HT
D328 Dyco MM59-62002
D328 Dyco PL1012
D329 Dyco PL1025
D329 Dyco PL1025-HT
D-329 Dyco PL1025-HT
D33 Dyco PL1067
D34 Dyco PL1065
D35 Dyco PL1008
D-35 Dyco PL1008
D351 Dyco PL1095
D352 Dyco PL1041
D353 Dyco PL1098
D355 Dyco PL1096
D357 Dyco PL1125

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 293

CROSS REFERENCE



D359 Dyco PL1125
D35OZ Dyco PL1008
D36 Dyco PL1009
D361 Dyco FA96452
D37 Dyco PL1028
D38 Dyco PL1039
D39 Dyco PL1068
D391 Dyco PL1100
D393 Dyco PL1182
D4 Dyco PL1070
D4 Dyco PL1070-HT
D-4 Dyco PL1070
D-4 Dyco PL1070-HT
D401 Dyco CB38010
D401 Dyco CB38011
D402 Dyco EB38000
D403 Dyco CB34011
D404 Dyco EB34000
D405 Dyco PL1146
D406 Dyco TS49000
D407 Dyco EB50-21013
D-407 Dyco EB50-21013
D41 Dyco PL1110
D-41 Dyco PL1110
D410 Dyco TH85000
D42 Dyco PL1113
D421 Dyco TS34000
D421 Dyco TS34000
D422 Dyco TT38000
D422S Dyco TS38000
D423 Dyco TS38000
D424 Dyco TS38750
D424S Dyco TS38750
D425 Dyco CB27500
D426 Dyco EB27500
D430 Dyco PL1048
D-430 Dyco PL1048
D431 Dyco PL1168
D432 Dyco PL1013
D-432 Dyco PL1013
D-432 Dyco PL1013-HT
D436 Dyco TH75-69000
D436 Dyco TH75-69000-HT
D436K Dyco TH75-69000
D436K Dyco TH75-69000-HT
D436K Dyco TH75-69002
D436KIT Dyco TH75-69000
D436KIT Dyco TH75-69000-HT
D437 Dyco NA47000
D44 Dyco PL1114
D441 Dyco PB57-21139
D442 Dyco EQ83-35902
D443 Dyco CM75-61257
D-443 Dyco CM75-61257
D448 Dyco PB57-21149
D45 Dyco RM55-637C1
D46 Dyco PB46-26268
D46 Dyco UB20500-OS
D47 Dyco PL1052
D48 Dyco PL1003
D49 Dyco PL1054
D4TZ4800J Ford CR00-67825
D5 Dyco PL1009
D501 Dyco PL1188
D502 Dyco PL1187
D506KIT Dyco PB75-29101
D507KIT Dyco PB75-29674
D509 Dyco SW03-83201

D51 Dyco PL1136
D52 Dyco PL1183
D53 Dyco PL1055
D534 Dyco HM75-65510
D-534 Dyco HM75-65510
D535 Dyco HM75-65114
D54 Dyco PL1086
D540 Dyco PL1105
D541 Dyco PL1170
D542 Dyco PL1107
D543 Dyco MM00-62970
D55 Dyco PL1087
D56 Dyco PL1088
D58 Dyco PL1189
D59 Dyco SK83-31000
D6 Dyco PL1015
D6 Dyco PL1015-HT
D-6 Dyco PL1015
D-6 Dyco PL1015-HT
D60 Dyco PL1017
D60 Dyco PL1017-HT
D61 Dyco PL1090
D62 Dyco MA10000
D62 Dyco MA10085
D63 Dyco MA20000
D65 Dyco PL1131
D66 Dyco PL1091
D67 Dyco PL1017
D69 Dyco PL1148
D7 Dyco PL1013
D7 Dyco PL1013-HT
D70 Dyco PL1115
D71 Dyco PL1116
D72 Dyco PL1117
D73 Dyco PL1118
D-73 Dyco PL1118
D79 Dyco TH83-37238
D8 Dyco PL1071
D-8 Dyco PL1071
D82 Dyco EM75-69656
D82 Dyco EM75-69656-HT
D-82 Dyco EM75-69656
D-82 Dyco EM75-69656-HT
D83 Dyco MM75-62372
D83 Dyco MM75-62372-HT
D-83 Dyco MM75-62372
D-83 Dyco MM75-62372-HT
D84 Dyco RM75-63861
D-84 Dyco RM75-63861
D85 Dyco PL1062
D86 Dyco SW59-29461
D89 Dyco PL1037
D9 Dyco PL1018
D9 Dyco PL1018-HT
D-9 Dyco PL1018
D-9 Dyco PL1018-HT
D90 Dyco PL1006
D91 Dyco PL1036
D92 Dyco PL1060
D94 Dyco PL1119
D95 Dyco EQ53-35234
D97 Dyco HU10000
D98 Dyco PL1007
DD75-383 Fabco FA96452
DOHZ6068B Ford PL1048
DT1101 Dyco PL1146
DT1103 Dyco MM46-62002
DT1103 Dyco MM46-62005

DT1105 Dyco MM46-62000
DT1105 Dyco MM46-62001
DT1108 Dyco CM46-61769
DT1110 Dyco CM46-61890
DT1111 Dyco CM46-61891
DT1115 Dyco PL1003
DT1122 Dyco PL1051
DT1125 Dyco PL1133
DT1130 Dyco MM46-62416
DT1132 Dyco MM46-62003
DT1145 Dyco SP59-11010
DT1155 Dyco PB46-26268
DT1243 Dyco PL1025
DT1245 Dyco PL1139
DT1247 Dyco PL1020
DT1301 Dyco PL1084
DT1310 Dyco PL1085
DT1311 Dyco PL1085
DT1380 Dyco PL1076
DT1381 Dyco PL1189
DT1385 Dyco PL1004
DT1401 Dyco PL1038
DT1405 Dyco PL1008
DT1407 Dyco PL1008
DT1409 Dyco PL1150
DT1415 Dyco PL1070
DT1418 Dyco PL1107
DT1419 Dyco PL1077
DT1421 Dyco PL1013
DT1422 Dyco PL1063
DT1422-1 Dyco PL1016
DT1423 Dyco PL1015
DT1424 Dyco MM59-62002
DT1424 Dyco PL1012
DT1425 Dyco KT59-62001
DT1425 Dyco KT59-62001-HT
DT1425 Dyco KT59-62001-HW
DT1425 Dyco KT59-62004-HT
DT1425 Dyco MM59-62001
DT1426 Dyco KT59-62001
DT1426 Dyco KT59-62001-HT
DT1426 Dyco KT59-62001-HW
DT1426 Dyco KT59-62004-HT
DT1426 Dyco MM59-62001
DT1427 Dyco PL1065
DT1428 Dyco PL1028
DT1429 Dyco PL1014
DT1430 Dyco PL1014
DT1431 Dyco PL1044
DT1433 Dyco KT59-62002
DT1433 Dyco KT59-62002-HT
DT1433 Dyco KT59-62002-HW
DT1433 Dyco KT59-62003-HT
DT1433 Dyco MM59-62005
DT1433KIT Dyco KT59-62002
DT1433KIT Dyco KT59-62002-HT
DT1433KIT Dyco KT59-62002-HW
DT1433KIT Dyco KT59-62003-HT
DT1435 Dyco PL1011
DT1435 Dyco PL1011-HT
DT1437 Dyco MS99-63399
DT1438 Dyco MS99-63399
DT1465 Dyco RW54000
DT1471 Dyco TS38000
DT1473 Dyco SP59-11006
DT1474 Dyco SP00-11005
DT1477 Dyco SP59-11007
DT1480 Dyco TS38750

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 294

CROSS REFERENCE



DT1501 Dyco PB57-21149
DT1502 Dyco PB57-21139
DT1505 Dyco PL1154
DT1509 Dyco PL1155
DT1589 Dyco PL1006
DT1590 Dyco PL1006
DT1592 Dyco PL1037
DT1594 Dyco PL1002
DT1600 Dyco PL1146
DT1607 Dyco PL1118
DT1608 Dyco PB00-36314
DT1610 Dyco PB50-36321
DT1610 Dyco PB50-36322
DT1611 Dyco PB50-36321
DT1611 Dyco PB50-36322
DT1620 Dyco CB27500
DT1622 Dyco EB27500
DT1632 Dyco EB34000
DT1633 Dyco CB34011
DT1643 Dyco CB38012
DT1650 Dyco TS50-22256
DT1655 Dyco TS34000
DT1675 Dyco TS38000
DT1685 Dyco TT38000
DT1688 Dyco TT50-22697
DT1690 Dyco PB50-36914
DT1691 Dyco PB50-36914
DT1691K Dyco PB50-36914
DT1698 Dyco PB50-36914
DT1718 Dyco UB30000
DT1723 Dyco EQ83-35902
DT1724 Dyco EQ53-35118
DT1738 Dyco EQ53-35234
DT1740 Dyco TH50-22692
DT1771 Dyco PL1117
DT1778 Dyco PL1148
DT1780 Dyco PL1119
DT1780 Dyco TH53-37149
DT1781 Dyco PL1115
DT1805 Dyco SP99-11001
DT1807 Dyco SP55-52600
DT1840 Dyco TS50-22256
DT1850 Dyco MM55-623C3
DT1864 Dyco CM55-61454
DT1870 Dyco WP55-290C1
DT1875 Dyco NA47000
DT1880 Dyco PL1048
DT1880C Dyco PL1048
DT1881 Dyco CM55-615C2
DT1882 Dyco PL1104
DT1884 Dyco PL1055
DT1886 Dyco PL1110
DT1890 Dyco CM55-61454
DT1950 Dyco SP62-1154M
E0HZ5781A Ford UB75000
E10057 Arvin Meritor TH83-37238
E-10057 Euclid TH83-37238
E-1020 Euclid EQ83-35850
E-1020 Euclid EQ83-35855
E-1020 Euclid PL1085
E-1023 Euclid TH47-37900
E-1024 Euclid EQ47-35900
E-10302 Euclid PL1147
E-10302 Euclid PL1150
E10303 Arvin Meritor TS59-22400
E-10303 Euclid TS59-22400
E-10308 Euclid TT50-22809
E-10309 Euclid TT50-22697

E-10310 Euclid TR35205
E-10310 Euclid TR71000
E-10311 Euclid TR35225
E-10312 Euclid TR35210
E-10315 Euclid TR35105
E-10316 Euclid TR35125
E-10317 Euclid TR35110
E-10322 Euclid TS50-22210
E-1061 Euclid UB30000
E-10729A Euclid PB50-36000
E-10729A Euclid PB50-36000-EI
E-10729A Euclid PB50-36001
E-10729A Euclid PB50-36001-EI
E-10729A Euclid PB50-36100
E-10729A Euclid PB50-36100-EI
E-10730 Euclid HW50-26679
E-10754 Euclid MS50-26925
E-10755 Euclid MS50-26924
E-10764 Euclid TR55-41117
E-10765 Euclid TR55-41118
E-11496 Euclid LP50-24000
E-1159 Euclid EQ83-11000
E-1159 Euclid SK83-31000
E-1160 Euclid PL1116
E-11748 Euclid TR35220
E-11763 Euclid SU99-39115
E-11770 Euclid TH99-37102
E-1312 Euclid TH83-37997
E-1329A Euclid PL1125
E-1330 Euclid PL1041
E-1331 Euclid PL1095
E-1332 Euclid NW30000
E-1333 Euclid PL1094
E-1334 Euclid PL1093
E-1338 Euclid CB34012
E-1339 Euclid CB38012
E-1340 Euclid EB34000
E-1341A Euclid EB38000
E13989 Euclid TR55-418C1
E13989 Euclid TR55-428C1
E-14044 Euclid LP50-24179
E-14635 Euclid HW50-26705
E-1594 Euclid CB34010
E-1594 Euclid CB34011
E-1594-2 Euclid EP34000
E-1595 Euclid CB38010
E-1595-2 Euclid EP38000
E-1598A Euclid HC20000
E-1599A Euclid HC20000
E-1842 Euclid CT10000
E-1876 Euclid SK46-10000
E-1876 Euclid SP46-11373
E-1940 Euclid HV38000
E-1948 Euclid SF10000
E-1960 Euclid HC20000
E-1964 Euclid PB83-22723
E-1980 Euclid PL1118
E-1981 Euclid TH83-22302
E-1982 Euclid PL1115
E-1983 Euclid TH83-22089
E-2003 Euclid EQ53-35234
E-2009 Euclid PL1096
E-2011 Euclid AW51-34010
E-2020 Euclid TW34000
E-2021 Euclid TW38000
E-2225 Euclid TS34000
E-2226 Euclid TS38000
E-2227 Euclid TT34000

E-2228 Euclid TT38000
E-2232 Euclid HC10000
E-2233 Euclid BM50-66208
E-2238 Euclid IN35190
E-2271 Euclid EB38000
E-2372 Euclid AK34100
E-2511 Euclid TR53-45305
E-2553 Euclid CB50000
E-2553 Euclid CB50011
E-2554 Euclid EB50000
E-2555 Euclid AK50100
E-2638 Euclid TR72000
E-2639 Euclid TR71000
E-2640 Euclid TR80000
E-2641 Euclid TR81000
E-2642 Euclid TR75000
E-2643 Euclid TR76000
E-2781A Euclid EQ53-35250
E-2812 Euclid TR77000
E-2814 Euclid TS49000
E-2815 Euclid TM38000
E-2889 Euclid EQ53-35701
E-2899 Euclid TR53-41500
E-2916 Euclid TT34038
E-2917 Euclid MA36500
E-2919 Euclid MA37000
E-2920 Euclid MA36000
E-2921A Euclid PL1090
E-2924A Euclid MA20000
E-2935 Euclid PL1030
E-2943 Euclid PL1098
E-2947A Euclid PL1097
E315-62 Flagg SK62-10600
E316-62 Flagg MS62-29246
E-3178 Euclid SK27176
E3180 Euclid SK27174
E-3275A Euclid MA10000
E-3275A Euclid MA10085
E-3277 Euclid TR53-45305
E-3296 Euclid PL1053
E-3411 Euclid IN35180
E-3540A Euclid PL1054
E-3546 Euclid TR55-41117
E-3579 Euclid PL1004
E3582 Arvin Meritor PL1005
E-3582 Euclid PL1005
E-3679 Euclid MA32000
E-3680 Euclid MA37200
E-3689 Euclid MS62-29246
E-3731 Euclid TR50-41111
E-3732 Euclid TR50-41112
E-3784 Euclid NA47000
E-3789 Euclid TR55-41118
E-3868 Euclid TS38750
E-3900 Euclid AT82000
E-3919 Euclid MA36000-OFF
E-3976 Euclid SK83-31000
E-3977 Euclid PL1148
E-4253 Euclid PL1155
E-4255 Euclid PL1154
E433-55 Flagg SK55-10200
E4382A Arvin Meritor PB57-21139
E-4382A Euclid PB57-21139
E-4385 Euclid AW51-34036
E-4398A Euclid PB57-36200
E4410A Arvin Meritor PB57-21149
E-4410A Euclid PB57-21149
E-4411A Euclid PB57-36300

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 295

CROSS REFERENCE



E-4664 Euclid TS38000
E-4669 Euclid PL1008
E-4669 Euclid PL1184
E-4677A Euclid PL1047
E-4678A Euclid TH19-22128
E-4685 Euclid LP19-24002
E-4686 Euclid LP19-24015
E-4745 Euclid PL1073
E-4753 Euclid TR75-41781
E-4771 Euclid TR75-41059
E-4773 Euclid PB75-29674
E-4775 Euclid PL1075
E-4776 Euclid PL1076
E-4813 Euclid EQ83-35000
E-4824 Euclid TR83-45520
E-4825 Euclid TR83-41520
E-4827 Euclid EQ83-35902
E-4827 Euclid EQ83-35904
E-4834A Euclid TH83-37022
E-4835 Euclid EQ83-35855
E-4835 Euclid HW53-39100
E484-59 Flagg SK59-10000
E484-59 Flagg SK59-12100
E485-75 Flagg SK75-10000
E489-59 Flagg SK59-12000
E4HZ5872A Ford CB27500
E4HZ5873A Ford EB27500
E-5082 Euclid TR75-41119
E-5083 Euclid TR75-41327
E-5216 Euclid HU10000
E-5216 Euclid HU10065
E-5217 Euclid HU10000
E-5217 Euclid HU10065
E-5227 Euclid PL1007
E-5269 Euclid CB27500
E-5270 Euclid EB27500
E-5275 Euclid PL1146
E-5276 Euclid TH50-22692
E-5282 Euclid TR50-41001
E-5283 Euclid TR50-41002
E530-46 Flagg SK46-10000
E-6121 Euclid PB50-36914
E-6121 Euclid PB50-36914-EI
E-6122 Euclid MS50-39613
E627-75 Flagg SK75-10200
E628-75 Flagg SK75-10100
E-6526 Euclid SP48-11118
E694-55 Flagg SK55-10000
E694-55 Flagg SK55-10600
E-6979 Euclid CB38012
E-6980 Euclid CB38011
E-7426 Euclid PL1046
E-7427 Euclid PL1047
E-7427 Euclid TH19-22128
E-7428 Euclid PL1100
E-7429 Euclid PL1001
E-7430 Euclid PL1052
E-7431 Euclid PL1003
E-7432 Euclid PL1085
E-7433 Euclid PL1084
E-7434 Euclid PL1101
E-7435 Euclid PL1058
E-7436 Euclid PL1042
E-7437 Euclid PL1057
E-7439 Euclid PL1087
E-7440 Euclid PL1086
E-7441 Euclid MA20000
E-7442 Euclid PL1093

E-7443 Euclid PL1030
E-7445 Euclid PL1002
E-7446 Euclid PL1008
E-7446A Euclid PL1008
E-7446A Euclid PL1184
E-7447 Euclid PL1050
E-7448 Euclid PL1077
E-7449 Euclid PL1124
E-7450 Euclid PL1006
E-7451 Euclid PL1037
E-7452 Euclid EQ53-35234
E-7453 Euclid PL1119
E-7455 Euclid HU10000
E-7455 Euclid HU10065
E-7456 Euclid PL1007
E-7457 Euclid PL1061
E-7458 Euclid PL1034
E-7459 Euclid PL1044
E-7460 Euclid PL1064
E-7461 Euclid PL1066
E-7462 Euclid PL1009
E-7464 Euclid PL1068
E-7465 Euclid PL1067
E-7466 Euclid PL1010
E-7467 Euclid HM62-64M31
E-7467 Euclid PL1011
E-7467 Euclid PL1011-HT
E-7468 Euclid MM59-62002
E-7468 Euclid PL1012
E-7469 Euclid PL1013
E-7469 Euclid PL1013-HT
E-7470 Euclid PL1014
E-7471 Euclid PL1063
E-7471 Euclid PL1063-HT
E-7472 Euclid PL1015
E-7472 Euclid PL1015-HT
E-7473 Euclid PL1016
E-7474 Euclid PL1028
E-7475 Euclid PL1039
E-7477 Euclid PL1017
E-7477 Euclid PL1017-HT
E-7478 Euclid PL1090
E-7479 Euclid MA10000
E-7479 Euclid MA10085
E-7480 Euclid MA36000
E-7481 Euclid MA36500
E-7483 Euclid PL1113
E-7484 Euclid PL1110
E-7485 Euclid PL1154
E-7486 Euclid NW30000
E-7488 Euclid PL1056
E-7492 Euclid PL1038
E-7497 Euclid PL1092
E-7498 Euclid PL1121
E-7499 Euclid PL1103
E-7500 Euclid PL1123
E-7501 Euclid PL1078
E-7502 Euclid PL1071
E-7503 Euclid PL1074
E-7504 Euclid PL1072
E-7505 Euclid PL1069
E-7506 Euclid PL1070
E-7506 Euclid PL1070-HT
E-7507 Euclid PL1018
E-7507 Euclid PL1018-HT
E-7508 Euclid PL1126
E-7508 Euclid PL1126-HT
E-7509 Euclid PL1075

E-7510 Euclid PL1073
E-7515 Euclid PL1019
E-7516 Euclid PL1020
E-7517 Euclid PL1021
E-7518 Euclid PL1079
E-7519 Euclid PL1081
E-7520 Euclid PL1118
E-7521 Euclid PL1117
E-7522 Euclid PL1115
E-7523 Euclid PL1116
E-7524 Euclid PL1022
E-7525 Euclid PL1023
E-7526 Euclid PL1082
E-7526 Euclid PL1083
E-7526 Euclid PL1129
E-7527 Euclid PL1024
E-7528 Euclid PL1025
E-7528 Euclid PL1025-HT
E-7529 Euclid PL1026
E-7529 Euclid PL1026-HT
E-7529 Euclid PL1139
E-7532 Euclid EQ53-35158
E-7532 Euclid EQ53-35158-NH
E-7620 Euclid BM50-66208
E-7638 Euclid TS34000
E-7639 Euclid TS38000
E-7640 Euclid PL1065
E-7641 Euclid PL1091
E-7644 Euclid PL1114
E-7645 Euclid PL1080
E-7766 Euclid PL1046
E-7766 Euclid TH19-22010
E-7767 Euclid PL1049
E-7772 Euclid HW19-29200
E-7773 Euclid HW19-29202
E-7774 Euclid HW19-29201
E-7840 Euclid PB75-29101
E-7841 Euclid PL1189
E-7853 Euclid TR75-41108
E-7854 Euclid SU75-29624
E-7855 Euclid SU75-29623
E-7918 Euclid EQ53-35250
E-812 Euclid PL1117
E-813 Euclid PL1177
E817-46 Flagg SK46-10800
E-8650 Euclid PL1088
E-8651 Euclid TT38000
E-8653 Euclid EQ83-11000
E-8653 Euclid SK83-31000
E-8654 Euclid PL1148
E-8655 Euclid RW51000
E-8656 Euclid PL1027
E-8657 Euclid PL1099
E-8663 Euclid PL1004
E-8664 Euclid PL1005
E-8665 Euclid PL1007
E-8666 Euclid EQ53-35118
E-8667 Euclid MA37000
E-8670 Euclid PL1041
E-8671 Euclid PL1095
E-8672 Euclid PL1094
E-8673 Euclid PL1096
E-8678 Euclid PL1098
E-8680 Euclid PL1097
E-8681 Euclid PL1155
E-8687 Euclid UB30000
E8689 Euclid PB83-22723
E-8694 Euclid PL1177

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 296

CROSS REFERENCE



E-8701 Euclid PL1047
E-8702 Euclid TH19-22129
E-8795 Euclid SK46-10000
E-8796 Euclid SK46-10000
E-8796 Euclid SP46-11002
E-8796 Euclid SP46-11373
E-8797 Euclid SP46-11002
E-8799 Euclid SK46-10000
E-8800 Euclid SK46-10000
E-8804 Euclid PB46-26268
E-8804 Euclid UB20500-OS
E-8808 Euclid TR46-41316
E-8821 Euclid TR96-41068
E-8851 Euclid LP96-24657
E-8853 Euclid TR96-41945
E-8853A Euclid TR96-41945
E-8917 Euclid PL1049
E-8918 Euclid PL1048
E-8927 Euclid PL1060
E-8941 Euclid TR46-41053
E-927 Euclid PL1084
E-9321 Euclid RW51000
E-9322 Euclid RW52000
E-9323 Euclid RW53000
E-9325 Euclid EB50-21013
E-9326 Euclid EB50-21013
E-934 Euclid PL1119
E-9345 Euclid PL1050
E9350 Arvin Meritor TH83-37640
E-9359 Euclid CB38012
E-9361 Euclid EQ47-35900
E-9362 Euclid TH47-37900
E9378 Euclid MS83-69219
E9391 Arvin Meritor WP50-29557
E-9391 Euclid WP50-29557
E-9394 Euclid TR50-41102
E9395 Euclid TS50-22256
E-9401 Euclid CB27500
E-9409 Euclid TR50-41102
E-9410 Euclid LP50-24000
E-9415 Euclid HS12000
E-9416 Euclid HS11000
E-9419 Euclid EB45000
E-9420 Euclid AK38200
E-9421 Euclid AK45100
E-9437 Euclid RS20220
E-9438 Euclid RS20222
E-9439 Euclid RS20230
E-9440 Euclid RS20210
E-9471 Euclid EQ53-35001
E-9472 Euclid EQ53-35118
E-9473 Euclid EQ53-35118
E-9474 Euclid EQ53-35234
E-9486 Euclid TH53-37149
E-9508 Euclid RW54000
E-9510 Euclid CB38010
E-9511 Euclid EB34000
E-9512 Euclid EB38000
E-9513 Euclid HC20000
E-9514 Euclid HC10000
E-9515 Euclid HV38000
E-9517 Euclid TS49000
E-9518 Euclid TM38000
E-9520 Euclid CB34012
E-9545 Euclid TH83-37997
E-9551 Euclid TH83-37022
E-9552 Euclid TH83-22302
E-9555 Euclid SK83-31000

E-9566 Euclid EB27500
E-9567 Euclid EQ53-35158
E-9567 Euclid EQ53-35158-NH
E-9569 Euclid FW51-32413
E-9581 Euclid TR50-45950
E-9869 Euclid TR46-41053
E9TD5781A Ford SP43-111AA
E9TD5781AB Ford SP43-111AA
E9TD5781B Ford SP43-111BA
E9TD5781BC Ford SP43-111BA
E9TZ3781B Ford SP43-111BA
E9TZ5781A Ford SP43-111AA
EE14003053 International PL1055
EM46630 PAI PB62-65251
EM48110 PAI MA36500
EQ013 Automann EQ53-35250
EQ014 Automann EQ53-35701
EQ019 Automann EQ53-35158
EQ019 Automann EQ53-35158-NH
EQ022 Automann EQ83-35000
EQ028 Automann EQ53-35001
EQ041 Automann EQ83-35850
EQ041 Automann EQ83-35855
EQ19UB Automann EQ53-35158
F0231506AB Orion TH03-83203
F2UA-5781-CD Ford SP43-11198
F2UZ-5781-CD Ford SP43-11198
F4TD5781AA Ford SP43-111AA
F4TD5781BA Ford SP43-111BA
FBG-4482 PAI MA10000
FBG-4483 PAI MA36000
FBG-4963 PAI SP62-1154M
FBG-5167 PAI SK62-10700
FBK-5849 PAI HM62-64362
FBK-5859 PAI HM62-64371
FCF-008248004 Fruehauf TR47-41026
FCF-008248006 Fruehauf TR47-41028
FGP-5136 PAI HM62-64M31
FGP-5163-BLU PAI HM62-64M31
FKT-4603 PAI KT62-62216
FKT-4603 PAI KT62-62216-HT
FKT-5069 PAI KT62-62389
FKT-5069 PAI KT62-62389-HT
FL1100 Flagg SK46-10000
FL1200 Flagg SK46-10000
FL1205 Flagg SK46-10800
FL31 Flagg SP46-11002
FL37 Flagg TR55-41117
FL39 Flagg TR46-41716
FL42 Flagg TR46-41316
FL48 Flagg TR46-41053
FL5 Flagg PL1054
FL55 Flagg TS34000
FL6 Flagg PL1053
FL89 Flagg LP46-19773
FLE02201085 Volvo BP99-65000
FMM-4644 PAI PL1091
FMM-4670 PAI PL1017
FMM-4670 PAI PL1017-HT
FMM-4675 PAI PL1026
FMM-4675 PAI PL1026-HT
FMT-4658 PAI PL1131
FMT-4740 PAI PL1132
FMT-4807 PAI MM62-62334
FMT-4992 PAI MM62-62002
FMT-4992 PAI MM62-62322
FMT-4993 PAI MM62-62002
FMT-4993 PAI MM62-62329

FNTBSH109L Volvo FW99-32109
FNTBSH109L Volvo FW99-32175
FNTBSH172U Volvo FW99-32172
FNTBSH172U Volvo FW99-32175
FON BSH 109 L Freightliner FW99-32109
FON BSH 109 L Sterling Truck FW99-32109
FON BSH 109 L Freightliner FW99-32175
FON BSH 109 L Sterling Truck FW99-32175
FON BSH 172U L Sterling Truck FW99-32172
FON BSH 172U L Sterling Truck FW99-32175
FPK-5348 PAI WP50-29557
FR220 Flagg PL1005
FR263 Flagg PL1085
FR264 Flagg EQ47-35900
FR266 Flagg TH47-37900
FRK0510030 Meritor SU99-39114
FRT-4622-198 PAI TR62-41198
FSI-4734 PAI MA32000
FSI-4735 PAI MA37200
FSI-4910 PAI MA37000
FSP-4752 PAI MS62-29246
FTG 022 01085 Freightliner BP99-65000
FTG 022 01085 Sterling Truck BP99-65000
FTR-42628-100 PAI TR62-41180
FTR-4537-200 PAI TR62-413M3
FTR-4537-210 PAI TR62-413M2
FTR-4537-215 PAI TR62-41215
FTR-4537-225 PAI TR62-413M4
FTR-4537-238 PAI TR62-41238
FTR-4537-243 PAI TR62-41243
FTR-4537-245 PAI TR62-41P24
FTR-4537-260 PAI TR62-41260
FTR-4537A-238 PAI TR62-41238
FTR-4573-208 PAI TR62-412M3
FTR-4573A-208 PAI TR62-412M3
FTR-4587-205 PAI TR62-41205
FTR-4587A-205 PAI TR62-41205
FTR-4622-183 PAI TR62-41183
FTR-4622-245 PAI TR62-41245
FTR-4622A-183 PAI TR62-41183
FTR-4622A-245 PAI TR62-41245
FTR-4624-198 PAI TR62-413P5
FTR-4624-203 PAI TR62-4123A
FTR-4624-228 PAI TR62-413P3
FTR-4624-245 PAI TR62-413P2
FTR-4624A-198 PAI TR62-413P5
FTR-4624A-203 PAI TR62-4123A
FTR-4624A-228 PAI TR62-413P3
FTR-4624A-245 PAI TR62-413P2
FTR4628-180 PAI TR62-41470
FTR-4628-180 PAI TR62-41180
FTR-4628-203 PAI TR62-41203
FTR-4628-255 PAI TR62-41255
FTR-4628A-180 PAI TR62-41180
FTR-4628A-203 PAI TR62-41203
FTR-5206-222 PAI TR62-41220
FUL K-3399 Freightliner MS99-63399
FULK3399 International MS99-63399
FULK3399 Kenworth MS99-63399
FULK3399 Peterbilt MS99-63399
FULK3399 Volvo MS99-63399
G1017326 GMC/RTS/Nova AT33501
G-34 Silver Eagle PL1082
G-35 Silver Eagle PL1083
GDH7620-00 Great Dane PL1084
GDH7620-00 Great Dane TH53-37637
H-0620804 RLS Services MS99-69804
H100 Flagg EQ53-35250

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 297

CROSS REFERENCE



H101 Flagg EQ53-35701
H108 Flagg TR53-45305
H111 Flagg EQ53-35234
H112 Flagg TH53-37149
H126 Flagg HU10000
H126 Flagg HU10065
H126UB Flagg HU10000
H127 Flagg HU10000
H127 Flagg HU10065
H16290-01 Stoughton EQ53-35001
H167 Flagg TR53-41500
H167I Flagg TR53-41500
H17784-01 Stoughton EQ53-35001
H19137-01 Stoughton EQ53-35701
H220 Flagg EQ53-35158
H220 Flagg EQ53-35158-NH
H225 Flagg EQ53-35001
H236 Flagg TH53-37637
H260 Flagg HW53-37149
H47691000L International PL1146
H56557002 International WP50-29557
H56557004 International WP50-29004
H56557005 International WP50-29005
H56929000 International WP50-29929
H60791000 International MS50-29791
HAK112 Automann AK38200
HAK124 Automann AK50100
HAK34 Flagg AK34100
HAK44 Flagg AK38200
HAK45 Flagg AK45100
HAK50 Flagg AK50100
HAK92 Automann AK34100
HB1003 Flagg PL1001
HB1003UB Flagg PL1001
HB593 Flagg PL1026
HB593 Flagg PL1026-HT
HD47691000L International PL1146
HD56557002 International WP50-29557
HD56557004 International WP50-29004
HD56557005 International WP50-29005
HD56929000 International WP50-29929
HD60791000 International MS50-29791
HD62000375 International TR50-42375
HD62000390 International TR50-42390
HD62000510 International TR50-42510
HD62000520 International TR50-42520
HD62000525 International TR50-42525
HD62000535 International TR50-42535
HD62000545 International TR50-42545
HD62000550 International TR50-42550
HD62000560 International TR50-42560
HD62000565 International TR50-42565
HD62000570 International TR50-42570
HD62000590 International TR50-42590
HD62000595 International TR50-42595
HD62000600 International TR50-42600
HD62000605 International TR50-42605
HD62000620 International TR50-42620
HD62000630 International TR50-42630
HD62000635 International TR50-42635
HD62001420 International TR50-42425
HD62001465 International TR50-42465
HD62001485 International TR50-42485
HD62001495 International TR50-42495
HD62001500 International TR50-42500
HD62001510 International TR50-42510
HD62001515 International TR50-42515
HD62001520 International TR50-42520

HD62001525 International TR50-42525
HD62001535 International TR50-42535
HD62001540 International TR99-41428
HD62001545 International TR50-42545
HD62001550 International TR50-42550
HD62001560 International TR50-42560
HD62001565 International TR50-42565
HD62001570 International TR50-42570
HD62001580 International TR50-42580
HD62001585 International TR50-42585
HD62001590 International TR50-42590
HD62001595 International TR50-42595
HD62001605 International TR50-42605
HD62001620 International TR50-42620
HD62001630 International TR50-42630
HD62001635 International TR50-42635
HD62001640 International TR50-42640
HD62001655 International TR50-42655
HD62001665 International TR50-42665
HD62001675 International TR50-42675
HD62001680 International TR50-42680
HD62001685 International TR50-42685
HD62005420 International TR50-42420
HD62008620 International TR50-42620
HD62009400 International TR50-42400
HD62010455 International TR50-42455
HD62011360 International TR50-42360
HD62012360 International TR50-42360
HD62013790 International TR50-41790
HD62022580 International TR50-42580
HD62029385 International TR50-42385
HD62350470 International TR50-41470
HD62350520 International TR50-41520
HD62350525 International TR50-41525
HD62350535 International TR50-41535
HD62350545 International TR50-41545
HD62350550 International TR50-41550
HD62350605 International TR50-41605
HD62350610 International TR50-41610
HD62350615 International TR50-41615
HD62350620 International TR50-41620
HD62350625 International TR50-41625
HD62350630 International TR50-41630
HD62350635 International TR50-41635
HD62350640 International TR50-41640
HD62350645 International TR50-41645
HD62350655 International TR50-41655
HD62599560 International TR50-65560
HD62599585 International TR50-65585
HD62650495 International TR50-75495
HD62650500 International TR50-75500
HD62650505 International TR50-75505
HD62650520 International TR50-75520
HD62650525 International TR50-75525
HD62650535 International TR50-75535
HD62650610 International TR50-75610
HD62650615 International TR50-75615
HD62650630 International TR50-75630
HD62650640 International TR50-75640
HD62650645 International TR50-75645
HD62700540 International TR50-62540
HD62700570 International TR50-62570
HD62700610 International TR50-62610
HD62700620 International TR50-62620
HD66610000 International TR35205
HD66620000H International TR35225
HD66630000H International TR35210
HD66661000H International TR35105

HD66671000H International TR35125
HD66681000H International TR35110
HD66767000H International TR35220
HD67047000H International TR35120
HDR 32001 560 Freightliner TR50-42560
HDR 47691 000L Freightliner PL1146
HDR 47691 000L Sterling Truck PL1146
HDR 52350 635 Freightliner TR50-41635
HDR 56557 002 Freightliner WP50-29557
HDR 56557 002 Sterling Truck WP50-29557
HDR 56557-004 Freightliner WP50-29004
HDR 56557-004 Sterling Truck WP50-29004
HDR 56557-005 Freightliner WP50-29005
HDR 56557-005 Sterling Truck WP50-29005
HDR 56929000 Freightliner WP50-29929
HDR 56929000 Sterling Truck WP50-29929
HDR 57950 007 Freightliner TR50-45950
HDR 60791 000 Freightliner MS50-29791
HDR 60791 000 Sterling Truck MS50-29791
HDR 62000 375 Freightliner TR50-42375
HDR 62000 390 Freightliner TR50-42390
HDR 62000 525 Freightliner TR50-42525
HDR 62000 545 Freightliner TR50-42545
HDR 62000 545 Sterling Truck TR50-42545
HDR 62000 550 Freightliner TR50-42550
HDR 62000 550 Sterling Truck TR50-42550
HDR 62000 565 Freightliner TR50-42565
HDR 62000 570 Freightliner TR50-42570
HDR 62000 570 Sterling Truck TR50-42570
HDR 62000 595 Freightliner TR50-42595
HDR 62000 595 Sterling Truck TR50-42595
HDR 62000 600 Freightliner TR50-42600
HDR 62000 600 Sterling Truck TR50-42600
HDR 62000 620 Freightliner TR50-42620
HDR 62000 620 Sterling Truck TR50-42620
HDR 62000 630 Freightliner TR50-42630
HDR 62000 670 Freightliner TR50-42670
HDR 62000 670 Sterling Truck TR50-42670
HDR 62000 675 Sterling Truck TR50-42675
HDR 62001 420 Freightliner TR50-42425
HDR 62001 465 Freightliner TR50-42465
HDR 62001 485 Freightliner TR50-42485
HDR 62001 485 Sterling Truck TR50-42485
HDR 62001 495 Freightliner TR50-42495
HDR 62001 500 Freightliner TR50-42500
HDR 62001 500 Sterling Truck TR50-42500
HDR 62001 510 Freightliner TR50-42510
HDR 62001 510 Sterling Truck TR50-42510
HDR 62001 515 Freightliner TR50-42515
HDR 62001 515 Sterling Truck TR50-42515
HDR 62001 520 Freightliner TR50-42520
HDR 62001 520 Sterling Truck TR50-42520
HDR 62001 525 Freightliner TR50-42525
HDR 62001 525 Sterling Truck TR50-42525
HDR 62001 535 Freightliner TR50-42535
HDR 62001 535 Sterling Truck TR50-42535
HDR 62001 540 Freightliner TR99-41428
HDR 62001 540 Sterling Truck TR99-41428
HDR 62001 545 Freightliner TR50-42545
HDR 62001 545 Sterling Truck TR50-42545
HDR 62001 550 Freightliner TR50-42550
HDR 62001 560 Sterling Truck TR50-42560
HDR 62001 565 Freightliner TR50-42565
HDR 62001 565 Sterling Truck TR50-42565
HDR 62001 570 Freightliner TR50-42570
HDR 62001 570 Sterling Truck TR50-42570
HDR 62001 580 Freightliner TR50-42580
HDR 62001 580 Sterling Truck TR50-42580

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 298

CROSS REFERENCE



HDR 62001 585 Freightliner TR50-42585
HDR 62001 585 Sterling Truck TR50-42585
HDR 62001 590 Freightliner TR50-42590
HDR 62001 590 Sterling Truck TR50-42590
HDR 62001 595 Freightliner TR50-42595
HDR 62001 595 Sterling Truck TR50-42595
HDR 62001 605 Freightliner TR50-42605
HDR 62001 605 Sterling Truck TR50-42605
HDR 62001 620 Freightliner TR50-42620
HDR 62001 620 Sterling Truck TR50-42620
HDR 62001 630 Freightliner TR50-42630
HDR 62001 630 Freightliner TR50-42635
HDR 62001 635 Sterling Truck TR50-42635
HDR 62001 640 Freightliner TR50-42640
HDR 62001 640 Sterling Truck TR50-42640
HDR 62001 655 Freightliner TR50-42655
HDR 62001 655 Sterling Truck TR50-42655
HDR 62001 665 Freightliner TR50-42665
HDR 62001 665 Sterling Truck TR50-42665
HDR 62001 670 Freightliner TR50-42670
HDR 62001 670 Sterling Truck TR50-42670
HDR 62001 675 Freightliner TR50-42675
HDR 62001 675 Sterling Truck TR50-42675
HDR 62001 680 Sterling Truck TR50-42680
HDR 62001 685 Freightliner TR50-42685
HDR 62001 685 Sterling Truck TR50-42685
HDR 62005 420 Freightliner TR50-42420
HDR 62005 420 Sterling Truck TR50-42420
HDR 62008 620 Freightliner TR50-42620
HDR 62009 375 Freightliner TR50-42375
HDR 62009 400 Freightliner TR50-42400
HDR 62009 400 Sterling Truck TR50-42400
HDR 62010 455 Freightliner TR50-42455
HDR 62011 360 Freightliner TR50-42360
HDR 62011 620 Freightliner TR50-42620
HDR 62011 620 Sterling Truck TR50-42620
HDR 62012 360 Freightliner TR50-42360
HDR 62013 790 Freightliner TR50-41790
HDR 62029 385 Freightliner TR50-42385
HDR 62029 385 Sterling Truck TR50-42385
HDR 62350 450 Freightliner TR50-41450
HDR 62350 450 Sterling Truck TR50-41450
HDR 62350 470 Freightliner TR50-41470
HDR 62350 505 Freightliner TR50-41505
HDR 62350 520 Freightliner TR50-41520
HDR 62350 525 Freightliner TR50-41525
HDR 62350 535 Freightliner TR50-41535
HDR 62350 545 Freightliner TR50-41545
HDR 62350 550 Freightliner TR50-41550
HDR 62350 605 Freightliner TR50-41605
HDR 62350 605 Sterling Truck TR50-41605
HDR 62350 610 Freightliner TR50-41610
HDR 62350 610 Sterling Truck TR50-41610
HDR 62350 615 Freightliner TR50-41615
HDR 62350 615 Sterling Truck TR50-41615
HDR 62350 620 Freightliner TR50-41620
HDR 62350 620 Sterling Truck TR50-41620
HDR 62350 625 Freightliner TR50-41625
HDR 62350 625 Sterling Truck TR50-41625
HDR 62350 630 Freightliner TR50-41630
HDR 62350 630 Sterling Truck TR50-41630
HDR 62350 635 Sterling Truck TR50-41635
HDR 62350 640 Freightliner TR50-41640
HDR 62350 640 Sterling Truck TR50-41640
HDR 62350 645 Freightliner TR50-41645
HDR 62350 645 Sterling Truck TR50-41645
HDR 62350 655 Freightliner TR50-41655
HDR 62350 655 Sterling Truck TR50-41655

HDR 62599 560 Freightliner TR50-65560
HDR 62599 585 Freightliner TR50-65585
HDR 62650 495 Freightliner TR50-75495
HDR 62650 500 Freightliner TR50-75500
HDR 62650 500 Sterling Truck TR50-75500
HDR 62650 505 Freightliner TR50-75505
HDR 62650 505 Sterling Truck TR50-75505
HDR 62650 525 Freightliner TR50-75525
HDR 62650 525 Sterling Truck TR50-75525
HDR 62650 535 Freightliner TR50-75535
HDR 62650 535 Sterling Truck TR50-75535
HDR 62650 610 Freightliner TR50-75610
HDR 62650 615 Freightliner TR50-75615
HDR 62650 630 Freightliner TR50-75630
HDR 62650 630 Sterling Truck TR50-75630
HDR 62650 635 Freightliner TR50-75635
HDR 62650 635 Sterling Truck TR50-75635
HDR 62650 640 Sterling Truck TR50-75640
HDR 62650 645 Freightliner TR50-75645
HDR 62700 540 Freightliner TR50-62540
HDR 62700 540 Sterling Truck TR50-62540
HDR 62700 570 Freightliner TR50-62570
HDR 62700 570 Sterling Truck TR50-62570
HDR 62700 610 Freightliner TR50-62610
HDR 62700 610 Sterling Truck TR50-62610
HDR 62700 620 Freightliner TR50-62620
HDR 62700 620 Sterling Truck TR50-62620
HDR 64400-003L Freightliner TS50-22649
HDR 64400-003L Sterling Truck TS50-22649
HDR 66610 000H Freightliner TR35205
HDR 66610 000H Sterling Truck TR35205
HDR 66620 000H Freightliner TR35225
HDR 66620 000H Sterling Truck TR35225
HDR 66630 000H Freightliner TR35210
HDR 66630 000H Sterling Truck TR35210
HDR 66661 000H Freightliner TR35105
HDR 66661 000H Sterling Truck TR35105
HDR 66671 000H Freightliner TR35125
HDR 66671 000H Sterling Truck TR35125
HDR 66681 000H Freightliner TR35110
HDR 66681-000H Sterling Truck TR35110
HDR 66767 000H Freightliner TR35220
HDR 66767 000H Sterling Truck TR35220
HDR 67047 000H Freightliner TR35120
HDR R008839 Freightliner PB00-26839
HDR47691000L Mack PL1146
HDR47691000L Volvo PL1146
HDR48411006 Volvo TR62-417M1
HDR56557002 Volvo WP50-29557
HDR56557004 Volvo WP50-29004
HDR56557005 Volvo WP50-29005
HDR56929000 Volvo WP50-29929
HDR57950007 Volvo TR50-45950
HDR60791000 Volvo MS50-29791
HDR62000 590 Freightliner TR50-42590
HDR62000375 Volvo TR50-42375
HDR62000390 Volvo TR50-42390
HDR62000505 Volvo TR50-42505
HDR62000520 Volvo TR50-42520
HDR62000525 Volvo TR50-42525
HDR62000535 Volvo TR50-42535
HDR62000545 Volvo TR50-42545
HDR62000550 Volvo TR50-42550
HDR62000560 Volvo TR50-42560
HDR62000565 Volvo TR50-42565
HDR62000570 Volvo TR50-42570
HDR62000575 Volvo TR50-42575
HDR62000590 Volvo TR50-42590

HDR62000595 Volvo TR50-42595
HDR62000600 Volvo TR50-42600
HDR62000605 Volvo TR50-42605
HDR62000620 Volvo TR50-42620
HDR62000630 Volvo TR50-42630
HDR62000635 Volvo TR50-42635
HDR62000670 Volvo TR50-42670
HDR62000675 Volvo TR50-42675
HDR62001420 Volvo TR50-42425
HDR62001465 Volvo TR50-42465
HDR62001485 Volvo TR50-42485
HDR62001495 Volvo TR50-42495
HDR62001500 Volvo TR50-42500
HDR62001505 Volvo TR50-42510
HDR62001510 Volvo TR50-42510
HDR62001515 Volvo TR50-42515
HDR62001520 Volvo TR50-42520
HDR62001525 Volvo TR50-42525
HDR62001535 Volvo TR50-42535
HDR62001540 Volvo TR99-41428
HDR62001545 Volvo TR50-42545
HDR62001545 Volvo TR50-42550
HDR62001560 Volvo TR50-42560
HDR62001570 Volvo TR50-42570
HDR62001580 Volvo TR50-42580
HDR62001585 Volvo TR50-42585
HDR62001590 Volvo TR50-42590
HDR62001595 Volvo TR50-42595
HDR62001605 Volvo TR50-42605
HDR62001620 Volvo TR50-42620
HDR62001630 Volvo TR50-42630
HDR62001635 Volvo TR50-42635
HDR62001640 Volvo TR50-42640
HDR62001655 Volvo TR50-42655
HDR62001665 Volvo TR50-42665
HDR62001670 Volvo TR50-42670
HDR62001675 Volvo TR50-42675
HDR62001680 Volvo TR50-42680
HDR62001685 Volvo TR50-42685
HDR62005420 Volvo TR50-42420
HDR62008620 Volvo TR50-42620
HDR62009400 Volvo TR50-42400
HDR62010455 Volvo TR50-42455
HDR62011360 Volvo TR50-42360
HDR62011620 Volvo TR50-42620
HDR62012360 Volvo TR50-42360
HDR62012465 Volvo TR50-42465
HDR62022580 Volvo TR50-42580
HDR62029385 Volvo TR50-42385
HDR62350450 Volvo TR50-41450
HDR62350470 Volvo TR50-41470
HDR62350520 Volvo TR50-41520
HDR62350525 Volvo TR50-41525
HDR62350535 Volvo TR50-41535
HDR62350545 Volvo TR50-41545
HDR62350550 Volvo TR50-41550
HDR62350605 Volvo TR50-41605
HDR62350610 Volvo TR50-41610
HDR62350615 Volvo TR50-41615
HDR62350620 Volvo TR50-41620
HDR62350625 Volvo TR50-41625
HDR62350630 Volvo TR50-41630
HDR62350635 Volvo TR50-41635
HDR62350640 Volvo TR50-41640
HDR62350645 Volvo TR50-41645
HDR62350655 Volvo TR50-41655
HDR62599560 Volvo TR50-65560
HDR62599585 Volvo TR50-65585

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 299

CROSS REFERENCE



HDR62650495 Volvo TR50-75495
HDR626505 Volvo TR50-75520
HDR62650500 Volvo TR50-75500
HDR62650505 Volvo TR50-75505
HDR62650635 International TR50-75635
HDR626525 Volvo TR50-75525
HDR626535 Volvo TR50-75535
HDR626610 Volvo TR50-75610
HDR626615 Volvo TR50-75615
HDR626630 Volvo TR50-75630
HDR626635 Volvo TR50-75635
HDR626640 Volvo TR50-75640
HDR626645 Volvo TR50-75645
HDR62700540 Volvo TR50-62540
HDR62700570 Volvo TR50-62570
HDR62700610 Volvo TR50-62610
HDR62700620 Volvo TR50-62620
HDR64400003L Volvo TS50-22649
HDR66610000H Volvo TR35205
HDR66620000H Volvo TR35225
HDR66630000H Volvo TR35210
HDR66661000H Volvo TR35105
HDR66671000H Volvo TR35125
HDR66681 000H Volvo TR35110
HDR66767000H Volvo TR35220
HDR67047000H Volvo TR35120
HDRR005422 Freightliner PB00-26422
HDRR005422 Sterling Truck PB00-26422
HDRR005422 Volvo PB00-26422
HDRR008839 Volvo PB00-26839
HDW379 Chalmers HW19-29201
HDW379 Chalmers HW19-29202
HDW381 Chalmers HW19-29201
HDW382 Chalmers HW19-29202
HHXB-0011 Stoughton FW51-32011
HLD 48100202 Sterling Truck PB57-36200
HLD XB 0011 Freightliner FW51-32011
HLD XB 0011 Sterling Truck FW51-32011
HLD90008149 Freightliner PB57-21149
HLD90008149 Sterling Truck PB57-21149
HLD-XB10605 Freightliner FW99-32605
HLD-XB10605 Sterling Truck FW99-32605
HLK1000 Automann HL59-64107
HLK1005 Automann HL00-64001
HLK1011 Automann HL46-64435
HLK1011 Automann HL46-64650
HLK1012 Automann HL46-64651
HLK1020 Automann HL46-64531
HLK1024 Automann HL46-64480
HLN1002 Automann HL55-64C91
HOH48100202 Volvo PB57-36200
HOHXB0011 Volvo FW51-32011
HOHXB10605 Volvo FW99-32605
HRD62013790 Volvo TR50-41790
HS102 Flagg PB50-26648
HS2 Flagg TW38000
HS20 Flagg TR50-41001
HS21 Flagg TR50-41002
HS24 Flagg TW34000
HS44 Flagg PL1146
HS51 Flagg TR50-41111
HS55 Flagg WP50-29557
HS56 Flagg LP50-24000
HS70 Flagg SF10000
HS73 Flagg TT50-22697
HS74 Flagg TT50-22809
HS82 Flagg WP50-29004
HS83 Flagg WP50-29929

HT207 Flagg PB50-36914
HT212 Flagg MS50-39613
HT243 Flagg MS50-26925
HT244 Flagg MS50-26924
HT245 Flagg PB50-36000
HT245 Flagg PB50-36000-EI
HT245 Flagg PB50-36001
HT245 Flagg PB50-36001-EI
HT245 Flagg PB50-36100
HT249 Flagg PB50-36321
HT249 Flagg PB50-36322
HTS100 Flagg PB50-26237
HTS110 Flagg TW50-29495
HTS111 Flagg PB50-26821
HU1629001 Trailmobile EQ53-35001
HU1778401 Trailmobile EQ53-35001
HU-19137-01 Trailmobile EQ53-35701
HUD47691000L International PL1146
HUD56557002 International WP50-29557
HUD56557004 International WP50-29004
HUD56557005 International WP50-29005
HUD56929000 International WP50-29929
HUD60791000 International MS50-29791
HUD62000375 International TR50-42375
HUD62000390 International TR50-42390
HUD62000510 International TR50-42510
HUD62000520 International TR50-42520
HUD62000525 International TR50-42525
HUD62000535 International TR50-42535
HUD62000545 International TR50-42545
HUD62000550 International TR50-42550
HUD62000560 International TR50-42560
HUD62000565 International TR50-42565
HUD62000570 International TR50-42570
HUD62000590 International TR50-42590
HUD62000595 International TR50-42595
HUD62000600 International TR50-42600
HUD62000605 International TR50-42605
HUD62000620 International TR50-42620
HUD62000630 International TR50-42630
HUD62000635 International TR50-42635
HUD62001420 International TR50-42425
HUD62001465 International TR50-42465
HUD62001485 International TR50-42485
HUD62001495 International TR50-42495
HUD62001500 International TR50-42500
HUD62001510 International TR50-42510
HUD62001515 International TR50-42515
HUD62001520 International TR50-42520
HUD62001525 International TR50-42525
HUD62001535 International TR50-42535
HUD62001540 International TR99-41428
HUD62001545 International TR50-42545
HUD62001550 International TR50-42550
HUD62001560 International TR50-42560
HUD62001565 International TR50-42565
HUD62001570 International TR50-42570
HUD62001580 International TR50-42580
HUD62001585 International TR50-42585
HUD62001590 International TR50-42590
HUD62001595 International TR50-42595
HUD62001605 International TR50-42605
HUD62001620 International TR50-42620
HUD62001630 International TR50-42630
HUD62001635 International TR50-42635
HUD62001640 International TR50-42640
HUD62001655 International TR50-42655
HUD62001665 International TR50-42665

HUD62001675 International TR50-42675
HUD62001680 International TR50-42680
HUD62001685 International TR50-42685
HUD62005420 International TR50-42420
HUD62008620 International TR50-42620
HUD62009400 International TR50-42400
HUD62010455 International TR50-42455
HUD62011360 International TR50-42360
HUD62012360 International TR50-42360
HUD62013790 International TR50-41790
HUD62022580 International TR50-42580
HUD62029385 International TR50-42385
HUD62350470 International TR50-41470
HUD62350520 International TR50-41520
HUD62350525 International TR50-41525
HUD62350535 International TR50-41535
HUD62350545 International TR50-41545
HUD62350550 International TR50-41550
HUD62350605 International TR50-41605
HUD62350610 International TR50-41610
HUD62350615 International TR50-41615
HUD62350620 International TR50-41620
HUD62350625 International TR50-41625
HUD62350630 International TR50-41630
HUD62350635 International TR50-41635
HUD62350640 International TR50-41640
HUD62350645 International TR50-41645
HUD62350655 International TR50-41655
HUD62599560 International TR50-65560
HUD62599585 International TR50-65585
HUD62650495 International TR50-75495
HUD62650500 International TR50-75500
HUD62650505 International TR50-75505
HUD62650520 International TR50-75520
HUD62650525 International TR50-75525
HUD62650535 International TR50-75535
HUD62650610 International TR50-75610
HUD62650615 International TR50-75615
HUD62650630 International TR50-75630
HUD62650635 International TR50-75635
HUD62650640 International TR50-75640
HUD62650645 International TR50-75645
HUD62700540 International TR50-62540
HUD62700570 International TR50-62570
HUD62700610 International TR50-62610
HUD62700620 International TR50-62620
HUD66610000H International TR35205
HUD6661000H International TR35105
HUD66620000H International TR35225
HUD66630000H International TR35210
HUD66671000H International TR35125
HUD66681000H International TR35110
HUD66767000H International TR35220
HUD67047000H International TR35120
HUN 12004 3401 Freightliner MM96-62401
HUN 12004 3401 Sterling Truck MM96-62401
HUN 12004 3401 Freightliner MM96-62401-HT
HUN 12004 3401 Sterling Truck MM96-62401-HT
IH11 Flagg TR55-41117
IH12 Flagg TR55-41118
IH14 Flagg WP55-290C1
IH22 Flagg TR55-418C1
IH22 Flagg TR55-428C1
IH5 Flagg NA47000
IPC 924711 Sterling Truck TR13-41022
IPC 925030 Sterling Truck TR59-41375
IPC-927180 Freightliner TR55-41117
IPC928610 Freightliner TR71000

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 300

CROSS REFERENCE



IPC928630 Freightliner TR72000
IPC928660 Freightliner TR75000
IPC928661 Freightliner TR75000
IPC928680 Freightliner TR76000
IPC928681 Freightliner TR76000
IPC928691 Freightliner TR77000
IPC947-271 Western Star TR94-41514
IS610 Flagg SK55-10000
IS620 Flagg SK55-10600
J17700-5 Freightliner PL1133
J185961 Lord MM62-62002
J185961 Lord MM62-62322
J185972 Lord MM62-62002
J185972 Lord MM62-62329
J209413 Freightliner MM46-62416
J2094136 Freightliner MM46-62416
J209414 Freightliner MM46-62416
J209415 Freightliner MM46-62416
J20941-6 Sterling Truck MM46-62417
J20941-6 Sterling Truck MM46-62418
J2094167 Freightliner MM46-62416
J20941-7 Sterling Truck MM46-62417
J20941-7 Sterling Truck MM46-62418
J21246-60 Freightliner MM46-62004
J21247-21 Freightliner MM46-62004
J21400008 Tramec MS99-34008
J3049-70 Freightliner MM00-62970
J3049-70 Lord MM00-62970
J5950 Peterbilt PL1068
J6198 2 Lord PL1013
J6198-2 Freightliner PL1013
J6210-41 Freightliner PL1110
J6210-46 Freightliner PL1170
J6210-49 Freightliner PL1110
J7165-1 Freightliner PL1015
J7165-1 Freightliner PL1015-HT
JOSSK7501401 International FW99-32401
JSK3105-95 Jost International FW99-32401
JSK70202-15 Jost International FW99-32401
JSK73104-47 Jost International FW99-32401
JSK790111-03 Jost International FW99-32401
JSTSK7501401 Volvo FW99-32401
K036-277 Kenworth PL1067
K041-712-130P Kenworth HW59-29000
K041-712-290P Kenworth HW59-29000
K0649-04 Great Dane EQ83-35904
K0649-04 Reyco EQ83-35904
K0649-04 Transpro EQ83-35904
K066-058 Kenworth PL1008
K066-058 Kenworth PL1184
K066-162 Kenworth PL1039
K066-176 Kenworth PL1009
K066-178 Kenworth PL1068
K066-218 Kenworth PL1010
K066-228 Kenworth PL1015
K066-228 Kenworth PL1015-HT
K066-229 Kenworth PL1013
K066-229 Kenworth PL1013-HT
K066-232 Kenworth PL1038
K066-247 Kenworth MM59-62002
K066-247 Kenworth PL1012
K066-266 Kenworth PL1028
K066-269 Kenworth PL1064
K066-282 Kenworth MM59-62002
K066-282 Kenworth PL1012
K066-293 Kenworth PL1008
K066-293 Kenworth PL1184
K066-320 Kenworth MM59-62002

K066-320 Kenworth PL1012
K066-336 Kenworth PL1016
K066-360 Kenworth PL1062
K066-377 Kenworth KT59-62001
K066-377 Kenworth KT59-62001-HT
K066-377 Kenworth KT59-62001-HW
K066-377 Kenworth KT59-62004-HT
K066-377 Kenworth MM59-62001
K066-404 Kenworth KT59-62002
K066-404 Kenworth KT59-62002-HT
K066-404 Kenworth KT59-62002-HW
K066-404 Kenworth KT59-62003-HT
K066-404 Kenworth MM59-62005
K066-404 Kenworth MM59-62006
K066-405 Kenworth MM59-62407
K066-405 Peterbilt MM59-62407
K066-405 Kenworth MM59-62407-HW
K066-405 Peterbilt MM59-62407-HW
K066-406 Kenworth KT59-62002
K066-406 Kenworth KT59-62002-HT
K066-406 Kenworth KT59-62002-HW
K066-406 Kenworth KT59-62003-HT
K066-406 Kenworth MM59-62005
K066-407 Kenworth MM59-62006
K066-407 Kenworth MM59-62407
K066-407 Peterbilt MM59-62407
K066-407 Kenworth MM59-62407-HW
K066-407 Peterbilt MM59-62407-HW
K066-421 Kenworth KT59-62001
K066-421 Kenworth KT59-62001-HT
K066-421 Kenworth KT59-62001-HW
K066-421 Kenworth KT59-62004-HT
K066-421 Kenworth MM59-62001
K066-423 Kenworth KT59-62002
K066-423 Kenworth KT59-62002-HT
K066-423 Kenworth KT59-62002-HW
K066-423 Kenworth KT59-62003-HT
K066-423 Kenworth MM59-62005
K066-423 Kenworth MM59-62407
K066-423 Peterbilt MM59-62407
K066-423 Kenworth MM59-62407-HW
K066-423 Peterbilt MM59-62407-HW
K066-449 Kenworth PL1008
K066-449 Kenworth PL1184
K066-450 Kenworth PL1147
K066-454 Kenworth SW59-29454
K066-460 Kenworth SW59-29465
K066-461 Kenworth SW59-29461
K066-478 Kenworth PL1150
K066-502-1 Kenworth SW59-29454
K066-502-2 Kenworth SW59-29461
K147-107 Kenworth HL59-64107
K147-107 Peterbilt HL59-64107
K147C106 Kenworth HL59-64107
K174-555 Kenworth PL1014
K179-378 Kenworth SP59-11378
K179-528 Kenworth PL1011
K179-528 Kenworth PL1011-HT
K179D450 Kenworth PL1011
K179D450 Kenworth PL1011-HT
K195-375 Kenworth TR59-41375
K195-375 Kenworth TR59-41376
K195-376 Kenworth TR59-41376
K195-472 Kenworth TR59-41474
K195-474 Kenworth TR59-41474
K209-55 Kenworth SK59-12000
K209-75 Kenworth SK59-10000
K209-75 Kenworth SK59-12100

K264-84 Kenworth PL1065
K3399 Fuller TransmissionMS99-63399
K-3399 Fuller TransmissionMS99-63399
K363-275 Kenworth PL1066
K363-409 Kenworth PL1044
K366-474 Kenworth PL1044
K436 Dyco TH75-69002
K436KIT Dyco TH75-69002
K506-70NR Kenworth MM59-62002
K880230 Chalmers HW19-29200
K880231 Chalmers HW19-29202
K880640 Chalmers HW19-29201
KB321 Automann PL1008
KB321UB Automann PL1008
KB450 Automann PL1147
KB450UB Automann PL1147
KB920 HD Plus TS59-22400
KIT11102 Meritor TH99-37102
KIT11126 Meritor SU99-39115
KIT11126 Meritor SU99-39116
KIT11300 Meritor SU99-39114
KITPIN191 Fontaine FW99-32191
KIT-PIN-3000 Fontaine FW99-32300
KITPINLLB Fontaine FW99-32LLB
KP101 Automann PL1006
KP101UB Automann PL1006
KP104 Automann FW51-32413
KP104UB Automann FW51-32413
KP109 Automann PL1002
KP109UB Automann PL1002
KP110 Automann FW99-32191
KP118 Automann PL1060
KP118UB Automann PL1060
KP119 Automann PL1037
KP119UB Automann PL1037
KP134K Automann FW99-32109
KP134KUB Automann FW99-32109
KP149 Automann FW99-32401
KP153 Automann FW99-32401
KP163 Automann FW99-32300
KP163 Automann FW99-32301
KP166 Automann FW99-32300
KW3 Flagg PL1008
KW3UB Flagg PL1008
KW5UB Flagg RW51000
KW6-50 Kenworth PL1038
KW6UB Flagg PL1008
KW6UB Flagg PL1184
L1032 Dana PL1118
L1032 Dana TH83-22302
L1032 Dana UB30000
L1132 Dana PL1115
L1138 Spicer AW51-34010
L1337 Dana PL1095
L1338 Spicer AW51-34010
L56-0001 Peterbilt HL00-64001
LC1 Flagg HC20000
LC1UB Flagg HC20000
LC3 Flagg HC20000
LC3UB Flagg HC20000
LC4 Flagg HC10000
LC4UB Flagg HC10000
LNC107 Automann SK55-10200
LNC107 Flagg SK55-10200
LNC107 Automann SK55-10300
LNC107 Flagg SK55-10300
LNC20MM Automann SK22-10000
LNC20MM Flagg SK22-10100

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 301

CROSS REFERENCE



LNC20MM Automann SK88-10200
LNC20MM Flagg SK88-10200
LNC24MM Flagg SK62-10700
LOR CB1125 2 Freightliner MM75-62401
LOR CB2202-12 Freightliner MS99-62620
LOR CB2202-12 Sterling Truck MS99-62620
LOR CB2204 146 Freightliner CM94-61875
LOR CB2204 146 Sterling Truck CM94-61875
LOR J19791 1 Freightliner MS46-66791
LOR J19791 1 Sterling Truck MS46-66791
LOR J20941 3 6 Freightliner MM46-62416
LOR J20941 7 Freightliner MM46-62416
LOR J20941 7 Freightliner MM46-62417
LOR J20941 7 Freightliner MM46-62418
LOR J20941-3-6 Freightliner MM46-62417
LOR J20941-3-6 Freightliner MM46-62418
LOR J21246 60 Freightliner MM46-62660
LOR J21247 21 Freightliner MM46-62721
LOR SM1035 9 Freightliner RM46-63359
LOR SM10359 Sterling Truck RM46-63359
LOR SSB33 1000 2Freightliner MM00-62000
LOR SSB33 1000 2Sterling Truck MM00-62000
LOR SSB33 1001 7Freightliner MM46-62003
LOR SSB33 1001 7Freightliner MM46-62006
LOR SSB33 1001 8Freightliner MM46-62003
LOR SSB33 1001 8Freightliner MM46-62006
LORJ2094416 Freightliner MM46-62416
M1 Automann PL1017
M1 Automann PL1017-HT
M1112 Automann SK55-10200
M11224 Automann PL1168
M11828 Automann MS19-29002
M11844 Automann MS19-29028
M1214 Automann SK59-10000
M1214 Automann SK59-12100
M1216 Automann SK75-10000
M1224 Automann SK59-12000
M12900 Automann HU10000
M12900UB Automann HU10000
M1306 Automann SK46-10000
M13309 Automann EM75-69096
M13309 Automann EM75-69096-HT
M13415 Automann HM75-66154
M13472 Automann HM75-64726
M13-6001 Kenworth EM75-69000-HT
M13-6001 Peterbilt EM75-69000-HT
M13-6001 Kenworth EM75-69001-HT
M13-6001 Peterbilt EM75-69001-HT
M14712 Automann MS50-39613
M-1485 BWP AW51-34010
M1500 Automann SK75-10200
M1502 Automann SK75-10100
M1634 Automann SK55-10000
M1634 Automann SK55-10600
M16884 Automann UB16100
M17328 Automann PL1052
M17328UB Automann PL1052
M17330 Automann PL1003
M17330UB Automann PL1003
M17331 Automann PL1051
M17331UB Automann PL1051
M17332 Automann MS46-19215
M17333 Automann PL1068
M17333UB Automann PL1068
M17338KUB Automann MM46-62003
M17344K Automann MM46-62003
M17347 Automann MM46-62416
M17347UB Automann MM46-62416

M17348 Automann PL1086
M17348UB Automann PL1086
M17392UB Automann PL1009
M17395 Automann MM46-62301
M17400 Automann PL1010
M17400UB Automann PL1010
M17402 Automann PL1011
M17402 Automann PL1011-HT
M17402 Automann PL1011-HT
M17402UB Automann PL1011
M17403K Automann MM46-62005
M17403KS Automann MM46-62002
M17403KSUB Automann MM46-62002
M17403KUB Automann MM46-62005
M17404 Automann MM59-62002
M17404 Automann PL1012
M17404UB Automann MM59-62002
M17404UB Automann PL1012
M17406 Automann PL1013
M17406 Automann PL1013-HT
M17406UB Automann PL1013
M17406UB Automann PL1013-HT
M17408 Automann PL1014
M17408UB Automann PL1014
M17410 Automann PL1063
M17410 Automann PL1063-HT
M17410UB Automann PL1063
M17410UB Automann PL1063-HT
M17412 Automann PL1015
M17412 Automann PL1015-HT
M17412UB Automann PL1015
M17412UB Automann PL1015-HT
M17413 Automann MM46-62651
M17413UB Automann MM46-62651
M17414 Automann PL1016
M17414UB Automann PL1016
M17417 Automann PL1009
M17417UB Automann PL1009
M17418 Automann RM46-63359
M17418UB Automann RM46-63359
M17419 Automann CM46-61384
M17419UB Automann CM46-61384
M17429 Automann PL1077
M17434 Automann PL1113
M17434UB Automann PL1113
M17445 Automann MM55-62005
M17445 Automann MM55-620C7
M17445 Automann MM55-629C7
M17445K Automann MM55-62004
M17445KUB Automann MM55-62004
M17445UB Automann MM55-629C7
M17449 Automann MM55-626C2
M17450 Automann MM55-624C3
M17450UB Automann MM55-624C3
M17451 Automann MM55-623C3
M17451UB Automann MM55-623C3
M17474UB Automann PL1074
M17475 Automann MM75-62401
M17475UB Automann MM75-62401
M17478UB Automann PL1069
M17482UB Automann PL1018
M17482UB Automann PL1018-HT
M17483UB Automann PL1112
M17484UB Automann PL1126
M17484UB Automann PL1126-HT
M17527 Automann PL1011
M17527 Automann PL1011-HT
M17527UB Automann PL1011

M17527UB Automann PL1011-HT
M17804UB Automann PL1070
M17804UB Automann PL1070-HT
M17984 Automann MS19-29029
M18004 Automann MS19-29055
M1880 Automann SK46-10800
M1970 Automann EB38000
M1970HE Automann EB38000
M1970UB Automann EB38000
M1972 Automann CB38012
M1972UB Automann CB38012
M1974 Automann CB34012
M1976 Automann EB34000
M1978 Automann CB34012
M1980 Automann CB38011
M1980UB Automann CB38011
M1988 Automann EB38000
M1UB Automann PL1017
M1UB Automann PL1017-HT
M2 Automann PL1091
M200 Kenworth PL1077
M200-70EP Kenworth PL1077
M203001UB Automann SW03-83201
M203004UB Automann SW03-83204
M203021 Automann RM55-638C2
M20304 Automann PL1048
M203049 Automann MM96-62002
M20304UB Automann PL1048
M203052 Automann MM96-62870
M203052 Automann MM96-62870-HT
M203052UB Automann MM96-62870
M203052UB Automann MM96-62870-HT
M203055 Automann RM46-63471
M203055UB Automann RM46-63471
M20307 Automann PL1055
M203073 Automann CM55-61454
M203073K Automann CM55-61454
M203073K2 Automann CM55-61454
M203074 Automann CM55-616C5-HT
M203076 Automann EM75-61001
M203076 Automann EM75-61001-HT
M20307UB Automann PL1055
M20309 Automann PL1104
M20309UB Automann PL1104
M20310 Automann MM75-62372
M20310 Automann MM75-62372-HT
M203101UB Automann PL1050
M203104 Automann PL1139
M203104UB Automann PL1139
M20310KUB4H Automann MM75-62001
M20310KUB4H Automann MM75-62001-HT
M20310UB Automann MM75-62372
M20310UB Automann MM75-62372-HT
M203133 Automann MS99-62620
M203212 Automann MS99-62620
M203212UB Automann MS99-62620
M203308 Automann PL1027
M203308UB Automann PL1027
M203700UB Automann SW99-29700
M203814UB Automann PL1188
M21610 Automann MS19-29201
M23311 Automann MS99-63399
M23311E Automann MS99-63399
M23311EUB Automann MS99-63399
M23311UB Automann MS99-63399
M23319 Automann MS99-63794
M3 Automann PL1109
M300-70NR Peterbilt PL1010

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 302

CROSS REFERENCE



M3UB Automann PL1109
M4794 Automann SK00-10500
M4878 Automann SK00-10500
M500-70NR Kenworth PL1063
M500-70NR Kenworth PL1063-HT
M501 Kenworth PL1070
M501 Kenworth PL1070-HT
M506-70NR Kenworth PL1012
M5096 Automann SK00-10500
M5212 Automann SK59-10000
M5212 Automann SK59-12000
M5212 Automann SP59-11378
M5236 Automann SK55-10200
M5236 Automann SK55-10300
M5274 Automann SK75-10000
M5274 Automann SP00-11561
M5284 Automann SK46-10000
M5284 Automann SP46-11002
M5284 Automann SP46-11373
M5286 Automann SK46-10000
M5308 Automann SK75-10100
M5308 Automann SK75-10200
M5308 Automann SP75-11781
M5316 Automann SK62-10700
M5330 Automann SK46-10900
M5332 Automann SK46-10800
M5336 Automann SK55-10000
M5336 Automann SK55-10100
M5336 Automann SP00-11561
M5352 Automann SK55-10600
M5352 Automann SK55-10700
M5352 Automann SP55-113C1
M5358 Automann SK46-10000
M5358 Automann SP46-11002
M5358 Automann SP46-11373
M5414 Automann SK22-10100
M5414 Automann SK88-10200
M600 Kenworth PL1009
M601 Kenworth PL1015
M601 Kenworth PL1015-HT
M601-70NR Kenworth PL1015
M601-70NR Kenworth PL1015-HT
M602-70NR Kenworth PL1016
M6468 Automann PL1096
M700 Kenworth PL1013
M700 Kenworth PL1013-HT
M700 50NR Freightliner MM75-62401
M831219 Automann MS83-69219
M8354 Automann PL1098
M8362 Automann PL1097
M876 Automann SK62-10600
M878 Automann MS62-29246
M9626 Automann PL1004
M9626UB Automann PL1004
M9632 Automann PL1005
M9632UB Automann PL1005
M99709 Automann TM99-63516
M99709UB Automann TM99-63516
MB025153 Mitsubishi PL1179
MBT 6805040382 Sterling Truck RM46-63359
MBT A6803220050Freightliner SP46-52050
MBT A6803220050Sterling Truck SP46-52050
MBT A6805040382Freightliner RM46-63359
MC81266 Mitsubishi TS45000
MCT6 Automann CT10000
MFL45 Automann TR46-49998
MFL46773 Automann LP46-19773
MFL4895 Automann LP46-24581

MFL61 Automann TR46-49002
MFL65 Automann TR46-49002
MFL67 Automann TR46-49998
MFL69 Automann TR46-49004
MFL70 Automann TR46-49004
MFL86 Automann SP46-11002
MH1432 Automann PL1026
MH1432 Automann PL1026-HT
MH1432UB Automann PL1026
MH1432UB Automann PL1026-HT
MH1433 Automann PL1028
MH1433UB Automann PL1028
MHS203 Automann HW50-26679
MHS205 Automann HW50-26705
MHS237 Automann HW50-26961
MHS25821 Automann PB50-26821
MHS446 Automann PB50-26237
MHS448 Automann MS50-29890
MHS448 Automann MS50-29891
MHS466 Automann TW50-29495
MHS58948KS Automann LP50-24745
MHS58948KSUB Automann LP50-24745
MHS6 Automann TW38000
MHS64 Automann TR50-41001
MHS66 Automann TR50-41002
MHS736 Automann PB50-36000
MHS736 Automann PB50-36000-EI
MHS736 Automann PB50-36001
MHS736 Automann PB50-36001-EI
MHS736UB Automann PB50-36000
MHS736UB Automann PB50-36000-EI
MHS736UB Automann PB50-36001
MHS736UB Automann PB50-36001-EI
MHS745 Automann PB50-36321
MHS745 Automann PB50-36322
MHS91 Automann MS50-26633
MHS93 Automann MS50-26632
MHS97 Automann MS50-26924
MHS99 Automann MS50-26925
MIB130L Flagg MA20000
MIB130LUB Flagg MA20000
MIB130S Flagg PL1090
MIB130SUB Flagg PL1090
MIB219 Flagg MA10000
MIB219 Flagg MA10085
MIB219UB Flagg MA10000
MIB219UB Flagg MA10085
MIB276 Flagg MA10000
MIB276 Flagg MA10085
MIH14UB Automann SK00-10500
MIH52 Automann WP55-290C1
MIS1466 Automann SK55-10000
MIS1486 Automann SK55-10600
MK16950 Automann SW59-29000
MK16955 Automann SW59-29000-KIT
MK16956 Automann SW59-29001-KIT
MLC10 Automann HC10000
MLC11 Automann LP19-24002
MLC11UB Automann LP19-24002
MLC13 Automann LP19-24015
MLC4 Automann HC20000
MLC5 Automann LP50-24179
MLC8 Automann HC20000
MMB1000 Automann PL1133
MMB1000UB Automann PL1133
MMB985 Automann WP50-29557
MMB989 Automann MS75-65904
MN91281 Automann AW51-34010

MN95489 Automann TR57-44992
MNW900081395 Fruehauf PB57-21139
MP1 Flagg MA36500
MP10 Flagg MA36500
MP2 Flagg MA36000
MP4 Flagg MA37000
MP5 Flagg MA32000
MP6 Flagg MA37200
MP7 Flagg MA36000
MP8 Flagg MA37200
MP9 Flagg MA36000-OFF
MPB226 Automann SK75-10000
MPB452 Automann SK75-10200
MPB454 Automann SK75-10100
MPB60 Automann SK75-10000
MPB60 Automann SK75-10100
MPB60 Automann SK75-10200
MPB60 Automann SP00-11561
MPB60 Automann SP75-11781
MPB62 Automann SU75-29623
MPB66 Automann SU75-29624
MR1001 Peterbilt MM75-62001
MR1001 Peterbilt MM75-62001-HT
MR1001 Peterbilt MM75-62372
MR1001 Peterbilt MM75-62372-HT
MR174 Automann SK22-10000
MR174 Automann SK55-10200
MR174 Automann SK55-10300
MR186 Automann SP99-11001
MR220 Automann SP48-11751
MR480 Automann SP48-11118
MR568 Automann UB16100
MR610 Flagg TR71000
MR620 Automann AT80000
MR620 Flagg TR80000
MR620UB Automann AT80000
MR622 Automann SK62-10700
MR624 Automann SK62-10600
MR624 Automann SP62-1154M
MR626 Automann SK22-10100
MR626 Automann SK88-10200
MR626 Automann SP00-52400
MR630 Flagg TR72000
MR640 Flagg TR82000
MR650 Flagg TR84000
MR656 Automann PB46-26268
MR656UB Automann PB46-26268
MR660 Flagg TR75000
MR661 Flagg TR75000
MR670 Flagg TR81000
MR671 Flagg TR81000
MR680 Flagg TR76000
MR681 Flagg TR76000
MR690 Flagg TR77000
MR691 Flagg TR77000
MR700 Flagg TR85000
MR701 Flagg TR85000
MR752 Automann SP55-52600
MR752UB Automann SP55-52600
MR766 Flagg TR74000
MR766 Flagg TR83000
MR767 Flagg TR74000
MR769 Flagg TR73000
MR772 Automann SP46-11023
MR772UB Automann SP46-11023
MR780 Automann SP46-11473
MR782 Automann PB46-26268
MR828 Automann SU00-29001

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 303

CROSS REFERENCE



MR830 Automann SU00-29002
MR894 Automann SP00-11013
MR894UB Automann SP00-11013
MSB506L Automann MA20000
MSB506LUB Automann MA20000
MSB506S Automann PL1090
MSB506SUB Automann PL1090
MSB684 Automann MA10000
MSB684 Automann MA10085
MSB684UB Automann MA10000
MSB684UB Automann MA10085
MSRK1536 Automann TR57-44645
MSRK536 Automann PB57-36200
MSRK544 Automann PB57-36300
MSRK96 Automann AW51-34036
MTB160 Automann SK59-12000
MTB160 Automann SP59-11378
MTB170 Automann SK46-10000
MTN457 Automann PL1041
MTRKIT11126 Aurora Trailer SU99-39115
MVT4 Automann LP96-24657
N112 Flagg PL1155
N112UB Flagg PL1155
N113 Flagg PL1030
N119 Flagg PL1154
N119UB Flagg PL1154
N120 Flagg PB57-21139
N120UB Flagg PB57-21139
N124 Flagg PB57-21149
N133 Flagg PL1096
N135 Flagg PL1098
N135UB Flagg PL1098
N138 Flagg PL1097
N214 Flagg PL1094
N215 Flagg NW30000
N215UB Flagg NW30000
N219 Flagg PL1093
N22174 GMC/RTS/Nova TH03-82725
N243 Flagg PL1095
N250 Flagg AW57-14000
N254 Flagg PL1041
N254UB Flagg PL1041
N4751001 Kenworth EM75-61001
N4751001 Peterbilt EM75-61001
N4751001 Kenworth EM75-61001-HT
N4751001 Peterbilt EM75-61001-HT
N8800599 GMC/RTS/Nova TS38000
N8884777 GMC/RTS/Nova TS38000
N8888164 GMC/RTS/Nova TS38000
NE-48100206 Trailmobile PB57-36300
NEW 90008139 Freightliner PB57-21139
NEW 90008139 Sterling Truck PB57-21139
NEW90008139 Volvo PB57-21139
NEW900-08-139 Aurora Trailer PB57-21139
NEW900-08-139 Wabash PB57-21139
NEW90008149 Volvo PB57-21149
NEW900-08-149 Aurora Trailer PB57-21149
NEW900-08-149 Wabash PB57-21149
NEWSRK-145 Aurora Trailer PB57-36200
NEWSRK-149 Aurora Trailer PB57-36300
NEWSRK-149 Wabash PB57-36300
NK509 Flagg AW51-34036
NK541 Flagg PB57-36200
NK544 Flagg PB57-36300
NL1448 Hutchens HW53-37149
NL1448 Hutchens TH53-37149
NW900-08-139 Stoughton PB57-21139
NW900-08-149 Stoughton PB57-21149

OGB-RNG Automann SK00-10500
OGB-RNG Automann SK55-10600
OGB-RNG Automann SP55-113C1
OGB-RNK Automann SK14-10000
OGB-RNK Automann SK46-10000
OGB-RNK Automann SK55-10000
OGB-RNK Automann SK55-10100
OGB-RNK Automann SP00-11561
OGB-RNK Automann SP14-11774
OGB-RNK Automann SP46-11373
P205 Premier PL1080
P205A Premier PL1080
P34 Flagg EP34000
P38 Flagg EP38000
PA014-052013 Autocar TM99-63506
PB101 Flagg SK75-10000
PB103 Flagg SK75-10200
PB104 Flagg SK75-10100
PB14 Flagg TR75-41781
PB15 Flagg TR75-41059
PB18 Flagg SK75-10000
PB18 Flagg SK75-10100
PB18 Flagg SK75-10200
PB18 Flagg SP00-11561
PB18 Flagg SP75-11781
PB19 Flagg SU75-29623
PB2 Flagg PL1073
PB21 Flagg SU75-29624
PB33 Flagg TR75-41327
PB42 Flagg PL1189
PB44 Flagg PB75-29101
PB46 Flagg TR75-41108
PB5 Flagg PL1076
PB6 Flagg PL1075
PB6UB Flagg PL1075
PB7 Flagg PB75-29674
R001 Flagg TH83-22089
R002 Flagg TH83-22302
R003 Flagg TH83-37997
R005422 Hendrickson PB00-26422
R005422 Hendrickson Aux PB00-26422
R008839 Hendrickson PB00-26839
R008839 Hendrickson Aux   PB00-26839
R008839 International PB00-26839
R008839 Peterbilt PB00-26839
R1011-AC Cambria PL1050
R110 Flagg EQ83-11000
R110 Flagg HW59-29000
R110 Flagg SK83-31000
R110UB Flagg EQ83-11000
R110UB Flagg HW59-29000
R110UB Flagg SK83-31000
R127 Flagg PB83-22723
R129 Flagg PL1118
R129 Flagg UB30000
R129UB Flagg PL1118
R131 Flagg PL1115
R131UB Flagg PL1115
R150 Flagg TH83-37238
R150UB Flagg PL1117
R-205 Silver Eagle PL1022
R208 Flagg TH50-22692
R209 Flagg PL1148
R210506 Arvin Meritor SP48-11751
R210507 Arvin Meritor SP99-11001
R210509 Arvin Meritor SP48-11118
R-213 Silver Eagle PL1023
R233 Flagg SK83-31000

R234 Flagg TH83-37640
R235 Flagg TH83-37238
R3010057 Rockwell TH83-37238
R301020 Arvin Meritor PL1085
R301024 Arvin Meritor TR71000
R3010250 Meritor EQ83-35850
R3010250 Meritor EQ83-35855
R3010302 Arvin Meritor PL1147
R3010302 Arvin Meritor PL1150
R3010303 Rockwell TS59-22400
R3010310 Arvin Meritor TR71000
R3010315 Arvin Meritor TR75000
R3010677 Arvin Meritor RS20220
R301160 Arvin Meritor PL1116
R301329A Arvin Meritor PL1125
R301330 Arvin Meritor PL1041
R301331 Arvin Meritor PL1095
R301332 Arvin Meritor NW30000
R301333 Arvin Meritor PL1094
R301334 Arvin Meritor PL1093
R301338 Arvin Meritor CB34012
R301339 Arvin Meritor CB38012
R301340 Arvin Meritor EB34000
R301341A Arvin Meritor EB38000
R301594 Arvin Meritor CB34010
R301594-2 Arvin Meritor EP34000
R301595 Arvin Meritor CB38010
R301595-2 Arvin Meritor EP38000
R301598A Arvin Meritor HC20000
R301842 Arvin Meritor CT10000
R301940 Arvin Meritor HV38000
R301948 Arvin Meritor SF10000
R301960 Arvin Meritor HC20000
R301980 Arvin Meritor PL1118
R301982 Arvin Meritor PL1115
R301983 Rockwell TH83-22089
R302009 Arvin Meritor PL1096
R302020 Arvin Meritor TW34000
R302021 Arvin Meritor TW38000
R302225 Arvin Meritor TS34000
R302226 Arvin Meritor TS38000
R302227 Arvin Meritor TT34000
R302228 Arvin Meritor TT38000
R302232 Arvin Meritor HC10000
R302238 Arvin Meritor IN35190
R302271 Arvin Meritor EB38000
R302553 Arvin Meritor CB50000
R302554 Arvin Meritor EB50000
R302555 Arvin Meritor AK50100
R302639 Arvin Meritor TR71000
R302640 Arvin Meritor TR80000
R302641 Arvin Meritor TR81000
R302642 Arvin Meritor TR75000
R302812 Arvin Meritor TR77000
R302814 Arvin Meritor TS49000
R302815 Arvin Meritor TM38000
R302889 Arvin Meritor EQ53-35701
R302916 Arvin Meritor TT34038
R302917 Arvin Meritor MA36500
R302919 Arvin Meritor MA37000
R302920 Arvin Meritor MA36000
R302921A Arvin Meritor PL1090
R302924A Arvin Meritor MA20000
R302935 Arvin Meritor PL1030
R302943 Arvin Meritor PL1098
R302947A Arvin Meritor PL1097
R303275A Arvin Meritor MA10000
R303275A Arvin Meritor MA10085

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 304

CROSS REFERENCE



R303296 Arvin Meritor PL1053
R303411 Arvin Meritor IN35180
R303527 Meritor HW53-39100
R303540A Arvin Meritor PL1054
R303579 Arvin Meritor PL1004
R303582 Arvin Meritor PL1005
R303679 Arvin Meritor MA32000
R303680 Arvin Meritor MA37200
R303784 Arvin Meritor NA47000
R303868 Arvin Meritor TS38750
R303900 Arvin Meritor AT82000
R303919 Arvin Meritor MA36000-OFF
R304253 Arvin Meritor PL1155
R304255 Arvin Meritor PL1154
R304382A Arvin Meritor PB57-21139
R304385 Meritor AW51-34036
R304398A Arvin Meritor PB57-36200
R304411A Arvin Meritor PB57-36300
R304669 Arvin Meritor PL1008
R304677A Arvin Meritor PL1047
R304686 Arvin Meritor LP19-24015
R304745 Arvin Meritor PL1073
R304775 Arvin Meritor PL1075
R304776 Arvin Meritor PL1076
R304813 Meritor EQ83-35000
R304835 Meritor EQ83-35855
R305216 Arvin Meritor HU10000
R305217 Arvin Meritor HU10000
R305227 Arvin Meritor PL1007
R305269 Arvin Meritor CB27500
R305270 Arvin Meritor EB27500
R305275 Arvin Meritor PL1146
R305275 Meritor PL1146
R305282 Meritor TR50-41001
R305283 Meritor TR50-41002
R306122 Meritor MS50-39613
R306979 Arvin Meritor CB38012
R306980 Arvin Meritor CB38011
R307426 Arvin Meritor PL1046
R307427 Arvin Meritor PL1047
R307428 Arvin Meritor PL1100
R307429 Arvin Meritor PL1001
R307430 Arvin Meritor PL1052
R307431 Arvin Meritor PL1003
R307432 Arvin Meritor PL1085
R307433 Arvin Meritor PL1084
R307434 Arvin Meritor PL1101
R307439 Arvin Meritor PL1087
R307440 Arvin Meritor PL1086
R307441 Arvin Meritor MA20000
R307442 Arvin Meritor PL1093
R307443 Arvin Meritor PL1030
R307445 Arvin Meritor PL1002
R307446A Arvin Meritor PL1008
R307447 Arvin Meritor PL1050
R307448 Arvin Meritor PL1077
R307449 Arvin Meritor PL1124
R307450 Arvin Meritor PL1006
R307451 Arvin Meritor PL1037
R307453 Arvin Meritor PL1119
R307455 Arvin Meritor HU10000
R307457 Arvin Meritor PL1061
R307458 Arvin Meritor PL1034
R307459 Arvin Meritor PL1044
R307460 Arvin Meritor PL1064
R307461 Arvin Meritor PL1066
R307462 Arvin Meritor PL1009
R307464 Arvin Meritor PL1068

R307465 Arvin Meritor PL1067
R307466 Arvin Meritor PL1010
R307467 Arvin Meritor PL1011
R307467 Arvin Meritor PL1011-HT
R307468 Arvin Meritor MM59-62002
R307468 Arvin Meritor PL1012
R307469 Arvin Meritor PL1013
R307469 Arvin Meritor PL1013-HT
R307470 Arvin Meritor PL1014
R307471 Arvin Meritor PL1063
R307471 Arvin Meritor PL1063-HT
R307472 Arvin Meritor PL1015
R307472 Arvin Meritor PL1015-HT
R307473 Arvin Meritor PL1016
R307474 Arvin Meritor PL1028
R307475 Arvin Meritor PL1039
R307477 Arvin Meritor PL1017
R307477 Arvin Meritor PL1017-HT
R307478 Arvin Meritor PL1090
R307479 Arvin Meritor MA10000
R307479 Arvin Meritor MA10085
R307480 Arvin Meritor MA36000
R307481 Arvin Meritor MA36500
R307483 Arvin Meritor PL1113
R307484 Arvin Meritor PL1110
R307485 Arvin Meritor PL1154
R307486 Arvin Meritor NW30000
R307488 Arvin Meritor PL1056
R307492 Arvin Meritor PL1038
R307497 Arvin Meritor PL1092
R307498 Arvin Meritor PL1121
R307499 Arvin Meritor PL1103
R307500 Arvin Meritor PL1123
R307501 Arvin Meritor PL1078
R307502 Arvin Meritor PL1071
R307503 Arvin Meritor PL1074
R307504 Arvin Meritor PL1072
R307505 Arvin Meritor PL1069
R307506 Arvin Meritor PL1070
R307506 Arvin Meritor PL1070-HT
R307507 Arvin Meritor PL1018
R307507 Arvin Meritor PL1018-HT
R307508 Arvin Meritor PL1126
R307508 Arvin Meritor PL1126-HT
R307509 Arvin Meritor PL1075
R307510 Arvin Meritor PL1073
R307515 Arvin Meritor PL1019
R307516 Arvin Meritor PL1020
R307517 Arvin Meritor PL1021
R307518 Arvin Meritor PL1079
R307519 Arvin Meritor PL1081
R307520 Arvin Meritor PL1118
R307522 Arvin Meritor PL1115
R307523 Arvin Meritor PL1116
R307524 Arvin Meritor PL1022
R307525 Arvin Meritor PL1023
R307526 Arvin Meritor PL1082
R307526 Arvin Meritor PL1083
R307527 Arvin Meritor PL1024
R307528 Arvin Meritor PL1025
R307528 Arvin Meritor PL1025-HT
R307529 Arvin Meritor PL1026
R307529 Arvin Meritor PL1026-HT
R307638 Arvin Meritor TS34000
R307639 Arvin Meritor TS38000
R307640 Arvin Meritor PL1065
R307641 Arvin Meritor PL1091
R307644 Arvin Meritor PL1114

R307645 Arvin Meritor PL1080
R307766 Arvin Meritor PL1046
R307767 Arvin Meritor PL1049
R307853 Meritor TR75-41108
R307854 Arvin Meritor SU75-29624
R307855 Arvin Meritor SU75-29623
R30813 Arvin Meritor PL1177
R308650 Arvin Meritor PL1088
R308651 Arvin Meritor TT38000
R308654 Arvin Meritor PL1148
R308655 Arvin Meritor RW51000
R308656 Arvin Meritor PL1027
R308657 Arvin Meritor PL1099
R308663 Arvin Meritor PL1004
R308664 Arvin Meritor PL1005
R308665 Arvin Meritor PL1007
R308667 Arvin Meritor MA37000
R308670 Arvin Meritor PL1041
R308671 Arvin Meritor PL1095
R308672 Arvin Meritor PL1094
R308673 Arvin Meritor PL1096
R308678 Arvin Meritor PL1098
R308680 Arvin Meritor PL1097
R308681 Arvin Meritor PL1155
R308694 Arvin Meritor PL1177
R308701 Arvin Meritor PL1047
R308804 Arvin Meritor PB46-26268
R308821 Meritor TR96-41068
R308851 Arvin Meritor LP96-24657
R308917 Arvin Meritor PL1049
R308918 Arvin Meritor PL1048
R30927 Arvin Meritor PL1084
R309321 Arvin Meritor RW51000
R309322 Arvin Meritor RW52000
R309323 Arvin Meritor RW53000
R309325 Arvin Meritor EB50-21013
R309326 Arvin Meritor EB50-21013
R30934 Arvin Meritor PL1119
R309345 Arvin Meritor PL1050
R309350 Rockwell TH83-37640
R309359 Arvin Meritor CB38012
R309401 Arvin Meritor CB27500
R309410 Arvin Meritor LP50-24000
R309415 Arvin Meritor HS12000
R309416 Arvin Meritor HS11000
R309419 Arvin Meritor EB45000
R309420 Arvin Meritor AK38200
R309421 Arvin Meritor AK45100
R309437 Arvin Meritor RS20220
R309438 Arvin Meritor RS20222
R309439 Arvin Meritor RS20230
R309440 Arvin Meritor RS20210
R309471 Arvin Meritor EQ53-35001
R309508 Arvin Meritor RW54000
R309510 Arvin Meritor CB38010
R309511 Arvin Meritor EB34000
R309513 Arvin Meritor HC20000
R309514 Arvin Meritor HC10000
R309515 Arvin Meritor HV38000
R309517 Arvin Meritor TS49000
R309518 Arvin Meritor TM38000
R309520 Arvin Meritor CB34012
R309566 Arvin Meritor EB27500
RB100 Flagg SP43-11100
RB-100 Dayton Parts SP43-11100
RB117 Flagg SP48-11118
RB-117 Dayton Parts SP48-11118
RB-157-OS Dayton Parts UB20500-OS

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 305

CROSS REFERENCE



RB161 Flagg UB16100
RB-161 Dayton Parts UB16100
RB164 Flagg TS34000
RB-1753 Automann SP48-26753
RB181 Flagg SP43-111AA
RB-181 Dayton Parts SP43-111AA
RB182 Flagg SP43-111BA
RB-182 Dayton Parts SP43-111BA
RB187 Flagg AT80000
RB-187 Dayton Parts AT80000
RB188 Flagg SK62-10700
RB-188 Dayton Parts SK62-10700
RB189 Flagg SK62-10600
RB189 Flagg SP62-1154M
RB-189 Dayton Parts SK62-10600
RB-189 Dayton Parts SP62-1154M
RB190 Flagg SK22-10100
RB190 Flagg SK22-10200
RB190 Flagg SK88-10200
RB190 Flagg SP00-52400
RB-190 Dayton Parts SK22-10100
RB-190 Dayton Parts SK88-10200
RB-190 Dayton Parts SP00-52400
RB198 Flagg SP43-11198
RB-198 Dayton Parts SP43-11198
RB201UB Flagg PL1119
RB205 Flagg PB46-26268
RB205 Flagg UB20500-OS
RB-205 Dayton Parts PB46-26268
RB-205 Dayton Parts UB20500-OS
RB-205U Dayton Parts PB46-26268
RB205UB Flagg PB46-26268
RB211 Flagg SK46-10800
RB211 Flagg SP46-52800
RB-211 Dayton Parts SK46-10800
RB-211 Dayton Parts SP46-52800
RB212 Flagg SP46-52050
RB-212 Dayton Parts SP46-52050
RB233 Flagg SK46-10800
RB233 Flagg SK46-10900
RB233 Flagg SP46-52800
RB-233 Dayton Parts SK46-10800
RB-233 Dayton Parts SP46-52800
RB234 Flagg PB46-26268
RB-234 Dayton Parts PB46-26268
RB235 Flagg PB46-26268
RB249 Flagg SP59-11010
RB-249 Dayton Parts SP59-11010
RB253 Flagg SP55-52600
RB-253 Dayton Parts SP55-52600
RB260 Flagg PB46-26268
RB263 Flagg SP46-11023
RB-263 Dayton Parts SP46-11023
RB267 Flagg SP46-11473
RB-267 Dayton Parts SP46-11473
RB268 Flagg PB46-26268
RB268 Flagg UB20500-OS
RB-268 Dayton Parts PB46-26268
RB-268 Dayton Parts UB20500-OS
RB-291 Dayton Parts SU00-29001
RB-292 Dayton Parts SU00-29002
RB-295 Dayton Parts SK59-12100
RB-295 Dayton Parts SP59-11006
RB308 Dayton Parts SP59-11007
RB-324 Dayton Parts SP00-11013
RB328 Flagg SP00-11005
RB-328 Dayton Parts SP00-11005
RB-330 Dayton Parts SP00-11013

RB75 Flagg SK22-10000
RB75 Flagg SK55-10200
RB75 Flagg SK55-10300
RB75 Flagg UB75000
RB-75 Dayton Parts SK22-10000
RB-75 Dayton Parts SK55-10200
RB-75 Dayton Parts SK55-10300
RB-75 Dayton Parts UB75000
RB81 Flagg SP99-11001
RB-81 Dayton Parts SP99-11001
RB84 Flagg AT82000
RB-84 Dayton Parts AT82000
RB98 Flagg SP48-11751
RB-98 Dayton Parts SP48-11751
RBT200 Flagg PL1084
RBT200UB Flagg PL1084
RBT201 Flagg PL1119
RBT207 Flagg IN35180
RD1170 Automann PB85-360B0
RD1175 Automann PB85-360B0
RD202B Ridewell RS20200
RD202C Ridewell RS20200
RD202S Ridewell RS20201
RDB00002 Vanguard BP99-36040
RDB00004 Vanguard BP91-34046
RDB-003 Utility Trailer BP99-65040
RDW 1117680B060 Freightliner PB85-360B0
RDW 1117680B070 Freightliner PB85-360B0
RDW 6040029 Freightliner PB85-36029
REY TK19089 Freightliner TH83-22089
REY TK19089 Sterling Truck TH83-22089
RI6040029 Stoughton PB85-36029
RK004413 Holland FW51-32413
RK-11736 Holland FW51-32736
RNG-BM Dayton Parts SK00-10500
RNG-BM Dayton Parts SK55-10600
RNG-BM Dayton Parts SK55-10700
RNG-BM Dayton Parts SP55-113C1
RNG-OGB Flagg SK00-10500
RNG-OGB Flagg SK55-10600
RNG-OGB Flagg SK55-10700
RNG-OGB Flagg SP55-113C1
RNK-BM Dayton Parts SK14-10000
RNK-BM Dayton Parts SK14-10100
RNK-BM Dayton Parts SK46-10000
RNK-BM Dayton Parts SK55-10000
RNK-BM Dayton Parts SK55-10100
RNK-BM Dayton Parts SP00-11561
RNK-BM Dayton Parts SP14-11774
RNK-BM Dayton Parts SP46-11373
RNK-OGB Flagg SK14-10000
RNK-OGB Flagg SK14-10100
RNK-OGB Flagg SK46-10000
RNK-OGB Flagg SK55-10000
RNK-OGB Flagg SK55-10100
RNK-OGB Flagg SP00-11561
RNK-OGB Flagg SP14-11774
RNK-OGB Flagg SP46-11373
RWKIT1126 Stoughton SU99-39115
S11613 Hendrickson Aux MS50-39613
S-11613 Hendrickson Aux   MS50-39613
S-11652 Newstar TR46-41002
S-13291 Newstar TR62-41215
S-13292 Newstar TR62-41180
S-13373 Newstar TR46-41716
S1794 Fuller TransmissionMS99-63794
S-18892 Newstar HL00-64001
S-20014 Newstar PL1077

S-20078 Newstar KT59-62001
S-20078 Newstar KT59-62001-HT
S-20078 Newstar KT59-62001-HW
S-20078 Newstar KT59-62004-HT
S-20078 Newstar MM59-62001
S-20079 Newstar KT59-62001
S-20079 Newstar KT59-62001-HT
S-20079 Newstar KT59-62001-HW
S-20079 Newstar KT59-62004-HT
S-20079 Newstar MM59-62001
S-20206 Newstar KT59-62002
S-20206 Newstar KT59-62002-HT
S-20206 Newstar KT59-62002-HW
S-20206 Newstar KT59-62003-HT
S-20206 Newstar MM59-62005
S-20723 Newstar KT59-62002
S-20723 Newstar KT59-62002-HT
S-20723 Newstar KT59-62002-HW
S-20723 Newstar KT59-62003-HT
S-20724 Newstar PL1015
S-20724 Newstar PL1015-HT
S-20823 Newstar MM59-62005
S-20924 Hendrickson Aux MS50-26924
S-20925 Hendrickson Aux MS50-26925
S-21209 Newstar HL00-64001
S-22439 Newstar KT59-62001-HW
S-22439 Newstar KT59-62004-HT
S-22647 Newstar MM59-62006
S-22647 Newstar MM59-62407
S-22647 Newstar MM59-62407-HW
S-23477 Newstar PL1065
S24679 Hendrickson HW50-26679
S-24691 Hendrickson Aux PB50-36000
S-24691 Hendrickson Aux  PB50-36000-EI
S-24691 Hendrickson Aux PB50-36001
S-24691 Hendrickson Aux PB50-36001-EI
S-24691 Hendrickson Aux PB50-36100
S-24691 Hendrickson Aux PB50-36100-EI
S24705 Hendrickson HW50-26705
S-26321 Hendrickson Aux PB50-36321
S-26321 Hendrickson Aux PB50-36322
S3580001-635 Autocar TR13-41635
S3580001-635 Autocar TR59-41150
S3580003-635 Autocar TR13-41635
S7020 Dallas Spring TH83-37238
S7147 Dallas Spring TH83-37238
SAF48100202 International PB57-36200
SAFXB0011 International FW51-32011
SAFXB10605 International FW99-32605
SB1745 Load Guard TH83-37640
SB1UB Flagg PL1026
SB1UB Flagg PL1026-HT
SB-233-30 O & S TR62-41198
SB-371-02 O & S TR62-413P2
SB-371-05 O & S TR62-413P5
S-D905 Newstar MM55-623C3
SK2905-94 Jost International FW99-32401
SK2905-95 Jost International FW99-32401
SK75014-01 Jost International FW99-32401
SL3000W Great Dane BP99-34303
SLNC-107 Dayton Parts SK55-10200
SLNC-107 Dayton Parts SK55-10300
SM1035 9 Lord RM46-63359
SM10356 Lord RM46-63359
SP-0039 Watson & Chalin PL1005
SP-0040 Watson & Chalin PL1041
SP-0192 Watson & Chalin NW30000
SP-0193 Watson & Chalin PL1041

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 306

CROSS REFERENCE



SP2106611X Freightliner CR00-67825
SRK01 Neway PB57-36200
SRK01 Watson & Chalin PB57-36200
SRK02 Neway PB57-36300
SRK1190-1 Watson & Chalin PB00-26839
SRK145 Holland PB57-36200
SRK-145 Neway PB57-36200
SRK-149 Holland PB57-36300
SRK-149 Neway PB57-36300
SRK36 Holland AW51-34036
SRK36 Neway AW51-34036
SRK-36 Holland AW51-34036
SRK-36 Neway AW51-34036
SRK-645 Holland TR57-44645
SRK-645 Neway TR57-44645
SRL01 Automann HW53-39100
SRL02 Automann EQ83-35855
SRL114KUB Automann MS99-65000
SS-219-117 Peterbilt TR75-41059
SS326-11 Peterbilt TR75-41327
SSB26-1000-5 Lord MM75-62597
SSB33-1000-2 Lord MM00-62000
SSB33-1000-2 Peterbilt MM00-62000
SSB3310017 Freightliner MM46-62003
SSB3310017 Freightliner MM46-62006
SSB3310018 Freightliner MM46-62003
SSB3310018 Freightliner MM46-62006
SS-R0035P240 Mack TS62-22240
SS-S0219P210 Roadleveler TR62-413M2
ST1005 Sirco TR83-41520
SU3844 O & S SK27174
T1723 Reyco PB83-22723
T1842 Reyco TH83-37238
T-1842 Reyco PL1117
T-2102 Reyco PL1177
T-2242 Reyco PL1115
T-5493 Reyco PL1116
T-5524 Reyco EQ83-11000
T-5524 Reyco SK83-31000
T5711 Hutchens HU10000
T5711 Hutchens HU10065
T-9000 Kentucky Trailer BP99-65040
TALAA5872A Ford CB38012
TB68 Flagg SK59-10000
TB68 Flagg SK59-12000
TB68 Flagg SP59-11378
TB-68 Dayton Parts SK59-10000
TB-68 Dayton Parts SK59-12000
TB-68 Dayton Parts SP59-11378
TB73 Flagg SK46-10000
TB-73 Dayton Parts SK46-10000
TB78 Flagg SK96-10200
TB78 Flagg SK96-10300
TB78 Flagg SP96-11026
TB-78 Dayton Parts SP96-11026
TB-80 Dayton Parts SP96-11026
TD105 Uro SK00-10500
TD1410 Uro SK14-10000
TD141489 Uro SK14-10100
TD188 Uro SK62-10700
TD190 Uro SK22-10100
TD190 Uro SK88-10200
TD4600 Uro SK46-10000
TD4610 Uro SK46-10000
TD4640 Uro SK46-10800
TD5510 Uro SP55-52600
TD551434 Uro SK55-10100
TD551442 Uro SK55-10700

TD5520 Uro SK55-10600
TD5550 Uro SK55-10000
TD5560 Uro SK55-10200
TD5920 Uro SK59-12000
TD6210 Uro SK62-10600
TD75 Uro SK22-10000
TD75 Uro SK55-10300
TD7500 Uro SK75-10000
TD7510 Uro SK75-10100
TD7520 Uro SK75-10200
TD9610 Uro SK96-10200
TK18997 Reyco TH83-37997
TK18998 Reyco SK83-31000
TK19089 Reyco TH83-22089
TK21640 Reyco TH83-37640
TK7302 Reyco TH83-22302
TM102 Flagg HW53-39100
TMR2616 Automann TR46-46016
TMR501 Automann TR50-41645
TMR501E Automann TR50-41645
TMR508 Automann TR55-41117
TMR510T Automann TR55-41117
TMR512T Automann TR55-41118
TMR513 Automann TR55-41117
TMR514 Automann TR46-41716
TMR515 Automann TR46-41316
TMR516 Automann TR46-41053
TMR518 Automann TR75-41059
TMR519 Automann TR75-41781
TMR532 Automann TR75-41108
TMR532B Automann TR75-41108
TMR533 Automann TR55-418C1
TMR535 Automann TR46-41002
TMR536 Automann TR46-41000
TMR537 Automann TR00-41001
TMR539 Automann TR00-41600
TMR544 Automann TR46-46002
TMR547 Automann TR62-41220
TMR548 Automann TR46-46003
TMR551 Automann TR50-42580
TMR553 Automann TR00-41009
TMR556 Automann TR50-45950
TMR5605A Automann TR50-49605
TMR5605B Automann TR50-49605
TMR5645A Automann TR50-49645
TMR5645B Automann TR50-49645
TMR617B Automann TR50-42565
TMR617E Automann TR50-42565
TMR62 Automann TR96-41945
TMR63 Automann TR96-41068
TMR64 Automann TR96-41945
TMR640 Automann TR13-41635
TMR67 Automann TR59-41376
TMR670 Automann TR76000
TMR671 Automann TR76000
TMR674 Automann TR50-41587
TMR674E Automann TR50-41587
TMR676 Automann TR50-41626
TMR68 Automann TR50-42565
TMR684 Automann TR50-42575
TMR684E Automann TR50-42575
TMR684R Automann TR50-42575
TMR69 Automann TR59-41376
TMR693 Automann TR00-41935
TMR693E Automann TR00-41935
TMR700 Automann TR85000
TMR701 Automann TR85000
TMR707 Automann TR50-41626

TMR707E Automann TR50-41626
TMR74 Automann TR59-41008
TMR74B Automann TR59-41008
TMR769 Automann TR73000
TMR9247 Automann TR13-41022
TMRN047 Automann TR35120
TMRN1051 Automann TR20002
TMRN1051E Automann TR20002
TMRN1055 Automann TR50-41635
TMRN610 Automann TR35205
TMRN620 Automann TR35225
TMRN630 Automann TR35210
TMRN661 Automann TR35105
TMRN671 Automann TR35125
TMRN681 Automann TR35110
TMRN767 Automann TR35220
TMRN842 Automann TR50-42570
TMRS020 Automann SK27174
TMRU610 Automann TR71000
TMRU620 Automann TR72000
TMRU640 Automann TR84000
TMRU660 Automann TR75000
TMRU661 Automann TR75000
TMRU690 Automann TR77000
TMRU691 Automann TR77000
TNK Dayton Parts SP46-11002
TP100 Flagg EQ83-35000
TP108 Flagg EQ83-35904
TP110 Flagg EQ83-35902
TP111 Flagg TH83-37022
TP111UB Flagg TH83-37022
TP115 Flagg TR83-45520
TP116 Flagg TR83-41520
TR004 Automann TR53-45305
TR005 Automann TR53-41500
TR009 Automann TR83-45520
TR010 Automann TR83-41520
TR010020410 Clevite TR50-41111
TR010040040 Clevite TR00-41600
TR030010030 Clevite TR46-41716
TR030010040 Clevite TR46-41002
TR030010050 Clevite TR46-41003
TR030020010 Clevite TR00-41009
TR9 Flagg SK27174
TRB164 Automann TS34000
TRB5004 Automann PL1177
TRB5004UB Automann PL1177
TRB5029 Automann PL1148
TRB5031 Automann PB50-26648
TRB5031SUB Automann PB50-26648
TRB5032 Automann PB50-26648
TRB5035 Automann AT33501
TRB5035UB Automann AT33501
TRB5066 Automann SK83-31000
TRB5168 Automann CB27500
TRB5168UB Automann CB27500
TRB5169 Automann NA47000
TRB5169UB Automann NA47000
TRB5170 Automann HV38000
TRB5384 Automann PL1085
TRB5384UB Automann PL1085
TRB5544 Automann EQ83-35902
TRB5564 Automann TS50-22664
TRB5703 Automann PB57-21149
TRB5709 Automann PL1155
TRB5710 Automann PL1154
TRB5710UB Automann PL1154
TRB5713 Automann PB57-21139

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 307

CROSS REFERENCE



TRB5904 Automann PL1189
TRB5905 Automann PL1075
TRB5906 Automann PL1054
TRB5906UB Automann PL1054
TRB5907 Automann PL1076
TRB5909 Automann NW30000
TRB5909UB Automann NW30000
TRB5911 Automann EB27500
TRB5911UB Automann EB27500
TRB5912 Automann PB50-36100
TRB5912 Automann PB50-36100-EI
TRB5914UB Automann PB50-36364
TRB6000 Automann PL1115
TRB6000UB Automann PL1115
TRB6002 Automann PL1117
TRB6002 Automann TH83-37238
TRB6002UB Automann PL1117
TRB6004 Automann PL1118
TRB6004SUB Automann PL1118
TRB6004UB Automann PL1118
TRB6008 Automann PL1116
TRB6008UB Automann PL1116
TRB6062 Automann PB83-22723
TRB6112 Automann TT38000
TRB6112UB Automann TT38000
TRB6116 Automann TT34000
TRB6117 Automann TT34038
TRB6119 Automann TM38000
TRB6164UB Automann TS34000
TRB6165 Automann TS50-22256
TRB6185 Automann PL1146
TRB6185 Automann TS50-22691
TRB6185UB Automann PL1146
TRB6186 Automann IN35190
TRB6186UB Automann IN35190
TRB6199 Automann TS62-22240
TRB6205 Automann SU50-29383
TRB6260 Automann IN35180
TRB6260UB Automann IN35180
TRB6300 Automann PL1084
TRB6300UB Automann PL1084
TRB6326 Automann PL1119
TRB6326UB Automann PL1119
TRB6327 Automann TH19-22128
TRB6327 Automann TH19-22129
TRB6328 Automann PL1047
TRB6328UB Automann PL1047
TRB6801 Automann RW53000
TRB6801UB Automann RW53000
TRB6803 Automann RW51000
TRB6803UB Automann RW51000
TRB6820 Automann TS38000
TRB6820UB Automann TS38000
TRB6822 Automann TS38750
TRB6822UB Automann TS38750
TRB6825 Automann TS38000
TRB6825 Automann TS59-22400
TRB6825E Automann TS38000
TRB6825E Automann TS59-22400
TRB7529UB Automann TH75-69000
TRB7529UB Automann TH75-69000-HT
TRB7529UB Automann TH75-69002
TRB8264 Automann TH57-22264
TRB8264E Automann TH57-22264
TRB8644 Automann PL1046
TRB8644 Automann TH19-22010
TRB8644UB Automann PL1046
TRB8645 Automann PL1049

TRB8645UB Automann PL1049
TRK1175 Automann PB85-36029
TRK12091 Automann TH53-37637
TRK4931 Automann PB00-26422
TRK5066 Automann SK83-31000
TRK5066UB Automann SK83-31000
TRK5384HD Automann EQ47-35900
TRK5384UB Automann EQ47-35900
TRK5541 Automann EQ53-35234
TRK5541UB Automann EQ53-35234
TRK5542 Automann EQ53-35118
TRK5542UB Automann EQ53-35118
TRK5544 Automann EQ83-35904
TRK5904 Automann PB75-29101
TRK5905 Automann PB75-29674
TRK5912 Automann PB50-36914
TRK5912 Automann PB50-36914-EI
TRK6002 Automann TH83-37640
TRK6004B Automann TH83-37022
TRK6008 Automann TH83-37997
TRK6008UB Automann TH83-37997
TRK6300 Automann TH47-37900
TRK6300UB Automann TH47-37900
TRK6326 Automann TH53-37149
TRK6326UB Automann TH53-37149
TRK8839W Automann PB00-26839
TRM556E Automann TR50-45950
TSHS73 International TT50-22697
TSR234 International TH83-37640
TSRB212 International SP46-52050
TSRB81 International SP99-11001
TWAA5872A Ford CB34012
TWAA5873A Ford EB34000
TWD4769100l TW Distributors PL1146
UCD-005635001 Fruehauf PL1005
UCD-5635-001 Fruehauf PL1005
UM1108 Flagg PL1039
UM1328 Flagg PL1110
UR610 Flagg TR71000
UR630 Flagg TR72000
UR660 Flagg TR75000
UR661 Flagg TR75000
UR680 Flagg TR76000
UR681 Flagg TR76000
UR690 Flagg TR77000
UR691 Flagg TR77000
UR767 Flagg TR74000
UR769 Flagg TR73000
UXA-000004 Fruehauf PL1085
UXA-000004-900 Fruehauf EQ47-35900
UXA-000011 Fruehauf PL1084
UXA-000011900 Fruehauf TH47-37900
UXA-000160 Fruehauf PL1004
UXA-000160SP1 Fruehauf PL1004
UXA-0160 Fruehauf PL1004
V1075724 Volvo SK96-10200
V1075724 Volvo SK96-10300
V1075724 Volvo SP96-11026
V1609657 Volvo LP96-24657
V1629553 Volvo LP96-24657
V8057131 Volvo PL1025
V8057131 Volvo PL1025-HT
VBM4010 Kenworth HM59-64010
VT1 Flagg LP96-24657
VT19 Flagg TR96-41945
VT20 Flagg TR96-41068
W/BOLT Dayton Parts SK88-10200
WAB21400098 Wabash BP99-65040

WC10050 International PB57-21139
WCM 10050 Freightliner PB57-21139
WCM 10050 Sterling Truck PB57-21139
WCM10050 Mack PB57-21139
WCM10050 Volvo PB57-21139
WCM11223 Freightliner PB57-21149
WCM11223 Sterling Truck PB57-21149
WCM11223 Volvo PB57-21149
XA-1604-9 Holland PL1036
XB0011 International FW51-32011
XB-0011 Holland FW51-32011
XB-0011-2 Holland PL1006
XB-0012-2 Holland PL1060
XB-0012-3 Holland PL1032
XB10605 Holland FW99-32605
XB-10605 Holland FW99-32605
XB-1604-5 Holland PL1037
ZAK565572 International WP50-29557
ZAK565574 International WP50-29004
ZAK565575 International WP50-29005
ZAK569 International WP50-29929
ZAK60791 International MS50-29791
ZAK62000375 International TR50-42375
ZAK62000390 International TR50-42390
ZAK62000510 International TR50-42510
ZAK62000520 International TR50-42520
ZAK62000525 International TR50-42525
ZAK62000535 International TR50-42535
ZAK62000545 International TR50-42545
ZAK62000550 International TR50-42550
ZAK62000560 International TR50-42560
ZAK62000565 International TR50-42565
ZAK62000570 International TR50-42570
ZAK62000590 International TR50-42590
ZAK62000595 International TR50-42595
ZAK62000600 International TR50-42600
ZAK62000605 International TR50-42605
ZAK62000620 International TR50-42620
ZAK62000630 International TR50-42630
ZAK62000635 International TR50-42635
ZAK62001420 International TR50-42425
ZAK62001465 International TR50-42465
ZAK62001485 International TR50-42485
ZAK62001495 International TR50-42495
ZAK62001500 International TR50-42500
ZAK62001510 International TR50-42510
ZAK62001515 International TR50-42515
ZAK62001520 International TR50-42520
ZAK62001525 International TR50-42525
ZAK62001535 International TR50-42535
ZAK62001540 International TR99-41428
ZAK62001545 International TR50-42545
ZAK62001550 International TR50-42550
ZAK62001560 International TR50-42560
ZAK62001565 International TR50-42565
ZAK62001570 International TR50-42570
ZAK62001580 International TR50-42580
ZAK62001585 International TR50-42585
ZAK62001590 International TR50-42590
ZAK62001595 International TR50-42595
ZAK62001605 International TR50-42605
ZAK62001620 International TR50-42620
ZAK62001630 International TR50-42630
ZAK62001635 International TR50-42635
ZAK62001640 International TR50-42640
ZAK62001655 International TR50-42655
ZAK62001665 International TR50-42665
ZAK62001675 International TR50-42675

C
R

O
S

S
 R

E
FE

R
E

N
C

E

Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 308

CROSS REFERENCE



ZAK62001680 International TR50-42680
ZAK62001685 International TR50-42685
ZAK62005420 International TR50-42420
ZAK62008620 International TR50-42620
ZAK62009400 International TR50-42400
ZAK62010455 International TR50-42455
ZAK62011360 International TR50-42360
ZAK62012360 International TR50-42360
ZAK62013790 International TR50-41790
ZAK62022580 International TR50-42580
ZAK62029385 International TR50-42385
ZAK62350470 International TR50-41470
ZAK62350520 International TR50-41520
ZAK62350525 International TR50-41525
ZAK62350535 International TR50-41535
ZAK62350545 International TR50-41545
ZAK62350550 International TR50-41550
ZAK62350605 International TR50-41605
ZAK62350610 International TR50-41610
ZAK62350615 International TR50-41615
ZAK62350620 International TR50-41620
ZAK62350625 International TR50-41625
ZAK62350630 International TR50-41630
ZAK62350635 International TR50-41635
ZAK62350640 International TR50-41640
ZAK62350645 International TR50-41645
ZAK62350655 International TR50-41655
ZAK62599560 International TR50-65560
ZAK62599585 International TR50-65585
ZAK62650495 International TR50-75495
ZAK62650500 International TR50-75500
ZAK62650505 International TR50-75505
ZAK62650520 International TR50-75520
ZAK62650525 International TR50-75525
ZAK62650535 International TR50-75535
ZAK62650610 International TR50-75610
ZAK62650615 International TR50-75615
ZAK62650630 International TR50-75630
ZAK62650635 International TR50-75635
ZAK62650640 International TR50-75640
ZAK62650645 International TR50-75645
ZAK62700540 International TR50-62540
ZAK62700570 International TR50-62570
ZAK62700610 International TR50-62610
ZAK62700620 International TR50-62620
ZFJ62000510 International TR50-42510
ZIF56929 International WP50-29929

ZJF565572 International WP50-29557
ZJF565574 International WP50-29004
ZJF565575 International WP50-29005
ZJF60791 International MS50-29791
ZJF62000375 International TR50-42375
ZJF62000390 International TR50-42390
ZJF62000520 International TR50-42520
ZJF62000525 International TR50-42525
ZJF62000535 International TR50-42535
ZJF62000545 International TR50-42545
ZJF62000550 International TR50-42550
ZJF62000560 International TR50-42560
ZJF62000565 International TR50-42565
ZJF62000570 International TR50-42570
ZJF62000590 International TR50-42590
ZJF62000595 International TR50-42595
ZJF62000600 International TR50-42600
ZJF62000605 International TR50-42605
ZJF62000620 International TR50-42620
ZJF62000630 International TR50-42630
ZJF62000635 International TR50-42635
ZJF62001420 International TR50-42425
ZJF62001465 International TR50-42465
ZJF62001485 International TR50-42485
ZJF62001495 International TR50-42495
ZJF62001500 International TR50-42500
ZJF62001510 International TR50-42510
ZJF62001515 International TR50-42515
ZJF62001520 International TR50-42520
ZJF62001525 International TR50-42525
ZJF62001535 International TR50-42535
ZJF62001540 International TR99-41428
ZJF62001545 International TR50-42545
ZJF62001550 International TR50-42550
ZJF62001560 International TR50-42560
ZJF62001565 International TR50-42565
ZJF62001570 International TR50-42570
ZJF62001580 International TR50-42580
ZJF62001585 International TR50-42585
ZJF62001590 International TR50-42590
ZJF62001595 International TR50-42595
ZJF62001605 International TR50-42605
ZJF62001620 International TR50-42620
ZJF62001630 International TR50-42630
ZJF62001635 International TR50-42635
ZJF62001640 International TR50-42640
ZJF62001655 International TR50-42655

ZJF62001665 International TR50-42665
ZJF62001675 International TR50-42675
ZJF62001680 International TR50-42680
ZJF62001685 International TR50-42685
ZJF62005420 International TR50-42420
ZJF62008620 International TR50-42620
ZJF62009400 International TR50-42400
ZJF62010455 International TR50-42455
ZJF62011360 International TR50-42360
ZJF62012360 International TR50-42360
ZJF62013790 International TR50-41790
ZJF62022580 International TR50-42580
ZJF62029385 International TR50-42385
ZJF62350470 International TR50-41470
ZJF62350520 International TR50-41520
ZJF62350525 International TR50-41525
ZJF62350535 International TR50-41535
ZJF62350545 International TR50-41545
ZJF62350550 International TR50-41550
ZJF62350605 International TR50-41605
ZJF62350610 International TR50-41610
ZJF62350615 International TR50-41615
ZJF62350620 International TR50-41620
ZJF62350625 International TR50-41625
ZJF62350630 International TR50-41630
ZJF62350635 International TR50-41635
ZJF62350640 International TR50-41640
ZJF62350645 International TR50-41645
ZJF62350655 International TR50-41655
ZJF62599560 International TR50-65560
ZJF62599585 International TR50-65585
ZJF62650495 International TR50-75495
ZJF62650500 International TR50-75500
ZJF62650505 International TR50-75505
ZJF62650520 International TR50-75520
ZJF62650525 International TR50-75525
ZJF62650535 International TR50-75535
ZJF62650610 International TR50-75610
ZJF62650615 International TR50-75615
ZJF62650630 International TR50-75630
ZJF62650635 International TR50-75635
ZJF62650640 International TR50-75640
ZJF62650645 International TR50-75645
ZJF62700540 International TR50-62540
ZJF62700570 International TR50-62570
ZJF62700610 International TR50-62610
ZJF62700620 International TR50-62620

C
R

O
S

S
 R

E
FE

R
E

N
C

E Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N Competitor P/N Competitor ATRO P/N

Page 309

CROSS REFERENCE



A
2AC10000

117AG10000
58AK34100

58, 201AK38200
58AK45100
58AK50100
58AK50-45000
58AK65100

2AS10000
2AS11000

81, 165AS57-27267
81, 165AS57-27644

48, 58, 170AT33501
137, 170AT80000

137AT82000
82, 207, 221AW51-34010
82, 160, 168AW51-34036

168AW57-10000
168AW57-12000
169AW57-14000

B
77BM50-66208

161BP52-34203
216BP89-65100
216BP89-65300
223BP91-34046
232BP92-65283

50, 111BP99-34303
237BP99-34312

14BP99-34408
51BP99-34863

161BP99-36037
112, 162BP99-36038

14, 112, 162, 223BP99-36040
38, 155, 214, 221, 232BP99-65000

112, 222BP99-65020
112, 113, 222, 237BP99-65040

112BP99-650B1
4, 51BP99-65182

51BP99-65304
162BP99-65360

51BP99-65535
C

16, 59CB27500
59, 234CB34010

16, 59, 235CB34011
16, 45, 59, 91, 201, 235CB34012

59, 235CB38010
16, 59, 235CB38011

16, 45, 59, 91, 196, 235CB38012
60CB38065
60CB50000
60CB50011
60CB65002
60CB65011
60CB85000
60CB85011

13, 60, 204CB90000
3, 113CM13-61026
3, 231CM13-61199

32CM46-61001
32CM46-61384
32CM46-61769
32CM46-61890
32CM46-61891
32CM46-61959

105CM55-61454
80, 105CM55-614C4

105, 133CM55-615C2
105CM55-616C5-HT
184CM75-61055
184CM75-61257

32, 133, 211, 242CM94-61875
113CM99-61800

4, 19, 39, 47, 109, 132, 155, 194, 207, 232CR00-67825
16, 45, 61, 91, 225, 235CT10000

E
61EA38000
61EA50000

165EB03-85901
16, 61EB27500

17, 46, 61, 91, 171, 235EB34000
17, 46, 49, 61, 91, 117, 171, 196, 201, 236EB38000

157EB38651
10, 197EB38700

61EB45000
62EB50000
62EB50-21013
62EB65000
62EB85000

204EB90000
125EM75-61001

125, 184EM75-61001-HT
125, 185EM75-69000-HT
125, 185EM75-69001-HT

185EM75-69096
185EM75-69096-HT
185EM75-69656
185EM75-69656-HT

62EP34000
62EP38000
63EP50000
63EP85000
41EQ47-35900

86, 215, 218EQ53-35001
86EQ53-35118
86EQ53-35158
86EQ53-35158-NH
86EQ53-35234

50, 86EQ53-35250
86, 215, 218EQ53-35701

197EQ83-11000
50, 158, 198, 220EQ83-35000

159, 198EQ83-35850
159, 198EQ83-35855

50, 198, 220EQ83-35902
50, 198, 220EQ83-35904

F
13, 202FA96452

11FP99-69426
39, 82, 110, 155, 214, 216, 232FW51-32011

83FW51-32413

Part Number Index 

Page PageATRO Part Number ATRO Part Number



83FW51-32606
39, 110, 155, 194, 232FW51-32731

83FW51-32736
14, 39, 155, 214, 232FW99-32109

15, 155, 214, 233FW99-32172
15, 39, 155, 214, 233FW99-32175

15FW99-32191
15FW99-32300
15FW99-32301

110, 113, 156, 233FW99-32401
112FW99-32594

39, 83, 110, 156, 214, 233FW99-32605
15FW99-32LLB

H
63HC10000
63HC20000

39, 194HL00-64001
40, 233HL00-64002

40HL46-64434
40HL46-64435
40HL46-64480
40HL46-64530
40HL46-64531
41HL46-64650
41HL46-64651

110HL55-64C91
132, 194HL59-64107

233HL96-64000
233HL96-64018
125HM59-64010
151HM62-64362
152HM62-64371
152HM62-64M31
185HM75-64593
186HM75-64726
186HM75-65114
186HM75-65424
186HM75-65510
186HM75-65609
186HM75-65711
187HM75-66154
187HM75-66164
187HM75-66165
242HM94-64438
242HM96-64442

63HS11000
63HS12000
87HU10000
87HU10065

17, 46, 63, 91, 236HV38000
8HW19-29200
8HW19-29201
8HW19-29202

207HW50-21013
64HW50-26679
64HW50-26705
64HW50-26961
87HW53-37149

87, 159HW53-39100
117HW59-29000

I
71, 96IN35180

71, 97IN35190
K

64KT50-25002
64KT50-25003

125KT59-62001
126KT59-62001-HT
126KT59-62001-HW
126KT59-62002
126KT59-62002-HT
126KT59-62002-HW
126KT59-62003-HT
127KT59-62004-HT
152KT62-62216
152KT62-62216-HT
152KT62-62389
152KT62-62389-HT
187KT75-61257

L
8LP19-24002
8LP19-24015

8, 22LP19-24026
22LP46-19773

22, 208, 240LP46-24807
22LP46-24808
64LP50-24000
65LP50-24179
65LP50-24745
65LP50-24746
65LP50-24747
65LP50-24778
65LP50-24902
66LP50-24974

225LP96-24657
M

137MA10000
137MA10085
137MA20000
138MA32000
138MA36000
138MA36000-OFF
138MA36500
138MA37000
138MA37200

33, 133, 187, 211MM00-62000
33, 133MM00-62970

14MM03-82712
49MM03-83023
49MM03-83092

33, 211MM46-62000
33, 211MM46-62001
33, 212MM46-62002

33MM46-62003
34MM46-62004

34, 212MM46-62005
34MM46-62006

34, 212MM46-62051
34, 212MM46-62301

35MM46-62416
35, 212MM46-62417
35, 212MM46-62418
35, 213MM46-62451

Part Number Index 

Page PageATRO Part Number ATRO Part Number



35, 213MM46-62651
36MM46-62660
36MM46-62721

106MM55-62002
106MM55-62003
106MM55-62004
107MM55-62005
107MM55-620C7

19, 107MM55-623C3
107MM55-624C3
107MM55-626C2
108MM55-629C7
127MM59-62001
127MM59-62002
127MM59-62005
127MM59-62006

127, 187MM59-62407
128, 188MM59-62407-HW
134, 152MM62-62002
134, 153MM62-62322
134, 153MM62-62329
134, 153MM62-62334

188MM75-62370
188MM75-62370-HT
188MM75-62372
188MM75-62372-HT
188MM75-62377

134, 189MM75-62597
189MM75-62748

3, 231, 242MM96-62002
3, 231MM96-62207

36, 213, 242MM96-62401
36, 213, 242MM96-62401-HT

4, 231MM96-62657
242MM96-62870
243MM96-62870-HT
162MO10000

8MS19-29002
9MS19-29028
9MS19-29029
9MS19-29055
9MS19-29201

36MS46-19215
36MS46-29002

36, 213MS46-66791
66MS50-26632
66MS50-26633
77MS50-26924
77MS50-26925

22, 66, 91, 138, 208, 225MS50-29791
66MS50-29890
66MS50-29891

80, 110, 161MS50-39613
139MS62-29246
189MS75-65904
222MS99-29273

51, 162MS99-34008
6, 217MS99-39159
6, 217MS99-39709

41, 135, 214, 217, 244MS99-62620
41, 43, 110, 132, 156, 194, 234MS99-63399

43MS99-63794
14MS99-65000

158MS99-65035
158, 216MS99-65038

158MS99-65045
221MS99-65100

216, 219MS99-65341
197MS99-69003

197, 207MS99-69004
245MS99-69006

51, 158MS99-69717
11MS99-69779
11MS99-69780
51MS99-69804

N
91NA47000

165, 171, 237NW30000
P

22, 67, 77, 139, 208, 225PB00-26422
23, 67, 77, 92, 139, 178, 225, 238PB00-26839

67, 78, 238PB00-36314
245PB03-89501

23, 67, 92, 178PB46-26268
78PB50-26237
67PB50-26632

67, 80PB50-26648
78PB50-26821
68PB50-26961

78, 238PB50-36000
78, 238PB50-36000-EI
78, 238PB50-36001
78, 238PB50-36001-EI

79PB50-36100
79PB50-36100-EI
79PB50-36321
79PB50-36322
12PB50-36364

68, 79PB50-36914
68, 79PB50-36914-EI

23, 41, 81, 92, 139, 165, 208, 215, 225, 236, 239PB57-21139
23, 81, 92, 139, 165, 208, 215, 226, 237, 239PB57-21149

81PB57-26279
81, 165PB57-26643

23, 81, 92, 166, 208, 226, 237, 239PB57-36200
82, 166, 219, 237PB57-36300

153PB62-65251
178PB75-29101
178PB75-29674
198PB83-22723

142, 203PB85-36023
23, 139, 202, 215PB85-36029
24, 139, 202, 208PB85-360B0

197PB99-26071
206PB99-26710
157PB99-29937
245PB99-36012
245PB99-36013

161, 216PB99-36201
161PB99-36205
161PB99-36522
161PB99-36537

11PL1001
15PL1002
36PL1003

Part Number Index 

Page PageATRO Part Number ATRO Part Number



42PL1004
42, 204, 239PL1005

83PL1006
87PL1007

117PL1008
128, 189PL1009
128, 189PL1010

128PL1011
128PL1011-HT
128PL1012

37, 129, 134, 189PL1013
129, 190PL1013-HT

129PL1014
37, 129, 190, 243PL1015
37, 129, 190, 243PL1015-HT

129, 243PL1016
153PL1017
153PL1017-HT
190PL1018
190PL1018-HT
196PL1019
196PL1020
196PL1021
206PL1022
206PL1023
222PL1024

111, 132, 194, 234PL1025
111, 132, 194, 234PL1025-HT

111, 132, 156, 195, 234, 244PL1026
111, 133, 156, 195, 234, 244PL1026-HT

244PL1027
133, 195PL1028

87, 166PL1030
83PL1032

2PL1033
130PL1034

83PL1036
84PL1037

117PL1038
117PL1039
221PL1040

166, 172, 239PL1041
43PL1042
42PL1043

130PL1044
221PL1045

9PL1046
9PL1047

19, 108, 231PL1048
10PL1049

5PL1050
37PL1051
37PL1052
27PL1053
24PL1054

108PL1055
44PL1056
44PL1057
44PL1058
44PL1059
84PL1060
88PL1061

130, 190PL1062

130PL1063
130PL1063-HT
130PL1064
130PL1065
131PL1066
131PL1067

131, 191PL1068
191PL1069

131, 191PL1070
131, 191PL1070-HT

191PL1071
191PL1072
178PL1073
192PL1074
178PL1075
178PL1076

131, 170, 192PL1077
172PL1078
195PL1079
195PL1080
195PL1081
206PL1082
206PL1083

42, 50, 87, 219PL1084
42PL1085

47, 231PL1086
47, 231PL1087
47, 232PL1088

221PL1089
140PL1090
153PL1091
172PL1092
166PL1093
166PL1094

12, 166PL1095
167PL1096
167PL1097
167PL1098
244PL1099

10PL1100
172PL1101
134PL1102
135PL1102-HT
172PL1103
108PL1104

37PL1105
37PL1105-HT

37, 154PL1107
154PL1108
154PL1109

38, 108PL1110
192, 243PL1111

192PL1112
108PL1113
109PL1114

12, 199PL1115
199PL1116
199PL1117

4, 12, 79, 97, 199, 220PL1118
88, 219, 239PL1119

192PL1120
173PL1121
173PL1123

Part Number Index 

Page PageATRO Part Number ATRO Part Number



173PL1124
167PL1125

192, 243PL1126
193, 243PL1126-HT

193PL1127
109PL1128
206PL1129
207PL1130
154PL1131
154PL1132

38PL1133
109, 243PL1136

244PL1139
207PL1144

27, 71, 97, 142, 181PL1146
117PL1147
198PL1148
118PL1150

167, 172PL1154
167PL1155

38, 171PL1168
38PL1170

171PL1172
4, 171PL1176

199PL1177
11PL1178

162PL1179
197PL1182
109PL1183
118PL1184
222PL1187
222PL1188
179PL1189

R
38, 135, 158, 213RM46-63359

38, 213RM46-63471
109RM55-637C1
109RM55-638C2
193RM75-63861
202RS20200
202RS20201
202RS20210
202RS20212
203RS20214
203RS20216
203RS20220
203RS20222
203RS20230

122, 204RW51000
204RW52000

122, 204RW53000
122, 205RW54000

205RW55000
S

49SB03-83008
222SC99-34101
196SC99-36437

17, 46, 68, 92, 236SF10000
5, 17, 47, 92SK00-10500

5SK14-10000
5SK14-10100

47SK22-10000

48SK22-10100
48SK22-10200

72, 97, 122, 169, 181SK27174
72, 97, 122, 181SK27175
72, 97, 122, 181SK27176

142SK27379
142SK27771

24SK46-10000
24SK46-10800
24SK46-10900
25SK46-11200

140SK50342
143SK53838
143SK53875

93SK55-10000
93SK55-10100
93SK55-10200
93SK55-10300
94SK55-10600
94SK55-10700
94SK55-11000
94SK55-12000

118SK59-10000
118SK59-12000
118SK59-12100
141SK62-10600
141SK62-10700

72, 97, 122, 181SK70380
72, 98, 123, 181SK70381

179SK75-10000
179SK75-10100
179SK75-10200
199SK83-31000
218SK88-10200
226SK96-10200
226SK96-10300

118, 179SP00-11005
119, 179SP00-11013

94, 180SP00-11561
48, 218SP00-52400

119SP11006-03
119SP11378-04

25SP11473-03
141SP1154M-04

5SP14-11774
17SP43-11100
18SP43-11198
18SP43-111AA
18SP43-111BA
25SP46-11002
25SP46-11023
25SP46-11373

26, 209SP46-11473
26, 95, 209SP46-52050

26SP46-52800
46SP48-11118
46SP48-11751
46SP48-26753
95SP55-113C1

18, 95SP55-52600
119SP59-11006
119SP59-11007
119SP59-11010

Part Number Index 

Page PageATRO Part Number ATRO Part Number



120SP59-11378
141SP62-1154M
180SP75-11781
218SP90-19021
218SP90-19022
226SP96-11026

13, 18, 95SP99-11001
120, 180SU00-29001
120, 180SU00-29002

44SU03-83202
70SU50-29383

180SU75-29623
180SU75-29624
159SU99-39113
159SU99-39114

159, 215SU99-39115
160SU99-39116

44SW03-83201
45SW03-83204

120SW59-29000
120SW59-29000-KIT
120SW59-29001
121SW59-29001-KIT
121SW59-29058
121SW59-29454
121SW59-29461
121SW59-29465
121SW59-29599

45SW99-29700
T

13, 48, 156, 163TH03-82725
13TH03-82751
49TH03-85000

156TH03-85001
163TH03-85520

10, 98TH19-22010
10TH19-22128
10TH19-22129
42TH47-37900

72, 98TH50000
72TH50-22692

88, 219TH53-37149
50, 88, 219TH53-37637

167TH57-22264
123TH59-69019
193TH75-69000
193TH75-69000-HT
193TH75-69002

27, 143, 200, 205, 209TH83-22089
12, 80, 200TH83-22302

200TH83-37022
200, 205TH83-37238

98, 200, 205TH83-37640
200TH83-37997

73, 170TH85000
227TH96-22200
160TH99-37102

73, 98, 143TM38000
4, 47, 245TM99-63506

135, 171TM99-63516
14TN03-82701
45TN03-83205

11TN99-31490
123, 182, 272TR00-41001
123, 182, 260TR00-41009
143, 182, 259TR00-41160

27, 98, 143, 227, 259, 260TR00-41270
123, 143, 182, 261TR00-41420

123, 182, 272TR00-41600
254TR00-41795

27, 98, 144, 254TR00-41816
144, 182, 255TR00-41910

99, 144, 262TR00-41935
28, 99, 144, 262TR00-42325

28, 262TR00-42350
228, 254TR00-42486

99, 260TR00-45104
99, 261TR00-45106
99, 262TR00-45107
99, 258TR00-45170
99, 261TR00-45171

100, 260TR00-45222
100, 260TR00-45265
100, 252TR00-45375
100, 262TR00-45415
100, 262TR00-45485
100, 254TR00-45901
100, 262TR00-45902
101, 256TR00-45949
101, 257TR00-45950
101, 259TR00-45951
101, 262TR00-45978

45, 272TR03-83200
272TR03-86006

2, 210, 240, 265TR13-41022
2, 268TR13-41635

274TR20002
274TR20003
274TR20004
274TR20005
274TR20006
274TR20007
274TR20008
274TR20009
274TR20010
274TR20011
274TR20012
274TR20013
274TR20014
274TR20016
274TR20017
274TR20018
274TR20019
274TR20020
274TR20021
274TR20022
274TR20023
274TR20024
274TR20025
274TR21001
274TR21002

28, 257TR46-41000
28, 257TR46-41002
28, 250TR46-41003
28, 267TR46-41016

Part Number Index 

Page PageATRO Part Number ATRO Part Number



28, 248TR46-41053
29, 144, 256TR46-41175

29, 255TR46-41316
29, 257TR46-41716
29, 248TR46-43016
29, 269TR46-46002
29, 269TR46-46003

29, 144, 168, 272TR46-46016
30, 210, 240TR46-49002
30, 210, 240TR46-49004
30, 210, 241TR46-49998

43, 271TR47-41026
43, 271TR47-41028

272TR50-41001
272TR50-41002

246, 247TR50-41102
247TR50-41111
252TR50-41112
263TR50-41450
263TR50-41470
264TR50-41505
264TR50-41520

264, 265TR50-41525
272TR50-41530
265TR50-41535
265TR50-41545
265TR50-41550
265TR50-41555

265, 266TR50-41560
272TR50-41570
266TR50-41587
255TR50-41590
266TR50-41605
266TR50-41610

266, 267TR50-41615
267TR50-41620
267TR50-41625
267TR50-41626
267TR50-41630
268TR50-41635
268TR50-41640

268, 269TR50-41645
269TR50-41655
261TR50-41720
262TR50-41790
246TR50-42360
247TR50-42375
247TR50-42385
247TR50-42390
247TR50-42400

247, 248TR50-42420
248TR50-42425
248TR50-42430
248TR50-42455
248TR50-42460
248TR50-42465
249TR50-42485
249TR50-42495
249TR50-42500
249TR50-42505

249, 250TR50-42510
250TR50-42515
250TR50-42520

250, 251TR50-42525
251TR50-42535
252TR50-42545
252TR50-42550
252TR50-42555
253TR50-42560
253TR50-42565
254TR50-42570
254TR50-42575

254, 255TR50-42580
255TR50-42585

255, 256TR50-42590
256TR50-42595
256TR50-42600

256, 257TR50-42605
257TR50-42608
258TR50-42620
258TR50-42625

258, 259TR50-42630
259TR50-42635
259TR50-42640
260TR50-42655
260TR50-42665
260TR50-42670
261TR50-42675
261TR50-42680
261TR50-42685
261TR50-42720
248TR50-43435
249TR50-43475
258TR50-43620
271TR50-43640
271TR50-43660
261TR50-43720
268TR50-44630
258TR50-45620
262TR50-45770
272TR50-49605
272TR50-49645
251TR50-62540

253, 254TR50-62570
257TR50-62610

257, 258TR50-62620
270TR50-65560
270TR50-65585
270TR50-65650
263TR50-75495

263, 264TR50-75500
264TR50-75505
264TR50-75520
265TR50-75525
265TR50-75535
266TR50-75605
266TR50-75610
266TR50-75615

267, 268TR50-75630
268TR50-75635
268TR50-75640
269TR50-75645

88, 240, 271TR53-41500
88, 271TR53-45305

30, 101, 248TR55-41117
101, 252TR55-41118

Part Number Index 

Page PageATRO Part Number ATRO Part Number



102, 259TR55-418C1
102, 262TR55-41C91
102, 259TR55-428C1

30, 102TR55-42C91
82, 168TR57-44645
82, 168TR57-44992

123, 250TR59-41008
3, 30, 73, 268TR59-41150

124, 262TR59-41280
31, 73, 102, 124, 144, 210, 257TR59-41375

102, 124, 145, 241, 266TR59-41376
124, 249TR59-41474
145, 263TR62-41178
145, 263TR62-41180
145, 263TR62-41183

145, 169, 264TR62-41198
145, 264TR62-41203
146, 270TR62-41205
146, 252TR62-41215

73, 146, 253TR62-41220
103, 146, 256TR62-41238

146, 264TR62-4123A
73, 146, 257TR62-41243

147, 267TR62-41245
147, 258TR62-41248
147, 268TR62-41250
147, 269TR62-41253
147, 269TR62-41255

31, 73, 147, 260TR62-41260
147, 261TR62-41283
148, 269TR62-41295

74, 148, 251TR62-412M3
148, 251TR62-413M2

74, 148, 249TR62-413M3
148, 254TR62-413M4

148, 169, 267TR62-413P2
149, 265TR62-413P3

149, 170, 264TR62-413P5
149, 263TR62-41470

149TR62-41758
3, 74, 149, 228, 247TR62-417M1

149, 250TR62-417M2
149, 263TR62-418M2
150, 258TR62-41P24

150TR73000
183, 255TR75-41059

74, 160, 183, 260TR75-41108
183, 248TR75-41119
183, 248TR75-41327
183, 249TR75-41781

150TR77000
150TR79000

200, 271TR83-41201
201, 271TR83-41520

201, 220, 271TR83-45520
241TR86000
241TR87000

74TR88000
74, 241TR89000

241, 254TR94-41458
241, 271TR94-41514

103, 150, 242TR94-41900
228, 272TR96-41003

150, 160, 228, 236, 253TR96-41068
228, 260TR96-41239

254TR96-41268
228, 254TR96-41945

229TR96-44004
160, 229TR96-44829

229TR96-45568
229TR96-49046

217, 266TR99-41149
217, 264TR99-41388

31, 74, 103, 150, 210, 217, 229, 251, 252TR99-41428
274TR99-49999
229TS00-22000
169TS03-80000
157TS03-85002
157TS03-85013
157TS03-85019
163TS03-85533
163TS03-85765

31, 74, 103, 151, 183, 230TS34000
49, 75, 103, 124, 151, 184TS38000

75, 103, 157, 184TS38750
151TS38875

75, 111, 162, 169TS45000
103, 151TS46000

31, 211TS46-22300
75, 104TS49000

75TS50-22210
75TS50-22256

31, 76, 151, 211, 230TS50-22649
76, 104TS50-22664

76TS50-22691
124, 205TS59-22400

151TS62-22240
230TS96-22286
230TS96-22600
230TS96-22700

76, 104TT34000
76, 104TT34038

76, 104, 125, 184TT38000
76, 104TT50-22697

77TT50-22809
70TW34000

18, 46, 70, 95, 226, 236TW38000
70TW50-29495
70TW50650
70TW85000

U
95UB16100
26UB20500-OS

5, 12, 80, 104, 201, 220UB30000
19, 48, 95UB75000

V
230VO20000

W
26, 70, 96, 141, 209, 227WP50-29004
26, 71, 96, 141, 209, 227WP50-29005

26, 71, 96, 142, 180, 209, 227WP50-29557
27, 71, 96, 142, 181, 209, 227WP50-29929

96WP55-290C1
154WP62-61003

Part Number Index 

Page PageATRO Part Number ATRO Part Number



NOTES



NOTES



https://atrobushing.com


https://atrobushing.com

	Table of Contents
	Blank Page


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


	Table of Contents_af_image: 
	Cover: 


